US AIR SPRING
PRODUCT CATALOGUE 08/2024




US

AIR SPRING

expert in air spring,
brand in the world...



COMPANY PROFILE
Our company which has been founded in 1994 is manufacturing air springs used instead of leaf springs, metal piston systems and

moulds needed for self production. Our facilities built in Torbali district of Izmir province are stated on total of 18.500 m2 are with
2.500 m2 closed area for Metal Factory, 8.500 m2 closed / 7.500 m2 open ar r Rubber Factory. Our company giving the top
importance to high quality has been registered to ISO/TS 16949:2009 quality s under the certification body of TUR-CERT.

markets are added each year. “High Quality”,
that we stand on as a company policy. Today’s
and the importance given to “Customer Com-

ries all around the globe and
e the most important subje
ty for “Uncompromised Qua

Our products are exported to more than 50
“Delivery In Time” and “Customer Satisfacti
success of USMER GROUP lies under the sen

ments”.
LSS y& e A
P = ) = 9 - - -
aSasll i3 GARSESE L : Mo fo LS s
LA IR P : ‘ : _ . iy () s¢d)
Lgta aoa fis . 2 a i sall g
25 7.5000 ' : 2 22 2.500

ISO/ts 1694 = 5 ) l_~. L‘;ﬁ)@a

=

Thas aghy Coa
B (e B ALl

H“j\ﬁy‘u &\ A 3 Liiladile il alyg
_3\5)&33 A ff ' al ' _\.é__ﬁ\ ol

'\ 9) Ae s
O KOMTIAH¥

Hawa KomnaHus OB/IEHWEM MEXOB
[AN1A NOABECOK C Mk 90/1b peccop. Hawwm
NPOU3BOACTBEHHbIE : Banb annodpabpuku, 8.500
M2 KpbITbix 1 7.500 aZlb NPOU3BOACTBA
18.500 m2. Hawa K 2pPTUdMKALMOHHOM
opraHe TUR-CERT !

60/blie HOBbIX
e MpoayKumm» n
ecTBY» U «BCEraa

Hawa npoayKu,
pbIHKOB. B noaun
«JJosonbcTee Knuel
BbINONHAMA TpeboBaH

> End. Uriin. San. ve Tic, Ltd. Sti.

OTOMOTIV

= GROUP

L L since 1994

ic. Ltd. Sti.
Palamutcu Otomotiv Iml. ing. Tah. ve Turz. San. Tic. Ltd. Sti







US AIR SPRING TYPES

ROLL TYPE AIR SPRINGS (ROLL)

AIR SPRINGS WITHOUT PISTON (P)

AIR SPRINGS WITH METAL PISTON (K)
AIR SPRINGS WITH PLASTIC PISTON (KPP)
CONVOLUTED AIR SPRINGS (B)

CABIN AIR SPRINGS (C)

MACHINE AIR SPRINGS (C)

AXLE AIR SPRINGS

CAR AIR SPRINGS

<TUR)

ISO/TS 16949

Please follow our website for new items
www.usmerkaucuk.com - www.usairspring.com




TRACEABILITY

PRODUCT

YEAR
WEEK

(196

Usmer is using traceability system in order to get all of the historical datas of

production including all the informations since production date.

Example: It shows that the airspring was produced on;
35th week in 2019

Please follow our website for new items
www.usmerkaucuk.com - www.usairspring.com




MAIN PART OF AIR SPRING

1- BEAD PLEYT:

Air spring can only be assembled to the vehicle through bead pleyt. It was
made up of metal.

There are connection metal sheet, stud, nut and air inlets to provide air
access.

2- AIRINLET

It is the part where air transmission is assembled and provide needed air to
transmit in order to actualize

wanted working conditions of the air spring.

3- CONNECTING STUD
It provies assembling the air spring to the vehicle and varies according to
the various types of products.

4-BUMPER

A solid molded rubber fail-safe device used on many suspension applica-
tions.

Prevents excessive damage to vehicle and suspension in the case of
sudden air pressure loss.

5-BELLOWS

The heart of an US spring. Includes at least four plies, or layers, of
material-an inner layer,

two plies of cord-reinforced fabric, and an outer layer.

6-PISTON

The lower section of the airspring made from aluminum, steel or fiber
reinforced plastic.

Provides lower mounting arrangement for the airspring in the form of
tapped holes or studs.




M18x2.5
M12x1.5

104

@197

0

M18x2.5

IVECO 6144040 AIRTECH 318285
IVECO 8160165 CF GOMMA 1S28518C
ISUZU CITIBUS 3870197660 CF GOMMA 97261
ARKA

VOITH H68237001
ISUZU CITIBUS 387019766001
ARKA

EVO BUS A3563270001 CONTITECH RZ45025
EVO BUS A3563270201 AIRTECH 345025
IVECO BUS 93197594 PHOENIX 1E23
MB TRUCK A3563270001 PIRELLI 1830027
MERITOR MLF8090 TAURUS BL128




MERITOR MLF7086 CONTITECH

VOLVO 3027271 AIRTECH

FIRESTONE
GOODYEAR
PHOENIX

PIRELLI

TAURUS

RZ41525
341525
1R5P345290
9004

2G20
1528025
B271

=
i

MERITOR MLF8011 CONTITECH

VOLVO 3027272 AIRTECH

FIRESTONE

GOODYEAR
PHOENIX

140

i PIRELLI
TAURUS

RZ41528
341528
1R5P410290
9005

2G20A
1528028
B272

=
=
Fa

TEMSA SAFIR BUSFRONT TOYO

MK

TRL240
306335



TEMSA SAFIR BUSREAR TOYO F25

MK 330262

O220

VOLVO 20540792 AIRTECH 30792
VOLVO 21347075 PHOENIX 1E18C
VOLVO 21836531

342

E

peled 1]
VOLVO 20540789 AIRTECH 30789
“130.8
GOODYEAR 9081
PHOENIX 1E21B

Kl




370

MERITOR

MLF8198

CF GOMMA

1832023

WA

B

=

@174

T @135

: | 522

B155.5

(352

ISUZU

ISUZU MD27
CSEPEL BUS
MAGIRUS
OTOKAR

OTOKAR

ISUZU

ISUZU MD27
CSEPEL BUS
MAGIRUS
OTOKAR

OTOKAR

414
388885067051
040206101870
ARKA
12F0003648AA

M2010
3888850672AB

414
388885067051
040206101870
ARKA
12F0003648AA
M2010
3888850672AB

FIRESTONE K1T15MWPIL
PHOENIX 1G12B04
VIBRACOUSTIC  V1G12B4
TAURUS 414

FIRESTONE K1T15MWPOL
PHOENIX 1G12B04
VIBRACOUSTIC  V1G12B4
TAURUS 414




US

2414

300

@156
2182

If]u é
=
9155.5
I 1t :

M1z

410

ISUZU

ISUZU MD27
CSEPEL BUS
MAGIRUS
OTOKAR

OTOKAR

ISUZU

ISUZU MD27
CSEPEL BUS
MAGIRUS
OTOKAR

OTOKAR

VOLVO

414
388885067051
040206101870
ARKA
12F0003648AA
M2010

3888850672AB

414
388885067051

040206101870
ARKA
12F0003648AA
M2010
3888850672AB

3027272

FIRESTONE
PHOENIX

VIBRACOUSTIC
TAURUS

K1T15MWP9OL
1G12B04

V1G12B4
414

FIRESTONE
PHOENIX
VIBRACOUSTIC
TAURUS

AIRTECH
PHOENIX
VIBRACOUSTIC
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR

CF GOMMA

CF GOMMA

K1T15MWPOL
1G12B04
V1G12B4

414

341528
2G20A
V2G20A
W010950382
1R5P410290
9005
556039005
203001
1528028




8216
@130.8

1008

IVECO

IVECO

IVECO
IVECO

6144040

8160165

500364663

500042596

VIBRACOUSTIC

CF GOMMA
CF GOMMA

VIE21T
1529030V
205074

@210

@130.8
:

US

26l

BMC

BPW

BUSSING

DAF

DAF

EVO BUS

EVO BUS
HANOMOG
MERCEDES ON

7B71090
220024400
536905265
689677
696229
4771143000
4771170000
546905134
A0003270101

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
GART

644N
3644

1528524
92574

D11S01
PNP301470102
1R1A390295
W010950118
D276B




@280

106

@200

M18x15

AUTOSAN

TEMSA AVENUE

1029900970

113120

CONTITECH
AIRTECH

PHOENIX

644NP04

364401K

1E2122

@200

M18x1.5

BMC BUS

53RS900083

F 240

@150.8

391

BMC

BMC

OTOKAR KENT
280

OTOKAR KENT

290 U
DAF

EVO BUS
EVO BUS
EVO BUS
EVO BUS

53RS900056
501323863
ON ARKA
ARKA
659561
4731012000
4731031000
4771427000
4731042000

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
GART

661N

3661
1S31028RF
91016
D12S02RE
PNP304980101
1R1C390310
W010950021
D297




@288.5

SPECIAL PRD.

M22x1.5
M12x1.5

@227

M14x1.5

. D280.5 : AYATS 31001569 CONTITECH 661NPO1

IRIS BUS 5010073846 AIRTECH 3661K

uUs

2661

295

131

. 2805 |
" (32895 ZF SACHS 0501209513 CONTITECH 661NP02
ZF SACHS 0501215443 VIBRACOUSTIC ~ VAE255
ZF SACHS 0501215602
U M18x1.5
26t

M1

278

115

% i o2y
T 4k
1

MiBxl.5




@289.5 ) BMC BUS 53RS900056A SPECIAL PRD. BMC

BMC BUS 53RS900155

US M22x1.5
e M12x1.5

—
110
278

@227
- i1

@
M18x1.5

AYATS 30201102 CONTITECH 661NP05

M1

2y

BN
Y

M18x1.5

289
OTOKAR 16N0003650AA
M18Hx1,

LRI |




D250

@290
' ' OTOKAR 16N0005804BA  AIR CRUISE V1E259
(x)

KENT EURO5 FRONT(ON)

‘ ‘ EUROG6

M18¢1.5
li%d% M10x1

110

@290
' ' OTOKAR 16N0703650AA

SPECIAL PRD. YB

@227

110

@227

.
s




SPECIAL PRD. BMC

us
a6l
= @227
S Pt .
R T
9227
M1a}1.54/
M10x1.5

BMC 501217174 VIBRACOUSTIC  V1E25

BMC 501224645 VIBRACOUSTIC  VB300103AA

M10x1

@227

™

M18x1.5
weent ke soxomar.
o Us-2662 (e &, WP ORDERNO: 1014-300
. | OEMPARTNUMBER CROSSREFERENCES
P198.1 BPW 220024600 CONTITECH 662N
1
BUSSING 100112251 AIRTECH 3662
. DAF 0578361 CF GOMMA 1SC36030
| FLOOR 00848 CF GOMMA 92594
' % GRANNING 15623 DUNLOP D13501
! MAN 81436010018  DUNLOP PNP302730101
: _ MAN 81436010051  FIRESTONE 1R1D355355
Loewsl NEOPLAN 100110200 FIRESTONE W010950207

NEOPLAN 100112251 GOODYEAR 9007




345

BERTOJA
BREDA M.
BREDA M.
DAF

EVO BUS
INBUS
IVECO, MAG.
MB

VAN HOOL

AUWARTER
BOVA

IKARUS
WABCO

BOVA B
DEN OUDSTEN

5402001
178623
325993
627584
A6213280001
5001098
249156
A3833270001
624319860

B510040
B510040

B510040
8961301954

186053
450406

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
PIRELLI

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
GART
GOODYEAR
PHOENIX
TAURUS
VIBRACOUSTIC

673N

3673
1SC28522
88786
1R1A370285
W010950198
9051

1F21A
1SC28522

701N

3701
1R3M340340
W010950205
D276C

9006

1E26

B116

V1E26

PHOENIX

VIBRACOUSTIC

GOODYEAR
GOODYEAR

1E261

V1E261
9500
9529




@260

179

a

i

i

e

2

380

BOVA B

ZF SACHS
IKARUS
IKARUS

VOV BUS

234908 CONTITECH 702N
AV132050132379 PHOENIX 1E26A

?9001 VIBRACOUSTIC  V1E26A1800
19002

P

BOVA B 234908 CONTITECH 702N
ZF SACHS AV132050132379 PHOENIX 1E26A
8
ZF SACHS 0501215444 PHOENIX 1E26A14
M18x1,5
M10x15 ZF SACHS 0501215603 VIBRACOUSTIC  V1E26A1800
IKARUS 19001 VIBRACOUSTIC  V1E26A14
= o227
n = IKARUS 19002
2227 VOV BUS
VIBRACOUSTIC  V1E26A11
@280

M12x1.5




o179 SPECIALPRD.  ELZ
ﬂ:':\
]
2?D§
I'i'l A 0227
9227 m
)
- | OEMPARTNUMBER CROSSREFERENCES
#1308
| " MAN 81436010139 CONTITECH 706N
MAN 81436010127 AIRTECH 3706
MAN 81436010101 GOODYEAR 9067
| MAN 81436010098 DUNLOP D12S16
! =y MAN 81436010096
u3
| MAN 81436010144
i WABCO 8961301594
]

| @ 1308

e ——

=
2

VOLVO 6797169 CONTITECH 713N
VOLVO 1622116 AIRTECH 3713
WABCO 8961301874 GART C304B
i ! GART 3040490
3 GOODYEAR 9066
DUNLOP D12815
PHOENIX 1F21D
VIBRACOUSTIC ~ V1F21D




DAF

IVECO-FIAT

IVECO-FIAT

350

MAN VW

MAN VW

MAN VW

MAN VW
MAN VW

M12x1.5

@227

S5,

IVECO-MAG.

659561
4456111
4763473
4456111
81436010059
81436010060
81436010061
81436010775
81436010078

CONTITECH

AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GART

715N

3715
1SC31016
93518
PNP304890101
1R1C335310
W010950087
C292C
2920380

M18x1.5
weerT ke moxomeav
| OEMPARTNUMBER  CROSSREFERENCES
MAN 81436010039 CONTITECH 716N
MAN 81436010040 AIRTECH 3716
VOLVO 1593842 CF GOMMA 1SC30034
WABCO 8961301924 CF GOMMA 92548
= FIRESTONE 1R2A450305
- FIRESTONE W010950145
GOODYEAR 9073
PHOENIX 1F26B1

TAURUS

B197




BPW 0220024000 CONTITECH 719N
DAF 0818225 AIRTECH 3719
EVO BUS 4731032000 CF GOMMA 15C36043
GIGANT 196036 CF GOMMA 92593
2 GIGANT 166205 DUNLOP PNP304620101
KASSBOHRER 4731032000 FIRESTONE 1R2D530360
MAN 81440500005  FIRESTONE W010950192
NEOPLAN 100110100 GOODYEAR 8118
NEOPLAN 102100200 PHOENIX 1F328B
WEGHT  180KS  BOXDW.-QTY. Porirem. sres
21308 BPW 0220024100 CONTITECH 720N
f\ DENNIS 6502928 AIRTECH 3720
U | DENNIS 6508834 CF GOMMA 15C29030
m DENNIS 6508837 CF GOMMA 88802
|| z IVECO-FIAT DUNLOP D12504
i IVECO-PEGASO DUNLOP PNP301000100
, MAN 81436010033  FIRESTONE 1R2A460295
3 MAN 81436010036  FIRESTONE W010950195
‘—MJ MAN 81436010037  GOODYEAR 9008

2130

A198.1

=
vl

3
i3
|

450

08,1

DAF
GIGANT-DAF
GIGANT-DAF
MAN
MAN
MAN
MAN
MAN
MAN

638148
196043
166226
81436010056
81436010057
81436010058
81436010076
81436010079
81436010082

CONTITECH
AIRTECH
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
PIRELLI

727N

3727

D13S04
PNP306420100
1R2D460360
W010950191
8117

1F32A
1SC36034




20
#1881
SCHMITZ 750212 CONTITECH 728N
AIRTECH 3728
CF GOMMA 1SC36034
CF GOMMA 92575
E DUNLOP PNP306420100
FIRESTONE 1R2D470360
FIRESTONE W010950419
GOODYEAR 8117
PHOENIX 1F32A
I

R
g

CHEREAU VSRU500211F  CONTITECH 737N
MB A3933280101  AIRTECH 3737
us ' MENARINI 178739 CF GOMMA 1832323

s ! MB 3933280201 CF GOMMA 89756
& WABCO 8961302044 FIRESTONE 1R2A480330
FIRESTONE W010950211

GOODYEAR 9075

PHOENIX 1F26

TAURUS B127

MERCEDES 3183280001 AIRTECH 3746

DAIMLER A3183280001 CONTITECH 746N

WABCO 8961301654 GOODYEAR 9076




21300

2762

Pl )

I

393

A3633280201

WABCO 8961302034

BPW 0220024200
BPW 942938020
BPW 0220024000
DAF 664425

DAF 0578361
EVO BUS 4731013000
GIGANT 196035
GIGANT 161210
GIGANT 161209

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
TAURUS

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR

757N
3757
1R2A380305
W010950212
9077

1F26C

B126

762N

3762

1SC36030
92594

D13S02
PNP307800100
1R2D390360
W010950190
9010

e,

Us |

1762

OTOKAR 16M0003652
KENT

EURO4-EURO5

VOIT FRONT




300

KARSAN BREDA M.

18 M KORUKLU  AVEN CITY

SPLUS ON BMB0004301

KARSAN BREDA M.
21981
18 MKORUKLU ~ AVEN CITY
us SPLUS ON BMB0004301
.
(V4]
—
7 o
9255
MIBxLS 12
110
o260 | OEMPARTNUMBER CROSSREFERENCES
r—M-1 IRIS BUS 5000954175 CONTITECH 768N
RENAULTRVI 5000954175 AIRTECH 3768
VOLVO 1612455 DUNLOP D13S08
1768 FIRESTONE W010950213
2 FIRESTONE 1R2A380330
GART 3020385
GART C302A
GOODYEAR 9078
GOODYEAR 556039078




MENARINI 252933 CONTITECH 769N
RENAULT T. 5000805284 AIRTECH 3769
RENAULT T. 5000786640 CF GOMMA 1SC24030
[ RENAULT T. 5000786641 CF GOMMA 97326
z VAN HOOL 624319860 DUNLOP D10S02
' WABCO 8961301864 DUNLOP PNP305140100
WABCO 2 8961301954 FIRESTONE 1R1A380260
FIRESTONE W010950204
| (21308 | GOODYEAR 8053

21
0210 IRIS BUS 5000954176 CONTITECH 782N
D130.8
— IRIS BUS 500324098 AIRTECH 3782
qUS \ IRIS BUS 500324098 CF GOMMA 1528525
T3 | IVECO 4716989 CF GOMMA 97555
. . IVECO 4703904 DUNLOP D11S02
-
| IVECO 4703972 FIRESTONE 1R1A415285
' IVECO 93195986 FIRESTONE W010950197
MB A3823277201 GART D290
01308 _| RENAULT T. 5000954176 GOODYEAR 9013
o | OEMPARTNUMBER CROSSREFERENCES
0280
| IRIS BUS FR1 5010190888 CONTITECH 782MB3
JONCKHEERE 26160203300 VIBRACOUSTIC  V1E2123
g ZF SACHS 0501210851
- TEMSA 2686082000Y
Wl MBS
[Tad
™

@200

M1Bx1.5




L MAN 81436010050  CONTITECH 809NT
MAN 81436010054  CF GOMMA 1T320SP
' MAN 81436010073  CF GOMMA 89754
I | MAN 81436016029  FIRESTONE 1T15L6
i i NEOPLAN 102100500 FIRESTONE W01M580031
| N o NEOPLAN 102121500 PHOENIX 1D23C
|
M1
WEGHT  245KS  BOXDW.-QTY. Porirem. srcs
o us-2809T @&, ORDERNO: 1045254
| OEMPARTNUMBER CROSSREFERENCES
9254 BREDA M. 178739 CONTITECH 809NTB
MAN 81436016002  AIRTECH 3908T
US ' MAN 81436016023  CF GOMMA 1T320SP
we CF GOMMA 89753
5 FIRESTONE 1T15L6
! o FIRESTONE W01M580687
GOODYEAR 1R12709
PHOENIX 1D23C1
P11 PIRELLI 1T320SP

IRIS BUS 5000805998 CONTITECH 817N
IRIS BUS 5810805998 AIRTECH 3817
RVI 5000805998 CF GOMMA 1SC26030
B RVI 5810111355 CF GOMMA 97613
o OTOKAR DORUK  13HO003648AA  GART C289BS
REAR(ARKA)
DORUK 215LE  16F0003648CA




2240 . 2240

OTOKAR 9900033889AA  CONTITECH 817MB
IRIS BUS 5000786641
: IRIS BUS 5810111355
| w MIB15
| I IRIS BUS 100V8
: IRIS BUS A320
| i
! - @200
,___EELL___J
M18x15
M10x1.5
IRIS BUS 5000786641
F:ﬁ IRIS BUS 5810111355
Eﬁ, ' OTOKAR DORUK L190
in 16F0003650CA
1]
ARKA
un
| -

@z00

M10x1.5

2160
Pl I}EL_!}l BREDA M.
P e
I
OPTARE
2R
; TEMSA

192709
A0003280101

UN15966
OPALIN

CONTITECH
AIRTECH

CF GOMMA
CF GOMMA
FIRESTONE

FIRESTONE

GART

819N

3819
1821522
90609
1R18350225
W010950543
C296




MB VARIO TO A6673280101 CONTITECH 819MB

PAUL NFZ A6673280101 CF GOMMA 1821522
TRANSP.
TEMSA OPALIN  TM260133Y CF GOMMA 97297

M18x1.5
hA 1001

MB VARIO TO AB673280001 CONTITECH 819NPO1

PAUL NFZ P29P08320080

231

95

MERCEDES AG743280001 CONTITECH 838 N
AIRTECH 3838
DUNLOP D13S05
GOODYEAR 9074
ﬁ GOODYEAR 556039074

PHOENIX 1F26D
VIBRACOUSTIC  V1F26D
NEOTEC AB434L




@240

470

IVECO

IVECO
RVI-IRIS BUS
RVI-IRIS BUS

MERITOR

8139068
41022620
5000296827
5000296816

MLF8199

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
GART

GOODYEAR

876N
3876
1S32336
92477
D298C

8314

495

BREDA M.
MAN
MAN
MAN
MAN
MAN
MAN
MAN
MAN

MAN
MAN
MAN
MAN
MAN
VOLVO
VOLVO
WABCO

D031115

81436010065
81436010067
81436010070
81436010092
81436010093
81436010094
81436010095
81436010097

81436010128
81436010110
81436010072
81436010071
81436010137
1082085
1082130
8961301234

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
FIRESTONE
FIRESTONE
GART
GOODYEAR
PHOENIX

CONTITECH
AIRTECH

CF GOMMA

CF GOMMA
GOODYEAR
PHOENIX
VIBRACOUSTIC
FIRESTONE

FIRESTONE

882N1
3882
15025028
97042
1R4RA465260
W0109500435
C2890

9048

1F16

883N1
110562
18C25029
204250
9012
1F21C2
V1F21C2
1R4R465260
W010950435




422

M1261.25

IVECO
IVECO BUS
IVECO BUS
MAN

MAN

MAN

MAN VW
MAN VW
IVECO

8188539
500301452
97108363
81436010069
81436010106
81436010108
81436010066
81436010068
8184025

RENAULT PREM. 5010294385

RENAULT PREM. 5010488756

CONTITECH

CF GOMMA

CF GOMMA
GOODYEAR
PHOENIX
TAURUS
VIBRACOUSTIC
FIRESTONE
FIRESTONE

CONTITECH

AIRTECH
VIBRACOUSTIC

884N
18C27025C
97608

9002

1F20A
BL249
V1F20A
1R1B415270
W010950295

884NP04
388404C
V1F20A1

2190

B120.6

sln

AWD (BEDFORD) 91101884

DENNIS

DENNIS
MERITOR
SCANIA

SCANIA

6556061

6563002
MLF8010
411627

473049

CONTITECH
AIRTECH
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX

896N

3896

SP2191
PNP305140100
1R1J520285
W010950173
W010950245
8040

2E18A



425

| ows |

CARDI

DENNIS
IVECO-PEGASO
IVECO-PEGASO
SCANIA
SCANIA

SCANIA

58050315
6562892
795097
794686
0411622
0411623

402315

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE

897N

3897

1S32030
88788

SP2192
PNP305210101
PNP305210100
1R1K440320
W010950174

ez

(&) BIIR:

MAN
MAN
MAN
MAN
MAN
MAN
MAN
TEMSA
ZFSACHS

81436010095
81436010097
81436010102
81436010105
81436010126
81436010138
81436010100
TE771107Y
1770000160

CONTITECH
AIRTECH
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR
PHOENIX
TAURUS

916N1

3916
D12S05
2R2A460295
W010950555
C289C1
9015
1F21C5
B154

130

MAN
MAN
MAN
MAN
MAN
MAN
MAN
TEMSA
ZFSACHS

81436010095
81436010097
81436010102
81436010105
81436010126
81436010138
81436010100
TE771107Y
1770000160

CONTITECH
AIRTECH
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR
PHOENIX
TAURUS

916N1

3916
D12S05
2R2A460295
W010950555
C289C1
9015
1F21C5
B154




2100

3308

—

L

il

LN
102

L

il

LN
102

A1

D260
M22x1.5

M16x1.5

D157

o)
V]

M24x3

M 16xl,

D157

D260
M22x1.5
3

o)
V]

M24x3

IVECO BUS

EVO BUS
HEULIEZ
RENAULT
RENAULT-IRIS
RENAULT-IRIS
RENAULT-IRIS
KASSBOHRER
NEOPLAN

BMC BUS

BMC BUS

99459166
A0003280001
5000288982
5000288982
5000288982
5010151378
5010151379

4771503000

53RS900131

53RS900144

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

921N

3921
1528523V
202728
D10S04
1R1A415260
W010950226
D276B5
8043




D185

31206

us
037

(220

425

375

348

DENNIS
DENNIS
VOLVO
VOLVO

JONCKHEERE

DENNIS
DENNIS
DENNIS
DENNIS
IVECO BUS
MCW
SCANIA
VOLVO
VOLVO

IRIS BUS
WABCO

TEMSA
AVENEU LF

61189612
68523

3116354

AAU2542

6502928
6508834
6508837
68612
6453741
X6641056
434932
10904403
3116983

5000819370
8961301704

NK11410101Y

CONTITECH

AIRTECH
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX

TAURUS
VIBRACOUSTIC

CONTITECH
AIRTECH
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE

GOODYEAR
PHOENIX
TAURUS

CONTITECH
AIRTECH
DUNLOP
DUNLOP
GOODYEAR

GOODYEAR

927N

3927
PNP300080100
1R1J415285
W010950244
8037

2E18B

B179

V2E18B

928N

3928
D12S03
1C3308
1R1K380320
W010950228
8042

2E23A

B178

936N

3936

D12S01
PNP309070100
9042

556039042




TEMSA

IRIS BUS

IRIS BUS

M18x1.5
hAT01

@202

85.5

S5,

M18x1.5
M10x1.5

114120
5000787901

5010019248

CONTITECH

AIRTECH

936MB

3936K

BREDA M.

INBUS

IVECO
IVECO
IVECO BUS
PEGASO
SICCA

VOLVO

INBUS

INBUS

IVECO
IVECO

350

) IVECO

IVECO

IVECO BUS

IVECO BUS

55001051
5001051
5317V05316Vo
8160165
6144040

199563
4890001

1999893
4840005
4890001
4738008
4722525
8188526
4736728
4714025
6657150

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
GART

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

943N

3943

1528518
88809

D11S05
PNP316730100
1R1A260285
W010950189
D276D

944N
3944
1528522
97619
D11S04
1R1B390270
W010950121
D290B

9009



DEla

(1308

N

@230

435

305

MENARINI
IVECO BUS
PEGASO
PEGASO
PEGASO
RVI
SCANIA
WABCO
IVECO

MERCEDES
EVO BUS

MERCEDES

178741
4716989
197145
4716989
769388
5000787632
523229
8961301944
500364686

AB283230092
6283230092

A4103230092

CONTITECH

AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
GART

CONTITECH
AIRTECH

CF GOMMA

CF GOMMA
FIRESTONE
FIRESTONE
PHOENIX
VIBRACOUSTIC
NEOTEC

945N

3945

1528525
97555

D11S01
PNP301000101
1R1A460290
W010950063
D276

946N

3946
1SC29028
207725
W010950915
1R2A435300
1F20C
V1F21C6
AB415SB

S US-20031  (Zd = ORDERNO: 1086:300
| OEMPARTNUMBER CROSSREFERENCES
@300
@198.1 MERCEDES A3823277001 AIRTECH 30031
I
' FIRESTONE W010950031
FIRESTONE 1RD445355
o GOODYEAR 566038031

450




WARLOCK AIR 1010

@130.8

9240
IVECO 500042527 CONTITECH 1416N
IVECO 503130261 PHOENIX 1E25A
IRIS BUS 503130261

373

@252
01308
VOLVO 1075290 CONTITECH 1421N
VOLVO 1593842 AIRTECH 31421
VOLVO 1622122 FIRESTONE 1R2A490305
VOLVO 1622115 FIRESTONE W010950472
i a GOODYEAR 9072
GOODYEAR 556039072
DUNLOP D12518
GART C299E
GART 2990490




413

IVECO
IRIS BUS

IRIS BUS

5001857612
5001857612

2997876

AIRTECH
CONTITECH
VIBRACOUSTIC
CF GOMMA
CF GOMMA
GART

GART

NEOTEC

31782
1782N1
V1E23T1804
207726
1SC28530
2890460
C289G

AB515S

MERCEDES

MERCEDES

9603201817

9603203317

CONTITECH

SK175605P01

265

UsS

F{EIN)

245

M1Ex1.E

MERCEDES

MERCEDES

9603201717

9603203217

CONTITECH

SK175604P01




o265

@265 MERCEDES 9603201517 CONTITECH SK175602P01
g MERCEDES 9603203017 VIBRACOUSTIC 1V190430RH830
2x1K !
=
| (Y=}
| 2280
) @265 SPECIAL PRD. URD
| b
21814 !
1
|
0280

SPECIAL PRD. ITL




(230
308

MAN

MAN

21885
MAN

MAN

MAN

MAN

MAN

@283
/ MAZ
E—|—— =
M16x1.5
197
9
@197
M16x1.5
D240
D150.8 MAN

470

| IVECO

WABCO

SOCHS

98478799
81436010125
81436010140
81436010150
81436010123
81436010111
81436010109
81436010104
896130114

64302934014

81436010163

001748451100

CONTITECH

AIRTECH
CF GOMMA
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART

CONTITECH

AIRTECH

1885N1
31885
1SC27028
97043
97043
D12507
1R2A445280
W010950429
C289C

1888N
31888



MERCEDES ACTROS EURO6 SPECIAL PRD. YIS

>/

Us

217

@280

zz
g%
inin

e
&

IVECO BUS 503130533 AIRTECH 31924
IRIS BUS 5001843640 CONTITECH 1924N1
TEMSA 2015, M9 8.5 MT. PHOENIX 2F18

VIBRACOUSTIC  V1E20A

GART 2890360
GART C298E
NEOTEC AB526

IVECO 41026260 VIBRACOUSTIC  V1E21C270471
IVECO 500042577
IVECO 500041350

415




B285

@285
m ﬂ': IVECO 41026260 VIBRACOUSTIC ~ V1E21C270471
n IVECO 500042577
us IVECO 500041350
I
2xM16x1.5
' g 186
I"I. /—‘_\
il
2186 W
b weGHT ke eoxom-ar.
&254 MAN SL200 SPECIAL PRD.
g

D265

432

M1z

M12x1.75

<

81436010047

CONTITECH 810NT
CF GOMMA 1T19E15
GOODYEAR 1R14714




432

M12x1.75

(265 #
0

MAN
MAN

PEGASO

81436016019
81436010042

174933

CONTITECH

AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX

810NTB
34810T

1T19E1

93702
PNP311380000
1T19L7
WO01M580749
1R14713
1DK28A4

352

OTOKAR DORUK 13H0005484AA

ON

OTOKAR
ISUZU
VOITH
ISUZU

CITI BUS ON
CITI BUS ON

220LE

13HO03654AA
387020205001
H68219201

3870202055

VIBRACOUSTIC

CF GOMMA
CF GOMMA
GART

V1D23G4
DC1S27025C
204151
2901420

@285

M16x1.5

OTOKAR

OTOKAR
ISUZU
VOITH
ISUZU

CITI BUS ON

NOVA CITI ON

13H0005484AA
DORUK 220LE
13H003654AA
387020205001
H68219201

387630477001

VIBRACOUSTIC

CF GOMMA
CF GOMMA
GART

V1D23G4
DC1827025C
204151
2901420



@190
21308, VOLVO 20535875 CONTITECH 6621N
PHOENIX 1E18D
GOODYEAR 9080
| GOODYEAR 9043
2 GOODYEAR 9146
I DUNLOP D12521
NEOTEC AB414SL
| SPRINGRIDE 9080

" E 308

VOLVO 205535876 CONTITECH 6621NP03
Rl08 VOLVO 20725459 PHOENIX 1E18D03
" \ GOODYEAR 9513
uUs
SEe] GOODYEAR 9576

102

2%
M10

VOLVO 20540789 CONTITECH 6622N

VOLVO 21836533 GOODYEAR 9134
GOODYEAR 9081
PHOENIX 1E21F

§ NEOTEC AB445SN




Lo VOLVO 20540795 CONTITECH 6622NP01
3 o VOLVO 21415150 GOODYEAR 9558
VOLVO 21836532 GOODYEAR 9537
7 GOODYEAR 9556
I GOODYEAR 9577

GOODYEAR 556039134

GOODYEAR 556039131

GOODYEAR 556039147

37T

9190
VOLVO 21347075 CONTITECH 6623N
B6R/B7R/B9R 21836531 FIRESTONE W010950672
VOLVO 20540792 GOODYEAR 9133
GOODYEAR 9132
I PHOENIX 1E18C

51308 VOLVO 21836530 CONTITECH 6623NPO1
VOLVO 21426708 GOODYEAR 9559
us VOLVO 21347077 GOODYEAR 9557
= VOLVO 20540798 GOODYEAR 9578
" GOODYEAR 9538
! 2 GOODYEAR 556039133
GOODYEAR 556039132
o768 GOODYEAR 556039148




VOLVO 70377054 CONTITECH 6611N

118

VOLVO 21593263 CONTITECH 6615N
AIRTECH 30054
GOODYEAR 9138

77

VOLVO 70377052 CONTITECH 6611NPO1

CONTITECH 77052M

VOLVO 70397048 CONTITECH 6611NP02

CONTITECH 97048M




VOLVO 21251607 CONTITECH 6611NP03
@150.8
fE\ CONTITECH 51607M
27054
=
=
@200

KARSAN D072851 AIRTECH 328250
BREDA M. 2015 MODEL PHOENIX 1F16
ARKA
CF GOMMA 1SC25028

KARSAN D072851 AIRTECH 328250T
BREDA M. 2015 MODEL PHOENIX 1F16
ARKA

CF GOMMA 18C25028




IVECO 41006926 AIRTECH 319250
IVECO 187201727 CF GOMMA 1SC25019
MERITOR MLF8204 CF GOMMA 201727

IVECO 41008929 AIRTECH 319270
IVECO 500055251 CF GOMMA 18C27019
IVECO 42554430 CF GOMMA 201732
MERITOR MLF8206 GART D278F

% GART 2760300

2

IVECO 42531994 AIRTECH 320270
GRANNING 17074 CF GOMMA 1527020V
MENARINI D020990 CF GOMMA 202773

142




@210

IVECO 500055245 CF GOMMA 1827027

IVECO 500319479

484

2218
1308 IVECO 98411807 AIRTECH 332260
i CF GOMMA 1SC26032
CF GOMMA 96987
GART 2890350

355

@240
01508 IVECO 41022620 AIRTECH 336323
CF GOMMA 1832336C
CF GOMMA 203833

207




BMC BELDE 7B100323 SPECIAL PRD.

o e

BMC 7B100323A SPECIAL PRD.

8273

@227

(327

- BMC PROCITY 57RS900004A SPECIAL PRD.




us
iz !
. 8
il
223

M22x1.5
M12x15

BMC PROCITY 57RS900004A SPECIAL PRD.

. 1508

BMC 53RS900061 SPECIAL PRD.

N WEGHT 44 kG BOXOM.-aTY. mnwrcs
273 BMC 53RS900142M SPECIAL PRD.

G053 100

M16x15

@227




AIRTECH DORSE16P

1
[ 4xh112 M22x1.5
| 2
| Ly
! Ml
o o WEIGHT 39 Ke  BOXDM.-QTY. - zecs
AIRTECH DORSE16K
 ooe
i
i
I
US
G M22x1.5 (50 4
3
=
| [ |
| (320

2311

SPECIAL PRD. ozT

=
El

25

35|

2
' M12x1.75 MI2x1.5

= ) @255
=




405

191

G380

435

21565

R

2K
M12x1.75

M22x1.5

@31

ZxM12 M22x1.5

9255

GIGANT
MERITOR

WABCO

SPECIAL PRD.

00166252 CONTITECH

MLF8105 AIRTECH

9518147560 DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR

SPECIAL PRD.

ozT

725NP03
372501K
D14B43
1T66F108
W01M588610

1R14756

SlY




| 0280 | SPECIAL PRD. SC

M3 | I
| w M2Ix1.5 nZ

30

, B286 |

SPECIAL PRD. ozT

135403

435

]
|
i 2M12 M22x15
|

%i
—
LA
o
Ln
~

=}

95

i , : 3 SPECIAL PRD. ozT
,&ﬂ,ﬁ' -
|
S I

M22x1.5 M1z

365




L DT I

2093

(227

<]

M2 1.5
MI12x1.5

SPECIAL PRD. YSD

@227

M20u1.
M12x1.5

227

SPECIAL PRD. YSD

SPECIAL PRD. YSD




2150

BMC

53RS900069AA

SPECIAL PRD. YSD

SPECIAL PRD. AKD

SPECIAL PRD.




@150

BMC 53RS900069

M22x15
L M16x15
. &
s
A
@200
0280
- Isuzu 3870009222AB  1SUZU TURKUAZ
Us
u
o
=

D248

M1z

ISUZU 3870009222AB ISUZU TURKUAZ




175

@200

350

128

ISUZU 3870009232AB ISUZU TURKUAZ

=
=
25

% SOLARIS 1001101044 PHOENIX 1DF25A1NP
SOLARIS 1001101046 VIBRACOUSTIC  V1DF25A1NP
SOLARIS 1001101047
SOLARIS 1001101058

SOLARIS 1001101060 AIRTECH 31070K

SOLARIS 1070002000 PHOENIX 1DF25A1
VIBRACOUSTIC  V1DF25A1

@227

M18x1.5




422

PANAV

PHOENIX 1D2435L

TAURUS KR25035L

PHOENIX 1D2435L

TAURUS KR52035L

SPECIAL PRD.




D259

b
i

188

E2 (]

D259
1387

SPECIAL PRD.

2259

529

130 m22us
= GIGANT 3053 CONTITECH 724NPO1
"“J f/ * & GIGANT 246169 AIRTECH 3724K
w GIGANT 700246169 GOODYEAR 1R11711
N GOODYEAR 566223504
NEOTEC ABM55130M

GIGANT 3053 AIRTECH 3724K
bl
:] GIGANT 166225



D259

i

us

2724401

529

D259
M22x1.5
e ﬁ GIGANT 166259 CONTITECH 724NP02
/e | @
2XM12x1.75
0134

=
=]
[=3]

310

R — -

(208

525

28

GIGANT 166259 CONTITECH 724NP02

M2 M22x1.5

GIGANT 00166217 CONTITECH 725NPO1

& " GIGANT 246149 AIRTECH 3725P
CF GOMMA 1TCS36045
CF GOMMA 202964

212 M22x1.5

FIRESTONE 1T66E108
FIRESTONE W01M588969
GART 2925
GOODYEAR 1R14704

VIBRACOUSTIC  V1DF32




' 9310 i = GIGANT 246149 CONTITECH 725NP02
| e GIGANT 166217 AIRTECH 3725K
us . | e MERITOR MLF8103 CF GOMMA 1TCS36045
P e EEns WABCO 9518147470 DUNLOP D14U38
| i FIRESTONE 1T66F108
| = FIRESTONE WO01M588969
GART C2928
‘ 0255 GOODYEAR 1R14747
L GOODYEAR 1R14813
WEGHT 543G BOXDIM.-QTY. Periwe- s
| - | GIGANT 00166252 CONTITECH 725NP03
n 1IF n ) |\_ 3 MERITOR MLF8105 AIRTECH 372501K
us ! 5 WABCO 9518147560 DUNLOP D14B43
- | 2xM12 M22x1.5 FIRESTONE 1T66F108
FIRESTONE WO01M588610
5 GOODYEAR 1R14756

2311

220

L @311 |

75
)

GIGANT

710

M22x1.5

Saa

@190
M 16x

GIGANT

2xM12

00247100
700247100

3671

CONTITECH

VIBRACOUSTIC

752NP01
V1DF32166228



9311

o254

220
@311
3 ﬁl GIGANT 00247100 CONTITECH 752NP01
N
- ; "‘]_ . . = GIGANT 700247100 VIBRACOUSTIC  V1DF32166228
T | / GIGANT 3671
M22x15 2¥M12
o 2257
Ll
1
1
0257
0227
~ K DAF 1698436 CONTITECH 792NPO1
DAF 1448543 AIRTECH 38678P
02 DAF 1529836 FIRESTONE W01M588678
- VIBRACOUSTIC  V1DK20C8
| 3
0228
1
0227 mi r~ - DAF 1698436 CONTITECH 792NPO1
; oyiRar
] - S B= DAF 1448543 AIRTECH 38678KPP
Te] i
" [2,.?T§ | DAF 1529836 FIRESTONE W01M588678
3x
i M16x1.5 M10x1.5 VIBRACOUSTIC ~ V1DK20C8
n
| =
@254
i
™




M10x1.5

DAF

DAF

DAF

1698436
1448543

1529836

CONTITECH
AIRTECH

FIRESTONE
VIBRACOUSTIC

792NPO0O1
38678KPP

WO01M588678
V1DK20C8

n
(a1
wy
—
b |
@227
5.7 OEMPARTNUMBER CROSSREFERENCES
@227
i DAF 1793526 CONTITECH 792NP02
UsS
79
m
| 3
| —
D228
o | OEMPARTNUMBER CROSSREFERENCES
134
i e . l\\ DAF 1793526 CONTITECH 792NP02
5\ 8
™
i L
3x
M22x1.5 M10x1.5
9
bl

1215




. @273 |

273
150 DAF 0067504 CONTITECH 836M
”“]Es:\ VDL/BUS 0067504 AIRTECH 3836P
1
| \JE DUNLOP D13U32
o 1
o FIRESTONE 1T17AR45
hadl \_I_/ e
m  MIBXLS| 455 | miaxts FIRESTONE W01D080776
FIRESTONE W01M580776
. GOODYEAR 1R12700
ri0s PHOENIX 1DF251NP
265 TAURUS KR721
. | OEMPARTNUMBER CROSS REFERENCES
150
f‘ra\ DAF 0388165 CONTITECH 836MK1
. 027 : '
3 L= DAF 1697678 AIRTECH 3836K
. " SERE
US % 175’ DAF 1520833 DUNLOP D13B32
2836 I Ml6xLa| 35 |3xMI1D MERITOR MLF8060 FIRESTONE 1T17AR45
f ] WABCO 9518127120 FIRESTONE W01M588722
1 s
= GOODYEAR 1R12712
= EE 2 PHOENIX 1DF2511
0230
TAURUS KR72106
VIBRACOUSTIC  V1DF2511

]
‘2%;3 DAF 0513982 CONTITECH 836M2
/Fﬁ__gz\ VDL/BUS 0513982 AIRTECH 383602P
¢ [ DUNLOP D13U31
S § =
7\ FIRESTONE 1T17AR45
(5l
=1 “‘“1“5;”::10“1 5 FIRESTONE W01D080777
M16x1.5
FIRESTONE W01M580777
GOODYEAR 1R12710
, PHOENIX 1DF253
1508
T VIBRACOUSTIC  VDF253




27 DAF 0388167 CONTITECH 836M2K1
. DAF 0388168 AIRTECH 383602K
us MERITOR MLF8059 DUNLOP D13B31
el o WABCO 9518127110 FIRESTONE 1T17AR45
A
| J FIRESTONE W01M588721
! [Trl
b
- GOODYEAR 1R12711
PHOENIX 1DF2513
D230
TAURUS KR72103
VIBRACOUSTIC  V1DF2513
D273
75 7
. 0273
VDL BUS 0377498 CONTITECH 836MBK4
3 377498 AIRTECH 383604K
FIRESTONE WO01M588705
M16xLS o FIRESTONE W01D088705
E PHOENIX 1DF2514
B150.8
D265
i omumries
s
0373 "Thﬁ\ VDL BUS 0377498 CONTITECH 836MBK4
e
& - —4 377498 AIRTECH 383604K
)< ' 5231 FIRESTONE WO01M588705
e T7e | M10
M16x15 |80 | 75 FIRESTONE W01D088705
PHOENIX 1DF2514




@273
75
0273 / l | VDL BUS 1153933 CONTITECH 836NP05
[ . | =1
™ r L FIRESTONE WO01M589710
[Fal | -
3
M2z s Ejj';} FIRESTONE 1T17AR45
NEOTEC ABMS50731F02
0230
| 0230 m
M16

o)
s
o

. @273 DAF 0526651 CONTITECH 836MBK6
= MERITOR MLF8054 AIRTECH 383606K
= VDL BUS 0526651 FIRESTONE 1T17AR45
us FIRESTONE WO01M588701
J GOODYEAR 1R12768
I g PHOENIX 1DF2515
lﬂﬂ VIBRACOUSTIC ~ V1DF2515

G230

]
S

@273 , /

1385

@227

y DAF 0297721 CONTITECH 836MK7
4 T 'E— FIRESTONE W01M588715

H__I f}(h FIRESTONE 1T17AR45

8o 75| MO
PHOENIX 1DF2512
GOODYEAR 1R12723
TAURUS KR72101
VIBRACOUSTIC  V1DF2512
DUNLOP D13B33




@273 [

EYE]

DAF 1622849 CONTITECH
DAF CF 75-85 1697683 AIRTECH
DAF XF 75-85 1697683

M16x1.5

836NP09

383609P

21508 |
- o amro oy
DAF 1622849 CONTITECH 836NP09
D273
DAF CF 75-85 1697683 AIRTECH 383609C
M DAF XF75-85 1697683

130

" @273

EXE:

M1Bx1.5

1794420 CONTITECH

1794423 FIRESTONE

FIRESTONE

GOODYEAR
GOODYEAR
PHOENIX
VIBRACOUSTIC
NEOTEC

836NP10
W01M588368
1T17AR45
1R12849
566243548
1DF23A4
V1DF2685810
ABM50731G07




CONTITECH 836NP10
0273
FIRESTONE W01M588368
FIRESTONE 1T17AR45
68 GOODYEAR 1R12849
i J GOODYEAR 566243548
I
e PHOENIX 1DF23A4
VIBRACOUSTIC  V1DF2685810
0230
NEOTEC ABM50731G07
@273 /‘%\ CONTITECH 836NP12

<L

LA

[ —

130

CONTITECH

836NP14




D273

8
(=4

130

M2dal.5 M0

VDL BUS

VDL BUS

45015337

5015337

CONTITECH

836NP14

22

335

@227

133

@197

@227
|
= L]
i i | §
M16x1.5 3
134 | M10x15
@227

Ak
5 + g_

Miex1s 22 pmio

&gy

N
Y

DAF
VDL BUS

F MAX GEKICI

DAF/VDL BUS
DAF/VDL BUS
DAF/VDL BUS
DAF/VDL BUS
F MAX CEKICI

0513983
0513983

MIDILLI

1141525
1154761
41141525
41154761

MIDILLI

CONTITECH
AIRTECH

FIRESTONE
FIRESTONE
GOODYEAR

SPRINGRIDE

CONTITECH
CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
FIRESTONE
VIBRACOUSTIC

887M

3887P
1T15LNR3
W01M580780
1R11796

D11U41

887NP04
887MBK6
3887K
1T15LNR3
W01M585785
W01M588683
V1DF183




134
DAF 0392022 CONTITECH 887MK1
. 0227 . ,
o o "] + 7 s DAF 1697684 AIRTECH 38683K
C , . DAF 0392011 FIRESTONE 1T15LNR3
X
m§ , MI6x13 | M1 DAF 1520834 FIRESTONE WO01M588683
ol U VIBRACOUSTIC  V1DF182
=
' a 0190
0190
134
@227 /: . I\ DAF 1240503 CONTITECH 887MK2
=) -
= i I - DAF 1697685 AIRTECH 388722C
; Us ! ' DAF CF75-85 FIRESTONE 1T15LNR3
I
- Mi6x15 28 Mo DAF XF95-105 FIRESTONE W01D088686
| A NEOTEC ABM21428A04
@192
' o /"I’\
@192 ﬁ/
N WEIGHT  760KG  BOXDIM-QTY. movierse sres
1
DAF 1266382 CONTITECH 887MK3
. BT . wt
= o + g DAF 1697682 AIRTECH 388733K
[ A N
=
C : L FIRESTONE 1T15LNR3
I
Us I MI16x1.5 M0 FIRESTONE W01M588682
2RRT
il |

-
137




22

L _+__§

M1l | M0

@185

DAF

DAF

DAF

DAF

DAF

DAF

1286251 CONTITECH
1697680 FIRESTONE
1529837 FIRESTONE
CF 65-75-85

XF 95-105

LF 45-55

887MK4
1T15LNR3

WO01M588681

(3185
@227
. P
227 ' VDL BUS 1153935 CONTITECH 887NP03
L]
| AIRTECH 388703C
U | P FIRESTONE 1T15UCR55
IRET FIRESTONE WO01M585785
| L mzzas M1
| & GOODYEAR 1R11888
! GOODYEAR 566223533
| NEOTEC ABM21428C03

@130.8

@238

@227

us

IRRT

133

I 0197

0227
76
I~ : \\
o
M22x15 IXM10

2197

T

Y,

|_100

VDL BUS

1153935

CONTITECH
AIRTECH

FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR

NEOTEC

887NP03
388703C
1T15UCR55
W01M585785
1R11888
566223533

ABM21428C03




@227

DAF 1794428 CONTITECH 887NP06
=] FIRESTONE 1T15LNR3
=
- FIRESTONE W01M588549
1887 NEOTEC ABM21428D07
" M22x1.5 2EM10
4
o weGHT ke soxom-arv.
~
0259 DAF 1794428 CONTITECH 887NP06
P FIRESTONE 1T15LNR3
I:JNST} FIRESTONE W01M588549
NEOTEC ABM21428D07
180
5
i
@190
: DAF 1276846 CONTITECH 889M
S DAF 1279141 AIRTECH 3889P
U
Tast | DAF 1698434 FIRESTONE 1T15LLR5
| " GRANNING 16225 FIRESTONE W01M580781
1
o]
| FORD CARGO 1838 FIRESTONE WO01M588679
1
| 1838T GOODYEAR 1R11843
1
#130.5
0238




@z2zy

@277 ‘i DAF 1276846 CONTITECH 889MK2
rd
™ . DAF 1279141 AIRTECH 3889K
- g
A DAF 1698434 FIRESTONE 1T15LLR5
Us g GRANNING 16225 FIRESTONE W01M580781
W MIE1S M10
B FORD CARGO 1838 FIRESTONE WO1M588679
P 1 E
@197 1838T GOODYEAR 1R11843
- /T\
@270 w
- WEGHT | 72KG moxDm-aTv. meeese e
- 5 GRANNING 15709 CONTITECH 902MB
MERITOR MLF7069 AIRTECH 3902P
us | RENAULT VI 5010211724 FIRESTONE 1T19G12
zanz
i RENAULT VI 5000815749 FIRESTONE W01M589910
i 5] RENAULT 5010239338
| SAF HOLLAND ~ M0057000

@300

@3N

@311

M16x].5

GRANNING
MERITOR
RENAULT VI
RENAULT VI
RENAULT

SAF HOLLAND

15709
MLF7069

5010211724
5000815749
5010239338

MO0057000

CONTITECH

AIRTECH

FIRESTONE
FIRESTONE

902MB
3902K
1T19G12
W01M589910



2912

2xM12

M22x1.5

SAF HOLLAND
VP03 MODUL
SAF HOLLAND
V P01

SAF HOLLAND

WEWELER

2926
3228003000
2926
3229003000
2926 V

US07385

CONTITECH
AIRTECH

CF GOMMA
FIRESTONE
FIRESTONE
GART
GOODYEAR
PHOENIX
SPRINGRIDE

912NPO1
32926P
207737
1T19L14
WO01M588502
28746011
1R14728
1D28D10
1R14728

SAF HOLLAND 2926 CONTITECH 912NPO1
VP03 MODUL 3228003000 AIRTECH 32926K
SAF HOLLAND 2926 CF GOMMA 207737
V P01 3229003000 FIRESTONE 1T19L14
EIHE HElis SAF HOLLAND 2926 V FIRESTONE W01M588502
WEWELER US07385 GART 28746011
= GOODYEAR 1R14728
™ PHOENIX 1D28D10
SPRINGRIDE 1R14728
weenr ke soowean
- | OEMPARTNUMBER  CROSSREFERENCES
i SAF HOLLAND 2926NP02 CONTITECH 912NP02
SAF HOLLAND 3229001300 AIRTECH 3912P
gl% i HENDRICKSON 507782 AIRTECH 391314
i ROR 21222673 CF GOMMA 1T19E4
i § WEWELER US96681 CF GOMMA 96997
! CF GOMMA 202442
! DUNLOP D13B14
FIRESTONE W01M588766
FIRESTONE WO01M587385




@286

SAF HOLLAND  2926NP02 CONTITECH 912NP02
SAF HOLLAND 3229001300 AIRTECH 3912C
S L HENDRICKSON 507782 AIRTECH 391314
=2 ! ROR 21222673 CF GOMMA 1T19E4
WEWELER US96681 CF GOMMA 96997
CF GOMMA 202442
| 2 DUNLOP D13B14
' FIRESTONE W01M588766
FIRESTONE W01M587385
- weGHT ke soxom-arv.
0259 | _ﬂ__ _ _

423

7 A1

xM12

MG

BPW

BPW
MERITOR

0542940910
0542941510

0542940931
MLF8045

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

940MB
3940P
1TC30030
205536
D11U31
1T17D43
W01M588613
C293A
1R11703

- WEGHT  asKe  BoXDM-amy. T
oz | EMPARTNUMBER  CROSSREFERENCES
150 _
. 0259 , /'%j\ i BPW 0542941231 CONTITECH 940MB
&l BPW 0542940931 AIRTECH 3040K
BPW 0542942191 CF GOMMA 1TC30030K
BPW 0542941141 CF GOMMA 207308
MERITOR MLF8042 FIRESTONE 1T17D43
MERITOR MLF8177 FIRESTONE WO1M588609
WABCO 9518117520 GOODYEAR 1R11763
PHOENIX 1DK21K1
VIBRACOUSTIC  VIDK21KX4




T

D259

us

423

D259

BPW

gg[ BPW

BPW
Mi2 Mzzx1s  BPW
GRANNING
MERITOR

BPW

Pxl.5
BPW

@134

0542941231
0542940931
0542940910
0542943210
16919
MLF8177

0542941531

0542943860

0542943860

CONTITECH
AIRTECH
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
VIBRACOUSTIC

CONTITECH
CONTITECH
FIRESTONE

FIRESTONE
PHOENIX

CONTITECH
CONTITECH
FIRESTONE
FIRESTONE
PHOENIX

940MB
3940KPP
D11B36
00936AAP
1T17D43
W01M588585
1R11752
1DK21K2
V1DK21KY4

940MBPO1
40910NPO1
1T17J78
W01M588073
1DK21K4

940MBPO1

40910NPO1

1T17J78

W01M588073

1DK21K4




BPW

(248

0542943220

0542940030

0542940281

AIRTECH

394001CPP

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

941MB
3941P
1TC30036
204466
D11U30
W01M588620
1T17D83
C293
1R11700

150 L
BPW
Kivsic

BPW

BPW
M1z MIZx15 BPW
BPW
BPW

: = WABCO

WABCO

0542941241
0542941281
0542940591
0542940091
0542941371
0542940641
9518117000
9518117020

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR

941MB
3941K
1TC30036
205170
D11B38
00935AAP
1T17D83
WO01M588619
1R11762




BPW

BPW

BPW
M22x1.5 ~ BPW
BPW
BPW
BPW
BPW
MERITOR

0542941241
0542941281
0542940591
0542940091
0542941371
0542943200
0542943340
0542943560
MLF8046

AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX

394101KPP
1TC30036
206356
D11B38
00935AAP
1T17D83
W01M588668
1R11743
1DK212

2259

2248

523

@259

0542940030

0542940281

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

941MB
3941P
1TC30036
204466
D11U30
W01M588620
1T17D83
C293
1R11700

2259

0542943850

CONTITECH

CONTITECH

PHOENIX

FIRESTONE
FIRESTONE

941MBPO1

40030NPO1

1DK214

WO01M588072

1T17J118



a5

G5

81440500142

I [
&

2xM12 M2Exl.5

@311

81440500142

M
12x1.75 M22x1.5

120
Fiv}

P W
Rl RO

Y

CH
1SERNINE

81440500142

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
TAURUS

VIBRACOUSTIC

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
VIBRACOUSTIC

AIRTECH
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX

TAURUS

942MB
3942P
WO01M588611
1T66F135
1R14700
1DK32L
UR83701T

V1DK32L

942MBPO1
3942K
1T66F 135
W01M588584
1R14781
1DK32L1
V1DK32LX14

3942CPP
1T66F135
WO01M588611
1R14700
1DK32L

UR83701T




@259

615

s

BPW

BPW

0542942720

0542940720

AIRTECH

CONTITECH
CONTITECH
FIRESTONE
FIRESTONE
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR

3951P
951MB
40720N
WO01M588621
C01M582221
1T17D12
1T17D118
1R11704
566223502

L 2259 [

306

BPW
BPW

VOLVO
VOLVO
VOLVO
VOLVO
VOLVO

0542942720

0542940720

21013010
21513836
21057939
21044268

20703452

AIRTECH

CONTITECH
CONTITECH
FIRESTONE
FIRESTONE
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR

AIRTECH

CONTITECH
PHOENIX

GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR

3951C
951MB
40720N
W01M588621
C01M582221
1T17D12

1T17D118
1R11704
566223502

30010P
6620NPO1
1DF25C1NP
1R12826
1R12798
1R12824
1R12857




B259

M20x2.5
M14x1.5

553

M2

3134

)

548

L 01565

MB DISCOS

HENDRICKSON

SAMRO

A9463280401
HS251087

2500915

AIRTECH

FIRESTONE
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
PHOENIX

VIBRACOUSTIC

30081P
1T17B11
WO01M588747
WO01M588629
1R13150
1R13148
1DK251

V1DK258747

MB DISCOS
HENDRICKSON

SAMRO

CARGOBULL
JOST

MB DISCOS
MB DISCOS
RENAULT
SCHMITZ
SCHMITZ
SCHMITZ
SMB

A9463280401
HS251087

2500915

S§015323
2010501501
A9463281501
A9463282201
5006172377
S017924
FAG0410087
1288087
93770001

AIRTECH

FIRESTONE
FIRESTONE
FIRESTONE
GOODYEAR

GOODYEAR

PHOENIX
VIBRACOUSTIC

CONTITECH

AIRTECH

FIRESTONE

FIRESTONE

GART

GOODYEAR

PHOENIX
VIBRACOUSTIC

30081K
1T17B11
WO01M588747
W01M588629
1R13150
1R13148
1DK251
V1DK258747

4035NP02
30283P
1TL19L11
W01M586223
D2772520
1R14823
1DK28F3
V1DK28F3




D2dn

e

B
s
&

178

345

CARGOBULL

25

JOST

95

M2Ex1.5

MB DISCOS
MB DISCOS
RENAULT
SCHMITZ

SCHMITZ

SCHMITZ

SMB

S015323
2010501501
A9463281501
A9463282201
5006172377
S017924
FAG0410087
1288087
93770001

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
GART
GOODYEAR
PHOENIX

VIBRACOUSTIC

4035NP02
30283K
1TL19L11
W01M586223
D2772520
1R14823
1DK28F3

V1DK28F3

| 21565 |

SCHMITZ
SCHMITZ

SCANIA
WEWELER
WEWELER

WEWELER

017685
017089
2198324
US04031P
US04029P

YP4031NF

AIRTECH
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
SPRINGRIDE
VIBRACOUSTIC

30285P
1T19L11
W01M588107
1R14864
1D28F5
D14B49
V1D28F5

o WEGHT  SaKke  BOXDW-QTY. o zecs
150
L (280 : = SCHMITZ 017685 AIRTECH 30285K
_ _l_ L SCHMITZ 017089 FIRESTONE 1T19L11
U S 3 N L SCANIA 2198324 FIRESTONE W01M588107

20285 | _ M1z M22x1.5 WEWELER US04031P GOODYEAR 1R14784

: + WEWELER US04029P PHOENIX 1D28F5

E WEWELER YP4031NF SPRINGRIDE D14B49
VIBRACOUSTIC  V1D28F5




538

o265

SCHMITZ
SCHMITZ

SCANIA

WEWELER

WEWELER

WEWELER
M16x1.5

017685
017089
2198324

US04031P
US04029P

YP4031NF

AIRTECH
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
SPRINGRIDE
VIBRACOUSTIC

30285P
1T19L11
WO01M588107
1R14864
1D28F5
D14B49
V1D28F5

@286

2Z0IR3-01

178

1
@260
@335

2 SCHMITZ
SCHMITZ
k] SCANIA
M22x1.5 WEWELER
WEWELER
WEWELER

017685
017089
2198324
US04031P
US04029P

YP4031NF

AIRTECH
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
SPRINGRIDE
VIBRACOUSTIC

30285K
1T19L11
W01M588107
1R14784
1D28F5
D14B49
V1D28F5

SPECIAL PRD.

URD



I @259

uUs

20722

360

2259

BMC

BMC

HENDRICKSON

M20x1.
M12x1.5

12 HENDRICKSON

9P921675A AIRTECH 30722P
57RS308888 VIBRACOUSTIC  V1DK27B2
HS5079000

HS5079223

B259

122

240

o165 |
0265

BMC
BMC

HENDRICKSON
HENDRICKSON

DAF

DAF /VOLVO

KAISER
RENAULT
ROR

ROR MER.
SAE
SAMRO
TEC

9P921675A AIRTECH 30722K
57RS308888 VIBRACOUSTIC  V1DK27B2
HS5079222

HS5079223

1384273 CONTITECH 810M30
US874131 AIRTECH 3810P
A0603620 DUNLOP PNP307520000
5000452939 FIRESTONE 1T19L7
21215632 FIRESTONE WO01M587237
21208082 PHOENIX 1D28A5NP
9212050 VIBRACOUSTIC  V10D28A5NP
H25000008

50624301




BARTOLETTI 91619007 CONTITECH 810MB
BERTOJA 45402002 AIRTECH 3810K
DAF 1384273 CF GOMMA 1T19E1
20 GRANNING 15635 CF GOMMA 874131
g HENDRICKSON ~ B2065 DUNLOP D13B20
s HENDRICKSON 506243 DUNLOP 00984AAP
) HENDRICKSON ~ 785168 FIRESTONE 1T19L7
I—% IVECO 9988467 FIRESTONE WO01M586345
KAISER A0603620 FIRESTONE WO01M588775

BARTOLETTI 91619007 CONTITECH 810MB
BERTOJA 45402002 CF GOMMA 1T19E1
BERTOJA 91101897 CF GOMMA 874131

DAF 1384273 DUNLOP D13B20
GRANNING 15635 DUNLOP PNP311780000
HENDRICKSON  B2065 FIRESTONE 1T19L7
HENDRICKSON 50624301 FIRESTONE W01M586345
HENDRICKSON 785168 FIRESTONE WO01M588775
IVECO 9988467 GOODYEAR 1R14716

| 3286 |

AIRTECH 381001K

25

95

2C

K12 MZ2x1.5




435

D286

M22x1.5

SCHMITZ
WEWELER
WEWELER
WEWELER
WEWELER
WEWELER
WEWELER

WEWELER

016010
US07337PST2
US07337CST2
US07337FST2
US07337GST2
SMB9377007

US07337ST2

YPO07337ST2F

PHOENIX
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR

DUNLOP

VIBRACOUSTIC

1D28A12

W01M586225

1T19L7

1R14783

566283530

FD14B48
V1D28A12

M12

SPECIAL PRD.

SPECIAL PRD.




. o286 |

@170

) | &0 WEWELER US04437FA FIRESTONE W01M586226
A
Us 3
2310
M2 M22a15
0
=+
@170
& D
i ;
R
A265
M1 B2
0286
m m WEWELER US04437TFA  FIRESTONE W01MS586226
us
20810 |
@ M2 Mazas
i
@252
b
@252 |
B
_am | OEMPARTNUMBER  CROSSREFERENCES
) SPECIAL PRD.
3|
| oMz ma2as
i [t
| =+

M1




D260

140

SPECIAL PRD.

25M12 M22x1.5

511

DAF 0526823 AIRTECH 381101P
EVO BUS 4731029000 FIRESTONE 1T19L11

M1z

o “’ WEGHT  ssKc  BoXOM.-aTY. mnm s
| (3255 AIRTECH 381101

FIRESTONE 1T19L11




511

BATTAGLINO 22111400 DUNLOP

FIRESTONE
FIRESTONE
FIRESTONE

GOODYEAR

D14B51
1T19L11
WO01M587370
W01M586339

1R14721

| D256

178

420

0335

BATTAGLINO 2211400 AIRTECH

ROR / MER. 21215633 FIRESTONE

SAF 2229001000 FIRESTONE
FIRESTONE
DUNLOP
GOODYEAR

381102K
1T19L11
W01M587370
W01M586339
D14B51

1R14721

all

175

DEGS

285G

DAF 676823 CONTITECH

10y, _ 9oy

DAF 0067452 AIRTECH

JxM 10

MERITOR MLF7118 CF GOMMA

M2Zx1.5 VDL BUS 0526823 CF GOMMA

DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
GART

811M16K1
3811P07
1T19E2
203878
D13B36
PNP311670000
1TL19L11
WO01M586334
D277B




L D6

g,

| s (, DAF 0526823 CONTITECH 811MB
(% © _J} _*.’_ DAF 1384274 AIRTECH 3811K
—
e
US /\ - RVI 5000745918 CF GOMMA 1T19E2
20811
| - M22cL5_00_| Mibx12s  SAF 2229000300 CF GOMMA 203878
! :
™ VDL BUS 0526823 DUNLOP D13B34
2 DUNLOP PNP311670000
; FIRESTONE 1T19L11
026D FIRESTONE W01M586359
0335
GART D277B
o _ow. . OEMPARTNUMBER CROSSREFERENCES
180

A1

_:-"/
15
il

FIRESTONE 1T19L11

D286

SPECIAL PRD.




@236

ZORZI

VIBERTI

VIBERTI

IVECO
SAF

1006565
128147124

128147112

0175005
2229000300

AIRTECH
FIRESTONE

CF GOMMA
CF GOMMA

CONTITECH
AIRTECH
FIRESTONE

FIRESTONE
PHOENIX

VIBRACOUSTIC

391318C1
W01M586363

1T19E2
97730

813MB
3813P
1TL19L11
W01M587238
1D28B5NP

V1D28B2NP

o WEGHT s Ko BOXDW.-GTY. T e
| OEMPARTNUMBER  CROSSREFERENCES
) 286 BARTOLETTI 91619005 CONTITECH 813MB
BATTAGLINO 2211400 AIRTECH 3813K
U CARDI 58051000 CF GOMMA 1T19E2
e DAF 1384274 CF GOMMA 87408
I E ERF 1439083 DUNLOP D13B19
E EVO BUS 4731030000 DUNLOP 00985AAP
EVO BUS 4731033000 FIRESTONE 1T19L11
g;;g FRUEHAUF 003615E FIRESTONE WO01M586339
GRANNING 15634 FIRESTONE WO01M586364




a1l

BARTOLETTI 91619005

BATTAGLINO 2211400

CARDI 58051000
DAF 1384274
DAF 0388491
ERF 1439083
EVO BUS 4731030000
EVO BUS 4731033000
FRUEHAUF 003615E

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR

AIRTECH

FIRESTONE

813MB
3813KPP
1T19E2

87408

D13B19
PNP311770000
1T19L11
WO01M586364
1R14705

381301P
1T19L11

22486

SPECIAL PRD.




@286 |

1/27-13

UNC

IBERO MOP
NOMA

HBZ
RANDON
SILPA

TRES EIXOS

59000001
9200164
8000604(14)
212100261
2210200135

1969

CONTITECH

AIRTECH

FIRESTONE
FIRESTONE
GOODYEAR

GOODYEAR

1110521S948BR
381310P
1T19F11
WOA0950320
556038060

556028550

D286
IBERO MOP 59000001 CONTITECH 11105215948BR
@ NOMA 9200164 AIRTECH 381310P
Us HBZ 8000604(14) FIRESTONE 1T19F11
e300
RANDON 212100261 FIRESTONE WOA0950320
' SILPA 2210200135 GOODYEAR 556038060
i TRESEIXOS 1969 GOODYEAR 556028550
| 4
" =
|
D260
ax
M12x1.75
- HBZ 8000604(14) CONTITECH 11105215954BR
i A GUERRA 5002002036002  AIRTECH 381311P
HR1311
i HENDRICKSON 785170 FIRESTONE 1T19F11
: M22x15 Mi2 SUSPENSYS  R71500001 FIRESTONE W010950524
| B SILPA 2210200135 GOODYEAR 1R14857
]
| v SAF HOLLAND  2229000A00A  GOODYEAR 566283500
I
| RANDON 212100261




20813-1

1

HBZ

A GUERRA
HENDRICKSON
SUSPENSYS

SILPA

SAF HOLLAND

RANDON

8000604(14)
5002002036002
785170
R71500001
2210200135
2229000A00A

212100261

CONTITECH 1110521S954BR
AIRTECH 381311P
FIRESTONE 1T19F11
FIRESTONE W010950524
GOODYEAR 1R14857
GOODYEAR 566283500

g

-
w

@248

442

HENDRICKSON
MB

HS508263

9423205921

GOODYEAR 1R11847
GOODYEAR 1R11765
GOODYEAR 566223525
VIBRACOUSTIC  V1DK22G1

(3258

hl24x1.
M16x1.5

HENDRICKSON
MB

HS508263

9423205921

GOODYEAR 1R11847
GOODYEAR 1R11765
GOODYEAR 566223525
VIBRACOUSTIC  V1DK22G1




5210)

G5

M2Exl.5

L&
L

95

420

|
I &

M2Zx1.5

A5

95

|
I &

M2Zx1.5

BPW

BPW
BPW
BPW
BPW
BPW
BPW
BPW
BPW
BPW

0542940010

0542941361
0542941211
0542940391
0542940141
0542940611
0542940471
0542904071
0542940241
0542940501

CONTITECH

AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

AIRTECH
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
PIRELLI
TAURUS
VIBRACOUSTIC

SPECIAL PRD.

881MB
3881P
1TC36045
204530
D14U36
1T66D108
W01M588978
C292
1R14708

388101K
D14U36
1T66D108
W01M588966
1R14712
1DK321
1TC36045
KR8361
V1DK32X9

SlY




02311

BPW

BPW

BPW

BPW

BPW

BPW

BPW

BPW

WABCO

0542941361
0542941211
0542940391
0542940141
0542940611
0542940471
0542943510
542943510

9518147480

CONTITECH

AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR

881MB
388101KPP
1TC36045
206357
D14B36
00934AAP
1T66D108
WO01M588667
1R14748

2212
@180

145

2212

Axb10:15

M1&

SAF HOLLAND

SAF HOLLAND

3228105300

3228105300




@22y

us -
211 |
1
|

by

—

ol

Ly

M12x1.75

@19
1/4-18 MFTF

M12:1.75

NAVISTAR 350243C94 CONTITECH 910S18P1067(BK)

NAVISTAR 3541731C1 FIRESTONE 1T15XR9
FIRESTONE W013581191
FIRESTONE W013581192
GOODYEAR 1R12432
GOODYEAR 1R12689
GOODYEAR 566243165

2300

KASSBOHRER 4731043000 AIRTECH 31324P
KASSBOHRER 473104310013 PHOENIX 1DK32E4
CF GOMMA 1TC36050
FIRESTONE 1T66E138
FIRESTONE W01M588988
GOODYEAR 1R14809
GOODYEAR 566283545

VIBRACOUSTIC  V1DK32E4
DUNLOP D14U50

B273 |

M 16x1.5

|50 [e7 By

FORD DC465580AA CONTITECH 1850NPO1
FORD CARGO FRONT(ON)

1838(T)

9C465580AA




2273
150

/‘ N FORD DC465580AA CONTITECH 1850NPO1
. 0273 : ES f;H,_ jg FORD CARGO  FRONT(ON)
fal Il |
S 17 1838(T)
u 3
I M1fxl.5 13?_5.. MIO 9C465580AA
I
b 0230
. 0230

111.5

427

VOLVO 20909150 CONTITECH 6630NPO1
VOLVO 21977973 GOODYEAR 1R11857

M241.
M16x1.5

@227

VOLVO 20909150 CONTITECH 6630NPO1
VOLVO 21977973 GOODYEAR 1R11857




VOLVO 21321515 CONTITECH 6630NP02
FH STANDART GOODYEAR 1R11851
GOODYEAR 1R11903
- GOODYEAR 566223561
5 M16x1.5
GOODYEAR 566223585
- | OEMPARTNUMBER CROSSREFERENCES
- VOLVO 21321515 CONTITECH 6630NP02
FH STANDART GOODYEAR 1R11851
us
bt GOODYEAR 1R11903
GOODYEAR 566223561
u
= GOODYEAR 566223585
= B
i
o weeHT ke soxom-arv.
@227 g22r _ _
- FORD DC465580DA  CONTITECH 1889NPO2
S FORD DC465580DB  VIBRACOUSTIC ~ VIDF16V990
a1 FORD CARGO  REAR(ARKA)
M16x1.5 M10x1.5 1838(T)
9C465580BA

455




o7 FORD DC465580DA  CONTITECH 1889NP02
I
& FORD DC465580DB  VIBRACOUSTIC  V1DF16V990
. L FORD CARGO  REAR(ARKA)
g M16x1.5 IE MID —
EILCC I
9C465580BA
p _J g
' i
)
©200
|
MERITOR (ROR) 21231515 FIRESTONE 1T17BPZ11
S | FIRESTONE WO1R582244
1
R |
i M12x15 23M12
[al
i b |
i
| M12
i

b
i
o
S
B

MERITOR (ROR) 21231515 FIRESTONE 1T17BPZ11

FIRESTONE WO01R582244




345

L/ATIBNPT

a5,

BC
sv2_||as

1/2"-13UNC

290

151

3/4"-16UMN
1/4"-18MPT

285

3/4"-16UNF
1/4"-18NPT

/2 13UNC

1/2"-13UNC

FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER

FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER

FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER

1615595000 CONTITECH 910S16P382

1615595001 FIRESTONE 1T15ZR6

1615595002 FIRESTONE W013589780

1614004000 GOODYEAR 1R12303
1613840000

A1614004000

6813200017

1613810000

1613810001

1615595000 CONTITECH 910S16P382

1615595001 FIRESTONE 1T15ZR6

1615595002 FIRESTONE W013589780

1614004000 GOODYEAR 1R12303

1613840000
A1614004000
6813200017
1613810000
1613810001

1615595000 CONTITECH 910S16P382

1615595001 FIRESTONE 1T15ZR6

1615595002 FIRESTONE W013589780

1614004000 GOODYEAR 1R12303

1613840000
A1614004000
6813200017
1613810000
1613810001




@61

21

IVECO 41272478
IVECO 500042579
Us OTOKAR 19A0103854AA
=)
=
N6 b IVECO 41272478
L IVECO 500042579
us OTOKAR 19A0108474AB
= SULTAN LF
ARKA
[Tt
S
(32}
[Tah
| .
=
D161 = OTOKAR 19A0103854AA
Uus
2273
| "
=
1 -
(gl
[Fa]
l i




@227

IVECO 500042588 VIBRACOUSTIC  V1DF19S179
ﬁgw—l_g' Wmll_ IVECO 41297179 CF GOMMA 1TS27025C
225553 i IVECO 500041351 CF GOMMA 7501207163
IVECO 42566303 GART 2901422

ZxM1Bx1.5

420

| 308 |

2219

@227

@227
4
; ! IVECO 500042588 VIBRACOUSTIC  V1DF19S179
|
==
15
@200
A2
@227

%

L

2

"

IVECO 41297179 CF GOMMA 1TS27025C
us }ﬁjL IVECO 500041351 CF GOMMA 7501207163
|
M1 IVECO 42566303 GART 2901422
M

60

=
W

;

@227
IVECO 500042589 VIBRACOUSTIC  V1DF19S180
ﬁgw__ 3 IVECO 41297180 CF GOMMA 207162
GART 2901421

M1Ex1.5 GART D290R

420

2219




@227

IVECO 500042589 VIBRACOUSTIC  V1DF19S180

o227
[tﬁl ';I IVECO 41297180 CF GOMMA 207162
[
us | }:ﬁjL GART 2901421
M16x1.5 GART D290R
2200
M14x2

{
1
125

@200

@227
140
i IVECO 500042592 VIBRACOUSTIC  V1D23G5WBHS
+
1 IVECO 504117415
US
221592

M12x1.75 M16x1.5

2134

@2zy
140

IVECO 500042592 VIBRACOUSTIC  V1D23G5WBHS

IVECO 504117415

J
.
|
|

M12x1.75 M16x1.5

3256

145




I @259

o1
&
=

D248

470

SAF

SAF
SAF
SAF

SAF

3229242900
3229222900
3229212900
3229002900

2618V

CONTITECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
TAURUS

4022NP03
1730037
206340
D12B14
1T17BS6
WO01M586367
1R11714
1DK22E9
KR72528

D250

25

&l

348

140

3250

SAF
SAF

SAF
SAF

SAF
SAF

SAF
SAF

3229002900
3229212900
3229222900
3229242900
2618V

3229002900
3229212900
3229222900
3229242900
2618V

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

4022NP03
32618KPP
1730037
204677
D12B14
1T17BS6
W01M586367
D278S
1R11714

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

4022NP03
32618KPP
1730037
204677
D12B14
1T17BS6
WO01M586367
D278S
1R11714



MERITOR MLF8135 CONTITECH 4022NP02
SAF 4284300600 AIRTECH 32619P
SAF 4284300301 DUNLOP D11U40
SAF 2618V FIRESTONE 1T17BS6
SAF 2619V FIRESTONE WO01M580756
GART D278S
GOODYEAR 1R11709
= Cl/ PHOENIX 1DK22E9NP
s TAURUS UR72528T
WEGHT 501K BOXDM.-QTY. Periwe-mws
3259 . SAF 3229003300 CONTITECH 4022NP02
ﬂ m M | Cm SAF 2619V AIRTECH 32619P
us . ! DUNLOP D11U40
M12 M22x15 FIRESTONE 1T17BS6
3 FIRESTONE WO01M580756
- GART D278S
| bl
GOODYEAR 1R11709
@255 PHOENIX 1DK22E9NP
TAURUS UR72528T

SAF
SAF

WABCO

3229003300
2619V

9518117810

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

4022NP05
32619KPP
1730037
206585
D11B41
1T17BS6
WO01M588612
D278S
1R11781



@259
M20x1.5 I I 12

M12x1.5

MG

38

@259

SAF

SAF

3228104300

3228104300

CONTITECH
AIRTECH
NEOTEC
PHOENIX

PRIME RIDE

PRIME RIDE

4022NP08
3261901KPP
ABM52030F 11
1DK22E16
1R11936

566223526

CONTITECH
AIRTECH
NEOTEC
PHOENIX
PRIME RIDE

PRIME RIDE

4022NP08
3261901KPP
ABM52030F 11
1DK22E16
1R11936

566223526

SAF HOLLAND 3229003800 AIRTECH 32621P

SAF HOLLAND 2621V

470




170

SAF HOLLAND

SAF HOLLAND

3229003800 AIRTECH 32621KPP

2621V

‘ ]
@240
o | OEMPARTNUMBER CROSSREFERENCES

B2

470

SAF HOLLAND

SAF HOLLAND

KOGEL

W16

3229003900 AIRTECH 32626P
2626V

360112

o WEIGHT  5085Ke  BOXDIM.-QTY. - secs
@259
SAF HOLLAND 3229003900 AIRTECH 32626KPP
FD'L_M'% SAF HOLLAND 2626V
| KOGEL 360112




30
i @210
i SPECIAL PRD.
] [Ty
| =N\
| X
1 2xM12 M22:1.5
| 9
[1r]
1
1
o WEIGHT  SS0KS  BOXDIM-GIY. rerieosm- orcs
210
SPECIAL PRD.
| [ XN ] =
(RN il
. - S
S D \/g
12725
s |
£
. z
(3255
3380
. @286
DAIMLER TAS  A9463281901 DUNLOP D14B55
3 DLS TE5/8 A9463281901 FIRESTONE W01M586222
i ] JOST JAS 2010501901 GART 2772422
21812
. JOST JAE 2010501901 GOODYEAR 1R14825
| 2xM12 M22x1.5
, n LECINENA 120025000199  NEOTEC ABM72234C36
=+
| —" WEWELER US07337RP PHOENIX 1D28A13
I
WEWELER US07337R VIBRACOUSTIC  V1DK28A13




I 2258

8C

565

248

D259

22851

176

o286

210

DAIMLER TAS
[Txl
“ DLSTES5S8
JOST JAS
JOST JAE
M22x15
LECINENA
WEWELER
WEWELER
~
L]
e

SCHMITZ

M1E

SCHMITZ

2%
M12x1.75

A9463281901
A9463281901
2010501901
2010501901
120025000199
US07337RP

US07337R

1077929

1077929

DUNLOP

FIRESTONE
GART
GOODYEAR
NEOTEC

PHOENIX
VIBRACOUSTIC

D14B55
W01M586222
2772422
1R14825
ABM72234C36
1D28A13
V1DK28A13

AIRTECH

GOODYEAR
GOODYEAR
GOODYEAR

32851P
566243541
1R12851
1R12829

AIRTECH

GOODYEAR
GOODYEAR
GOODYEAR

32851PKPP
566243541
1R12851
1R12829




SAF HOLLAND

3229004200 AIRTECH 32919P

SAF HOLLAND 2919V

468

=
ol
&
2
&

@286

SAF HOLLAND 3229004200 AIRTECH 32919C

I~ i
’H e ‘\_,_a SAF HOLLAND 2919V
o A e

M22x1.5 M2

SAF 3229004100 AIRTECH 32924P
SAF 3229002800 GOODYEAR 1R14815
SAF 2923V PHOENIX 1D28B11
SAF 2924V VIBRACOUSTIC  V1D28B11
SCANIA 1873863

SCANIA 1723276




@286
210

SAF 3229004100 AIRTECH 32924KPP
SAF 3229002800 GOODYEAR 1R14815
SAF 2923V PHOENIX 1D28B11
SAF 2924V VIBRACOUSTIC  V1D28B11
SCANIA 1873863

o SCANIA 1723276

o | OEMPARTNUVBER CROSSREFERENCES
‘ @286
. SAF HOLLAND 3229004700 AIRTECH 32927P
S | SAF 2927V FIRESTONE 1T19FB15
0037 FIRESTONE W01M585542
! PHOENIX 1D28D11
]

| b NEOTEC ABM76033C49

1

1

SAF HOLLAND 3229004700 AIRTECH 32927KPP

SAF 2927V FIRESTONE 1T19FB15
FIRESTONE WO01M585542
PHOENIX 1D28D11

NEOTEC ABM76033C49




9311

- SAF HOLLAND 3228001900 CONTITECH 3138NPO1
Us | SAF HOLLAND 4284300400 VIBRACOUSTIC ~ V1DK333138
; ' SAF HOLLAND 3228002200 CF GOMMA 1TC36059
SAF HOLLAND 3228002300 CF GOMMA 202560
SAF HOLLAND 3228004800
M20 SAF HOLLAND 3228004900
SAF HOLLAND 3228005000
?300
@180
weeds ke poxom-av.
| OEMPARTNUMBER CROSSREFERENCES
SCANIA 1903608 CONTITECH 6700NPO2
g.% i SCANIA 1944314 AIRTECH 34608P
! SCANIA 1774804 FIRESTONE WO01M588535
! SCANIA 2198915 GOODYEAR 1R14869
! 2 SCANIA 2357460 GART 2871607
! - SCANIA 2357532 GART D287H
SCANIA 2198915
s SCANIA 2729173
m SCANIA 2808412

210

350

0226

M1Bx1.5 @12

@226

SCANIA
SCANIA
SCANIA
SCANIA
SCANIA
SCANIA
SCANIA
SCANIA
SCANIA

1903608
1944314
1774804
2198915
2357460
2357532
2198915
2729173
2808412

CONTITECH
AIRTECH
FIRESTONE
GOODYEAR
GART

GART

6700NP02
34608P
W01M588535
1R14869
2871607

D287H




Mig

SCANIAR SER. 1510195 CONTITECH 6700NPO1
SCANIARNEW 1543691
SCANIARLOW 171113

EXTRA LOW

s

= WEGHT  572KG  BOXDIM.-GIY. movierse zros
286 SCANIA R SER. 1510195 CONTITECH 6700NP0O1
SCANIA R NEW 1543691
US i SCANIA R LOW 171113
360K
= EXTRA LOW
m
H =
| =
m @226
1
-t s
226 %/

36

439

M1Ex1.5

M2ax1.5

HENDRICKSON  QE100004 AIRTECH 33708C
FIRESTONE WO01M588643
FIRESTONE 1T17CL95
GOODYEAR 1R13708




@259

@259 f @n Hl HENDRICKSON  QE100004 AIRTECH 33708C
Inil
g =)
'ﬁé i{ FIRESTONE WO01M588643
m% . @ﬂ FIRESTONE 1T17CL95
M12 M22x1.5 GOODYEAR 1R13708
@258
@144
g
) / ﬁ\\
@258 |/
A
M12
B259
En | OEMPARTNUMBER CROSSREFERENCES
. 9259 208
o VOLVO 21513833 CONTITECH 6620NP02
=1 VOLVO 21097433 AIRTECH 33833K
Us VOLVO 70311683 GOODYEAR 1R12825
23833 VOLVO 21057936 GOODYEAR 1R12823
GOODYEAR R12858
GOODYEAR 566243524
GOODYEAR 566243539
GOODYEAR 56624355
PHOENIX 1DF25C1

@azy

MI0k15

21513833
21097433

70311683
21057936

CONTITECH
AIRTECH

GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
PHOENIX

6620NP02
33833K
1R12825
1R12823
R12858
566243524
566243539
56624355
1DF25C1



AIRTECH 34004P

442

G248

SAF HOLLAND 4284300301 CONTITECH 4004NP02
AIRTECH 3400405P
FIRESTONE 1T17BS6
FIRESTONE W01M580919
GOODYEAR 1R11705
GOODYEAR 566223503
PHOENIX 1DK22E5NP
TAURUS K505
VIBRACOUSTIC  V1DK22ENP

0259
| 0259 . 158
/g\ SAF 3229000700 CONTITECH 4004NPO5
v ™ R SAF 3229000701 AIRTECH 34004K
. SAF 3229000702 CF GOMMA 1730033
MIz M22¢15 SAF 3229000700 CF GOMMA 97722
e SAF 2229000700 DUNLOP D12B25
= FIRESTONE 1T17BS6
) GOODYEAR 1R11706
GOODYEAR 566223503

PHOENIX 1DK22E5



@259

193

SAF

3229000700

SAF 3229000702 AIRTECH

SAF 2618V CF GOMMA

SCANIA 1723273 CF GOMMA
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
GART

CONTITECH

4004NP03
34004KPP
203715
1730037
D12B13
D12B34
1T17BS6
WO01M586366
D278S

D259

A

M22x15

D160

GIGANT 246090 AIRTECH

GIGANT 247104

SPECIAL PRD.

GIGANT 166271 CONTITECH

AFG

4007NPO1
34007P



D259

8 GIGANT 166271 CONTITECH 4007NPO1
D250
| n | n ' R _|' GIGANT 246090 AIRTECH 34007K
-_'_.
US | | s GIGANT 247104
24007
M22x1.5 M12 GIGANT 3042
| .
oy
| =
‘ 204
D150
N GIGANT 3042
]
e
1
2uM12 20x1.5
&
=
1
. @25y . s GIGANT 3042
0|0 :
“ B
us
24007 | s
- M22x15 Mi12

M20w2.5




Q22T

227

A

\/

2215
MI12x1.5

S5,

OTOKAR
M 20-10

OTOKAR

MAGIRUS

FRONT(ON)

12F 0003651AA

0286
/] 21221349 CONTITECH 4008NPO1
| E | WEWELER US07380F AIRTECH 391303P
us | @ SAF HOLLAND 3229002400 FIRESTONE 1T19L12
! . M2l = dane FRUEHAUF UJB0305001 FIRESTONE WO01M588765
! i SAMRO H2500361 PHOENIX 1D28C12
| VIBRACOUSTIC ~ V1D228C12
' SPRINGRIDE ~ D13803
%4&
EEa A
1
| OEMPARTNUMBER CROSSREFERENCES
ROR 21221349 CONTITECH 4008NPO1
WEWELER US07380F AIRTECH 391303P
SAF HOLLAND 3229002400 FIRESTONE 1T19L12
M22x1.5 M12 FRUEHAUF UJB0305001 FIRESTONE W01M588765
SAMRO H2500361 PHOENIX 1D28C12
VIBRACOUSTIC ~ V1D228C12
SPRINGRIDE ~ D13803

CF GOMMA

1724019




Mz

OTOKAR
M 20-10

OTOKAR

MAGIRUS

FRONT(ON)

12F 0003651AA

CF GOMMA

1724019

G248

(1134

150
: o f?\j\\ AIRTECH 34022P
1
| T
| M22x1. 12
1
| 2
=
1
| M1z
1
|
w - WEGHT  Si5Ke  BOKDM-GTY. nerem: s
150
: ) f?\j\\ MERITOR MLF8135 CONTITECH 4022NP02
] ans SAF 4284300600 AIRTECH 34022P
us | T
. SAF 4284300301 DUNLOP D11U40
| M22x1. 12
! SAF 2618 FIRESTONE 1T17BS6
| 3 FIRESTONE WO01M580756
1
| 218 GART D278S
1
| GOODYEAR 1R11709
i j PHOENIX 1DK22E9NP
TAURUS UR72528T



259 MERITOR MLF8031 AIRTECH 34022K
SAF 3229002900 GOODYEAR 1R11710
SAF 3229212900 CONTITECH 4022NP03
SAF 3229222900 FIRESTONE 1T17BS6
SAF 3229242900 FIRESTONE WO01M586367
SAF 2618V CF GOMMA 1730037
WABCO 9518117100
WABCO 9518117510

B0
e
/?\ o) SPECIAL PRD. AKS
t ) N& ﬂ
Us
24022 2
Miz MZ2Zx15
z
Lard
=
L o
250

162

-
th
k=

@250 SAF 3229002900 CONTITECH 4022NP03
| SAF 3229212900 AIRTECH 34022KPP
SAF 3229222900 CF GOMMA 1730037
SAF 3229242900 CF GOMMA 206340
DUNLOP D12B14
FIRESTONE 1T17BS6
§ FIRESTONE WO01M586367
GART D278S
GOODYEAR 1R11714




@259
150
p259 /g\ .
L’Hj' 2 +\G TI
2
w12 M22x1.5
=]
b
"

B259
1
(3250
| M
S | |
wn 2x
| M1z M2215

SAF

SAF
SAF

SAF

SAF
SAF

SAF
SAF

3229003300
3229003900
3229002900

2619V

3229003300
3229003900

3229002900
2619V

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

4022NP05
32619KPP
1T30037
206585
D12B41
1T17BS6
WO01M588612
D278S
1R11781

4022NP05
32619KPP
1730037
206585
D12B41
1T17BS6
W01M588612
D278S
1R11781

SPECIAL PRD.

AFG



@250 . " SPECIAL PRD.  AFG
| 5 é} 5,31
- I
us b |
MR ’
| M1z MZ2x15
| 5
I
260
150
@259 . " SPECIAL PRD.  AKB
’L'n::ﬂ'-i— ) NG
UsS
24022 2x
M12 M2251.5
f o]
fenl
Las]

182

SAF 3229003100 CONTITECH 4023NP06

SAF 3229223100 AIRTECH 34023P

SAF 3229243100 CF GOMMA 1T19E2

SAF 3229213100 CF GOMMA 204676

SAF 3229002800 DUNLOP D13B26

SAF 2923 FIRESTONE 1T19F11

WABCO 9518147290 FIRESTONE WO01M586348
GOODYEAR 1R14729
PHOENIX 1D28A10




SAF
.
s sar

SAF

M22x1.5 M1z SAF
SAF

=5
i

SAF

WABCO

3229003100
3229223100
3229243100
3229213100
3229002800
2923

9518147290

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

4023NP03
34023K
1T19E2
204676
D13B26
1T19L11
W01M586348
D277
1R14729

SAF

SAF

SAF
SAF
SAF

SAF
WABCO

SAF

SAF

SAF
SCAINA

SCAINA

3229003100
3229223100
3229243100
3229213100
3229002800
2923

9518147290

3229004100
3229004100
2924V
1873863

1723276

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
CF GOMMA
CF GOMMA
DUNLOP

NEOTEC

4023NP03
34023K
1T19E2
204676
D13B26
1T19L11
W01M586348
D277
1R14729

1T19FB11
WO01M585541
1R14815
566283529
1T19E2
206890
D14B43
ABM74035C61



25
G5

174

530

CONTITECH
AIRTECH

FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX

VIBRACOUSTIC

4028NP02
34028P
1T19L12
WO01M588106
1R14782
1D28F1
V1D28F1

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
VIBRACOUSTIC

4028NP02
34028K
1T19L12
W01M588106
1R14782
1D28F1
V1D28F1

CONTITECH

AIRTECH

4028N
3402805P




D227
=
¥
24119
| 8
| Us
==
@190

@227

F

M1lGx15

2190

NP

M 1dxd

IVECO STRALIS
IVECO STRALIS
IVECO STRALIS
IVECO

IVECO IRIS BUS

FRONT RIGHT

41270463
500042584
500042598
42559766
41289370

AIRTECH

CF GOMMA

CF GOMMA
PHOENIX
VIBRACOUSTIC

MERITOR 21222239 CONTITECH 4028NP05
ROR 21222239 AIRTECH 381303K
BATTAGLINO 91101895 FIRESTONE 1T19L11
BATTAGLINO 91101894 FIRESTONE W01M587370
BATTAGLINO 2211400 GART D277D
£ GOODYEAR 1R14710
» GOODYEAR 1R14721
'_#' PHOENIX 1D28B12
VIBRACOUSTIC  V1D28F7
WEGHT 1326 poXDW.-QTY. B zecs
0227
IVECO STRALIS 41270463 AIRTECH 36687P
L Z IVECO STRALIS 500042584 CF GOMMA 17527023
| IVECO STRALIS 500042598 CF GOMMA 207173
o | Mléx1.5 IVECO 42559766 PHOENIX 1DF20G2
i g IVECO IRIS BUS 41289370 VIBRACOUSTIC ~ V1DF191463
i FRONT RIGHT

36687C
1TS27023
207536
1DF20G2
V1DF 191463




IVECO STRALIS
IVECO STRALIS
IVECO STRALIS
IVECO

IVECO IRIS BUS

FRONT RIGHT

41270463
500042584
500042598
42559766

41289370

AIRTECH
CF GOMMA

CF GOMMA
PHOENIX

VIBRACOUSTIC

36687C
1TS27023
206887
1DF20G2

V1DF191463

-
114

2190

@227

ar

%ﬁfr&]

1
2190

T
Y

M 1dxd

IVECO STRALIS
IVECO
IVECO
IVECO IRIS BUS
IVECO IRIS BUS

FRONT LEFT

41270462
42559765
41289369
500042583
500042600

AIRTECH

CF GOMMA

CF GOMMA

PHOENIX
VIBRACOUSTIC

[Tal
=
B227
IVECO STRALIS 41270462 AIRTECH 36686P
| &= IVECO 42559765 CF GOMMA 1T$27023
| IVECO 41289369 CF GOMMA 207172
X,
| Ml6x1.5 IVECO IRIS BUS 500042583 PHOENIX 1DF20G1
i g IVECO IRIS BUS 500042600
i FRONT LEFT

36686C
1TS27023
207535
1DF20G1
V1DF18S369




D227

1515

@227
A3,
1 Lith —
alo =
- . 3
us
24118
R
("]

118

@227

Ml6xl.5

IVECO STRALIS

IVECO
IVECO
IVECO IRIS BUS
IVECO IRIS BUS

FRONT LEFT

IVECO STRALIS
IVECO

IVECO IRIS BUS
IVECO IRIS BUS
IVECO STRALIS

REAR LEFT

IVECO STRALIS
IVECO

IVECO IRIS BUS
IVECO IRIS BUS
IVECO STRALIS

REAR LEFT

41270462
42559765
41289369
500042583

500042600

41270465
42559767
41289367
500042581

500042599

41270465
42559767
41289367
500042581
500042599

AIRTECH
CF GOMMA

CF GOMMA
PHOENIX

AIRTECH
CF GOMMA
CF GOMMA
PHOENIX

36686C
1TS27023

206886
1DF20G1

36685P
1TS27023
207170
1DF20G3

AIRTECH

CF GOMMA

CF GOMMA
PHOENIX

36685C
1TS27023
207537
1DF20G3




@227

D227

1515

@227
A3,
1 Lith —
alo =
3
us
24118
R
("]
|
N P
|

@190

Ml6xl.5

M 1dxd

IVECO STRALIS
IVECO

IVECO IRIS BUS
IVECO IRIS BUS
IVECO STRALIS

REAR LEFT

IVECO STRALIS
IVECO

IVECO IRIS BUS
IVECO IRIS BUS
IVECO STRALIS

REAR RIGHT

IVECO STRALIS
IVECO

IVECO IRIS BUS
IVECO IRIS BUS
IVECO STRALIS

REAR RIGHT

41270465
42559767
41289367
500042581

500042599

41270466
42559768
41289366
500042582
500042602

41270466
42559768
41289366
500042582
500042602

AIRTECH

CF GOMMA

CF GOMMA
PHOENIX

36685C
1TS27023

206884
1DF20G3

AIRTECH
CF GOMMA
CF GOMMA
PHOENIX

AIRTECH
CF GOMMA
CF GOMMA
PHOENIX

36684P
1TS27023
207171
1DF20G4

36684C
1TS27023
207538
1DF20G4




260

75

@195

IVECO STRALIS 41270466

IVECO 42559768
IVECO IRIS BUS 41289366
IVECO IRIS BUS 500042582
IVECO STRALIS 500042602

REAR RIGHT

AIRTECH
CF GOMMA

CF GOMMA
PHOENIX

36684C
1TS27023

206885
1DF20G4

@254

f4"1ELIMF
1/4"1BMPT

1/2"-13UNC

@240

1045

5

1/2"-13UMNC

34" -TEUNF
14" 18NPT

ROR 21216135
MERITOR 21208939
KRAFTIGER KG4150

AIRTECH

34150P

ROR 21216135
MERITOR 21208939
KRAFTIGER KG4150

AIRTECH

34150K




2227

ROR 21216135 AIRTECH 34150KPP
MERITOR 21208939
KRAFTIGER KG4150

3/47-18UNF
1/4"-18MPT

120

2227

ROR 21216135 AIRTECH 34150K
MERITOR 21208939
KRAFTIGER KG4150

3/4"-16UNF
1/2"-13UNMC 14 -18MPT

Ll
v

=

L

=

=

(]

g

RENAULT T. 5010239252 CONTITECH 4154NP05

RENAULT T. 5010488071 AIRTECH 34154P

RENAULT VI 5010239252 FIRESTONE W013528172
PHOENIX 1DK23F1

VIBRACOUSTIC  V1DK23F1

M12




D27

BC
£

1

121

RVI 5010294252B CONTITECH 4154NP05

RVI 5010488071 AIRTECH 34154KPP
RVI 5010239252 FIRESTONE W013528172
PHOENIX 1DK23F1

VIBRACOUSTIC  V1DK23F1

o

SPECIAL PRD. AKA

M2

SPECIAL PRD. AKA




RENAULT VI 5010294252 AKTAS 3415406C
2[ ( _|_ SCAINA 1320151 FIRESTONE W01M587283
us ' FIRESTONE 1T15M4
24154 | 2:
| MALD [SNE PV
u
i =
| 2134
@227
1575
-
, RENAULT VI 5010294252 AKTAS 3415406C
@227 d_ri | .
! SCAINA 1320151 FIRESTONE WO01M587283
oy FIRESTONE 1T15M4
24]'55'4 M MM1dx1.5
@241
200
& weewr ke soxom-arv.
1575 _,
@227 =
p FRUEHAUF UCE 13042 CONTITECH 91012A327
p’i_ h——|— HENDRICKSON 13158 AIRTECH 3415404P
24]554 | . LOADGUARD SC2457 FIRESTONE W013589053
| . 3/8"-16 UNC 1/4"-18 NFT  RIDEWELL 1003589053
I [==]
| m SAF 57009053
' D134 TRIANGLE 8327
[SEsE
N WATSON&CHA.  AS0095

@255

1/27-13 UNC




@227 L FRUEHAUF UCE 13042 CONTITECH 91012A327
ﬂ ‘I— HENDRICKSON 13158 AIRTECH 3415404C
? us | : ' LOADGUARD SC2457 FIRESTONE W013589053
ms | 26 _ RIDEWELL 1003589053C
1 35816 LINC 1418 NPT
SAF 57009053
' TRIANGLE 8327
(=1
o WATSON&CHA.  AS0095
@240
4x
=2 RENAULT 5010239252 CONTITECH 4154NPO5
[5al
™| RENAULT 5010488071 FIRESTONE W013588172
Hg | RENAULT VI 50102942528 PHOENIX 1DK23F1
| 2
VIBRA TIC  VIDK23F1
| . M16x1.5 M10x1 25 COUSTIC 3
) Lagl
1

M2

@227

-

"
=
prd
o

@227

M16x1.5

2xM10

RENAULT 5010239252 CONTITECH 4154NP05

RENAULT 5010488071 FIRESTONE W013588172

RENAULT VI 5010294252B PHOENIX 1DK23F1
VIBRACOUSTIC  V1DK23F1




@227

RENAULT 5010600570 CONTITECH 4154NP06
[ RENAULT 5010305438 AIRTECH 3415416KPP
us | oo RENAULT 7421978506
24154 |
i ﬁlmlzs il VOLVO 20758818
G240 VOLVO 21978510
4
™
=i
Ax

24156

M2 2015
M5

428

D254 (2134

CONTITECH
DUNLOP
FIRESTONE
GOODYEAR
PHOENIX
PIRELLI
TAURUS

4156NP05
D12B16
1T15M6
1R12719
1DK21A2
1732333
KR50628

144
3o

HENDRICKSON
NEWAY
ROR/MER.
ROR/MER.
ROR/MER.

WEWELER

HA100001
90557075
21215761

21215762
21216135

US35864F

CONTITECH

AIRTECH

GOODYEAR
PIRELLI

4156NP06
34156K
1R12719
1732333



@227 SPECIAL PRD. DST

EX{N]

141

AIRTECH 3415606KPP

FIRESTONE 1T15M6

370

143

HENDRICKSON  HA100053 AIRTECH 3415607KPP

FIRESTONE 1T15M6

FIRESTONE W014556288




FACCHINI 308501706 CONTITECH 91016A987BR
S RANDON 212100303 AIRTECH 3415614C
1% | RANDON 212100316 FIRESTONE W010950332
VOLVO 1076594 FIRESTONE W010950743
NH12/FH12 GOODYEAR 556028663
. 3 GOODYEAR 556038085
0260
ween ke socom-ar.
21 | OEMPARTNUMBER CROSSREFERENCES
1397
©a27 /]_\ GRANNING 1359 CONTITECH 4156NP14
i GRANNING 1528 AIRTECH 3415605KPP
NEWAY 90557027 CF GOMMA 1732332
}"13UNC %" 16UNF
o Y 8MPT NEWAY 90557033 CF GOMMA 207767
5
NEWAY 90557037 DUNLOP D12B33
g NEWAY 90557054 FIRESTONE 1T15M6
NEWAY 90557075 FIRESTONE W013589082
HENDRICKSON ~ B2066 GOODYEAR 1R12092
ROR 21208939 PHOENIX 1DK23K9082
WEGHT  600KG  BOXDIM.-QTY. B rs
| OEMPARTNUMBER CROSSREFERENCES
D227 FRUEHAUF M001472 CONTITECH 4156NP15
HENDRICKSON ~ HA100001 AIRTECH 34156KPP
i ROR/MER. 21215762 CF GOMMA T132332
' - ROR/MER. 21226046 CF GOMMA 207086
E ROR/MER. 21215761 DUNLOP D12B16
= WEWELER US35864 DUNLOP 00981BAP
FIRESTONE 1T15M6
FIRESTONE WO01M589361
GOODYEAR 1R12719




FRUEHAUF MO001472 CONTITECH 4156NPO7

297
| | AIRTECH 3415601K
S [ CF GOMMA 1732332
21 | E DUNLOP 00981AAP
. = M20x1.5
= DUNLOP D12B19
2 FIRESTONE 1T15M6
A N FIRESTONE W013589361
0260
(3315 GOODYEAR 1R12719
PHOENIX 1DK23K28
M FRUEHAUF M001472 CONTITECH 4156NP07
us | AIRTECH 3415601K
24156
CF GOMMA 1732332
; DUNLOP 00981AAP
" DUNLOP D12B19
1 5
| FIRESTONE 1T15M6
1
: | FIRESTONE W013589361
o260 GOODYEAR 1R12719
PHOENIX 1DK23K28

FRUEHAUF M001472 CONTITECH 4156NPOT7
AIRTECH 3415601K
CF GOMMA 1732332
DUNLOP 00981AAP
DUNLOP D12B19
FIRESTONE 1T15M6
FIRESTONE W013589361

©260 GOODYEAR 1R12719

PHOENIX 1DK23K28




I B2y

D227

139.7
SPECIAL PRD. URD
M2 24x 1.5
Mloxl.n
g
=t
D227 SPECIAL PRD. URD
Us
24156
= M2dx1.5
]
=
-
‘ D2ed
(2315

227

M1dxl.5 " M5

SPECIAL PRD. IRK




2y

157
PECIAL PRD.
@227 /$\ ilag
e Rl
1 2x
Hsﬁ | M0 M14x15
Lt
=
=f
3
0260
0315
. | OEMPARTNUMBER ~  CROSSREFERENCES
) FACCHINI 308501706 CONTITECH 91016A987BR
RANDON 212100303 AIRTECH 3415614
RANDON 212100316 FIRESTONE W010950332
VOLVO 1076594 FIRESTONE W010950743
L
7 NH12/FH12 GOODYEAR 556028663
2134 GOODYEAR 556038085
1/2"-13 UNC

FACCHINI 308501706
RANDON 212100303
RANDON 212100316
VOLVO 1076594
NH12/FH12

CONTITECH
AIRTECH

FIRESTONE
FIRESTONE
GOODYEAR

GOODYEAR

91016A987BR
3415614C
W010950332
W010950743
556028663

556038085



@227

) RANDON 212100333 CONTITECH 91016P849BR
! SUSPENSYS R71500002 AIRTECH 3415615
Hx% | SUSPENSYS R78000001 FIRESTONE W010950420
i . MAN 2T0616041 FIRESTONE W010950663
. m
| o MAN 18310 TITAN GOODYEAR 556028653
' 2134 MAN 19320 CONS GOODYEAR 556038085
MAN WORKER
24220EUROIII
MAN 24250E WORKER
- | OEMPARTNUMBER CROSSREFERENCES
‘ RANDON 212100333 CONTITECH 91016P849BR
SUSPENSYS R71500002 AIRTECH 3415615C
Lo ' SUSPENSYS R78000001 FIRESTONE W010950420
& MAN 270616041 FIRESTONE W010950663
N MAN 18310 TITAN GOODYEAR 556028653
i < @260 MAN 19320 CONS GOODYEAR 556038085
m MAN WORKER
@260 24220EUROIII
MAN 24250E WORKER
weer ke soxom-av.
| OEMPARTNUMBER CROSSREFERENCES
0227 SPECIALPRD.  YSD

a7




@227 FRUEHAUF UJB0207001 CONTITECH 4156NP09
. FRUEHAUF UJB0207 AIRTECH 3415603C
BERTOJA 45402004 FIRESTONE W01M589089
o FIRESTONE 1T15M6
) GOODYEAR 1R12706
PHOENIX 1DK23K54

VIBRACOUSTIC  V1DK23K54

DUNLOP FRD12B16

TAURUS KR50628

(227 SPECIAL PRD. CNM

-
s

b2
o

357

0221 \’4/
Midn2

SPECIAL PRD. CEn

325

Max. 310




AIRTECH 3415617K
FIRESTONE W010950292

GOODYEAR 8581

SPECIAL PRD. URD

22
|
1
e
RERES
=
=
-
=
260
(3315
1575 | OEMPARTNUMBER CROSSREFERENCES
@259 |
g ! - FRUEHAUF MO078580 CONTITECH 4157NP03
NEWAY 90557233 AIRTECH 3415703P
SMB NO078580
M20x1, 12
M12x15

4735




@259

157,5
@259 FRUEHAUF MO078580 CONTITECH 4157NP03
' R, i N SAF 90557233 FIRESTONE 1T15MPW7
FIRESTONE W01M586317
M12 M1241.5 TAURUS KP91553NW
=1 M20x1.5
-
o @200
~ 100
T
{o)
o
x

M2kl
M0 1.

FRUEHAUF
SAF

Mz

n,

i

MO078580

90557233

CONTITECH
FIRESTONE
FIRESTONE
TAURUS

4157NP03
1T15MPW7
WO01M586317
KP91553NW

@259

4735

2259
150
LT DISCOS
/ 0
ﬂ NG MB
) ROR / MER.
2xb12 22%1.5 WEWELER
WEWELER 2

Mi2

A9463281401
A9463281401
21221307
US07364
usS06287

CONTITECH
AIRTECH
PHOENIX
PHOENIX
TAURUS

DUNLOP

4157NP04
34157P
1DK21A8
1DK21A4
KR91554

D12B18




172

350

@259 |

4735

M2 M22x1.5

M2

Mz MEZEx1.5

M12

DAYTON
MB

ROR / MER.
WEWELER

WEWELER 2

DAYTON

MB

ROR / MER.
WEWELER
WEWELER 2

WEWELER
WEWELER

A9463281401
A9463281401
21221307
US07364

US06287

A9463281401
A9463281401
21221307
US07364

us06287

US07074C
uS07074P

CONTITECH
CONTITECH
AIRTECH
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

CONTITECH
CONTITECH
AIRTECH
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

4157NP04
4157NP14
34157KPP
D12B18
00980AAP
1T15MPW7
WO01M586297
C294
1R11111

4157NP04
4157NP14
34157KPP
D12B18
00980AAP
1T15MPW7
W01M586297
C294
1R11111

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
PHOENIX
TAURUS
DUNLOP
GOODYEAR
CF GOMMA

4157NP05
3415705P
1T15MPW7
WO01M587074
1DK21A3
KR91554
D12B17
1R11106
1730038




(258

2C

144

(115

@259

Us

24157

4735

SPECIAL PRD. IRK

M22x1.5

WEWELER US07074C CONTITECH 4157NP05

WEWELER uS07074P AIRTECH 3415705KPP
CF GOMMA 1TC30038
CF GOMMA 205598
DUNLOP 00980BAP
FIRESTONE 1T15MPW7
FIRESTONE WO01M587074
GART C294
PHOENIX 1DK21A3

SCHMITZ 751065 CONTITECH 4157NP06

WEWELER US06316 AIRTECH 38186P

M2




SCHMITZ 751065 CONTITECH 4157NP06
“;4 WEWELER US06316 AIRTECH 38186KPP
us | DUNLOP D11B37
i FIRESTONE 1T15MPW7
s FIRESTONE W019688186
| e GART C294
GOODYEAR 1R11764
0260 PHOENIX 1DK20A1
TAURUS KR91552
WEGHT  750KS  BOXDW.-QTY. Porirsm.mrcs
0259 | OEMPARTNUMBER ~  CROSSREFERENCES
T FRUEHAUF M078580 CONTITECH 4157NPO8
| NEWAY 90557233 AIRTECH 3415708KPP
SAMRO H2501869 DUNLOP D12B30
2 M12x1. M12 SMB M078580 FIRESTONE 1T15MPW7
" Me0T> FIRESTONE WO01M586317
~ 224 GART C294
GOODYEAR 1R11773
PHOENIX 1DK20C2
TAURUS KR91553NW

M2

=
g

MlZel.5 M2

M22xl.5

ROR
WEWELER

21222442
US07074F

CONTITECH

DUNLOP

FIRESTONE

FIRESTONE

GART

GOODYEAR

PHOENIX
VIBRACOUSTIC

4157NP09
D12B17
1T15MPW7
WO01M587074
C294
1R11106
1DK21A31
V1DK21A31



ACERBI 128140028 CONTITECH 4157NP10
ACERBI 800449526 AIRTECH 3415710KPP
FRUEHAUF UJB0975 CF GOMMA 1TC30038
FRUEHAUF M060924 CF GOMMA 206925
DUNLOP D12B29
FIRESTONE 1T15MPW7
FIRESTONE WO01M586315
o0 GART C294
GOODYEAR 1R11772
WEGHT  670KS  poXDW.-QTY. B mecs
1
o DAIMLER A9463281401 CONTITECH 4157NP14
US DAIMLER A9463281401 AIRTECH 3415704CPP
e JOST JAS3010501401  FIRESTONE WO01M586297
JosT JAE3010501401  FIRESTONE WO01M589720
JosT 3010501401 GOODYEAR 1R11111
0134 DAIMLER TAS 9463281401 GOODYEAR 566223521
PHOENIX 1DK21A4
: % VIBRACOUSTIC ~ V1DK21A4
1 VIBRACOUSTIC ~ V1DK21A8
S mer sme sooman e
0259
259 130 M2pL5 _ _

175

M12:1.75

DAIMLER
DAIMLER
JOST
JOST
JOST

DAIMLER TAS

A9463281401
A9463281401
JAS3010501401
JAE3010501401
3010501401

9463281401

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
PHOENIX
VIBRACOUSTIC
VIBRACOUSTIC

4157NP14
3415704CPP
W01M586297
W01M589720
1R11111
566223521
1DK21A4
V1DK21A4
V1DK21A8



| 259 |

5378

SCHMITZ

WEWELER

750999

US06285

CONTITECH
AIRTECH
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR
PHOENIX
VIBRACOUSTIC

4158NP02
34158P
D12U23
1T15MPW9
WO01M586257
D278HS
1R12748
1DK20B1MP
V11D20B1NP

24158

SCHMITZ
SCHMITZ

WEWELER

750999
014892

US06285

CONTITECH
AIRTECH
DUNLOP
FIRESTONE
FIRESTONE
FIRESTONE
GART
GOODYEAR
PHOENIX

4158NP03
34158KPP
D12B22
1T15MPW9
W01M588185
W01M586285
D278HS
1R12749
1DK20B1

SCHMITZ
SCHMITZ

WEWELER

750999
014892

US06285

CONTITECH
AIRTECH
DUNLOP
FIRESTONE
FIRESTONE
FIRESTONE
GART
GOODYEAR
PHOENIX

4158NP03
34158KPP
D12B22
1T15MPW9
W01M588185
W01M586285
D278HS
1R12749
1DK20B1



227

[
|
o

254

515

£

ey

B

2

G35

FRUEHAUF
FRUEHAUF
FRUEHAUF
FRUEHAUF
MERITOR
VIBERTI
WABCO

FRUEHAUF
FRUEHAUF
ROR
SAMRO
MERITOR

uJY0099
UJB0358
MO001774
1525199

MLF8015

128147109
9518110030

UJA8094001

MO001782
21215894
2500425

MLF8127

SPECIAL PRD.

CONTITECH
AIRTECH
CF GOMMA
FIRESTONE
FIRESTONE
GART
GOODYEAR
PHOENIX
PIRELLI

AIRTECH
DUNLOP
DUNLOP
FIRESTONE
GOODYEAR
PHOENIX
PIRELLI
TAURUS
VIBRACOUSTIC

URD

4159NP05
34159P
1732340
1T15M9
W01M580736
D278H
1R12761
1DK21B5NP
1732340

3415902K
D12B01
PNP311370000
1T15M9
1R12701
1DK21B2
1732340
KR50925
V1DK21B2



MERITOR MLF8035 CONTITECH 4159NP03

0227
I _ SAMRO H2500425 AIRTECH 3415903K
. ! CF GOMMA 1732340
2150 : DUNLOP D12B01
s M2k 1.5
= DUNLOP PNP311370000
2 FIRESTONE 1T15M9
FIRESTONE W013589130
|—Jﬁ’“—- FIRESTONE WO01M587548
@315
GART D1278H
MERITOR MLF8035 CONTITECH 4159NPO3
# SAMRO H2500425 AIRTECH 3415903K
us CF GOMMA 1732340
DUNLOP D12B01
2 @260 DUNLOP PNP311370000
g FIRESTONE 1T15M9
L |
FIRESTONE W013589130
FIRESTONE WO01M587548
2 GART D1278H
- weest ke soxom-arv.
— MERITOR MLF8035 CONTITECH 4159NP03
ﬂ | | | SAMRO H2500425 AIRTECH 3415903K
, CF GOMMA 1732340
bt | M12x1. 12515
Py DUNLOP D12B01
DUNLOP PNP311370000
FIRESTONE 1T15M9
FIRESTONE W013589130
FIRESTONE WO01M587548

GART D1278H




0227

B227

MIZx1.5
M2k 1.5

SPECIAL PRD.

AIRTECH 3415904P

237
|
24159 | M2 MI2x1.5
§ M20x1.5
Z
=
L—mm_._
(631 K

SPECIAL PRD.




mz MIZx1.5
M2k 1.5

=1
g

SPECIAL PRD.

SPECIAL PRD.

CONTITECH
AIRTECH

FIRESTONE
GOODYEAR
GOODYEAR

AFG

91019A952BR
3415916P
W010950314
556028666
556038084




@227

= FACCHINI 308501705 CONTITECH 91019A952BR
US I HBZ 8000603 AIRTECH 3415916C
34159 ! RANDON 212100301 FIRESTONE W010950314
§ GOODYEAR 556028666
1
GOODYEAR 556038084
1 Sl
i
1
I
@260
@227
FACCHINI 308501705 CONTITECH 91019A952BR
A0
HBZ 8000603 AIRTECH 3415916C
Hﬁ'ﬂ i RANDON 212100301 FIRESTONE W010950314
i
GOODYEAR 556028666
. § GOODYEAR 556038084
3
1 —
@260

M2

FRUEHAUF UJB 203001 CONTITECH 4159NP0O7

G227

SMB 1518779 AIRTECH 34159505

SMB 1520356 CF GOMMA 1732340

SMB 1524873 CF GOMMA 202302

SMB MO001782 DUNLOP D12B15
DUNLOP 00982AAP
FIRESTONE W013799091
FIRESTONE W01M588859

VIBRACOUSTIC

V1DK23B9



b1

@227

L]

515

D254

A1 UNF - 1/27-13UMNC
1/4"-18 MPTF

2134

A~

1/2"-13UNC

1/2°-13UNC 3/4"-16 UNF

1/4"-19 FT

SAF HOLLAND

SAF HOLLAND
SAF HOLLAND
SAF HOLLAND
SAF HOLLAND
HENDRICKSON
HENDRICKSON
ARVIN MERITOR
NAVISTAR

SAF HOLLAND
SAF HOLLAND
SAF HOLLAND
SAF HOLLAND
SAF HOLLAND
HENDRICKSON
HENDRICKSON
ARVIN MERITOR
NAVISTAR

90557136
90557109
90557135
90557086
90557108
S6195
NA1817
202035
1681740C1

90557136
90557109
90557135
90557086
90557108
S6195
NA1817
202035
1681740C1

AIRTECH
CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
TAURUS
AUTOMANN
FLEETPRIDE

AIRTECH
CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
TAURUS
AUTOMANN
FLEETPRIDE

3415908CPP
91019P326
W013589192
1T15M9
1R12167
566243066
AS5099192
1DK23L9192
AS9192

SAF HOLLAND 90557136 AIRTECH 3415908CPP
. SAF HOLLAND 90557109 CONTITECH 91019P326
| SAF HOLLAND 90557135 FIRESTONE W013589192
' 1/2"-13UNC i‘ﬂ:}g F"“F SAF HOLLAND 90557086 FIRESTONE 1T15M9
2260 SAF HOLLAND 90557108 GOODYEAR 1R12167
; e HENDRICKSON ~ $6195 GOODYEAR 566243066
R HENDRICKSON ~ NA1817 TAURUS AS5099192
ARVIN MERITOR 202035 AUTOMANN 1DK23L9192
0280 NAVISTAR 1681740C1 FLEETPRIDE  AS9192
st weeHt ke soxom-ar.
| OEMPARTNUMBER CROSSREFERENCES
0227

3415908CPP
91019P326
W013589192
1T15M9
1R12167
566243066
AS5099192
1DK23L9192
AS9192




@227 SPECIAL PRD. KLS

2C
F17]

144

260
@315

CARDI 58051210 CONTITECH 4159NP09
FRUEHAUF UJB0358 AIRTECH 3415902KPP
SAMRO H2500324 CF GOMMA 1732340
TRAILOR MO001774 CF GOMMA 200751

SMB 1525199 DUNLOP D12B04
SMB UJY0099 FIRESTONE 1T15M9
TROUILET HT18002 FIRESTONE W01M589131
VIBERTI 128147123 GART D278H
WABCO 9518127210 GOODYEAR 1R12721

; 2227 |
SCANIA 1327144 FIRESTONE 1T15M9
SCANIA 1314905 FIRESTONE WO01M587348
SCANIA 345879 GOODYEAR 1R12713
SCANIA 255294 PHOENIX 1DK23L42

e WEWELER US07348 VIBRACOUSTIC 1732340




e

=
Z

185

D260

515

2y

157

EN\c

M14x1.5

El

Ml4x1.5

3/4"-16 LN
1/47-168 NPTF

@134

1/2"-13UNC

1/2"-13UNC

SCANIA
SCANIA
SCANIA
SCANIA
SCANIA

WEWELER

SCANIA
SCANIA
SCANIA
SCANIA
SCANIA

DAYTON
LOADGUARD
NAVISTAR
REYCO
RIDEWELL
SAF HOLLAND
SAF HOLLAND
TAURUS
VOLVO

1327144
1314905
345879
1865753
255294

US07348

1314905
1327144
345879

1865753

255294

3529101
SC2038
554768C1
1288301
1003589101C
90557082
90044701
AS5049101
85101149

AIRTECH

FIRESTONE
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
VIBRACOUSTIC

AIRTECH
FIRESTONE
FIRESTONE

GOODYEAR
VIBRACOUSTIC

3415911K

1T15M9

WO01M587348

WO01M587308

1R12713

1DK23L7308
V1DK23L42

3415951KAW
1T15M9
W01M587308
1R12713
V1DK23L42

CONTITECH
CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
VIBRACOUSTIC
TAURUS
TRIANGLE

4159NP12
91019P315
1T15M9
W013589101
1R12717
566243066
V1DK23L9101
6364

8315




2227

uUs

24159

406 |

@227

@227

1/2°-13UNC 3/4°-16 UMF
1/4"-18 MPTF

D260
D200

1/2"-13UNC

12" 13UNC 34716 UNF
1/4°-18 NPTF

DAYTON

LOADGUARD
NAVISTAR
REYCO
RIDEWELL
SAF HOLLAND
SAF HOLLAND
TAURUS
VOLVO

DAYTON
LOADGUARD
NAVISTAR
REYCO
RIDEWELL
SAF HOLLAND
SAF HOLLAND
TAURUS
VOLVO

3529101
SC2038
554768C1
1288301
1003589101C
90557082
90044701
AS5049101
85101149

3529101
SC2038
554768C1
1288301
1003589101C
90557082
90044701
AS5049101
85101149

CONTITECH
CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
VIBRACOUSTIC
TAURUS
TRIANGLE

CONTITECH
CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
VIBRACOUSTIC
TAURUS
TRIANGLE

SPECIAL PRD.

4159NP12
91019P315
1T15M9
W013589101
1R12717
566243066
V1DK23L9101
6364

8315

4159NP12
91019P315
1T15M9
W013589101
1R12717
566243066
V1DK23L9101
6364

8315

PRL




o227 FRUEHAUF UJA0894001 CONTITECH 4159NP14
ROR 21215891 AIRTECH 3415910KPP
| DUNLOP D12B01
us
e | DUNLOP PNP311370000
M20x1.5
g FIRESTONE 1T15M9
- FIRESTONE W01M587548
. =
| = GOODYEAR 1R12701
| 60 PHOENIX 1DK21B4
VIBRACOUSTIC ~ V1DK21B4
. CONTITECH 4159NP06
: DUNLOP D12B01
: DUNLOP PNP311370000
U
b | FIRESTONE 1T15M9
g FIRESTONE W010950294
% GOODYEAR 1R12701
=
, GOODYEAR 8582
0260 PHOENIX 1DK21B2
0315
2 PIRELLI 1732340
| L]
‘ ‘ SAF HOLLAND 90557112 CONTITECH 91019P1138
US ' y BRAKEGWHELL ~ M3541 FIRESTONE W013589243
24159-17 | WATSON&CHA.  AS0061 GOODYEAR 1R12480
1/2*13UNC 3/4"16UNF
i o 1/4m19PT TRIANGLE 8384
1]
! FLEETPRIDE  AS9243
| 1/2"13UNC AUTOMANN 1DK231L9243




330

3/4"-16UNF

142" -13UNC
1/4" 1BMPTF

1/27 -13UNC

SAF HOLLAND
BRAKE&WHELL
WATSON&CHA.
TRIANGLE
FLEETPRIDE

AUTOMANN

90557112
M3541
AS0061
8384

AS9243

1DK23L9243

CONTITECH
FIRESTONE

GOODYEAR

91019P1138
W013589243

1R12480

a7 SPECIAL PRD. URD
|
|
US|
24150
: =
=
]
-
02
(1315

430
2R
S

SUSPENSYS
SUSPENSYS

TRES EIXOS

212100338
1971

212100347

CONTITECH
AIRTECH

FIRESTONE
FIRESTONE
GOODYEAR

GOODYEAR

91019A991BR
3415917KALU
1T15M9
W010950440
556028728

556038084



FACCHINI 308501719 CONTITECH 91019A953BR
US RANDON 212100375 AIRTECH 3415925P
1
e | FIRESTONE W010950528
i FIRESTONE W010950667
| < FIRESTONE 1T15M9
| 1/2"-13UNC
: GOODYEAR 556028741
| GOODYEAR 556038084
o weent ke soxom-arv.
7 FACCHINI 308501719 CONTITECH 91019A953BR
RANDON 212100375 AIRTECH 3415925P
us FIRESTONE W010950528
. 2001 & FIRESTONE W010950667
- @200 FIRESTONE 1T15M9
. 100
5| GOODYEAR 556028741
bk
GOODYEAR 556038084
'y N
i

EJ FACCHINI 308501719 CONTITECH

:‘[ RANDON 212100375 AIRTECH
FIRESTONE
FIRESTONE

FIRESTONE

GOODYEAR
GOODYEAR

M121.75

91019A953BR
3415925KPP
W010950528
W010950667
1T15M9
556028741

556038084



a2y

D227 e
GUERRA 5002004240005  AIRTECH 3415926CPP
Eg HBZ 8000624 CONTITECH 91019A018BR
IBERO MOP059000006  FIRESTONE W010950533
w MBS M12x1.75 FIRESTONE W010950888
o MIzs
FIRESTONE 1T15M9
2134 GOODYEAR 556028480
/T\ GOODYEAR 556038084

W omewrumeen  cossmereeces

9277 GUERRA 5002004240005  AIRTECH 3415926CPP
@ HBZ 8000624 CONTITECH 91019A018BR
IBERO MOP059000006  FIRESTONE W010950533
FIRESTONE W010950888
FIRESTONE 1T15M9
GOODYEAR 556028480
GOODYEAR 556038084

SPECIAL PRD. URD




DAIMLER TAS A9463282501 CONTITECH
JOST 3010502501 PHOENIX
JOST JAE3010502501 PRIME RIDE
JOST JAS3010502501

4162NP01

1DK21C5

1R11938

DAIMLER TAS A9463282501 CONTITECH
JOST 3010502501 PHOENIX
JOST JAE3010502501 PRIME RIDE
JOST JAS3010502501

4162NP01

1DK21C5
1R11938

4493

\/
3/4-16 UNF
1/4-18 NPTF

W_© ORMPARTNUMBER  CROSSREFERENCES

]

WATSON&CHA.  AS00471G CONTITECH

WATSON&CHA.  AS0047G FIRESTONE
GOODYEAR
1/2-13 UNC GOODYEAR
TRIANGLE

AUTOMANN

TRP

1110522A752
W013585514
1R14170
566283020
AS8752
1DK28FA752
AS55031




0286
WATSON&CHA.  AS00471G CONTITECH 1110522A752
¥ ‘ WATSON&CHA.  AS0047G FIRESTONE W013585514
US '
an | GOODYEAR 1R14170
3/4-16 UNF  1/2-13 UNC GOODYEAR 566283020
1/4-18 NPTF
2258 TRIANGLE AS8752
- AUTOMANN 1DK28FA752
|
- TRP AS55031
1213 e weGHT ke soxom-arv.
0256 CONTITECH 4182N
pH
i
us |
24182
| .
: 3

D300

us

24182

M24x1.5
Ml6x1.5

CONTITECH

4182N




452

2183.5

M

1 M24x1.5
M 16x].5

MB
MB
MB ACTROS

MB ACTROS

A9423201321
3753200721
A9423202221

A9423206821

CONTITECH 4183N2

AIRTECH 3418323P

MB A9423202221 CONTITECH 4183NP25
[S3EN | MB A9423206821 AIRTECH 3418323K
MB 3753200721
S
22153 i
g —
! 2
E!i.lris
oo | OEMPARTNUMBER CROSSREFERENCES

3%

Mléxl5 || M24x1.5

A9423202321

CONTITECH 4183N1

AIRTECH 3418324P




M24x1.5
M1l6x1.5

M1lbxl.5

M24x1.5

D248

e

MB

MB

MB

MB

MB

A9423201421
A9423202321
A9423206921

A9423200557

A9743200021

CONTITECH 4183NP26

CONTITECH 4183NP24
CONTITECH 4183NP28
AIRTECH 3418324K

SPECIAL PRD. GGA

CONTITECH 4185N

AIRTECH 3418501P



MB ATEGO A9423203021 CONTITECH 4185NP21

MB ATEGO A9743200021 AIRTECH 3418501K

il
A

MB A9743200021 CONTITECH 4185N
l.\\E" I AIRTECH 3418501P
10 || M24x1.5
M16x1.5
ol | OEMPARTNUMBER ~  CROSSREFERENCES
it

MB ATEGO A9423203021 CONTITECH 4185NP21

MB ATEGO A9743200021 AIRTECH 3418501K




421

MB ACTROSMP2 CONTITECH 4186N3

SERVICEASSY.

ACTROS MP2 A9423202421 CONTITECH 4186NP23
ACTROS MP2 A9423207021 CONTITECH 4186NP21
MB ACTROS A9423201621 AIRTECH 3418523K

MB ACTROSMP2 CONTITECH 4186N4
SERVICEASSY.




250

(265

470

ow |
D2h4

M24x1.5
M1l6x1.5

M1lbxl.5

G183.5

10 || M24x1.5

M1axl.5

ACTROS MP2 A9423202521
ACTROS MP2 A9423207121
MB ACTROS A9423201721

MB ACTROS A9423200657

MB ACTROS A9423201821
ACTROS MP2 A9423202621

ACTROS MP2 A9423207221
NEWAY 90557225

CONTITECH 4186NP24

CONTITECH 4186NP22
CONTITECH 4186NP22
AIRTECH 3418624K

CONTITECH 4187N3

| 143

ACTROS MP2 A9423207121
MB ACTROS A9423201721

CONTITECH 4187NP01
CONTITECH 4187NP23
AIRTECH 3418721K



470

8259

iC
=00

36

590

MB ACTROS A9423201921

ACTROS MP2 A9423202721

ACTROS MP2 A9423207321

=
%

ACTROS MP2 A9423202721
ACTROS MP2 A9423207321

MB ACTROS A9423201921

M24x1.5
M1l6x1.5

M1lbxl.5

i VALX 8080131001
WEWELER US04335F
—_— g ]
2xM12 22Kl.5

@134




@258
@259 150
g /f‘T‘H\ VALX 8080131001 AIRTECH 38174KPP
- i < WEWELER US04335F FIRESTONE W019688174
1 1
| 2xM12 M22x1.5
1

EVO BUS A9423270001 CONTITECH 4390N1

MB 9423280401 AIRTECH 3439001P
MB A9423280001 CF GOMMA 1VSC28530
MB ACTROS A9423200121 DUNLOP D12U25
MERITOR MLF8194 GOODYEAR 9507

]

?150
- m MB A9423200121  CONTITECH 4390NP21
|y | MB A9423202821  CONTITECH 4390NPO1
g @ﬁ< MB A9423204921  AIRTECH 3439021K
a | s MERITOR MLF8108 DUNLOP D12T10
El GOODYEAR 9505
| JE £200 PHOENIX 1KF211
: FIRESTONE W01M588514
B200 2 FIRESTONE 1R7Z440290
GART C304

Mlaxl.5




MB A9423280101 CONTITECH 4390N2
MB A9423280501 AIRTECH 3439002P
= CF GOMMA 1VSC28530
Mlexls  M24x1.5
Mloxl.5 DUNLOP D12U26
GOODYEAR 9508

150 MB A9423200221 CONTITECH 4390NP22
‘ MB A9423202921 CONTITECH 4390NP02
us MB A9423205021 AIRTECH 3439002K
] M16x1.5 MZdx1.5
| M16x1.5 DUNLOP D12T11
. ﬁ FIRESTONE 1R7Z440290C
.J e 9200 FIRESTONE WO01M588513
, it
[l GART C304
@200 o GOODYEAR 9506
PHOENIX 1KF212
- | OEMPARTNUMBER CROSSREFERENCES
@150 /6\ MB A9423200421 CONTITECH 4390NP23
1 MB A9423205221 CONTITECH 4390NP03
Uus ! AIRTECH 3439023K
4290 | M16x1.5 M24x1.5
o M16x1.5
i
(3]
_J @190

165

@190

M16x1.5




1560

o150 MB ACTROS A9423200321 CONTITECH 4390NP24
= = MB ACTROS A9423205121 CONTITECH 4390NP04
us | AIRTECH 3439024K
24590 | M2ix1.5
% MiGxl.5 CF GOMMA 1VSC28530
CF GOMMA 206781
- 0190
l = H GART C304
GART 3041444
315 i
GOODYEAR 9564
; GOODYEAR 556039047
o WEIGHT  600KG  BOXDIM-QTY. moviero- s
- | OEMPARTNUMBER CROSSREFERENCES
MB A9423205321 CONTITECH 4391NP21
MB A9423200621 CONTITECH 4391NPO1
AIRTECH 3439101P
24301 AIRTECH 3439121P
[=5]
=

145

@190

150

fio

M24x1.5
M 16x].5

190

Mlaxl.5

MB ACTROS
MB ACTROS

LOW LINER

A9423200621
A9423205321

CONTITECH

AIRTECH

4391NP21
3439121K




MB A9423280701 CONTITECH 4391N2
MB A9423205421 CONTITECH 4391NP22
i‘”(m M1 E AIRTECH 3439102P
Mloxl.5 AIRTECH 3439122P

WEGHT  240KG BoXOM.-aTY. - wrcs

MB ACTROS A9423200721 CONTITECH 4391NP22

MB ACTROS A9423205421 AIRTECH 3439122K

LOW LINER

Mlexl.5 MZdx1.5

Ml6x1.5

@190

Mlaxl.5

FRUEHAUF 431487
VOLVO 1076075
VOLVO 1076076
VOLVO 20554756

CONTITECH

AIRTECH

CF GOMMA

4420NP01
36075P
1T19E2




MERITOR MLF7171

VOLVO 1076075
VOLVO 1076076
VOLVO 20554756

CONTITECH
AIRTECH

CF GOMMA
FIRESTONE
FIRESTONE

GART

4420NP01
36075K
1T19E2
1T17BR8
WO01M589707

D278V1

I @z27

SCANIA-BUSSAR 1434506 AIRTECH 334506C
' SCANIA-BUSSAR 473868 PHOENIX 1DF20A4
! SCANIA-BUSSAR 488269 VIBRACOUSTIC ~ V1DF20C4
! i GOODYEAR 1R11173
! N GOODYEAR 1R11832
| GOODYEAR 566223507
S GOODYEAR 566223546
GART 2971432
GART D297B
- weewt ke soxowear.
| OEMPARTNUMBER CROSSREFERENCES
SCANIA-BUSSAR 1434506 AIRTECH 334506C
SCANIA-BUSSAR 473868 PHOENIX 1DF20A4
Us SCANIA-BUSSAR 488269 VIBRACOUSTIC ~ V1DF20C4
GOODYEAR 1R11173
GOODYEAR 1R11832
3 GOODYEAR 566223507
- GOODYEAR 566223546
oo GART 2971432
GART D297B



@227

US

24560

VOLVO 22058737 AIRTECH

VOLVO 21224745 CONTITECH

PHOENIX
FIRESTONE

PRIME RIDE

34560C
4560NP02
1DF20D2
W01M586088

1R11948

VOLVO 22058737 AIRTECH

VOLVO 21224745 CONTITECH
PHOENIX
FIRESTONE
PRIME RIDE

@200
ald
Midx2

VOLVO 22058738 CONTITECH

VOLVO 21224746

34560C
4560NP02
1DF20D2
W01M586088
1R11948

4561NP02




a2y

VOLVO 22058738 CONTITECH 4561NP02
VOLVO 21224746
uUs
4%
|
ni
0200
@275 o
@227
T VOLVO 21224747 CONTITECH 4562NP03
o
VOLVO 22058739 FIRESTONE WO01M586092
GART 2941372
Us
24562 GART C294VA
NEOTEC ABM21829B07
VIBRACOUSTIC  V1DF19Z1

2238
weewt ke soxowear.
2227
@227 A VOLVO 21224747 CONTITECH 4562NP03
2 le - L VOLVO 22058739 FIRESTONE W01M586092
. GART 2941372
M24x1.5 M0 GART C294VA
NEOTEC ABM21829B07
VIBRACOUSTIC  V1DF19Z1




VOLVO 22058741 AIRTECH

VOLVO 21224749 CONTITECH

PHOENIX
FIRESTONE

GART

GART
NEOTEC

466

PRIME RIDE

34570C
4570NP02
1DF17B4
WO01M588545
2951466
C295V
ABM21625B08

1R10718

(=]
S

@221
VOLVO 22058741 AIRTECH
VOLVO 21224749 CONTITECH
us | PHOENIX
FIRESTONE
GART
.

GART
NEOTEC
gi
w‘g] PRIME RIDE
0168 2
D275 o1

- weenT smke

34570C
4570NP02
1DF17B4
W01M588545
2951466
C295V
ABM21625B08
1R10718

o | OEMPARTNUMBER CROSSREFERENCES
i VOLVO 21224749 CONTITECH 4570NPO1
Z.U:,% GART 2951467
GART C295V

466




@227

@168

@275

@22y

165

GART

GART

@4
M14x2

VOLVO 21224749 CONTITECH

4570NPO1
2951467

C295V

VOLVO FM FH 22056630 AIRTECH

VOLVO FM FH 21224750 CONTITECH
PHOENIX
FIRESTONE
PRIME RIDE

34571C
4571NP02
1DF17A2

W01M588546
1R10719

VOLVO FM FH 22056630 AIRTECH

VOLVO FM FH 21224750 CONTITECH
PHOENIX
FIRESTONE
PRIME RIDE

@14

34571C
4571NP02
1DF17A2

W01M588546
1R10719




| G258

@259 h‘yﬁ.ﬂj

VOLVO

VOLVO

21451172 CONTITECH 4580NPO1

21451173

S
=
M16x1.5
B /ﬁl L vowo 21451172 CONTITECH 4580NPO1
=]
& WL VOLVO 22047983
US
4580 !
o 0227
i
| @
=i
L T
0227 2155
VoLVO 214511173 CONTITECH 4580NP02
o ®
? o1 vowo 22047988
L] \4/ RENAULT 21451177
RENAULT 7421451177
3 0227 RENAULT 22047992
RENAULT 7422047992

160




2259 hj;ﬁxlj

2C
‘uvn

90

i
.88

VOLVO

VOLVO
RENAULT
RENAULT

RENAULT

21451174 CONTITECH 4582NP01
22047989

21451178

7421451178

7422047993

D259

B259 hj}mj

312

2118
9158

@227

VOLVO
VOLVO
RENAULT
RENAULT
RENAULT

21451174 CONTITECH 4582NP01

22047989
21451178
7421451178

7422047993

L @259 |

350

31488

SOLARIS
SOLARIS
SOLARIS
SOLARIS
SOLARIS

0000194640 PHOENIX 1DF25A12
1001101045 VIBRACOUSTIC  V1DF25A22
1001101042

P1001101045

P1001101042




@259

@259

A

SOLARIS 0000194640 PHOENIX 1DF25A12
SOLARIS 1001101045 VIBRACOUSTIC  V1DF25A22
SOLARIS 1001101042
uUsS
by @10 M12
- ﬁ SOLARIS P1001101045
' ) SOLARIS P1001101042
. 2 @226
i P, o
= 5
EVO BUS A6293200025 CONTITECH 4644N
/ EVO BUS A6293270001 AIRTECH 34644P
us M2dxl 5 L VIBRACOUSTIC  V1KE221
4644 Mioxl.5
GOODYEAR 9561
£ GOODYEAR 556038017

. e
|

01308

EVO BUS
EVO BUS

ABG293200025 CONTITECH 4644NP22
ABG293200025 AIRTECH 34644C
VIBRACOUSTIC  V1KE221




\ @259

SOLARIS 0000194647 PHOENIX 1DF25A20

SOLARIS P0000194647 VIBRACOUSTIC  V1DF25A20

[,
22015

@258
150

@259

SOLARIS 0000194647 PHOENIX 1DF25A20

| 9‘1 SOLARIS P0000194647 VIBRACOUSTIC  V1DF25A20

[
263

128

@227
o WEGHT  ausG  BoXOW.-aTY. mnm mecs
MAN 81436010155 CONTITECH 4705N1P01
MAN 81436006039 AIRTECH 34705P
MAN 81436016068 GOODYEAR 1R12831
MERITOR MLF8217 GOODYEAR 566243543
GART C302/B

GART 3020521




@273

--60 MAN 81436006039  CONTITECH 4705N1PO3
MAN 81436010155 AIRTECH 34705K
i
w GART C3028
M16x1.5 12x1.5 GOODYEAR 1R12831
| 3
- | .R_ G210
@210 -+,
@310 i
ozr3 | OEMPARTNUMBER ~  CROSSREFERENCES
.60 MAN 81436006040  CONTITECH 4705N1P04
(']
R il MERITOR MLF8219 FIRESTONE 1T17AR105
A = +
w FIRESTONE W01M588367
Us M16x1.5—M12x1.5 GART C3028
y b
| )
o 250
I : H
@230 A
2310

M8z

248

D259

VOLVO 1076595
VOLVO 1076594
VOLVO 20554755

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP

GOODYEAR

4713NP04
34713P
1TS30028
206778
D12U24

1R12763




31308

VOLVO
VOLVO
WABCO

1075363
20452136
20554759
1629718
9518110070

CONTITECH

AIRTECH

CF GOMMA

DUNLOP

GART

PHOENIX
VIBRACOUSTIC

VOLVO 1076594 CONTITECH 4713NP02
VOLVO 1076595 AIRTECH 34713K
N VOLVO 20554755 CF GOMMA 17S30028
= w0 3_9339 M16x1.5 VOLVO 20572399 CF GOMMA 20778
I_ FIRESTONE 1T17BR8
s
. FIRESTONE W01M589706
i GART C293V
|
E o195 GOODYEAR 1R12762
201 PHOENIX 1DF22C1
D250
VOLVO 1075363 CONTITECH 4718NPO1
VOLVO 20452136 AIRTECH 34718P
U VOLVO 20554759
TR
VOLVO 1629718
4
=5

4718NP0O1
34718K
1T19E1
D13B25
D277B
1D28A10
V1D28A10




| @257.5

169

73T

489

GIGANT CONTITECH

247103

4725NP01

GIGANT 3642 AIRTECH 34725P

GIGANT 247103 AIRTECH 34725

GIGANT 3642

2xM12 M22x1.5

@257.5

4575

sons wezas  weieHT ke

MB 9463200321 CONTITECH 4737N

AIRTECH 3473701P




150

MB ATEGO A9423203721 CONTITECH 4737NP21

AIRTECH 3473721K

&b

M24x1.5
M 16x].5

270

a226

Mlaxl.5

MB ATEGO A9423203921 CONTITECH 4737NP22

AIRTECH 3473722K

),

M24x].5
M 16x].5

270

9197

165

Mlaxl.5

B320 MB ATEGO A9573200317  CONTITECH 4737NP25
f = ECONIC CONTITECH 4737NP26
MB 9423201017
M24x1.5 MB 9423206321
M16ix1.5

2
; TN

M16x1.5

3
g

270




(3250

MB A9423270001
i

MB A9423204321

MERITOR MLF8232

=
=
n
=

0320 m MB A9423200117
iRy
247537 | M24x1.5
=) M16x1.5
=
| - G280
=
|
D280 | E

M16x1.5

0256 .
. MB A9743280001
w MB A9743280101
us = MERITOR MLF8233
24757 M24x1.5
M16x1.5

449

CONTITECH

AIRTECH

DUNLOP
GOODYEAR
FIRESTONE

FIRESTONE

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP

GOODYEAR

CONTITECH
AIRTECH
DUNLOP
FIRESTONE
FIRESTONE

GOODYEAR

4757N1
3475701P
D12U42

9517
1R72460305A

WO01M580909

4757NPO1
3475701K
1VSC30026
206785
D13T01

9519

4757N2
3475702P
D12U43
1R72460305B
W01M580910

9518




Y30

ol
E7!

3o

155

|
E22E)

M16x1.5

A9423200417

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP

GOODYEAR

4757NP09

3475709K

1VSC30026
206786
D13T02

9520

270

CH150

&

M24x1.5
Ml6xl5

155

AR
m

A9423204321

CONTITECH
AIRTECH

FIRESTONE
FIRESTONE
GOODYEAR

VIBRACOUSTIC

4757TNP21
3475721K
1R72460305A
W01M588521
9519

V1KF241232

SR

Us

24757

410

155

G250

2150

»

0
0

M24x1.5
M16xl.5

Mltxl.5

A9423203221

CONTITECH
AIRTECH

FIRESTONE
FIRESTONE
GOODYEAR

VIBRACOUSTIC

4757NP29
3475729K
1R72460305B
W01M588522
9520

V1KF242232




450

MERCEDES A9453270001 CONTITECH 4758NP21
MERCEDES A9423204821 CONTITECH 4758NP01
MERCEDES 9723204821 AIRTECH 3475821P

£330

155

263

CH150

MERCEDES A9423204821 CONTITECH 4758NP21
! p— MERCEDES A9453200017 CONTITECH 4758NP01
AIRTECH 3475821C

M24x1.5
Ml6xl5

@330

24758

263

@150

MERCEDES A9433203321 CONTITECH 4758NP23

% MERCEDES A9423200617 AIRTECH 3475823K

M24x1.5
MiGx1.5




D262

M2dx1.5

MB A9423204421 CONTITECH 4759N

MB A9423270401 AIRTECH 34759P

0150
MB A9423204421  CONTITECH
0300 4759NP21
=1 MB A9423270401  AIRTECH 3475921K
S | M24x1.5
T ®l,
e M16x1.5
=]
=
(=1
| o 0280
=
T
IZH0 ol -
0210

a8

MERCEDES A9743200117 CONTITECH 4786NP01
MERCEDES A9423204521 AIRTECH 34786P
f—== MERCEDES 9743200017
M2dx1.5
Mlaxl.5




24788

225

116

=

@190

N
2N
M24x15
M16x15

115

MERCEDES

MERCEDES

A9743200117

A9423204521

CONTITECH

AIRTECH

4786NP21

34786K

o WEGHT | s40KG  moxDM.-aTy. moverss: e
@29
—20 MERITOR MLF8025 CONTITECH 4810NPO5
| . \fu“‘g SAF 3229222700 AIRTECH 32918P
' _ —|_ ) SAF 3229212700 PHOENIX 1D28A10
! 2 M13 179515  SAF 3229002700
! 2 SAF 2918V
| SAF 2922V
|
2156.5
o | CEMPARTNUMBER CROSSREFERENCES
" 0286 £ - SAF 3229222700 CONTITECH 4810NPO5
M . i \i? SAF 3229212700 AIRTECH 32918K
us ! _ SAF 3229002700 CF GOMMA 1T19E1
- il M22x1.5 iz SAF 3229003600 CF GOMMA 205456
=
SAF 2918V FIRESTONE 1T19L7
g SAF 2922V FIRESTONE W01M586338
WABCO 951814730 GART D277B
GOODYEAR 1R14730
o PHOENIX 1D28A10




MERITOR 21253311 FIRESTONE WO01M588773
MERITOR 21225331 FIRESTONE 1T19L7
24R10407 !
.
| 3
1
|
HEEEE
o
D65
prey MERITOR 21253311 FIRESTONE WO01M588773
oy
MERITOR 21225331 FIRESTONE 1T19L7
us
2aENi0T
[Ta]
I [=11
™ 2260
e
=4
—
D260

51l

SCANIA
SCANIA
SCANIA
SCANIA
SCANIA
SCANIA
SCANIA
SCANIA

1314906
1107674
325748
298568
255265
255293
186575
255295

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

4813NP0O7
34813P
1T19E2BR
97364
D13B10
1T19L11
WO01M587358
0287
1R14727




MB
MB

MB

A9423280021
A9463280001

A9423203821

CONTITECH

AIRTECH
VIBRACOUSTIC

SAF 3229000500 CONTITECH 4813NPO7
SCANIA 255295 AIRTECH 34813K
SCANIA 325748 CF GOMMA 1T19E2BR
%% | SCANIA 298568 CF GOMMA 97764
: E SCANIA 255293 DUNLOP D13B10
@ SCANIA 1107674 FIRESTONE 1T19L11
: - SCANIA 1314906 FIRESTONE W01M587358
I.M SCANIA 1865755 GART D287
03 WABCO 9518147270 GOODYEAR 1R14727
WEGHT 102G BOXDW.-QTY. moriwwo- zrcs
2270 M24x1.5 _ _

4838N
34838P
V1KF251232

345

1485

M1x].5

2150
MB
©325 =1
M124x1.5
Hni-sn i M loxl.5

A9463200421

CONTITECH

AIRTECH

4838NP01
3483801K




2150

MB A9463200221 CONTITECH 4838NP02
= AIRTECH 3483802K
DUNLOP D13T03
M124x1.5
M16x1.5 GOODYEAR 9522
L]
=
[T
Z
MB A9463200121 CONTITECH 4838NP03
—ars AIRTECH 3483803K
M124x1.5
M loxl.5
S
Y230
MB 9423203821 CONTITECH 4838NP21
—ars AIRTECH 3483821K
VIBRACOUSTIC  V1KF251232
M124x1.5
[T
3 M loxl.5

195

M1x].5




2150

MB 9423203621 CONTITECH 4838NP22

= AIRTECH 3483822K

VIBRACOUSTIC  V1KF252232

M24x1.5
M 1615

M5

195

MB 9423203521 CONTITECH 4838NP23
= AIRTECH 3483823K
VIBRACOUSTIC  V1KF253232
M124x1.5
M loxl.5

MAN 81436006049 CONTITECH 4862NP01
AIRTECH 34862K
FIRESTONE W01M588352
FIRESTONE 1T17TWCR525

451

VIBRACOUSTIC  V1DF16B1




@227
L e o
9259 81436006049 CONTITECH 4862NP02
AIRTECH 34862K
us FIRESTONE WO01M588352
- B 3 M12:15 MI1E4LS FIRESTONE 1T17TWCR525
] ™
VIBRACOUSTIC  V1DF16B1
o @179
-
D179
T e e e
MAN 81436010166 CONTITECH 4880N1P02
S
JAREN

3259

=
L
L
=

MAN 81436006047 CONTITECH 4880N1PO1

M16x1.5 M12x1.5

233

@197

130

2197




Q31

i1

2110
CONTITECH 4881NP02
| 3 _| A & AIRTECH 34881P
: ! e CF GOMMA 1TC36040
! 2xh112 M22x1.5 CF GOMMA 205537
! = DUNLOP D14U37
! - FIRESTONE 1766D7
FIRESTONE W01M588601
i GART C292A
00 e GOODYEAR 1R14701
WEGHT eSS moXDIM.-QTY. oo arcs
| OEMPARTNUMBER CROSSREFERENCES
D310 AIRTECH 3488101K
CF GOMMA 1TC36040K
| CF GOMMA 207309
~ FIRESTONE 1T66F70
= FIRESTONE W01M588602
g GOODYEAR 1R14724
PHOENIX 1DK32K1
o256 TAURUS UR83801T
VIBRACOUSTIC  V1DK32KX11

3256

345

143

SPECIAL PRD.

AKD TREYLER




2259

Eon

b

130

278

@186

M16x1.5 M12x1.5

@186

T
W

0542943410
BPW36K

0542943320

81436010151
81436006036

81436010176

81436006036

81436006056

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX

4881NP02
34881KPP
1TC36040K
207309
D14B44
1T66F70
W01M588666
1R14757
1DK32K2

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GOODYEAR

CONTITECH
AIRTECH

CF GOMMA

CF GOMMA
FIRESTONE
FIRESTONE
GART
VIBRACOUSTIC

4882N1P0O1
34882P
1TS26028
206788
D10U10
1T175R72
W01M589879
C289M
1R10702

4882N1P05
34882K
1TS26028
206788
1T17JR72
WO01M589879
C289M
V1DF162



Al

130

MAN

81436010153

81436006037

81436006038

CONTITECH
AIRTECH

DUNLOP
GOODYEAR

CONTITECH

AIRTECH

4883N1P01
34883P

D11U47
1R11804

4883N1P06
34883K

| (2509

505

MAN
MAN

MAN
MAN

81436010152

81536006035

81436016066
81436010174

CONTITECH
AIRTECH

CF GOMMA

CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR
VIBRACOUSTIC

4884N1P0O1
34884P
1TS29028
206787
D11U48
1T17WR80
W01M589880
1R11820
V1DF19B1




130

81436006035

81436006055

CONTITECH
AIRTECH

CF GOMMA

CF GOMMA
FIRESTONE
FIRESTONE
FIRESTONE
GART
VIBRACOUSTIC

4884N1P06
34884K
1TS29028
206787
1T17TWRS
W01M589880
W01M588360
C304M4
V1DF19B1

. 0259 . 84,
AF.._ MAN TGA 81436006041 CONTITECH 4884N1P02
L _¢f 5 ALV 13/6.5 MAN CONTITECH 4884N1P07
I
L{ﬁ . 81436010173 AIRTECH 3488407P
2% 12x15
: MRS FIRESTONE W01M588359
'?#* GART 2891513
GOODYEAR 1R11885
NEOTEC ABM53929B03
21308 '
- MAN TGA 81436006041 CONTITECH 4884N1P07
0259 o b
ml[ T = ALV 13/6.5 AIRTECH 3488407K
; FIRESTONE WO01M588359
2 12515
US M16x1.5 GART 2891513
Hsst GOODYEAR 1R11885
| = NEOTEC ABM53929B03
]
m -

@197




@259

24884

130

@197

@259

410

MAN TGM

MAN TGM

81436006002

81436006002

81436006044
81436016071

176/260

CONTITECH

AIRTECH

CONTITECH

AIRTECH

4884N1P09

3488409P

4884N1P09
3488409C

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
GART

GART

4885N1P01
34885P
1TS26020
207764
C289M1

2891410




130

MAN 81436006044 CONTITECH 4885N1P01

MAN L2000 AIRTECH 34885K

CF GOMMA 1TS26020
CF GOMMA 207764
GART C289M1

GART 2891410

9259

BMC 31100153510-1
BMC 31100153510-KMP
i BMC 8.5 MT ON
| M12x1.5
2197
1
| 2
nl
2197
r MAN 81436006046 CONTITECH 4886NP01
VIBRACOUSTIC V1DF19B997
[}
A

500




@259

MAN 81436006046 CONTITECH 4886NPO1

VIBRACOUSTIC  V1DF19B997

M16x1.5 M12x1.5

RENAULT 5011294308 CONTITECH 4911NPO3

RENAULT 5010294308C AIRTECH 34911P
GART D287E
GOODYEAR 1R13739

RENAULT 5010239971 CONTITECH 4911NPO3
RENAULT 5010557356 AIRTECH 34911K
RENAULT 5010294308C GART D287E
WABCO 9518137140 GOODYEAR 1R13739

GOODYEAR 1R13714




CONTITECH 1110521A965

| GOODYEAR 1R14201
2401 1.0 |
! GOODYEAR 566283020
1/4"19-NPTF AUTOMANN 1D28CA965
! 3/4"16-UNF
| ﬂ
T3]
1
1
0285 CONTITECH 1110521A965
GOODYEAR 1R14201
| GOODYEAR 566283020
2491101 3/4"-16UNF
! = 14-18MeTF
o
kel
-
-
0260
0335
Ay
D286
CONTITECH 1110521A965
_1’.4} GOODYEAR 1R14201
. GOODYEAR 566283020
2481101 2 #"16UNF AUTOMANN 1D28CA965

I
| Ym1opT




@335

216

420

D286

3/4"-16LIMF
1/4"-18NPTF

1/2°-13UNC

35

SPECIAL PRD. TRH

530

SPECIAL PRD.

4xmM12 M2 2w

@170

M16x1.5

15

AIRTECH 3491101K




530

EYi

350

210

o312 M16x15
M24x1.5

@286
75 .90
| e
-+
1
@12 rd16sl 5
rd24:l 5

M16x1.5

RENAULT
RENAULT
RENAULT
RENAULT
RENAULT
RENAULT
RENAULT

VOLVO

RENAULT
RENAULT
RENAULT
RENAULT
RENAULT
RENAULT
RENAULT
VOLVO

RVI

5010600439
7421978495
7425372810
5010305464
5010557356
22190560

7422190560

20726769

5010600439
7421978495
7425372810
5010305464
5010557356
22190560

7422190560

20726769

5001832067

CONTITECH
CONTITECH
FIRESTONE
FIRESTONE
GART

GART
VIBRACOUSTIC

CONTITECH
CONTITECH
FIRESTONE
FIRESTONE
GART

GART
VIBRACOUSTIC

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
GART
GOODYEAR

PIRELLI

4911NP04

4911NP06

1T19LL12

WO01M588113

2871542

D287E
V1DK28B12L

4911NP04
4911NP06
1T19LL12
W01M588113
2871542
D287E
V1DK28B12L

4912NP08
34912P
1T19E4
206780
D287C
1R13713
1TS19E4




) RENAULT 5010294307C  CONTITECH 4912NPO7
GRANNING 15910 AIRTECH 34912K
us | WABCO 9518137110 CF GOMMA 1T19E4
24012
CF GOMMA 206779
b |
J = FIRESTONE 1T19L14
[
| b D226 FIRESTONE WO01M588786
I
|:i1 /‘"\ GART D287C
GOODYEAR 1R13738
0226
GOODYEAR 1R13711
e WEIGHT  1200K8  BOXDIM.-GIY. i orcs

RVI

VOLVO

5010557355

20722412

CONTITECH

AIRTECH

4912NP10

3491210P

- WEGHT GG KG  BOXDM-GTY. noem: s
s RENAULT 5010557355 CONTITECH 4912NP10
RENAULT 5010600328 AIRTECH 3491210K
us VOLVO 20722412
24002
o1
J =
| E 0226
ll
D236 @




@_ VOLVO FM/FH 20726768 CONTITECH 4912NP13
\ VOLVO FM/FH 21978504 AIRTECH 3491213
yﬂ‘% | RENAULT 5010600328 FIRESTONE 1T19LL14
| @12 M2dx1.5 RENAULT 7421978494 FIRESTONE W01M585520
i E M16x1.5 PREMIUM STANDART PHOENIX 1DK28F6
' MAGNUM
! 2170
| OEMPARTNUMBER CROSSREFERENCES
G286
i VOLVO FM/FH 20726768 CONTITECH 4912NP13
- ] VOLVO FM/FH 21978504 AIRTECH 3491213K
i | RENAULT 5010600328 FIRESTONE 1T19LL14
@12 M24x1.5 RENAULT 7421978494 FIRESTONE WO01M585520
E M16x1.5
=+ PREMIUM STANDART PHOENIX 1DK28F6
| | E @226 MAGNUM
| TN
U 1/
|
’fh SCANIA 1379393 CONTITECH 4913NP02
J|,_, B SCANIA 1379392 DUNLOP D14B42
24913 ! ! SCANIA 1440294 FIRESTONE 1T19L14
! Miexl. 2xd12 FIRESTONE 1T19LAJ14
| % FIRESTONE WO010950500
| FIRESTONE W01M589881
I GOODYEAR 1R14753
PHOENIX 1D28H16
TAURUS KR62516




SCANIA CONTITECH

1379393

SCANIA 1379392 DUNLOP

SCANIA 1440294 FIRESTONE
FIRESTONE

A
1 [l
L FIRESTONE

D226 FIRESTONE

21

lj] GOODYEAR

8226 R PHOENIX
m TAURUS

M1Gx2 @15

4913NP02
D14B42
1T19L14
1T19LAJ14
W010950500
W01M589881
1R14753
1D28H16
KR62516

17y

144

_‘_.-f'"_'_""w..
|

SCANIA 1510195 CONTITECH

+ — -

M6l 2x(2

MERITOR MLF8210 CONTITECH
SCANIA 1510195

350

LY
195

315

0195NPO1

0195NPO1




o286

e
=

i SCANIA 1903608 CONTITECH 6700NP02
SCANIA 1944314 CONTITECH 3608NP1
AIRTECH 34608P
FIRESTONE WO01M588535
g GOODYEAR 1R14869

- WEGHT  s18KS  BOXDW.-GTY. M- sres
SCANIA 1903608 CONTITECH  6700NP02
0280 SCANIA 1944314 AIRTECH 34608P
. FIRESTONE ~ WO1M588535
| M16x1.5 012 GOODYEAR 1R14869
St il
= 0226
-, -
226 5,

Y

M6:1.5 215

SPECIAL PRD. YSD




2806

50

-l

M6

SPECIAL PRD.

YSD

227
- ~ ’ 5] RENAULT P. 5010294309 CONTITECH 4915NP03
- RENAULT M. 5001855856 AIRTECH 3491501P
n';]ls_m | RENAULT M. 5010488070 GART C294C
| RENAULT 5010488396 PHOENIX 1DK191
i & RENAULT 5010294546 VIBRACOUSTIC  V1DK191
i M16LE SAMRO H2501122
: RENAULT V.I. 5001855856
WEGHT  680KG  BOXDL-QTY. noTmwosros
| OEMPARTNUMBER CROSSREFERENCES
027 RENAULT P. 5010294309 CONTITECH 4915NP03
. RENAULT M. 5001855856 CONTITECH 4915NP06
2':% " RENAULT M. 5010488070 AIRTECH 3491501P
mlg].s,sm ' RENAULT 5010488396 GART C294C
=2 RENAULT 5010294546 PHOENIX 1DK191
©186 SAMRO H2501122 VIBRACOUSTIC  V1DK191
T
o186 \/4/




MAN TGA 13T

AXLE

81436010158

CONTITECH
FIRESTONE

FIRESTONE
NEOTEC

4916N1P01
1T17HLR75

W01M588357
ABMG63032A

: e swewoomer
@273
&0 MAN TGA 13T 81436006042 CONTITECH 4916N1P07
- 4‘\ AXLE FIRESTONE 1T17HLR75
"y +
S FIRESTONE WO01M588356
mie M16x1.5 12x1.5 NEOTEC ABM63032A01
| @
f i~
E ! @210
| = & /"I’\
i - Y
@210
o WeGHT  toske

B259

K16x1.5

RENAULT
RENAULT
RENAULT
VOLVO
VOLVO

5010557622
5010630457
21978484
21978490
20735220

CONTITECH

AIRTECH

4919NP0O1
34919P




D255

1ot

295

D157

M1ax1.5

&) ki

M6

RENAULT
RENAULT
RENAULT
VOLVO

VOLVO

5010557622 CONTITECH 4919NPO1
5010630457 AIRTECH 34919K
21978484

21978490

20735220

RENAULT VI 5010600262 CONTITECH 4922MB
RENAULT VI 5010630801 AIRTECH 34922P
! N RENAULT VI 7422025611
| M12:1,75 MigxL5  VOLVO 20722408
i 3 VOLVO 22028090
.
| M12
s | OEMPARTNUMBER
= RENAULT VI 5010600262 CONTITECH 4922MB
' RENAULT VI 5010630801 AIRTECH 34922KPP
RENAULT VI 7422025611
:1“12::1,?5 M16x15  VOLVO 20722408

o260

M12x1,75

VOLVO

22028090



9259

RENAULT VI 5010600262 CONTITECH 4922MB
RENAULT VI 5010630801 AIRTECH 34922KPP
RENAULT VI 7422025611
::12;;1,?5 MLGxl5 VOLVO 20722408
VOLVO 22028090
L

5
o

D259 I 1
VOLVO 1075365 CONTITECH 6609NP01
:”_i_ - VOLVO 1629782 CONTITECH 54761M
. o i E’_ VOLVO 20452138 AIRTECH 34925P
M3 M16xLS VOLVO 20554761 NEOTEC ABM50230K01

(259
180
VOLVO 1075365 CONTITECH 6609NPO0O1
B
T AN VOLVO 1629782 CONTITECH 54761M
=
2 g_ VOLVO 20452138 AIRTECH 34925K
K10 Milax1.5 VOLVO 20554761 NEOTEC ABM50230K01
| g
! D227




I' I
M- - RENAULT 5010630800 CONTITECH 4927NPO1
- 3 "o e
| ) @ ~ RENAULT 22025580
Uus
s | RENAULT 5010305391
, 2 RENAULT 7422025580
| - M16x15 ML2
! 3 VOLVO 22025612
| VOLVO 25379286
1
VOLVO 20722409
i
0248
0259
| RENAULT 5010630800 CONTITECH 4927NPO1
=2
] RENAULT 22025580
g@l | RENAULT 5010305391
! RENAULT 7422025580
ﬁ VOLVO 22025612
o VOLVO 25379286
=t
| — VOLVO 20722409
|
D260

RENAULT VI

RENAULT

RENAULT

7420767358 CONTITECH 4929NP01
5010557623 AIRTECH 34929P
7421978493




M1Ex1.5

137

Miloxl.5

10.5

o1

o1z

() i)

1%

RENAULT VI

RENAULT

RENAULT

SCANIA
SCANIA

SCANIA

SCANIA
SCANIA

SCANIA

5010557623

7421978493

1434930
1932592

2617884

1434930
1932592

2617884

7420767358

AIRTECH

CONTITECH

4929NP01

34929K

FIRESTONE
FIRESTONE
FIRESTONE

AIRTECH
PHOENIX

1T15UR9
W01M588653
W01M585797
34930P
1DF17B2

FIRESTONE

FIRESTONE

FIRESTONE

AIRTECH
PHOENIX

1T15UR9
WO01M588653
WO01M585797
34930KPP
1DF17B2




1835

175

458

B259

2
Eua

I

1584

M1l

L~

47.5

1.5
b

13.5

M16x1.5 12

 Ki
&

SCANIA
SCANIA

SCANIA

SCANIA
SCANIA

SCANIA
SCANIA

SCANIA
SCANIA

SCANIA
SCANIA

1434930
1932592

2617884

1434933
1932593

2617887
3008726

1434933
1932593

2617887
3008726

FIRESTONE
FIRESTONE
FIRESTONE
AIRTECH

PHOENIX

AIRTECH
FIRESTONE
FIRESTONE
PHOENIX

AIRTECH
FIRESTONE
FIRESTONE
PHOENIX

1T15UR9
W01M588653
WO01M585797
34930KPP

1DF17B2

34933P
1T17HRS8
W01M588633
1DF23G1

34933C
1T17HRS8
WO01M588633
1DF23G1



139
i, E SCANIA 1434933 AIRTECH 34933C
0259 5| \ =
E r | SCANIA 1932593 FIRESTONE 1T17HRS
g q_ Ezta i SCANIA 2617887 FIRESTONE W01M588633
i =i2x pc SCANIA 3008726 PHOENIX 1DF23G1
M16x1.5 o12
]
B227
= o
\ = —20
| /IT\
@227
70 M weesT  et0ke  Boxpm-aTy. rnmoso-omcs
w0 BPW 0542941560 CONTITECH 4940NP02
BPW TYPE BPW30K AIRTECH 34940P
Us
28530 WABCO 9518117990 GOODYEAR 1R11799

423

(259

us

24540

259
1]

M2« 1815
31z

BPW

MERITOR

0542941560
MLF8174

SPECIAL PRD. PRL




BPW 0542941560 CONTITECH 4940NP02

BPW 542943240 AIRTECH 34940KPP

MERITOR MLF8174

13250 .
mL . BPW 0542941250 CONTITECH 4941NP02
BPW TYPE BPW30 AIRTECH 34941P
WABCO 9518118020 GOODYEAR 1R11802

523

M 1615

i
M

D248

259
1]

BPW 0542941250 SPECIAL PRD. ALM




s

G 16

@311

]
=

45

785

C

M22x1.5 2aM12

@190

ISP

=
=

@311

™
=

45

785

M22x1.5 2aM12

@190

ISP

M1

—~
)
1

-

CONTITECH
AIRTECH
GOODYEAR
GOODYEAR
DUNLOP

GART

CONTITECH
CONTITECH
VIBRACOUSTIC

GART
GART

CONTITECH
CONTITECH
VIBRACOUSTIC
GART

GART

4941NP02
34941KPP
1R11802
566223500
D11U45

C293

4942NP02
41090N
V1DK32M
2930514
C293

4942NP02
41090N
V1DK32M
2930514
C293



| B259 |

(258

M20x1.
M12x1.5

BPW

BPW
BPW TYPE

WABCO

0542941770
0542940770
BPW30K

9518118010

CONTITECH
AIRTECH
DUNLOP

GART
GOODYEAR
PHOENIX
PIRELLI
PIRELLI
VIBRACOUSTIC

4960NP02
34960P
D11U44
C292A
1R11801
1DK21K3
1TC30030
207710
V1DK21K3

D259

2259

M12x1.75

fal 16

BPW
BPW

MERITOR

MERITOR

0542943230
0542941770

MLF8045

0542943230
0542941770

MLF8045

CONTITECH
AIRTECH
DUNLOP

GART
GOODYEAR
PHOENIX
PIRELLI
PIRELLI
VIBRACOUSTIC

4960NP02
34960KPP
D11B43
C292A
1R11823
1DK21K3
1TC30030
207710
V1DK21K3

CONTITECH
AIRTECH
DUNLOP

GART
GOODYEAR
PHOENIX
PIRELLI
PIRELLI
VIBRACOUSTIC

4960NP02
34960KPP
D11B43
C292A
1R11823
1DK21K3
1TC30030
207710
V1DK21K3



D25

D248

BPW

BPW TYPE

0542942040

BPW30K

CONTITECH 4961NP02
AIRTECH 34961P
GART C292A
GOODYEAR 1R11800

H
i
,
,
]
,
,
,
H
i
2

259

150

ENiE

MEZx1.5

BPW
BPW TYPE

BPW TYPE

0542942040
BPW30K

0542943270
BPW30K

CONTITECH 4961NP02
AIRTECH 34961K
GART C292AK
GOODYEAR 1R11800K

AIRTECH 3496KPP



259

150

BPW 0542942030 CONTITECH 4962NP02

GOODYEAR 1R11803

BPW 0542942030 CONTITECH 4962NP02
AIRTECH 34962K
GOODYEAR 1R11803

BPW 0542943290




(258

| B259 |

BPW 0542942540 CONTITECH 4963NP01

BPW 542943620 GART 2930512

201
M12x1.5

o WEGHT ke Boxom.-aTv. s
157.5
BPW 0542942540 CONTITECH 4963NPO1
0259
BPW 542943620 GART 2930512
us
2953 M20x 1.7 MI2

134

BPW 0542942540 CONTITECH 4963NP01

2259

BPW 542943620 GART 2930512




@248

FORD KC465580AA

FORD T365832

170

FORD KC465580AA

FORD T365832

D227

FORD GC465580GC

FORD CARGO 2642

H476 REAR LEFT
FORD T229324




FORD GC465580GC
FORD CARGO 2642
H476 REAR LEFT

FORD T229324

FORD GC465580GC
FORD CARGO 2642

H476 REAR LEFT
FORD T229324

Mi1Ex1.5

VOLVO 20573108 CONTITECH

VOLVO 70321692 AIRTECH

VOLVO 70321690 FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
NEOTEC
PHOENIX
VIBRACOUSTIC

6604NPO1
36108P
1T15UR40
W01M588470
1R11890
566223577
ABM21226E08
1DF171
V1DF16E1




227

150
‘ﬂ"| Fu'| VOLVO 20573108 CONTITECH 6604NPO1
BT
:I —-—,% VOLVO 70321692 AIRTECH 36108C
, VOLVO 70321690 FIRESTONE 1T15UR40
| M16x15 @14 FIRESTONE WO01M588470
GOODYEAR 1R11890
, @200
= GOODYEAR 566223577
—
: NEOTEC ABM21226E08
;,% PHOENIX 1DF171
VIBRACOUSTIC  VIDF16E1
23
o8
@227

VOLVO 70376911 CONTITECH 6604NP03
VOLVO 70376919 CONTITECH 76911M
VOLVO 70321690

214

D200

111

=S

S

MERCEDES 9603201357 CONTITECH 6120NP48

ACTROS MP4

c

b
=
I
=

M16x1.5 M22x1.5

463

01308 |

D238




161

01308 |

3238

9259

@259

M22x1.5

MERCEDES

ACTROS MP4

9603201357

CONTITECH

6120NP48

MERCEDES
MERCEDES

MERCEDES
MERCEDES

9603201757
9613201421

9603201757
9613201421

CONTITECH

CONTITECH

6120NP49

6120NP49




@22y

US

I6IZ1

445

@22y

130

MERCEDES

ACTROS MP4
MERCEDES

ACTROS MP4

9603201257

9603206257

CONTITECH 6121NP44

161

MERCEDES
ACTROS MP4

MERCEDES
ACTROS MP4

MERCEDES
MERCEDES
MERCEDES
MERCEDES
ACTROS 3232

9603201257

9603206257

9603200057
9603207021
9603206757
9603206757
ARKA

CONTITECH 6121NP44

AIRTECH 36122CPP
CONTITECH 6122NP46
PHOENIX 1DF16A1
PRIME RIDE 1R11946



@259

350

MERCEDES

MERCEDES
MERCEDES
MERCEDES

ACTROS 3232

9603200057
9603207021
9603206757
9603206757
ARKA

AIRTECH
CONTITECH

PHOENIX
PRIME RIDE

36122CPP
6122NP46

1DF16A1
1R11946

us

26122

485

M22x1.5
@32

M16x1.5

M22x1.5

MERCEDES
MERCEDES
MERCEDES
MERCEDES
ACTROS 3232

MERCEDES
MERCEDES

MERCEDES
MERCEDES

9603200057
9603207021
9603206757
9603206757
ARKA

A9603207721
A9603200157

A9603206857
9603205057

AIRTECH
CONTITECH
PHOENIX
PRIME RIDE

CONTITECH

PHOENIX
PRIME RIDE

36122CPP
6122NP46
1DF16A1
1R11946

6122NP47
1DF16A2
1R11947




MERCEDES
MERCEDES
MERCEDES

MERCEDES

A9603207721 CONTITECH 6122NP47
A9603200157 PHOENIX 1DF16A2
A9603206857 PRIME RIDE 1R11947
9603205057

MlGxl.5 M2Zx1.5
| 0205
| e h
/ \ )
i
| 2205
@259 MERCEDES A9603207721  CONTITECH 6122NP47
MERCEDES A9603200157  PHOENIX 1DF16A2
" i MERCEDES A9603206857  PRIME RIDE 1R11947
;R MERCEDES 9603205057
!
| ey
i Ll

MERCEDES

A9613203621 CONTITECH 6122NP50



@258

US

26122

161

280

[
o

@259

MERCEDES A9613203621 CONTITECH 6122NP50

MERCEDES A9603200657 CONTITECH 6123NP40
MERCEDES A9603207157 FIRESTONE W01M588453
ACTROS MP4 FIRESTONE 1T15UR115

2C
EHun

@227 MERCEDES A9603200657 CONTITECH 6123NP40
MERCEDES A9603207157 FIRESTONE W01M588453
I
ACTROS MP4 FIRESTONE 1T15UR115




| @259

o MERCEDES
kA
MERCEDES
MERCEDE
H% Cl S
o MERCEDES
Pt

21308

@238

9603200121
9603206057
9613200721

9603202957

CONTITECH

6126NP40

@259 MERCEDES
}L‘i_ﬂii MERCEDES
n
I
L{:’Sﬁ MERCEDES
| MERCEDES

224

135

g286 |

MERCEDES
ACTROS

e

MERCEDES

ACTROS

468

1315:6.5

9603200121
9603206057

9613200721
9603202957

A9603207657

A9603203457

CONTITECH 6126NP40

CONTITECH 6131NP40
FIRESTONE WO01M586095
FIRESTONE 1T17HAR75




9259

2259

g
B

155

@225

MERCEDES

ACTROS

MERCEDES

MERCEDES

MERCEDES

MERCEDES
MERCEDES
MERCEDES

MERCEDES

MERCEDES

MERCEDES

MERCEDES
MERCEDES
MERCEDES

MERCEDES

ACTROS MP4

A9603207657 CONTITECH 6131NP40
FIRESTONE W01M586095
A9603203457 FIRESTONE 1T17HAR75

9613205421 CONTITECH 6173NP40
9613204621

9613204221

A9613205421

A9613204221

A9613204621

9613205421 CONTITECH 6173NP40
9613204621

9613204221

A9613205421

A9613204221

A9613204621



. D259 |

2259

26173 |

160

259

EC
i

MERCEDES

MERCEDES
MERCEDES
MERCEDES

MERCEDES

9613204321 CONTITECH 6173NP41
9613205521

9613204721

A9613205521

A9613204721

MERCEDES
MERCEDES
MERCEDES
MERCEDES
MERCEDES

9613204321 CONTITECH 6173NP41
9613205521

9613204721

A9613205521

A9613204721

MERCEDES
MERCEDES

MERCEDES
MERCEDES

9613204621 CONTITECH 6173NP42
9613205421

9613204221

9613206921



SCANIA
SCANIA

SCANIA

MERCEDES

MERCEDES
MERCEDES

MERCEDES

9613204321
9613207021
9613205521

9613204721

1386198
1362143

SERIES 4

CONTITECH

CONTITECH
AIRTECH

GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
PHOENIX

6173NP43

6703NPO1
36198P
1R13198
1R13747
1R13759
566263524
566263143
566263532
1DF23B3

(227

B0

D227
q
SCANIA
|
SCANIA
_i .
| & SCANIA

M12x1.5 2x12

(32405

1386198
1362143

SERIES 4

CONTITECH

AIRTECH

GOODYEAR

GOODYEAR

GOODYEAR

GOODYEAR

GOODYEAR
GOODYEAR

PHOENIX

6703NPO1
36198K
1R13198
1R13747
1R13759
566263524
566263143
566263532
1DF23B3




427

SCANIA
SCANIA
SCANIA

SCANIA

1386199
1362145
1372146

1370743

CONTITECH
AIRTECH

GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
PHOENIX

6704NPO1
36199P
1R13199
1R13744
1R13760
566263521
566263145
566263533
1DF23C1

8227
i | OEMPARTNUMBER CROSSREFERENCES
”g" | SCANIA 1386199 CONTITECH 6704NP01
i 1}‘?:‘] SCANIA 1362145 AIRTECH 36199K
' — SCANIA 1372146 GOODYEAR 1R13199
! g Mieds o SCANIA 1370743 GOODYEAR 1R13744
ad | - GOODYEAR 1R13760
! 8 GOODYEAR 566263521
GOODYEAR 566263145
@257 GOODYEAR 566263533
oA PHOENIX 1DF23C1
G . OMPARTNNGER  CROSSREFERENGES
i SCANIA 1386200 CONTITECH 6701NPO1
| l MERITOR MLF7182 AIRTECH 36200P
i " SCANIA 1362147 GOODYEAR 1R13745
i " M35 T 2x@12 SCANIA 1370744 GOODYEAR 1R13200
- GOODYEAR 1R13761
! GOODYEAR 566263522
| GOODYEAR 566263147
GOODYEAR 566263534
PHOENIX 1DF23D1




I.I'!
o { | \1 MERITOR MLF8167 CONTITECH 6701NPO1
I
'r_ = /, - SCANIA 1386200 AIRTECH 36200K
=
SCANIA 1362147 GOODYEAR 1R13745
Mi2:1.5 2012 SCANIA 1370744 GOODYEAR 1R13200
2257 GOODYEAR 1R13761
B H GOODYEAR 566263522
GOODYEAR 566263147
i GOODYEAR 566263534
2257
PHOENIX 1DF23D1
T o) 3
2259
VOLVO 20573311 CONTITECH 6603NP02
VOLVO 3195240 AIRTECH 36311P
B12R, B12M VIBRACOUSTIC  VIDF16E1
[Ty
S

| @130.8 |

D248

VOLVO
VOLVO

20573311

3195240 AIRTECH

VIBRACOUSTIC

CONTITECH

6603NP02
36311C
V1DF16E1



@130.8

2248

515

M22x1.

M12x1.5 MEx1.25

M1z

-

o

VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO

SCHMITZ

WEWELER

WEWELER

SCHMITZ

SCHMITZ

SCHMITZ
SCHMITZ

20573312
3171693
3178706
3195240
20573312
3171693
3178706
3195240
B12R

20573312
3171693
3178706
3195240
20573312
3171693
3178706
3195240
B12R

016512
US06318F
US86318F
1244666
1270603
1274268
1103345

CONTITECH
AIRTECH

GOODYEAR
GOODYEAR

CONTITECH
AIRTECH

GOODYEAR
GOODYEAR

6603NPO1
36312P

1R11893
566223578

6603NPO1
36312C
1R11893
566223578

AIRTECH
FIRESTONE
FIRESTONE
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
GART
PHOENIX

36318P
1T15MPW9
WO01M586318
1T15MMW105
C01M581093
1R12837
566243452
C294HS
1DK23L1



e227

@22y

415

170

415

SCHMITZ

WEWELER
WEWELER
SCHMITZ
SCHMITZ
SCHMITZ

SCHMITZ

SCHMITZ
WEWELER
WEWELER
SCHMITZ
SCHMITZ

SCHMITZ
SCHMITZ

SCHMITZ
SCHMITZ
SCHMITZ
SCHMITZ
WEWELER

16512
US06318F
US86318F
1244666
1270603
1274268

1103345

16512
US06318F
US86318F
1244666
1270603

1274268
1103345

1274268
1270603

1371342
1375396

YP06318SF

AIRTECH
FIRESTONE
FIRESTONE
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
GART
PHOENIX

AIRTECH
FIRESTONE
FIRESTONE
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
GART
PHOENIX

PHOENIX

FIRESTONE
FIRESTONE
FIRESTONE

36318K
1T15MPW9
W01M586318
1T15MMW105
C01M581093
1R12837
566243452
C294HS
1DK23L1

36318KPP
1T15MPW9
W01M586318
1T15MMW105
C01M581093
1R12837
566243452
C294HS
1DK23L1

1DK23L2
WO01M588131
W015688131
W015688333



Dz

2

M24x1.5
Ml6xl.5

MERITOR

VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO

MLF7151
20582215
20531985
20456152
20374510
3171693
1076416
1075891
70321653

CONTITECH

AIRTECH

6608NPO1

36416P

VOLVO 70321693 CONTITECH  6608NPOT
VOLVO 20531985 AIRTECH 36416K
VOLVO 20374510 FIRESTONE 1T15UR9
VOLVO 20456152 FIRESTONE ~ WO01M588474
i VOLVO 1076416 GART C295v
VOLVO 20582215 GOODYEAR  1R10704
VOLVO 1075891 PHOENIX 1DF17B1
WABCO 9518110020 VIBRACOUSTIC ~ V1D16D1
"l VOLVO 21961456
WEGHT | asiko  soXDm-aTv. mriwms e
VOLVO 20582214 AIRTECH 36418P
. VOLVO 20531987
b | VOLVO 20456156
| M24515 VOLVO 20374511
. Mlax15
| E VOLVO 3171695
i VOLVO 1076418
i VOLVO 70321695
:




@227

VOLVO 20582214 CONTITECH 6607NPO1
VOLVO 20531987 AIRTECH 36418K
Us VOLVO 20456156 FIRESTONE 1T15UR6
6d 1R I
M16x15 VOLVO 20374511 FIRESTONE W01M588473
ﬁ VOLVO 3171695 GART C294VA
| Uz @168 VOLVO 1076418 GOODYEAR 1R10707
| /T\ VOLVO 70321695 PHOENIX 1DF17A1
ﬂ:{.g VOLVO 21961451 VIBRACOUSTIC  V1DF16C1
w WABCO 9518110060
o227 =
&y VOLVO 1076420 CONTITECH 6600NP02
‘ VOLVO 20374512 AIRTECH 36420P
us | VOLVO 20456160
a4
| M2dxl.5 VOLVO 20531989
| M16x1.5
i = VOLVO 20582213
i VOLVO 21961448
miu.a
0212
o227 VOLVO 1076420 CONTITECH 6600NP02
VOLVO 20374512 AIRTECH 36420K
: VOLVO 20456160
Us
iy | M16x1.5 VOLVO 20531989
| r~ VOLVO 20582213
™
VOLVO 21961448

e




@zz27
1

, a .~ VoLvo 1076420 CONTITECH 6600NPO1
R ™~
—|_ jL VOLVO 20573109
t
us | ! VOLVO 7313718
Ied20
! M16x1.5 24@14
| w
Laal
1
o I_
21308
- VOLVO 1076420 CONTITECH 6600NPO
VOLVO 20573109
4&‘ VOLVO 7313718
w0 M16x15 26@14
&
| Pl 200
3
o —

@227

L]

5

403

2130.8
@201

/ | DAF
9 ! DAF

| DAF

M22x1.5 25810

2

1849374
2114130

1915957

CONTITECH
CONTITECH
FIRESTONE
FIRESTONE
FIRESTONE
GART
GART
GART
NEOTEC

6431NPO1
6431NP03
WO01M586093
W01M586094
1T15QMR55
3081415
3081416
D308/C
ABM204128A01



@227

272

137

0190

DAF 1849374
DAF 2114130
DAF 1915957

CONTITECH

CONTITECH
FIRESTONE
FIRESTONE
FIRESTONE
GART
GART
GART
NEOTEC

6431NPO1
6431NP0O3
W01M586093
W01M586094
1T15QMR55
3081415
3081416
D308/C
ABM204128A01

@227 ! DAF 2028898 CONTITECH 6431NP11
Mﬂ- DAF 2305237
us |
26431 i
| R
1
| ok
2190
- | OEMPARTNUMBER OROSSREFERENCES
3 MERCEDES 9603206457
u MERCEDES 9603204521
26457
ACTROS MP4
w
Pyl
=T

2130.8




MERCEDES
MERCEDES

ACTROS MP4

9603206457

9603204521

, @259 |

BN

£

383

VOLVO
VOLVO
VOLVO
VOLVO
VOLVO

VOLVO

20480202
20573113
70313734
21041697
70397453

21097453

CONTITECH 6602NPO1
AIRTECH 36113
GOODYEAR 1R12843

©248
VOLVO 20480202 CONTITECH 6602NPO1
. @250 .
VOLVO 20573113 AIRTECH 36113C
M VOLVO 70313734 GOODYEAR 1R12843
us VOLVO 21041697
G602
: VOLVO 70397453
#3190
VOLVO 21097453




@227

st VOLVO 21161555 CONTITECH 6617NPO1
VOLVO 21961478 CONTITECH 19077M
VOLVO 21119077
2
Laal
| 21308
E248
p— VOLVO 21161555 CONTITECH 6617NPO1
N VOLVO 21961478 CONTITECH 19077M
! . VOLVO 21119077
26617
=
R
@227
g
, i
1
T 15
@227 “]JT'_

3

227 100
e VOLVO 20532247 CONTITECH 6618NPO1
7L R
Y VOLVO 20386350 CONTITECH 32247M

+
us VOLVO 20386351
12515




@227

M E— 20532247 CONTITECH
20386350 CONTITECH
20386351

6618NPO1

32247M

21977974 CONTITECH

20909152 GOODYEAR

GOODYEAR

| GOODYEAR
M1Ex1.5

| GOODYEAR

I

370

GOODYEAR

GOODYEAR
GOODYEAR

NEOTEC

VOLVO 21977974 CONTITECH
VOLVO 20909152 GOODYEAR
U I GOODYEAR
e GOODYEAR

GOODYEAR

GOODYEAR

GOODYEAR

GOODYEAR

NEOTEC

6631NPO1
1R11858
1R11815
1R11876
1R11907
566223559
566223531
566223586
ABM26029A40

2
EE

6631NPO1
1R11858
1R11815
1R11876
1R11907
566223559
566223531
566223586
ABM26029A40



I.I'!
= ﬁ ; RENAULT 20909153 CONTITECH 6632NP01
[ﬂﬂﬂﬂ]]lﬂ][ﬂ# RENAULT 21978492 GOODYEAR 1R11859
us RENAULT 7420909153 GOODYEAR 1R11816
! o Vol RENAULT 7421978492 GOODYEAR 1R11880
| - GOODYEAR 1R11908
[
e

@130.8

@238
E RENAULT 20909153 CONTITECH 6632NP01
—
RENAULT 21978492 GOODYEAR 1R11859
g% RENAULT 7420909153 GOODYEAR 1R11816
RENAULT 7421978492 GOODYEAR 1R11880
rd
| o GOODYEAR 1R11908
]
—
—
wrd
=y
@197
. ooupmrnEER  crossereneces

MERCEDES 9603206657
MERCEDES 9603205221

o

ACTROS MP4




ACTROS MP4

160

418

CONTITECH
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR

PRIME RIDE

6702NPO1
1R13751
1R13762
566263526
566263535

1R13768

CONTITECH
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR

PRIME RIDE

6702NPO1
1R13751
1R13762
566263526
566263535

1R13768



395

153
174

37

0273

uUs

J6TSE

20452472 AIRTECH 36753P

VOLVO 20554753

VOLVO 3987630

VOLVO 20452472 AIRTECH 36753K
VOLVO 20554753
VOLVO 3987630

_MI6x15

DAF 1883826 CONTITECH 6754NP02

ARKA AKS

M22x1.5 210




245

135

2227

o248

| 21308 "

o227

160

160

i
17.5

@zt

@291

+

ey

M16x1.5

DAF 1883826 CONTITECH 6754NP02

ARKA AKS

VOLVO 20554760 CONTITECH 6612NP0O1
VOLVO 20580705 AIRTECH 36760P
VOLVO 21961472

VOLVO 20479800

VOLVO 20452142

VOLVO 20554760 CONTITECH 6612NPO1
VOLVO 20580705 AIRTECH 36760K
VOLVO 21961472

VOLVO 20479800

VOLVO 20452142




VOLVO 20554762 CONTITECH 6613NPO1
1: _|_ VOLVO 21811323 AIRTECH 36762P
o]
el ~ VOLVO 21961475
26762, 2
| M10x1.5 M1Ex1.5 VOLVO 20479802
. =
| [aa}
S
N
21308 |
D248
o2 | OEMPARTNUMBER CROSSREFERENCES
160
$ VOLVO 20554762 CONTITECH 6613NPO1
m!__. L VOLVO 21811323 AIRTECH 36762K
2:\ \gﬂ/ VOLVO 21961475
m% M10 M16x1.5 VOLVO 20479802
I
-~ VOLVO 20452144
B
- ! =
T
y
=l o227
2291

VOLVO 20554768 CONTITECH 54768M

AIRTECH 36768P

248




248

7.5

] 1]

81| Mlexl5

VOLVO 20554768 CONTITECH 54768M
AIRTECH 36768K

VOLVO 20554770 CONTITECH 54770M
VOLVO 3173271 AIRTECH 36770P

VOLVO 20554770 CONTITECH 54770M
VOLVO 3173271 AIRTECH 36770K




458

@238

325

3

265

1308

@212

@227

©150

q {;

+

[Tl
£l

24 M22x1.5

M12x1.75

2134

121,75

@zz27

@150

73
=
4+

@227
v

I~
i
L
i+

—2x
MTEx1.5 M12x1.75

KRONE

GIGANT
GIGANT
GIGANT
GIGANT

KRONE

GIGANT
GIGANT
GIGANT
GIGANT

KARSAN
KR.CXLO1

KARSAN
ATAK CXL

NOVA CITI ARKA 387056844101

KARSAN ATAK
ON

515069174
9377003

709377003
700196084

196084

515069174
9377003
709377003
700196084
196084

211P0001
FRONT

3050049AA

FIRESTONE

PHOENIX

VIBRACOUSTIC
GART
GART

PRIME RIDE

WO01M581261
1DK20C5
V1DK20C5
29414521
C294

1R11932

FIRESTONE
PHOENIX
VIBRACOUSTIC

GART
GART

PRIME RIDE

AIRTECH

AIRTECH
AIRTECH

WO01M581261
1DK20C5
V1DK20C5
29414521
C294

1R11932

37007
3642002P
137542




@az7

@168

KARSAN 211P0001 AIRTECH 37007K
KR.CXLO1 FRONT

KARSAN 3050049AA

ATAK CXL

NOVA CITI ARKA 387056844101

—— @
I [HES KARSAN 231P0002 AIRTECH 37008
KR.CXLO1 REAR
us |
i KARSAN 3010025AA
| o M5 ATAK CXL
. 2 Moors M12¢1.75
| KARSAN ATAK
i ARKA
1

M1Ex1.5
M20x1.5

50.5

M12x1.75

KARSAN 231P0002 AIRTECH 37008K
KR.CXLO1 REAR

KARSAN 3010025AA

ATAK CXL




IVECO
NEWAY

MIB1.5 MI1dxl5 NEWAY
NEWAY

455

NEWAY

99458555
99458557
MO0557019
M0557020
MO0557030

MO0557031

FIRESTONE 1T15AA6

FIRESTONE WO01M587313

IVECO

IVECO

MERITOR
NEWAY / SAF
NEWAY / SAF

NEWAY / SAF

99458555
99458557
MO557019
MO557020
MO557030

MO557031

AIRTECH 37313KPP
FIRESTONE 1T15AAAG
FIRESTONE W01M587313

@227

/T\ OTOKAR
E% R
=
2xM16x1.5

@230

\
% 'E":
N t

M12x1,75

19A0104154AA



D259

D255

2TTR3

285

114

17.5

427

20554772

3987783

20554772

3987783

AIRTECH 36772P

AIRTECH 36772K

M24x1.5
Mléxl.5

VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO

20582206
20531984
20456150
20427800
3171692

20427803
1075890

20375226
20375227

CONTITECH 6605NPO1

AIRTECH 37803P



VOLVO 20582206 CONTITECH 6605NPO1
VOLVO 20531984 AIRTECH 37803P
VOLVO 20456150
VOLVO 20427800
5 VOLVO 3171692
VOLVO 20427803
VOLVO 1075890
VOLVO 20375226
VOLVO 20375227
WEGHT  3$5KS  BOXDM.-aY. - sres
2 VOLVO 1075890 CONTITECH 6605NP0O1
i 000 VOLVO 20375226 AIRTECH 37803K
f‘.j‘ T -.xn VOLVO 20375227 FIRESTONE 1T15LNR6
uUs VOLVO 20427800 FIRESTONE W01M588472
e ﬁ VOLVO 20456150 GART C294VA
L . E VOLVO 20531984 GOODYEAR 1R11805
|_./ VOLVO 20582206 PHOENIX 1DF20D1
m_'u;’t._ VOLVO 3171692 SPRINGRIDE D11B42
D197 WABCO 9518110050 VIBRACOUSTIC  V1DF20B1
320 M4

VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
VOLVO
WABCO

1075890
20375226
20375227
20427800
20456150
20531984
20582206
3171692
9518110050

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
GART
GOODYEAR
PHOENIX
SPRINGRIDE
VIBRACOUSTIC

6605NPO1
37803K
1T15LNR6
WO01M588472
C294VA
1R11805
1DF20D1
D11B42
V1DF20B1



MERITOR MLF7154 CONTITECH 6606NPO1
MERITOR MLF7181 AIRTECH 37804P
VOLVO 20427804
124x1.5 VOLVO 20582209
M16x1.5
VOLVO 20532986
VOLVO 20456154
VOLVO 20427801
VOLVO 3171694
VOLVO 70321694
WEGHT | 18KS  poXDW-QTY. B ses
B - M
.- OEMPARTNUMBER CROSSREFERENCES
D27 / ! VOLVO 20582209 CONTITECH 6606NPO1
ﬁ] l,' P, I VOLVO 20531986 AIRTECH 37804K
AT J ! VOLVO 20456154 FIRESTONE 1T15LNR3
yﬁ | :ﬁg}j VOLVO 20427801 FIRESTONE WO01M588477
g VOLVO 20427804 GART C294VA
| e 0197 VOLVO 3171694 GOODYEAR 1R11848
, - VOLVO 70321694 PHOENIX 1DF20E1
o VOLVO 21961443 VIBRACOUSTIC  V1DF20A1
0280
" WEGHT  G70Ke  BOXDWL-QTY. B wrcs
80
VOLVO 20427805 CONTITECH 7805N
VOLVO 20427802 AIRTECH 37805P
VOLVO 20456158
124x1.5 VOLVO 20582212



2TROS

270

120

D227

M2dx1.5
M1lix1.5

2187

Kil4d

VOLVO

VOLVO
VOLVO

VOLVO

20427805 CONTITECH 7805N
20427802 AIRTECH 37805K
20456158

20582212

VOLVO 20737943 CONTITECH 6614NPO1
H—]R VOLVO 61352304831 AIRTECH 37947K
us VOLVO 20424543
el VOLVO 21961458
! = VOLVO 20583420
| Laal
. M1dx2
- | OEMPARTNUMBER ~  CROSSREFERENCES
VOLVO 20737947 CONTITECH 6614NPO1
VOLVO 661352304831  AIRTECH 37947K
! VOLVO 20424543
1[519453 VOLVO 21961458
| o M16x1.5
| ™ VOLVO 20583420
N @218
I~
! @218




8227

328

VOLVO

VOLVO

21224748

22058740

CONTITECH

4563NP02

@227

VOLVO
VOLVO

21224748

22058740

CONTITECH

4563NP02

P T E
(3]
=
! @218
. D286 .
HENDRICKSON  B12514013 CONTITECH 11105E16A320
; HENDRICKSON  S4771 CONTITECH 64254
us | . LOADGUARD SC2052 CONTITECH 11105C16A320
2EN50
' 3/4".16 UNF NAVISTAR 1685174C1 FIRESTONE 1T19J6
| L 1amas et
. @ REYCO 2363101 FIRESTONE 1T19ZK57
! GRANNING 2363101 FIRESTONE W013588050
ﬁﬁﬁ‘J RIDEWELL 1003588050C GOODYEAR 1R14039
‘*ﬁﬁiﬁ: WATSON&CHA.  AS0039 GOODYEAR 566283015

=
=
L
fag}
L

=
e




HENDRICKSON  B12514013 CONTITECH 11105E16A320

HENDRICKSON  S4771 CONTITECH 64254
us | , LOADGUARD SC2052 CONTITECH 11105C16A320
I X
| - 3/4"-16 UNF NAVISTAR 1685174C1 FIRESTONE 1T19J6
! = 1/4"18 NPT
| REYCO 2363101 FIRESTONE 1T19ZK57
2134
- ! GRANNING 2363101 FIRESTONE W013588050
k. / RIDEWELL 1003588050C GOODYEAR 1R14039
l b WATSON&CHA.  AS0039 GOODYEAR 566283015
@265
i HENDRICKSON  B12514013 CONTITECH 11105E16A320
s HENDRICKSON  S4771 CONTITECH 64254
I LOADGUARD SC2052 CONTITECH 11105C16A320
[}
ymﬁ, 3/4"-16 UNF NAVISTAR 1685174C1 FIRESTONE 1T19J6
1/4"-18 NPT
290 REYCO 2363101 FIRESTONE 1T19ZK57
GRANNING 2363101 FIRESTONE WO013588050
RIDEWELL 1003588050C GOODYEAR 1R14039
WATSON&CHA.  AS0039 GOODYEAR 566283015
Ay
1/2"-13 UNC

HENDRICKSON  B12514013 CONTITECH 11105E16A320
HENDRICKSON  S4771 CONTITECH 64254
LOADGUARD SC2052 CONTITECH 11105C16A320
if?ig h':: NAVISTAR 1685174C1 FIRESTONE 17196
REYCO 2363101 FIRESTONE 1T19ZK57
. GRANNING 2363101 FIRESTONE W013588050
3 RIDEWELL 1003588050C  GOODYEAR 1R14039
WATSON&CHA.  AS0039 GOODYEAR 566283015

1/2"-13 UNC




D286

21286 HENDRICKSON  B12514013 CONTITECH 11105E16A320
H Hl;ﬁ HENDRICKSON  S4771 CONTITECH 64254
U ' - LOADGUARD SC2052 CONTITECH 11105C16A320
3416 UNF NAVISTAR 1685174C1 FIRESTONE 1T19J6
1/4"-18 NPT
REYCO 2363101 FIRESTONE 1T19ZK57
@290
- @200 GRANNING 2363101 FIRESTONE W013588050
]
o RIDEWELL 1003588050C GOODYEAR 1R14039
WATSON&CHA.  AS0039 GOODYEAR 566283015

Ay

V-3 urc weenT toawe

HENDRICKSON  B12514013 CONTITECH 11105E16A320
HENDRICKSON  S4771 CONTITECH 64254
LOADGUARD SC2052 CONTITECH 11105C16A320
NAVISTAR 1685174C1 FIRESTONE 1T19J6

1/4"-18 NPT
REYCO 2363101 FIRESTONE 1T19ZK57
GRANNING 2363101 FIRESTONE W013588050
RIDEWELL 1003588050C GOODYEAR 1R14039
WATSON&CHA.  AS0039 GOODYEAR 566283015

1/2"-13 UNC

286 HENDRICKSON  B12514013 CONTITECH 11105E16A320
] HENDRICKSON  S4771 CONTITECH 64254
T
us I LOADGUARD SC2052 CONTITECH 11105C16A320
28030
| 3/4"-16 UMF NAVISTAR 1685174CA1 FIRESTONE 1T19J6
1/4"-18 NPT
@255 REYCO 2363101 FIRESTONE 1T19ZK57
o GRANNING 2363101 FIRESTONE W013588050
—
I TN RIDEWELL 1003588050C GOODYEAR 1R14039

255 | WATSON&CHA.  AS0039 GOODYEAR 566283015

1/2"-13 UNC




D286

us

2E0%1

403

2x
3/4"-16 LINF
1/4"-18 NPTF

2170

1/2"-13 UNC

ARVIN MERITOR A2258P1576

HENDRICKSON

NAVISTAR

$§20901

1R14242

CONTITECH
AIRTECH

FIRESTONE
FIRESTONE

GOODYEAR

11105A16P523
38091P
1T19LC6
W013588091

1R14171

§

@258

34%-16 UNF
1/4°-18 NPTF

@258

ARVIN MERITOR A2258P1576

HENDRICKSON

NAVISTAR

S§20901

1R14242

CONTITECH
AIRTECH
FIRESTONE

FIRESTONE
GOODYEAR

11105A16P523
38091KPP
1T19LC6
W013588091
1R14171

027

S0

SCHMITZ
SCHMITZ

WEWELER

750999
014892

US06285

AIRTECH

FIRESTONE

FIRESTONE

GOODYEAR
PHOENIX

38185P
1T15MPW9
W01M586257
1R12748
1DK20B1NP



193

0227
N
S |
IRIER |
e
' 3
|
|
01308
2219

SCHMITZ 750999 CONTITECH
SCHMITZ 014892 AIRTECH
WEWELER US06285F DUNLOP
WABCO 9518127490 FIRESTONE
FIRESTONE
FIRESTONE
GART
GOODYEAR
PHOENIX

4158NP03
38185KPP
D12B22
1T15MPW9
W01M586285
W01M588185
D278HS
1R12749
1DK20B1

IVECO 42568188 CF GOMMA
IVECO 500042677 CF GOMMA
IVECO 500042670

1TS27026C
207949

0227
4
15
C I
=
s
I
]
J U &

2190

R
[S=L

/TN
Y

IVECO 42568188 CF GOMMA
IVECO 500042677 CF GOMMA
IVECO 500042670

1TS27026C
207949




120

328

IVECO
IVECO

IVECO

25M16x1.5

2227

IVECO

TN
o
©
>€§?A IVECO
2xM16xL5

2190
M14:2

2227

SAF HOLLAND

SAF HOLLAND

SAF HOLLAND
3/4°- 161
1/4"-18NPTF 1/2"-13UNC ~ NEWLITE

BINKLEY
1/2"-13UNC

42568189
41289379

500042590

42568189

41289379

500042590

90557173
90557223
XDSPN05360
NS19016
XBSPN05337

CF GOMMA
CF GOMMA

CF GOMMA

CF GOMMA

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
AUTOMANN
TRP
TRIANGLE

TAURUS

1TS27026

M0111601

1TS27026
207529

91012P484
1T15M2
W013588204
1R12508
566243067
1DK23H8204
AS82040
AS8484

6361




91012P484

97 | OEMPARTNUVBER CROSSREFERENCES
SAF HOLLAND 90557173 CONTITECH
SAF HOLLAND 90557223 FIRESTONE

SAF HOLLAND XDSPN05360 FIRESTONE

3/4"-16UNF NEWLITE NS19016 GOODYEAR

1/4"-1BMPTF
BINKLEY XBSPN05337 GOODYEAR

AUTOMANN
TRP
TRIANGLE
TAURUS

1T15M2
W013588204
1R12508
566243067
1DK23H8204
AS82040
AS8484

6361

" o227
g 3
82
:

FIRESTONE

3/4"-16LNF
1/4°-18NPTF

1/2"-13UNC

4°-10 LINC 24

=]
rd
i

W016828263

254
0227 FIRESTONE W016828263

I?z

30716 UNF
1/2"-13 UNC 1/4°-1& NFTF

34-10 UNC 24




HENDRICKSON
HENDRICKSON
HENDRICKSON
IVECO

IVECO

IRIS BUS
ISUZU NOVA CITI
NOVA CITI LIFE
ﬁ%@ CITI LIFE

XHS508385
508439H
HS508439
XHS508385
504108867
500042593
2082312
38678
3870629480

38439P

HENDRICKSON
HENDRICKSON
HENDRICKSON
IVECO

IVECO

IRIS BUS

ISUZU NOVA CITI

NOVA CITI LIFE
ON
TECTOR

XHS508385 AIRTECH

508439H VIBRACOUSTIC
HS508439 VIBRACOUSTIC
XHS508385

504108867

500042593

2082312

387056873001

38439C
V1D23G4
V1D23G4WB

@227

Us

2R46H

453

0227
I
70 S
1/4-18 NPTF M12x1.75

VOLVO

VOLVO

MACK
MACK

21132004 AIRTECH
21132005 CONTITECH
21244322 FIRESTONE
21669088 GOODYEAR
GOODYEAR
AUTOMANN
TRIANGLE

TRP

38468CPP
910S17P1206
W01M588468
1R121049
1R12654
1DF23HP1206
AS81206
AS84680




1/4-18 NPTF M124175

VOLVO
VOLVO
MACK

MACK

21132004
21132005
21244322

21669088

AIRTECH
CONTITECH
FIRESTONE
GOODYEAR
GOODYEAR
AUTOMANN
TRIANGLE

TRP

38468CPP
910S17P1206
W01M588468
1R121049
1R12654
1DF23HP1206
AS81206

AS84680

" @259

525

VALX

M12

WEWELER

80130001

US04200F

FIRESTONE

W01M588540

| @259

525

VALX

WEWELER

80130001

US04200BF

FIRESTONE

WO01M588175




80130001 FIRESTONE

W01M588540

WEWELER US04200F

M12x1.75

M22x1.5
VALX 80130001 FIRESTONE WO01M588175

(]
ﬂl - \ WEWELER US04200BF

170

4
s wEeHT ke

| 0259 |

~ ROR / MER. 21229214 AIRTECH 38608P
FIRESTONE 1T17DJ7
FIRESTONE W01M588608

PHOENIX 1DK22D1




@250 ROR / MER. 21229214 AIRTECH 38608KPP
FIRESTONE 1T17DJ7
FIRESTONE WO01M588608
PHOENIX 1DK22D1
e
=
~
[
w1
. 9259 = 157.5
- | ) WATSON&CHA.  AS0107G CONTITECH 1010165724
i -—r—- FIRESTONE W013588637
us | 2
BT - . i GOODYEAR 1R13155
| 3/4"-16 UNF GOODYEAR 566263051
! § 17418 MPTF
| TRIANGLE AS8724
' 7134
H AUTOMANN 1DK25E8637
S TRP AS07243
i FLEETPRIDE AS8637
. @248 ROAD CHOICE  AS8637
o weewr ke soxom-arv.
. | OEMPARTNUMBER CROSSREFERENCES
B WATSON&CHA.  AS0107G CONTITECH 1010168724
| FIRESTONE W013588637
us ) o
e | i GOODYEAR 1R13155
2
| wn| 3/4°-16 UNF GOODYEAR 566263051
~Il 174218 NPTF
' = @254 TRIANGLE AS8724
3 AUTOMANN 1DK25E8637
! TRP AS07243
2254 FLEETPRIDE AS8637
ROAD CHOICE ~ AS8637

1/27-13 UM




@227

120
@227 | BMC 311001304101
= NEOCITY
Tt
s BMC 311001304410KM
2R6R3H ! 2% [
M1 BMC 8.5 MT
ARKA
o227
68
" =S
7
@259 .
- HENDRICKSON 28929 CONTITECH 101016P526
3 J:J[

- E'[. HENDRICKSON 21966 FIRESTONE 1T17CA65
us o NAVISTAR 1R13250 FIRESTONE W013588708
wmE

| 3/4"16 UN GOODYEAR 1R13177

: 1/4"-18 NPTF

| q

| @134

1 l l

@259 | HENDRICKSON 28929 CONTITECH 101016P526
_ET HENDRICKSON 21966 FIRESTONE 1T17CA65

3/4"-16 UNF
1/4"-18 NPTF

1/27-13 UNC

t

NAVISTAR 1R13250 FIRESTONE W013588708

GOODYEAR 1R13177



1%
s

440

405

@259

2x
3/4"-16 UNF
1/4"-18 NPTF

@134

172713 UNC

3/4"-16 UNF
1/4"-18 NPTF

ET

-Er

HENDRICKSON
HENDRICKSON

NAVISTAR

HENDRICKSON
HENDRICKSON

NAVISTAR

CONTITECH

FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
TRIANGLE
TRP

AUTOMANN

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
TRIANGLE
TRP
AUTOMANN

1010515P460
1T17CA5
W013588709
1R13159
566263073
AS8460
AS87090

1DK25A8709

1010515P460
1T17CA5
W013588709
1R13159
566263073
AS8460
AS87090
1DK25A8709

]
m 1-.1~ HENDRICKSON CONTITECH 101016P533
. |
' 3} FIRESTONE 1T17CABS
ysj o FIRESTONE W013588713
3416 UNF GOODYEAR 1R13176
1/4"-18 NPTF

172713 UNC




138.5

4

34%-16 UNF
1/4°-18 NPTF

HENDRICKSON  S22948

CONTITECH
FIRESTONE

FIRESTONE
GOODYEAR

101016P533
1T17CAB5

W013588713
1R13176

259

323

VZTI3UNC 34716 UNF
1/4"-18 NPTF

2134

1/2"-13 UNC

MERITOR 202796
MERITOR A2258F1410
MERITOR A2258E1461

AIRTECH
CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
PRIME RIDE
ROAD CHOICE

38729CPP
1010A12P1330
1T17CD3
W013588729
1R13130
566263055
10BL128729
AS8729

T/2M3UNC 35416 UNF

1/4"-18 NPTF

1/2-13 UNC

MERITOR 202796
MERITOR A2258F1410
MERITOR A2258E1461

AIRTECH

CONTITECH

FIRESTONE

FIRESTONE

GOODYEAR

GOODYEAR

PRIME RIDE
ROAD CHOICE

38729CPP
1010A12P1330
1T17CD3
W013588729
1R13130
566263055
10BL128729
AS8729



I 9259

| 405

]

38

2
3/4"-16 UNF
1/4"-18 MPTF

1/2%-13 UNC

WATSON&CHA.

RIDEWELL

AS0098

1003588753C

SPRING VALLEY AS8713

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
TRIANGLE
TRP

AUTOMANN

1010158713

1T17B5
W013588753
1R13207
566263081
AS8713
AS87530

1DK25B8753

Ei T WATSON&CHA.  AS0098 CONTITECH 1010155713
;“"ﬂ‘" H [ - RIDEWELL 1003588753C  FIRESTONE 1T17B5
™
H?% . i SPRING VALLEY AS8713 FIRESTONE W013588753
3/47-16 UNF GOODYEAR 1R13207
1/4"-18 NPTF
- o254 GOODYEAR 566263081
3 @143.7 TRIANGLE AS8T713
/ \ TRP AS87530
el
@254 4 AUTOMANN 1DK25B8753
\ /
T
o weeHt ke soxom-ar.
1/2°-13 UN
. ©259 L]
. HENDRICKSON 21623 CONTITECH 101015P522
—é- ﬁ HENDRICKSON 22045 AIRTECH 38755P
g | FIRESTONE 1T17B5
28755 2
! 3/4"-16 UNF FIRESTONE W013588755
| 1/4"-18 NPTF
i 3 GOODYEAR 1R13124
| 0134
1
T ' '
@248

172713 UNC




HENDRICKSON 21623 CONTITECH 101015P522

ot

HENDRICKSON 22045 AIRTECH 38755KPP
- FIRESTONE 1T17B5
354716 UNF FIRESTONE W013588755
1/4"-18 NPTF
GOODYEAR 1R13124

@217

143

@217 Wty
ax T
¥ MERCEDES 9603208757
Us MERCEDES 9603204321
1
T MERCEDES 9613202021
1
| 2
o
1
1
::::::i-mi-;j_
2201
mw | OEMPARTNUMBER  CROSSREFERENCES
ﬁﬁ g SAF HOLLAND 90557289 AIRTECH 38749CPP
SAF HOLLAND 90557168 CONTITECH 101021P486
us | WATSON&CHA.  AS0175 FIRESTONE 1T17B11
. 1/4"-18 NPT~ 772"-13 UNC FIRESTONE W013588749
! @ GOODYEAR 1R13153
i
! 12" 13UNC GOODYEAR 566263071
| FLEETPRIDE ~ AS8749
L TAURUS 6394
TRIANGLE AS8486




@259

41

42|

192

SAF HOLLAND
SAF HOLLAND

WATSON&CHA.

1/4"-18 NPT
3/4"-16 LINF

@260

1/2"-13 UNC

90557289
90557168

AS0175

esiune ESHE e

AIRTECH
CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
FLEETPRIDE
TAURUS
TRIANGLE

38749CPP
101021P486
1T17B11
W013588749
1R13153
566263071
AS8749
6394
AS8486

- | OEMPARTNUMBER CROSSREFERENCES
ZORZI 1006552 AIRTECH 30073C
us
Wi | SMB M588762 PHOENIX 1DK28D3
| FRUEHAUF UJB0305 FIRESTONE 1T19L14
| 3 M12x1. M12 svB M001464 FIRESTONE W01M588762
| ry M20x1.5
i GOODYEAR 1R13732
: orre GOODYEAR 1R13803
| ' ' GOODYEAR 566263518
CF GOMMA 201840
CF GOMMA 1T19E3
o weoHr ke soxom-ov.

D286

210

D286

ZORZI

SMB

FRUEHAUF
M12x1. mM12 SMB
M20x1.5

8260
/ﬁ
2%

M12x1.75

1414

1006552
M588762

UJB0305
MO001464

AIRTECH

PHOENIX

FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
GOODYEAR
CF GOMMA
CF GOMMA

30073C
1DK28D3
1T19L14
W01M588762
1R13732
1R13803
566263518
201840
1T19E3




@227

- 139.7
il VOLVO 8079902 CONTITECH 910S17P1154
e + VOLVO 20413888 AIRTECH 38820KPP
;ﬁ]sg‘)q + VOLVO 20505399 FIRESTONE 1T15M6
) VOLVO 8084296 FIRESTONE W013588829
1/2"13UNC 174" 1BNPTF
| A TRIANGLE 8449 GOODYEAR 1R12615
1/2*-13UNC
LOADGUARD SC2757 GOODYEAR 566243164
,,,,, NAVISTAR 1R121059 TRIANGLE AS81154
TRP AS11543
AUTOMANN 1DF23HP1154
- weeHT ke soxom-arv.
@227
VOLVO 8079902 CONTITECH 910S17P1154
VOLVO 20413888 AIRTECH 38829KPP
1
uUs | VOLVO 20505399 FIRESTONE 1T15M6
2EEIW
i 12 13UNC 1jaqgnpte VOLVO 8084296 FIRESTONE W013588829
. @54 TRIANGLE 8449 GOODYEAR 1R12615
- LOADGUARD SC2757 GOODYEAR 566243164
(3]
- NAVISTAR 1R121059 TRIANGLE AS81154
| TRP AS11543
254
' AUTOMANN 1DF23HP1154
KENWORTH C811003 CONTITECH 91014P577
US PETERBILT C816000 FIRESTONE W013588813
26813 | MERITOR MAF8813 FIRESTONE 1T15M4
- " GOODYEAR 1R121204
(e
! GOODYEAR 566243289
,,,,, 1/2"-13UNC PRIME RIDE ASPROM148813
s FLEETPRIDE AS8813
TAURUS 6362
23255
TRIANGLE AS8577




@227

121

KENWORTH C811003 CONTITECH

PETERBILT C816000 FIRESTONE

MERITOR MAF8813 FIRESTONE
GOODYEAR
GOODYEAR
PRIME RIDE
FLEETPRIDE
TAURUS
TRIANGLE

91014P577
W013588813
1T15M4
1R121204
566243289
ASPR9M148813
AS8813

6362

AS8577

ACERBI 441901 AIRTECH
SMB FRUEHAUF  M060924 CF GOMMA
SMB FRUEHAUF  M078580 DUNLOP
SMB FRUEHAUF UJB0975 GOODYEAR
WABCO 9518111060

WEWELER usS08840

39002A3P
1730030
D12U35
1R11753

! @259

460

@259

M20u1.
M12x1.5

ACERBI 441901 AIRTECH
FRUEHAUF M060924 GOODYEAR
DUNLOP

39002A301P

1R11753
D12U35




SMB FRUEHAUF

SMB FRUEHAUF

400

SMB FRUEHAUF

WABCO

17

WEWELER

ACERBI
FRUEHAUF
FRUEHAUF
FRUEHAUF
WABCO

175

GRANNING

ROR

WABCO
WEWELER

441901
M060924
MO078580
UJB0975
9518111060
usS08840

441901
M060924
UJB06
UJB0975

9518117720

15732
21222442

9518111060
US07074F
AC524

514

AIRTECH
CF GOMMA

DUNLOP
GOODYEAR

39002A3KPP

1730030

D12U35
1R11753

AIRTECH
FIRESTONE
FIRESTONE

GOODYEAR
TAURUS

39002A301KPP
1T15MPW7
W01M586315
1R11772
KR91521

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
FIRESTONE
FIRESTONE
GART
GART

4157NP09
39002A3KPP90
1TC30038
205598

D12B17
1T15MPW7
WO01M587074
C294

2942450




2259 |

@248

@227

I‘iﬂ&

385

150
L] Nl

@_ - _I_ —
, {

2xM12 M22x15

3/4"-16UN
1/4"-18NPTF

1/2"-13UNC

172" -13UNC

DAIMLER TAS
DAIMLER TAS
WEWELER
MERITOR
TAURUS
JOST

JOST

JOST

WABCO

DAIMLER TAS
DAIMLER TAS
WEWELER
MERITOR
TAURUS
JOST

JOST

JOST

WABCO

MCI

A9463281401
DCA DLS TE58
US07364
21221307
KR91554
3010501401
JAS3010501401
JAE3010501401
9518111110

A9463281401
DCADLS TE58
US07364
21221307
KR91554
3010501401
JAS3010501401
JAE3010501401
9518111110

12G160

CONTITECH

AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE
FIRESTONE

CONTITECH
AIRTECH
PHOENIX
CF GOMMA
DUNLOP
DUNLOP
PRIME RIDE
FIRESTONE
FIRESTONE

4157NP14
39002A8P
1730040
207463
D12B18
00980AAP
1T15MPW7
WO01M586297
1T17DAJ85

4157NP14
39002A8KPP
1DK21A4
207463
D12B18
00980AAP
54157AP04
W01M586297
1T17DAJ85

FIRESTONE

FIRESTONE

W016539018
1T15M4




@zar

MCI 12G160 FIRESTONE W016539018

40.5
s

FIRESTONE 1T15M4

3/4"-16 UNF
1/2-13UNC 174018 NPTE

121

. 8227 "
3 EI A : PETERBILT 0306213 AIRTECH 39026CPP
Us —I_ R PETERBILT 0307111 CONTITECH 91016P393
20036 | s MERITOR MAF9026 FIRESTONE W013589026
! " P‘;P:I'F ;:3'1 GUMC FIRESTONE 1T15M6
! 3 GOODYEAR 1R12567
! 1/2"-13UNC GOODYEAR 566243038
q “f FLEETPRIDE AS9026
I / TAURUS 6363
@255 TRIANGLE AS8393

2227
157
4 \ PETERBILT 0306213 AIRTECH 39026CPP
Paal i
[
I - PETERBILT 0307111 CONTITECH 91016P393
MERITOR MAF9026 FIRESTONE W013589026
1214
NPTF 3/8"16UNC FIRESTONE 1T15M6
@260 , GOODYEAR 1R12567
GOODYEAR 566243038
FLEETPRIDE  AS9026
TAURUS 6363
TRIANGLE AS8393

1/2"-13 UNC



| @227
3 a
U
20055 I
[
| 2
@255

2227

344" 16N

1/4"-T8MPT  1/2°-13UNC

1/2"-13UNC

RIDEWELL
ARVIN MERITOR
ARVIN MERITOR
ARVIN MERITOR
VOLVO
NAVISTAR
ORION
HUTCHENS
FLXIBLE

§2061C

200457
21208939
21216135
3130492
554766C1
101324014
H942403
6336202

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
FLEETPRIDE
GOODYEAR
GOODYEAR
TAURUS
TRIANGLE

91010P311
39039P
1T15M0
W013589039
AS9039
1R12095
566243067
6360

AS8311

2%
1/2"-13UN

3/4"-10
UMNC

RIDEWELL S2061C CONTITECH 91010P311
ARVIN MERITOR 200457 AIRTECH 39039C
ARVIN MERITOR 21208939 FIRESTONE 1T15MO0
1/2"-13UNC 3/4-16UNF ARVINMERITOR 21216135 FIRESTONE W013589039
1/47-18NPT
VOLVO 3130492 FLEETPRIDE AS9039
@240
104.5 NAVISTAR 554766C1 GOODYEAR 1R12095
\\ ORION 101324014 GOODYEAR 566243067
& HUTCHENS H942403 TAURUS 6360
e, FLXIBLE 6336202 TRIANGLE AS8311
N wmer e momeor
' ‘ RIDEWELL S2061C CONTITECH 91010P311
| ARVIN MERITOR 200457 AIRTECH 39039C
ARVIN MERITOR 21208939 FIRESTONE 1T15M0
1/7°-13UNC 3/4"-15UNF  ARVIN MERITOR 21216135 FIRESTONE W013589039
=] 1/4"-18NPT
~ VOLVO 3130492 FLEETPRIDE AS9039
@240
NAVISTAR 554766C1 GOODYEAR 1R12095
ORION 101324014 GOODYEAR 566243067
HUTCHENS H942403 TAURUS 6360
FLXIBLE 6336202 TRIANGLE AS8311



@22y

o2y

@227

374

@254

@240

0237
157
ra
AL

1/2 MPT 2x
3/8"16UNC

1/2-13 UMC

3/4"-16UMNF
1/4"-18MPT

RIDEWELL
ARVIN MERITOR
ARVIN MERITOR
ARVIN MERITOR
VOLVO

ORION
HUTCHENS
FLXIBLE
BLUEBIRD

DAYTON
HENDRICKSON
VOLVO

SAF HOLLAND
KENWORTH
PETERBILT
PETERBILT
PETERBILT
PETERBILT

DAYTON
HENDRICKSON
VOLVO

SAF HOLLAND
KENWORTH
PETERBILT
PETERBILT
PETERBILT
PETERBILT

§2061C

200457
21208939
21216135

3130492

101324014

H942403
6336202
12TA12

3529069
S$13031
85101145
57009069
C816022
0301649
0306746
0307112
0302038

3529069
$13031
85101145
57009069
C816022
0301649
0306746
0307112
0302038

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
FLEETPRIDE
GOODYEAR
GOODYEAR
TAURUS
TRIANGLE

91010P311
39039CPP
1T15M0
W013589039
AS9039
1R12095
566243067
6360

AS8311

AIRTECH

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR

TAURUS

39069CPP
91014P312
W013589069
1T15M4
1R12069

KR5049069

AIRTECH

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR

TAURUS

39069CPP
91014P312
W013589069
1T15M4
1R12069

KR5049069




| — ﬂ SAF HOLLAND 90557019 AIRTECH 39121C
g US SAF HOLLAND 90557010 CONTITECH 1110517A317
s | SAF HOLLAND 90557052 FIRESTONE W013589121
| /4" 16 UNF  SAF HOLLAND 90557078 FIRESTONE 1T19L7
' 1/2"13UNC 9418 NPT
| 2 R&S TRUCK 1090023 GOODYEAR 1R13039
i 12713 UNC DAYTON 3529121 AUTOMANN 1DK28G9121
| RIDEWELL 1003589121C  FLEETPRIDE AS9121
b i VOLVO 85101159 TAURUS 6365
0265 VOLVO 3130503 TRIANGLE AS8317
weeds ke poxom-av.
@286 SAF HOLLAND 90557019 AIRTECH 39121C
SAF HOLLAND 90557010 CONTITECH 1110517A317
SAF HOLLAND 90557052 FIRESTONE W013589121
ma | 12013 3/4"-16UNF  SAFHOLLAND 90557078 FIRESTONE 1T19L7
| UNC 1/4"-18NPT
@260 R&S TRUCK 1090023 GOODYEAR 1R13039
- DAYTON 3529121 AUTOMANN 1DK28G9121
' - RIDEWELL 1003589121C  FLEETPRIDE AS9121
@260 VOLVO 85101159 TAURUS 6365
VOLVO 3130503 TRIANGLE AS8317
g weer ke soxom-av.
1/2"-13 UNC
pa2ss ] SAF HOLLAND 90557019 AIRTECH 39121C
F_m_ﬁ'_l_gﬁ SAF HOLLAND 90557010 CONTITECH 1110517A317
I;%E':; | SAF HOLLAND 90557052 FIRESTONE W013589121
U . /4"16 UNF  SAF HOLLAND 90557078 FIRESTONE 1T19L7
-h;?ﬁ%r -: HERRINE - 1jan1g ner R&S TRUCK 1090023 GOODYEAR 1R13039
) § DAYTON 3529121 AUTOMANN 1DK28G9121
i RIDEWELL 1003589121C  FLEETPRIDE AS9121
028 VOLVO 85101159 TAURUS 6365
VOLVO 3130503 TRIANGLE AS8317



|4]

— o HENDRICKSON 365142 CONTITECH 1110521A313
- HENDRICKSON 365148 AIRTECH 381305P
bk | HENDRICKSON 3651410 FIRESTONE W013589122
! 3416 UNF 12-.13uNc  HENDRICKSON  C22173 FIRESTONE W013588792
| = e HENDRICKSON 3830 FLEETPRIDE AS9122
i 1/2"-13UNC  SAFHOLLAND 90554043 GOODYEAR 1R14045
i VOLVO 3130500 GOODYEAR 1R13038
S FLEETRITE 1R13246 TAURUS 6366
A #ﬂw NEWAY 90557020 TRIANGLE AS8313
o WEGHT | SSTKe  BOXDM.-QTv. -
ST OFMPARTNUMBER
-  CROSSREFERENCES

—g HENDRICKSON 365142 CONTITECH 1110521A313
g—'ﬂl—!—m—af HENDRICKSON 365148 AIRTECH 381305P
1
us | HENDRICKSON 3651410 FIRESTONE W013589122
20132 X 3/4"-16UN J27-13UNC
1/4"-18NBT HENDRICKSON 22173 FIRESTONE W013588792
a0 HENDRICKSON 3830 FLEETPRIDE AS9122
0 SAF HOLLAND 90554043 GOODYEAR 1R14045
Ll
m VOLVO 3130500 GOODYEAR 1R13038
o— — ;
FLEETRITE 1R13246 TAURUS 6366
0260 .
NEWAY 90557020 TRIANGLE AS8313
: weewr ke soxom-arv.
1/2°-13UMC
286
HENDRICKSON 365142 CONTITECH 1110521A313
HENDRICKSON 365148 AIRTECH 381305KPP
HENDRICKSON 3651410 FIRESTONE W013589122
3/4"16UNE " 1/2"-13UNC  HENDRICKSON  C22173 FIRESTONE W013588792
1/4"-18NPT
HENDRICKSON 3830 FLEETPRIDE AS9122
SAF HOLLAND 90554043 GOODYEAR 1R14045
2 VOLVO 3130500 GOODYEAR 1R13038
FLEETRITE 1R13246 TAURUS 6366
NEWAY 90557020 TRIANGLE AS8313




US

28140

104

SAF HOLLAND 90557110 FIRESTONE W013589141

GOODYEAR 1R14215

1
|
| M
=T
1
1
|
t# | OEMPARTNUMBER GROSSREFERENCES
0286 | SAF HOLLAND 90557110 FIRESTONE W013589141
! -—1- GOODYEAR 1R14215
w w I
=] I =]
=T

2286

29141

1/27-13 UNC

3/4"-16UNF
1/4%-T8NPT

1/2-13 UNC

140

LA2'-13 UNC

3/4"-16UMF
1/4"-18MFT

2260

SAF HOLLAND 90557110 FIRESTONE W013589141

GOODYEAR 1R14215




NEWAY 90557155 CONTITECH 1110517A377

: SAF 90557323 AIRTECH 39144C
m% | SAF 90557155 FIRESTONE 1T10L7
| . 3/4"16UNF  TRIANGLE 8377 FIRESTONE W013589144
. VB UNG e 18 NeT
| E GOODYEAR 1R14160
1
e weent ke soxom-arv.
@286
=y
0286
NEWAY 90557155 CONTITECH 1110517A377
; . ; SAF 90557323 AIRTECH 39144C
1
US | SAF 90557155 FIRESTONE 1T19L7
044
, UZ"13UNC | 3416 UNF TRIANGLE 8377 FIRESTONE W013589144
1/4"-18 NPT
- GOODYEAR 1R14160
-
L2
] Ll
| @260
o weest ke soxom-arv.
1/2-13 UNC
©286
{ ) VOLVO 3130499 CONTITECH 1110521A318
3 | SAF HOLLAND 90557005 FIRESTONE 1T19L11
s SAF HOLLAND 90557069 FIRESTONE W013589158
1/4"-18 Ax
! el orq3unc  SAFHOLLAND 90044197 GOODYEAR 1R14030
| = SAF HOLLAND  AR12151F GOODYEAR 566283020
' @170
| HENDRICKSON  S12514004 FLEETPRIDE AS9158
' HENDRICKSON ~ S12514011 TAURUS 6366
i HENDRICKSON  S2063 TRIANGLE AS8318
HENDRICKSON 3651411 TRP AS91580

1/2"-13 UNC




393

14te K
MPTE 1/27-13 UNC

4%
172" -13UMNC

1588

1/4°-18 ax
MPTF 1/27-13 UNC

VOLVO

SAF HOLLAND
SAF HOLLAND
SAF HOLLAND
SAF HOLLAND
HENDRICKSON
HENDRICKSON
HENDRICKSON
HENDRICKSON

SAF HOLLAND
DAYTON
HENDRICKSON
LOADGUARD
NAVISTAR
RIDEWELL
SUSPENSIONS
WATSON&CHA.
ARVIN MERITOR

3130499
90557005
90557069
90044197
AR12151F
S$12514004
$12514011
$2063
3651411

57009200
3529200
S3839
SC2116
1681746C1
1003589200C
200458
AS0082
200458

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
FLEETPRIDE
TAURUS
TRIANGLE
TRP

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
AUTOMANN

TAURUS
TRIANGLE
TRP

1110521A318
1T19L11
W013589158
1R14030
566283020
AS9158

6366

AS8318
AS91580

1110515A415
1T19L5
W013589200
1R14038
1R14068
1DK28L9200
6417

AS8415
AS92000

D286

102

1/27-13 UNC

SAF HOLLAND
DAYTON
HENDRICKSON
LOADGUARD
NAVISTAR
RIDEWELL
SUSPENSIONS
WATSON&CHA.
ARVIN MERITOR

57009200
3529200
S3839
SC2116
1681746C1
1003589200C
200458
AS0082
200458

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
AUTOMANN
TAURUS
TRIANGLE
TRP

1110515A415
1T19L5
W013589200
1R14038
1R14068
1DK28L.9200
6417

AS8415
AS92000



@227

12
13-UNC

1/2"13
UNC

3/47 16-UNF
1/47 18-MPT

12" 13-UNC

HENDRICKSON
LOADGUARD
NAVISTAR
NAVISTAR

SAF HOLLAND
DAYTON
NAVISTAR
BRAKE WHEEL
VOLVO

$13033 CONTITECH
SC2048 AIRTECH
1660581C1 FIRESTONE
501559C1 FIRESTONE
57009213 AUTOMANN
3529213 FLEETPRIDE
1686386C1 TAURUS
M3522 TRIANGLE
3130495 TRP

@227
a__ DAYTON 3529213 CONTITECH 91016P441
LOADGUARD SC2048 AIRTECH 39213P
Us
29273 | NAVISTAR 501559C1 FIRESTONE 1T15M6
12" 3/4" 16LINF
NAVISTAR 1559C2 FIRESTONE W01358074
, R SELINC e 1anpT S 501559C STO 013580748
| 3 NAVISTAR 1660581C1 GOODYEAR 1R12090
]
! - NEWAY 90557127
13UNC TRIANGLE 8407
o | OEMPARTNUMBER CROSS REFERENCES
1207
@227 I//g}\ DAYTON 3529213 CONTITECH 91016P441
e
+ | gi LOADGUARD SC2048 AIRTECH 39213K
] '_.
U NAVISTAR 501559C1 FIRESTONE 1T15M6
W23 1212 34" 16UNF
| UIN-C 1§4n_1 ANPT NAVISTAR 501559C2 FIRESTONE W013589213
NAVISTAR 1660581C1 GOODYEAR 1R12090
0260
. NEWAY 90557127
(1]
o TRIANGLE 8407
0260
9315

91016P441
39213KPP
1T15M6
W013589213
1DK23K9213
AS9213
6363

AS8441
AS92130



9219

435

@255

4=
1/2-13uNC  3/4"-16UNF
1/4"-18NPTF
1/2°-13UNC

SAF HOLLAND 57009219
LOADGUARD SC2070
NAVISTAR 1681739C1
NAVISTAR 1672401C1
RIDEWELL 1003589219C
VOLVO 3522233203
VOLVO 350033201
VOLVO 350033203
VOLVO 350033204

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
GOODYEAR
TAURUS
TRIANGLE
FLEETPRIDE

91016P408
1T15M6
W013589219
1R12151
1R12182
566243038
6363
AS8408
AS9219

1/2"-13UNC
a2

ja"-1
1/4"-1BMFTF
54 ’

UNF

SAF HOLLAND 57009219
LOADGUARD SC2070
NAVISTAR 1681739C1
NAVISTAR 1672401C1
RIDEWELL 1003589219C
VOLVO 3522233203
VOLVO 350033201
VOLVO 350033203
VOLVO 350033204

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
GOODYEAR
TAURUS
TRIANGLE
FLEETPRIDE

91016P408
1T15M6
W013589219
1R12151
1R12182
566243038
6363
AS8408
AS9219

@286

Us

2921l

@265

3/47-16 UNF
1/4"-18 NPTF

@170

H

1/27-13 UNC

HENDRICKSON  S13122

RIDEWELL 1000002

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
AUTOMANN
FLEETPRIDE
TRIANGLE

11105248712
W013589264
1T19L14
1R14127
566283031
1DK28F9264
AS9264
AS8712




HENDRICKSON ~ S13122 CONTITECH 11105245712
RIDEWELL 1000002 FIRESTONE W013589264
FIRESTONE 1T19L14
13;4:12 lri’:;r GOODYEAR 1R14127
GOODYEAR 566283031
AUTOMANN 1DK28F9264
FLEETPRIDE AS9264
o5 TRIANGLE AS8712
54.8 = HENDRICKSON  C 0413 AIRTECH 39265P
% i *| - LOADGUARD SC2759 CONTITECH 91019P435
i RIDEWELL 1003589245C FIRESTONE W013589265
1/4-18 NPTE  VOLVO 85101155 FIRESTONE 1T15MM9
g SHaAs U GOODYEAR 1R12375
2134 TRIANGLE 8435
@254
| OEMPARTNUMBER OROSSREFERENCES
227 HENDRICKSON  C 0413 AIRTECH 39265P
’:'_L[L‘ LOADGUARD SC2759 CONTITECH 91019P435
2l‘aJis | RIDEWELL 1003589245C FIRESTONE W013589265
| VOLVO 85101155 FIRESTONE 1T15MM9
GOODYEAR 1R12375
TRIANGLE 8435



@227
g AUTOMANN P.  1DK2319270 CONTITECH 9101355433
] & DAYTON 3529270 AIRTECH 39270P
Us | ) EUCLID PART  EFS9270 FIRESTONE 1T15VM4
wem x .
374" 16UNF
| 3/8" 16UNC | ;’4" i HENDRICKSON  C20010 FIRESTONE W013589270
.
i i HENDRICKSON  C20108 GOODYEAR 1R13119
. 1/2 13UNE HENDRICKSON  C21208 TAURUS KR50101
HENDRICKSON  C25559
T HENDRICKSON  S20010
@255 HENDRICKSON  HT230T
1 WEIGHT 43 KS  BOXDIM.-GTY. i mecs
o | OEMPARTNUMBER CROSSREFERENCES
o227
AUTOMANN P.  1DK2319270 CONTITECH 9101355433
& DAYTON 3529270 AIRTECH 39270K
o EUCLID PART  EFS9270 FIRESTONE 1T15VM4
29270 3/816 UNC /4716 UNF
1/4“18 NPT HENDRICKSON  C20010 FIRESTONE W013589270
54 HENDRICKSON  C20108 GOODYEAR 1R13119
@144 HENDRICKSON  C21208 TAURUS KR50101
=
- P HENDRICKSON  C25559
oy b HENDRICKSON ~ $20010
@258 s s
x HENDRICKSON  HT230T
Ay
172413 UNC BOXDIM. QY. Tovrimsen- s,
0286
Ci286 !
’-“‘ | CROSSREFERENCES
NEOPLAN BJ1003010 FIRESTONE 1T19L7
Us FLEXIBLE 6336217 FIRESTONE W013589280
paties. 1]
. 3/4"-1BUNF
E 1/2"13UNC  q 47 18MPT

F2"=-13 UNC




@286

40.6

17213 UuNC /47 16UNF

1/4"-18NPT

NEOPLAN

FLEXIBLE

BJ1003010

6336217

FIRESTONE

FIRESTONE

1T19L7

W013589280

HENDRICKSON 504052 AIRTECH 39287KPP
HENDRICKSON ~ NS502049 CONTITECH 910185P406
us | CHEVROLET  1622372C1 FIRESTONE W013589287
| LOADGUARD  SC2770 FIRESTONE 1T15M8
i g MCl 1622372C1 GOODYEAR 1R12424
i Lrmiane | NAVISTAR 1622372C1 GOODYEAR 566243097
. FORD F2HZ5580A AUTOMANN 1DK23M9287
FORD FOHZ5580A TRIANGLE AS8406
GMC 15963160 TRP AS92870
o T ET—
022 | OEMPARTNUMBER CROSSREFERENCES
HENDRICKSON 504052 AIRTECH 39287KPP
HENDRICKSON ~ NS502049 CONTITECH 910185P406
us CHEVROLET  1622372C1 FIRESTONE W013589287
e LOADGUARD  SC2770 FIRESTONE 1T15M8
o MCl 1622372C1 GOODYEAR 1R12424
i . NAVISTAR 1622372C1 GOODYEAR 566243097
= FORD F2HZ5580A AUTOMANN 1DK23M9287
a FORD FOHZ5580A TRIANGLE AS8406
D234 GMC 15963160 TRP AS92870



@227

1/2"-13 UMC

A0l
g =] SAF HOLLAND 90557120 AIRTECH 39293KPP
AUTOMANN 1DK20E9293 CONTITECH 99K15P424
1
mz% | WESTAR PART 8779293 FIRESTONE WO013589293
| 1/2"-13 UNC  3/4"-16 UNF TRIANGLE 8424 FIRESTONE 1T15LP5
| w 1/4"-18 NPTF
i 2 EUCLID PART EFS9293 GOODYEAR 1R10120
i GOODYEAR 566203021
it FLEETPRIDE AS9293
TAURUS 6378
TRIANGLE AS8424
0228 G S8
D227
SAF HOLLAND 90557120 AIRTECH 39293KPP
AUTOMANN 1DK20E9293 CONTITECH 99K15P424
m% WESTAR PART 8779293 FIRESTONE WO013589293
1/2"-13 UNC  2/4"-16 UNF TRIANGLE 8424 FIRESTONE 1T15LP5
1/4"-18 MPTF
@247 EUCLID PART EFS9293 GOODYEAR 1R10120
ﬁ GOODYEAR 566203021
FLEETPRIDE AS9293
o242 TAURUS 6378
TRIANGLE AS8424

398

227

/4 -16UMF

1/27-13UMNC
2 1/4"-18MPTF

1/2"-13UNC

SAF HOLLAND
WATSON&CHA.

REYCO

90557121
AS0171

71038701

BRAKE & WHEEL M3544

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
TAURUS
TRIANGLE
TRP
AUTOMANN

99K15P417
W013589295
1T15LP5
1R11166
566223143
6378
AS8417
AS92950
1DK20F9295




SAF HOLLAND 90557121 CONTITECH 99K15P417
WATSON&CHA.  AS0171 FIRESTONE W013589295
REYCO 71038701 FIRESTONE 1T15LP5
1/2"13UNC  3/4"-16 UNF  BRAKE & WHEEL M3544 GOODYEAR 1R11166
1/4"-18 NPTF
GOODYEAR 566223143
TAURUS 6378
TRIANGLE AS8417
‘ TRP AS92950
0260 | AUTOMANN 1DK20F9295
weGHT ke mom-ar.
. 0227
‘ NEOPLAN PW1003009 CONTITECH 910135P1394
IED al FIRESTONE 1T15M2
FIRESTONE W013589303
'}6!4% | 1/4" 18NPTF 1/2*-13UNC GOODYEAR 1R12614
! & GOODYEAR 566243076

1/2°-13UNC

0255
soxom-arv.
| OEMPARTNUMBER OROSSREFERENCES

B227 NEOPLAN PW1003009 CONTITECH 910135P1394
FIRESTONE 1T15M2
FIRESTONE W013589303
GOODYEAR 1R12614
GOODYEAR 566243076




. 2227 @227

293

3/4%-16UN

|

i va~1snpre 12 PUNC
|

|

1/2"-13UNC

RIDEWELL
BRAKE&WHELL
HENDRICKSON
HENDRICKSON
WATSON&CHA.
VOLVO

SAF HOLLAND
GRANNING
DAYTON

1003589321C
M3545
NS501304
B14249
AS0036
85101160
57009321
7640

3529321

CONTITECH

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
TAURUS
TRIANGLE
TRP

91021P361
91021A361
W013589321
T15M11
1R12335
566243090
6373
AS8361
AS93210

@227

RIDEWELL 1003589321C  CONTITECH 91021P361
BRAKEGWHELL ~ M3545 CONTITECH 91021A361
HENDRICKSON  NS501304 FIRESTONE W013589321
y2-13unc AU HENDRICKSON  B14249 FIRESTONE T15M11
WATSON&CHA.  AS0036 GOODYEAR 1R12335
_ VOLVO 85101160 GOODYEAR 566243090
. mm | SAF HOLLAND 57009321 TAURUS 6373
GRANNING 7640 TRIANGLE AS8361
DAYTON 3520321 TRP AS93210
weeT  T@ke  soomeare
| CEMPARTNUMBER CROSSREFERENCES
0227 SAF HOLLAND 90557160 CONTITECH 91012P488
) SAF HOLLAND 90557210 AIRTECH 39366P
SAF HOLLAND 90557225 FIRESTONE 1T15M2
WATSON&CHA.  AS0054 FIRESTONE W013589366
HATIENPIE GOODYEAR 1R12487
0134

1/2"-13 UNC




@227

s4"16UMF
1/4"18NPTF

SAF HOLLAND
SAF HOLLAND
SAF HOLLAND

WATSON&CHA.

90557160
90557210
90557225

AS0054

CONTITECH

AIRTECH
FIRESTONE
FIRESTONE

GOODYEAR

91012P488
39366KPP
1T15M2
W013589366

1R12487

il | OEMPARTNUMBER CROSSREFERENCES
HENDRICKSON ~ B4375 CONTITECH  91021P505
Us HENDRICKSON ~ B14249 FIRESTONE  W013589367
o | HENDRICKSON 003319 FIRESTONE 1T15M11
| yzasune ROl LOADGUARD  SC2120 GOODYEAR  1R12256
5
- g SUSPENSIONS 201335 AUTOMANN 1DK23N9367P
! VENE uaTsoNacHA.  AS0104 FLEETPRIDE  AS9367
| WATSONSCHA.  AS0137 TAURUS 6373
T 1_ TRIANGLE AS8505
TRP AS93670
| OEMPARTNUMBER CROSSREFERENCES
0227
HENDRICKSON  B4375 CONTITECH 91021505
HENDRICKSON ~ B14249 FIRESTONE ~ WO013589367
HENDRICKSON 003319 FIRESTONE 1T15M11
1/2" 3/4"16 UNF  LOADGUARD  SC2120 GOODYEAR 1R12256
1/4"-18 NPTF
0260 SUSPENSIONS 201335 AUTOMANN 1DK23N9367P
0200 WATSONSCHA.  AS0104 FLEETPRIDE  AS9367
@ WATSONSCHA.  AS0137 TAURUS 6373
B TRIANGLE AS8505

Ax
1/2"-13 UMNC

TRP

AS93670




@227

1/2"-13 UNC  3/4°-16 UNF

1/4"-18 MFTF

HENDRICKSON

HENDRICKSON
HENDRICKSON
LOADGUARD

SUSPENSIONS
WATSON&CHA.

WATSON&CHA.

B4375
B14249
003319
SC2120
201335
AS0104

AS0137

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
AUTOMANN
FLEETPRIDE
TAURUS
TRIANGLE
TRP

91021P505
W013589367
1T15M11
1R12256
1DK23N9367P
AS9367

6373

AS8505
AS93670

. @227

35

Us

9370

D255

f4"-1aUMNF

VZHI3UNC e 18NeTE

1/2"-13UNC

WATSON&CHA.
WATSON&CHA.

RIDEWELL

AS0057

AS00571G

1003589370C

AIRTECH
CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
VIBRACOUSTIC
FLEETPRIDE
TAURUS

39370KPP
91021P448
W013589370
1T15M11
1R12580
566243117
V1DK23N9370
AS9370

6373

@z2z7

1/2%13 UMC - 3/4"-16 UNF
1/4"-18 MPFTF

WATSON&CHA.
WATSON&CHA.

RIDEWELL

AS0057

AS00571G

1003589370C

AIRTECH
CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
VIBRACOUSTIC
FLEETPRIDE
TAURUS

39370KPP
91021P448
W013589370
1T15M11
1R12580
566243117
V1DK23N9370
AS9370

6373



" @227

uUsS

29571

AT8

3255

1/4-18 NPT
3/4-16 UMF

1/27-13 UMC

1/2"-13UNC

{._

NAVISTAR
NAVISTAR
NAVISTAR
NAVISTAR

MERITOR

1686386C1
1670043C1
1670073C1
2027911C1

MAF9371

AIRTECH

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
VIBRACOUSTIC
TRIANGLE

TRP

39371K
910185P521(BK)
WO013589371
1T15M8
1R12401
566243163
V1DK23L9371
AS8521
AS93710

1/4-18 NPT

3/4-16 UNF

2X
1/2-13 UNC

1/27-13 UNC

NAVISTAR
NAVISTAR
NAVISTAR
NAVISTAR
MERITOR

1686386C1
1670043C1
1670073C1
2027911C1

MAF9371

AIRTECH
CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
VIBRACOUSTIC
TRIANGLE

TRP

39371K
910185P521(BK)
W013589371
1T15M8
1R12401
566243163
V1DK23L9371
AS8521
AS93710

. @227 |

ATH

3254

@227

=

12"
13-UNC

F—”‘-{'

o

1/4"
18-MPT

12"
13-LINC

MCI
HENDRICKSON
HENDRICKSON
WESTAR PART
EUCLID PART
TRIANGLE
TRIANGLE

HAS
WATSON&CHA.

29921001C1
571221
571222
8779373
EFS9373
8451

8519
HAS360
AS0127G

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
TAURUS
TRIANGLE
TRP

910185P519
39373P
1T15MT8
W013589373
1R12403
566243140
6391

AS8519
AS93730




@227

1575
MCI 29921001C1 CONTITECH 910185P519
|/ N \. HENDRICKSON 571221 AIRTECH 39373K
HENDRICKSON 571222 FIRESTONE 1T15MT8
1/2"13UNC T 1/4" 18NPT
WESTAR PART 8779373 FIRESTONE W013589373
EUCLID PART  EFS9373 GOODYEAR 1R12403
0234 TRIANGLE 8451 GOODYEAR 566243140
TRIANGLE 8519 TAURUS 6391
HAS HAS360 TRIANGLE AS8519
12130 WATSON&CHA.  AS0127G TRP AS93730
@227
. \ INTERNATIONAL 2036090C1 AIRTECH 3937301K
N CONTITECH 910185A988BR
I
B ) FIRESTONE W010950356
| 1/213UNC | 1/4"TBNPT
FIRESTONE 1T15MT8
el i o254 GOODYEAR 556028727
, G GOODYEAR 566038084
|
@254
e weeHr ks soxom-arv.
2 RANDON 212100375 CONTITECH 910185S850BR
us | SUSPENSYS R71500003 AKTAS 3937302
20373
i SUSPENSYS R78000005 FIRESTONE 1T15M8
! - M20x1.5 FIRESTONE W010950490
| 2 M12x1.5
: GOODYEAR 556028733
! 234 GOODYEAR 556038084

1/2"-13 UNC




@227

RANDON 212100375 CONTITECH 910185S850BR
SUSPENSYS R71500003 AKTAS 3937302C
Us SUSPENSYS R78000005 FIRESTONE 1T15M8
20373 M20x1.5 FIRESTONE W010950490
' Lt GOODYEAR 556028733
; o GOODYEAR 556038084
g
@198
BOXDIM.-arY.  eorses- s
| OEMPARTNUMBER CROSSREFERENCES
@zeT HENDRICKSON 571221 CONTITECH 910185P519
HENDRICKSON 571222 FIRESTONE 1T15MT8
U | FIRESTONE W013589373
R GOODYEAR 1R12403
. TRIANGLE 8519
G
@254
WEGHT  765KG  BOXDM.-QTY. Briom:orcs
HENDRICKSON 508991 AIRTECH 39375CPP
US HENDRICKSON 508992 CONTITECH 910175P451
s | MACK 3648Q27 FIRESTONE W013589375
[ TA-1B NPT 1/2"13 UNC MACK 57QL414M GOODYEAR 1R12404
! § LOADGUARD SC2773 GOODYEAR 566243097
! 1/2"-13UNC TRIANGLE AS8451
| TRP AS93750
i PRIME RIDE PROM1859375
AUTOMANN 1DK23M9375X




124

@255

531

3/4"-16UMF
1/4"-18MFTF

1/2"-13UNC

1/2"-13UNC

/4"-16 UNF
1/47-18 MPTF

1/2"-13 UNC

"-13UMNC

HENDRICKSON 508991
HENDRICKSON 508992
MACK 364SQ27
MACK 57QL414M
LOADGUARD SC2773

ARVIN MERITOR 200041

BRAKE&WHELL  M3523
RIDEWELL 1003589394C
SUSPENSIONS 200041
TAURUS AS5099241
FRUEHAUF UCE93932
FRUEHAUF UCE93933
FRUEHAUF UCE93934
FRUEHAUF UCE93931

ARVIN MERITOR 200041

BRAKE&WHELL  M3523
RIDEWELL 1003589394C
SUSPENSIONS 200041
TAURUS AS5099241
FRUEHAUF UCE93932
FRUEHAUF UCE93933
FRUEHAUF UCE93934
FRUEHAUF UCE93931

AIRTECH
CONTITECH
FIRESTONE
GOODYEAR
GOODYEAR
TRIANGLE
TRP

PRIME RIDE
AUTOMANN

39375CPP
910175P451
W013589375
1R12404
566243097
AS8451
AS93750
PROM1859375
1DK23M9375X

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
GOODYEAR
AUTOMANN
FLEETPRIDE
TAURUS

91019A358
W013589394
W013589241
1R12261
1R12281
566243066
1DK23L.9241
AS9241
6364

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
GOODYEAR
AUTOMANN
FLEETPRIDE
TAURUS

91019A358
W013589394
W013589241
1R12261
1R12281
566243066
1DK23L9241
AS9241

6364



7 DAYTON 3529422 CONTITECH 9912P314
o ‘ ‘ HENDRICKSON  B13032 FIRESTONE 1T15L15
=y \/ \/ KENWORTH K30314 FIRESTONE W013589422
3/4-16U 72" 3UNC KENWORTH K3036 GOODYEAR 1R11028
ﬁ SN LOADGUARD SC2050 TRIANGLE 8314
0134 VOLVO 85101148
WATSON&CHA.  AS001
e NAVISTAR 554762C1

1/2"-13 UNC

—— T
0227
DAYTON 3529422 CONTITECH  9912P314
@ ’ ‘ HENDRICKSON  B13032 FIRESTONE 1T15L15
Us | KENWORTH  K30314 FIRESTONE ~ WO013589422
a3 | 3/4"16UNF T T/2-13UNC  KENWORTH  K3036 GOODYEAR  1R11028
! 1/4"-18NPTF
I —_— LOADGUARD  SC2050 TRIANGLE 8314
; 1045
. - voLVOo 85101148
@ ﬁ\,ﬁﬁ WATSON&CHA.  AS001
0242 7
NAVISTAR 554762C1
2
1/2'-13 UNC

. 0227 .
] HENDRICKSON 49048 AIRTECH 39466C
HENDRICKSON 496741 CONTITECH 91016P410
US | HENDRICKSON 496742 FIRESTONE 1T15M6
Wi ! 1/2"13UMC T 3/4"16UNF
| i 1/4"18MPT HENDRICKSON 49207 FIRESTONE W013589466
-
i HENDRICKSON 490482 GOODYEAR 1R12365
! 1/2"13UNC HENDRICKSON  HA400 GOODYEAR 566243038
HENDRICKSON  HA460 TAURUS 6363
MACK 364Q528 FLEETPRIDE AS9466
0254
m MACK 57QL411M TRIANGLE AS8410




HENDRICKSON 49048 AIRTECH 39466C
' " HENDRICKSON 496741 CONTITECH 91016P410
E‘i]‘lﬁsﬁ i HENDRICKSON 496742 FIRESTONE 1T15M6
1/2"13UNC 3/4"16UMF
1/4"18MPT HENDRICKSON 49207 FIRESTONE W013589466
HENDRICKSON 490482 GOODYEAR 1R12365
5 HENDRICKSON  HA400 GOODYEAR 566243038
| : HENDRICKSON  HA460 TAURUS 6363
—
‘ ﬂ:Eu:: ™ MACK 364QS28 FLEETPRIDE AS9466
MACK 57QL411M TRIANGLE AS8410
Uraswe  (WeledT ke Boxomeane
o o221 _ _
. CONTITECH  91014A103
o
: FRESTONE  W013589469
GOODYEAR  1R11223
us \
I 14" 18NPTF 172" 13UNC GOODYEAR 566223143
| i
I =
Lo |
| 1/2"-13UNC
0134
0255

1/4°-18 NFTF

4x1/2"13

CONTITECH

FIRESTONE

GOODYEAR
GOODYEAR

91014A103
W013589469
1R11223
566223143




516

T2-13UNC 34716 UNF
1/47-18 NPT

2134

1/2-13 UNC

K
3/4°-16 LINF

L/2-13UNC 17418 NPT

SAF HOLLAND
SAF HOLLAND
SAF HOLLAND
SAF HOLLAND
ARVIN MERITOR

DAYTON

SAF HOLLAND
SAF HOLLAND

SAF HOLLAND
NAVISTAR

90557182
90557146
90557177
AS0170
MAF9471

4529471

90557178
90557147

90557181

2027297CA1

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
AUTOMANN
FLEETPRIDE
TRIANGLE

CONTITECH
FIRESTONE
FIRESTONE
AUTOMANN
FLEETPRIDE
TRIANGLE
TRP

@— SAF HOLLAND 90557182 CONTITECH 910175P502
SAF HOLLAND 90557146 AIRTECH 39471CPP
SAF HOLLAND 90557177 FIRESTONE W013589471
o I‘_;;‘ : 13,{:::::2 H;‘: SAF HOLLAND ~ AS0170 FIRESTONE 1T15V8
ARVIN MERITOR MAF9471 GOODYEAR 1R12504
D134 DAYTON 4529471 GOODYEAR 566243066
H AUTOMANN 1DK23P9471
FLEETPRIDE  AS9471
TRIANGLE AS8502
e N ou s
0227

910175P502
39471CPP
W013589471
1T15V8
1R12504
566243066
1DK23P9471
AS9471
AS8502

910175P467(BK)
W013589472
1T15V8
1DK23P9472
AS9472

AS8467
AS94720




@227

120

@242

1/2-13 UNC

3/4"-16 UNF
1/4°-18 NPT

SAF HOLLAND
SAF HOLLAND
SAF HOLLAND

NAVISTAR

90557178
90557147
90557181

2027297C1

CONTITECH
FIRESTONE
FIRESTONE
AUTOMANN
FLEETPRIDE

TRIANGLE
TRP

910175P467(BK)

W013589472
1T15V8
1DK23P9472
AS9472
AS8467
AS94720

SAF HOLLAND 90557303 CONTITECH 91010P717
SAF HOLLAND 90557325 FIRESTONE 1T15M0
S ORION 80231503 FIRESTONE WO013589534
w5 1/2°-13UNC 3/4"-16UNF TRIANGLE AS8717
| B 1/4"-18NPTF
i AUTOMANN 1DK23FP717
R s 3/4"-10 UNC 2A
| 2
0254
0227
SAF HOLLAND 90557303 CONTITECH 91010P717
. SAF HOLLAND 90557325 FIRESTONE 1T15M0
(Vs ]
us | g ORION 80231503 FIRESTONE WO013589534
25
3/4"-16 UNF
, 12hsune JATIEUNE TRIANGLE AS8717
AUTOMANN 1DK23FP717

3/4"-10 UNC 24




@227

o227 ' KENWORTH 811005 CONTITECH 9910P861
l KENWORTH C811004 CONTITECH 999P859
US | “ AIRTECH 39541P
| 1 5/16"-12 UNF FIRESTONE 1T15LA0
i & FIRESTONE W013589541
- 1/2*13UNC FIRESTONE W013589547
k / GOODYEAR 1R11268
AUTOMANN 1DK20H9541
@228 m FLEETPRIDE AS9541

KENWORTH C811005 CONTITECH 9910P861

KENWORTH C811004 CONTITECH 999P859
AIRTECH 39541KPP
FIRESTONE 1T15LA0
FIRESTONE W013589541
FIRESTONE W013589547
GOODYEAR 1R11268
AUTOMANN 1DK20H9541

FLEETPRIDE AS9541

o286
—em < OEMPARTNUMBER CROSSREFERENCES
=
: HENDRICKSON ~ $20127 CONTITECH 1010215434
Us LOADGUARD  SC2761 FIRESTONE 1T15VLT105
20580 FIRESTONE ~ W013589262
3 meuw FIRESTONE ~ WO01358958
1/4-18 PT
GOODYEAR  1R13081
GOODYEAR  1R13118
%ﬁﬁﬁ /| TAURUS 6386
01565




0286 HENDRICKSON  S20127 CONTITECH 1010218434
L ﬂ LOADGUARD SC2761 FIRESTONE 1T15VLT105
I
I_;L§ | FIRESTONE W013589262
3/4-16 UNF FIRESTONE W01358958
1/4-18 PT
@260 GOODYEAR 1R13081
2144
GOODYEAR 1R13118
= TAURUS 6386
8 )
B260 -
i wor ke momean
UNC
\ B227
KENWORTH K30316 CONTITECH 9912P515
#& FIRESTONE 1T15L15
FIRESTONE W013589616
wale % 1/4"-18NPT 12" 13UNC GOODYEAR 1R11242
! GOODYEAR 566223021
=i f2"-13UNC TAURUS 6368
. TRIANGLE AS8515
FLEETPRIDE AS9616
@255
TRP AS96160

@zzy

o242

72

1/4"-18NPT

7

1/2"-13UNC

@242
04

2x
1/27-13 UNC

KENWORTH

K30316

CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
TAURUS
TRIANGLE
FLEETPRIDE
TRP

9912P515
1T15L15
W013589616
1R11242
566223021
6368
AS8515
AS9616
AS96160




@237 KENWORTH K30322 CONTITECH 999P537BK
FIRESTONE 1T15LA1
%;7 3 FIRESTONE W013589622
U GOODYEAR 1R11221
26672 | 156"-12 UNF
i o
~d
i @134
)|
| &
2228
f227 KENWORTH K30322 CONTITECH 999P537BK
) FIRESTONE 1T15LA1
FIRESTONE W013589622
GOODYEAR 1R11221

il

LA
S
oo | OEMPARTNUMBER CROSSREFERENCES
AUTOMANN 1DK23M9648 CONTITECH 910185P456
FLEETPRIDE AS9648 AIRTECH 39648P
NAVISTAR 2027911C1 FIRESTONE 1T15MT8
VEBUNC 316 UNE L eran 2027911C2 FIRESTONE W013589648
1/4"-18 MPTF
E NAVISTAR 2027911C3 GOODYEAR 1R12538
1/2"=-13 UMC TRIANGLE 8456 GOODYEAR 1R12398




- 2227

AUTOMANN 1DK23M9648 CONTITECH 910185P456
FLEETPRIDE AS9648 AIRTECH 39648KPP
NAVISTAR 2027911C1 FIRESTONE 1T15MT8
1/2"-13UMC 34
- o 3/4"-16UNF - NAVISTAR 2027911C2 FIRESTONE W013589648
| - 1/4" - 18NPTF
i o NAVISTAR 2027911C3 GOODYEAR 1R12538
- TRIANGLE 8456 GOODYEAR 1R12398
g
=
i [T
@254
1/2"-13
UNC
@227
1205 | OEMPARTNUMBER CROSSREFERENCES
@
‘ﬁ:& HENDRICKSON ~ S14147 CONTITECH 99M13P1182
) [
MACK 57QL1115 FIRESTONE 1T15LP3
ysé SCANIA 660251 FIRESTONE W013589652
0 1/2-20 3/4"-16UNF TRIANGLE AS81182
(=) -
| B UNF 1/47-18NPTF
1/2"-13UNC
9233 e
o weeHt ke soxom-ar.
0227
- HENDRICKSON  $14147 CONTITECH 99M13P1182
MACK 57QL1115 FIRESTONE 1T15LP3
SCANIA 660251 FIRESTONE W013589652
vz 3/4"-16UNF TRIANGLE AS81182
LINF 1/4"-18NPTF

1/2-13 UNC




2227

AUTOMANN 1DK20H967 CONTITECH 9910P576
KENWORTH K30328 AIRTECH 39675P
T
WATSON&CHA. AS0169 FIRESTONE WO013589675
1
IJS | GOODYEAR 1R11221
20675 o) 156"-12 UNF
1
3
@124
@227 AUTOMANN 1DK20H967 CONTITECH 9910P576BK
KENWORTH K30328 AIRTECH 39675KPP
WATSON&CHA. AS0169 FIRESTONE WO013589675
US | 1.516"-12 UNF GOODYEAR 1R11221
0675 i
. -
n
| =]
@208
L G227 [

328

M10x1.5

MA T

M12

%
|

2124

IVECO
IVECO

STREPARAVA

500042668
504190916

10701603

VIBRACOUSTIC

GART

GART

CF GOMMA
NEOTEC

V1DK15916
3101321

C310

207113
ABM293224R50




328

M10x1.5

VIBRACOUSTIC

STREPARAVA

VIBRACOUSTIC

STREPARAVA

!

@134

VIBRACOUSTIC

STREPARAVA

V1DK15916
3101321
C310
207113

ABM293224R50

V1DK15917
3101320

207112

ABM293224S50

V1DK15917
3101320
207112

ABM293224S50



@227

33" 16UNF 2" 13UNC
Yy 1BNET

B 13UNC

FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
LOADGUARD
NAVISTAR
VOLVO

1615595000
1614004000
1613840000
1616773000
6813200017
1613810000
SC2750
1R121064
85101151

CONTITECH
FIRESTONE
FIRESTONE
FIRESTONE
GOODYEAR
TAURUS
AUTOMANN
TRIANGLE
TRP

ot 2 2 FREIGHTLINER 1615595000 CONTITECH 910S16P382
“Tﬂgﬁi’i_ ] FREIGHTLINER 1614004000 FIRESTONE 1T15ZR6
us | FREIGHTLINER 1613840000 FIRESTONE W013589780
| - 1/2713UNC f;j:]gﬂ';.r FREIGHTLINER 1616773000 FIRESTONE W013589781
i [=1]
| - FREIGHTLINER 6813200017 GOODYEAR 1R12603
' FREIGHTLINER 1613810000 TAURUS 6363
LOADGUARD  SC2750 AUTOMANN 1DF239781
©150.8 NAVISTAR 1R121064 TRIANGLE AS8382
0255 VOLVO 85101151 TRP AS9780A
WEGHT  360KS  poXDW.-QTY. B mes
us-2o780K @&, ORDERNO: 5202227
| OEMPARTNUMBER CROSSREFERENCES
@227 FREIGHTLINER 1615595000 CONTITECH 910S16P382
M. FREIGHTLINER 1614004000 FIRESTONE 1T15ZR6
w% ; FREIGHTLINER 1613840000 FIRESTONE W013589782
B FREIGHTLINER 1616773000 FIRESTONE W013589781
: B FREIGHTLINER 6813200017 GOODYEAR 1R12603
, ! : 2 FREIGHTLINER 1613810000 TAURUS 6363
LOADGUARD  SC2750 AUTOMANN 1DF239781
L I SUE NAVISTAR 1R121064 TRIANGLE AS8382
oz VOLVO 85101151 TRP AS9780A
WEGHT  S@0Kke  BOXDW-QTY. B e
@227 -

910S16P382
1T15ZR6
W013589780
W013589781
1R12603
6363
1DF239781
AS8382
AS9780A




e
Us |
29781 |
I
b i
|
|
@1;043
B255

1633

AUNC

1623

270

885

1/2"13UNC

3/4"16UNF
1/4"BMNPT

. 3/4" 16UNF
V2Z13UNC 4 jqn 1gnpr
02675

34"

FREIGHTLINER

FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
LOADGUARD
NAVISTAR
VOLVO

FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
LOADGUARD
NAVISTAR
VOLVO

FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
FREIGHTLINER
LOADGUARD
NAVISTAR
VOLVO

1615595000
1614004000
1613840000
1616773000
6813200017
1613810000
SC2750
1R121064
85101151

1615595000
1614004000
1613840000
1616773000
6813200017
1613810000
SC2750
1R121064
85101151

1615595000
1614004000
1613840000
1616773000
6813200017
1613810000
SC2750
1R121064
85101151

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
TAURUS
AUTOMANN
TRIANGLE

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
TAURUS
AUTOMANN
TRIANGLE

CONTITECH

FIRESTONE

910S16A382
39781CALU
C013580583
W013589781
1R12603
566243108
6363
1DF239781
AS8382

910S16A382
39781CALU
C013580583
W013589781
1R12603
566243108
6363
1DF239781
AS8382

910S16P382
W013589781




328

@227
SAF HOLLAND 90557372
' ' SAF HOLLAND 50857000
MERITOR MAF9807

T/213UNC 34716 UNF
1/4"-18 NPTF

1/2"-13 UNC

AIRTECH 39807CPP
CONTITECH 910135P874
FIRESTONE W013589807
FIRESTONE 1T15M2
GOODYEAR 1R121047
GOODYEAR 566243142
PRIME RIDE ASPR9M1359807
FLEETPRIDE AS9807
TRIANGLE AS8874

SAF HOLLAND 90557372 AIRTECH 39807CPP
SAF HOLLAND 50857000 CONTITECH 910135P874
| MERITOR MAF9807 FIRESTONE W013589807
. 1/2*13 UNC 3.{:13 o FIRESTONE 1T15M2
— GOODYEAR 1R121047
N GOODYEAR 566243142
m PRIME RIDE ASPR9M1359807
2242 FLEETPRIDE AS9807
TRIANGLE AS8874
m HENDRICKSON 28929 CONTITECH 91014P959
T
FIRESTONE W013589978
us FIRESTONE 1T15M4
205TR
1/4-18 MPTF AUTOMANN 1DK231A959
| - 3/4-16 UNF
& FLEETPRIDE AS9978
PRIME RIDE ASPROM149978
ROAD CHOICE ~ AS9978
TRIANGLE AS8959

@254

TRP AS99780




2227

@227
140
| 4
e
- i
g
1/4-18 MPTF
3/4-16 UNF
uy
2

@260

1/2-13 UNC

@286

HENDRICKSON 28929

MERCEDES A9603203257

HENDRICKSON  21AXC0001P04

MERCEDES A9603203257

HENDRICKSON  21AXC0001P04

CONTITECH

FIRESTONE
FIRESTONE
AUTOMANN
FLEETPRIDE
PRIME RIDE
ROAD CHOICE
TRIANGLE
TRP

91014P959
W013589978
1T15M4
1DK231A959
AS9978
ASPROM149978
AS9978

AS8959
AS99780

CONTITECH

4019N1PO1

CONTITECH

4019N1PO1




I Q227

Cr250

4490

SPECIAL PRD. IRK

39541P

350

1260

53] i}

@22y

157

oA

o

M14x1.5

SPECIAL PRD. IRK

39541K

Ml4x1.5

SPECIAL PRD. IRK

39541KPP




1695

SPECIAL PRD. IRK

_ﬁ 39541KPP

Ml4x1.5

SCANIA 1314903 AIRTECH 36251P
SCANIA 1402423 FIRESTONE 1T15AA3
SCANIA 255295 FIRESTONE W01M586251

Mz

o WEGHT  aeKG  BOXDM.-aTY. mn s

227

o227
157
SCANIA 1314903 AIRTECH 36251K
1Y R SCANIA 1394997 FIRESTONE 1TAA3
, SCANIA 1865759 FIRESTONE W01M586251
X
Mo MGeL SCANIA B. 1402423 GOODYEAR 1R11826
GRANNING 15619 GART D306
WABCO 9518110080

SCANIA 255295




227

375

396

ISR

2
M MI6x1.5
24
105

s
2x
M12

M10:1.5

e

M 16215

2134

SCANIA
SCANIA
SCANIA
SCANIA
GRANNING
WABCO

SCANIA

SCANIA
SCANIA

1314903
1394997
1865759
1402423
15619
9518110080

255295

1394997

1865759

AIRTECH
FIRESTONE

FIRESTONE

AIRTECH
FIRESTONE
FIRESTONE

GOODYEAR
GART

36251KPP
1T15AA3

W01M586251

36251KPP
1T15AA3
W01M586251
1R11826
D306

D228
M12x1.75
wEHT ko eoomeam
o227
@227 //? SCANIA 1314903 AIRTECH 36251KPP
L SCANIA 1394997 FIRESTONE 1T15AA3
L SCANIA 1865759 FIRESTONE WO01M586251
bt s A SCANIA 1402423 GOODYEAR 1R11826
D238 GRANNING 15619 GART D306
' WABCO 9518110080
SCANIA 255295




318

265

103

FIRESTONE

FIRESTONE

GOODYEAR
GOODYEAR

AIRTECH
FIRESTONE
FIRESTONE

FIRESTONE
GOODYEAR

1T15VR3

W01S158192

1R13746
566263523

330301K
1T15VR3
W010950389
W01S158192
1R13746

GOODYEAR

GOODYEAR

1R13160
566263856




103

265

@230

0259

Us
20

351

SCANIA
SCANIA
SCANIA

SCANIA

SCANIA

SCANIA

144301

1515499

2024281

470921

1440302

1726237

CONTITECH 6713NP02
AIRTECH 33030102K
FIRESTONE 1T15M4
FIRESTONE W010950389
FIRESTONE WO00950565
GOODYEAR 1R13160
GOODYEAR 556028562

AIRTECH 330302P
GOODYEAR 1R12809
PHOENIX 1DF23A1
FIRESTONE 1T15VPR3
FIRESTONE WO01M588193

@248
M14x]
0759 j SCANIA 470921 AIRTECH 330302K
L]
,@- 1 SCANIA 1440302 FIRESTONE 1T15VPR3
| FIRESTONE W01M588193
P | 2%
" @119 GOODYEAR 1R12809
I A
PHOENIX 1DF23A1

106




B259

429

ang

MERITOR MLF8142 AIRTECH
SCANIA 1440304 GOODYEAR
SCANIA 470922

SCANIA-BUSSAR 1726238 CONTITECH 6708NP02
TIIIIITIT PHOENIX 1DF23A2
%JWSR GOODYEAR 1R12813
_ GOODYEAR 1R12872
u
. GOODYEAR 566243530
o GOODYEAR 566243857
SRRt
it GOODYEAR 566243562
@1473 NEOTEC ABM50432B02
@248
SCANIA-BUSSAR 1726238 CONTITECH 6708NP02
PHOENIX 1DF23A2
zls'lnagz GOODYEAR 1R12813
! g o118 GOODYEAR 1R12872
- 0227 GOODYEAR 566243530
! 2
- ] GOODYEAR 566243857
0227 ‘ ‘ GOODYEAR 566243562
" NEOTEC ABM50432B02
2u
. WEGHT  850KS  BOXDIM.-GIY. reriosm-wps
@227 .
@227

330304P
556028461




140

360

445

102

2185

SCANIA

SCANIA

SCANIA

470922

1440304

1726240

AIRTECH
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR

GOODYEAR
PHOENIX

330304K

01397AAP

1T15LR4

950424

1R11829

556028560
1DF20A1

CONTITECH
AIRTECH

FIRESTONE
FIRESTONE
PHOENIX

GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR

6710NP03
331240K
W010950567
15LR40567
1DF20A5
1R11834
1R11184
1R11909
566223545

0227
5
210304 |
2
(a1
1 ]
- | 5
i |
M IS
@185

SCANIA

1726240

CONTITECH
AIRTECH
FIRESTONE
FIRESTONE
PHOENIX
GOODYEAR

GOODYEAR

GOODYEAR
GOODYEAR

6710NPO3
331240K
W010950567
15LR40567
1DF20A5
1R11834
1R11184
1R11909
566223545




SCANIA
SCANIA

SCANIA

SCANIA
SCANIA

1440305
1440859

492680

492680

1440305

CONTITECH
GOODYEAR

GOODYEAR
GOODYEAR

CONTITECH
AIRTECH
PHOENIX
DUNLOP
FIRESTONE
GOODYEAR
VIBRACOUSTIC

6710NP02

1R11830

1R11185
556028461

6710NP02
330305K
1DF20A2
01398AAP
W010950481
1R11830
V1DF20C2

SPECIAL PRD.

MSR




139

SCANIA-BUSSAR 1726241

103

94.5

2185

81473

SPECIAL PRD.

CONTITECH
AIRTECH
PHOENIX
GOODYEAR
GART

GART

AIRTECH
DUNLOP
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
NEOTEC
PHOENIX

MSR

6710NP0O4
331241K
1DF20A6
1R11840
D297B

29714311

330306P
01397AAP
1R11831
1R11186
566223546
566223507
ABM22628B02
1DF20A1




0227
us
230306 |
- ' g
L D186

0227
Ml‘f's’ ! SCANIA
ﬁ 4 B SCANIA
140
2x
2119

1440306

492678

AIRTECH

DUNLOP
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
NEOTEC

PHOENIX

330306K
01397AAP
1R11831
1R11186
566223546
566223507
ABM22628B02

1DF20A1

@227

SCANIA 1440307 AIRTECH 330307P
g | SCANIA 1440860 PHOENIX 1DF23B2
. SCANIA 470919 FIRESTONE 1T15L43
! o 12"1‘_9 SCANIA 475149 FIRESTONE W010950405
| - GOODYEAR 1R11845
. ' GOODYEAR 1R11187
A GOODYEAR 566223550
21473 GOODYEAR 566223860
@238 NEOTEC ABM50228A03
weewt ke soxowear.
| OEMPARTNUMBER CROSSREFERENCES
SCANIA 1440307 AIRTECH 330307K
0227
SCANIA 1440860 PHOENIX 1DF23B2
US SCANIA 470919 FIRESTONE 1T15L43
230307 | SCANIA 475149 FIRESTONE W010950405
GOODYEAR 1R11845
GOODYEAR 1R11187
i = GOODYEAR 566223550
7 GOODYEAR 566223860
0200 NEOTEC ABM50228A03




) SCANIA 1726246 CONTITECH 6611NP02
2, | AIRTECH 331246K
o PHOENIX 1DF23B5
o oig GOODYEAR 1R11841
-
GOODYEAR 1R11187
GOODYEAR 566223550
GOODYEAR 566223860
G473 GART D297C
238 GART 29713001
WEGHT | G0BKG  BOXDW.-QTY. Porirem-corcs
| OEMPARTNUMBER ~  CROSSREFERENCES
SCANIA 1726246 CONTITECH 6611NPO2
022t AIRTECH 331246K
Us | PHOENIX 1DF23B5
230307 GOODYEAR 1R11841
GOODYEAR 1R11187
: GOODYEAR 566223550
i =) GOODYEAR 566223860
7 GART D297C
9200 GART 29713001

2119

@147.3
@238

SCANIA
SCANIA
SCANIA
SCANIA
SCANIA

SCANIA

1726239
1726257
2024284
2024283
2024285

2024289

CONTITECH
AIRTECH

PHOENIX

GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR

6716NP02
331239K
1DF20C4
1R11896
1R11901
1R11889
1R11874
1R11871
566223579




@227

US

232w 1

@220

106

155

SCANIA
SCANIA
SCANIA
SCANIA
SCANIA

SCANIA

SCANIA
SCANIA

SCANIA

SCANIA
SCANIA

SCANIA

1726239
1726257
2024284
2024283
2024285

2024289

1726242
2024290

2024287

1726242
2024290

2024287

CONTITECH

AIRTECH

PHOENIX

GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR

6716NP02
331239K
1DF20C4
1R11896
1R11901
1R11889
1R11874
1R11871
566223579

CONTITECH
AIRTECH

PHOENIX

GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR

CONTITECH
AIRTECH

PHOENIX

GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR

6714NP02
331242K
1DF20A9
1R11899
1R11867
1R11862
1R11186
1R11912
566223568

6714NP02
331242K
1DF20A9
1R11899
1R11867
1R11862
1R11186
1R11912
566223568



@zay

1473

@238

227

515

&
o

2x
Miax1,2s  M22¢135

AIRTECH

PHOENIX

GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR

AIRTECH

PHOENIX

GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR
GOODYEAR

AIRTECH

CF GOMMA
CF GOMMA
CF GOMMA
GOODYEAR

331243K
1DF20A10
1R11900
1R11869
1R11865
1R11838
1R11173
1R11913
566223568

331243K
1DF20A10
1R11900
1R11869
1R11865
1R11838
1R11173
1R11913
566223568

39121001P
1732340
97307
96864
1R12720




e VIBERTI 128147111 AIRTECH 39121001K
, VIBERTI 128147109 CF GOMMA 1732340
| r CF GOMMA 97307
zls‘]zsan | GOODYEAR 1R12720
g
E
0260
315
BOX DI, -QTY. oo 2o
. | OEMPARTNUMBER CROSSREFERENCES
SCANIA 488263 AIRTECH 331114C
SCANIA 1440303 PHOENIX 1DF20C1
y&a SCANIA 1475106 FIRESTONE 1T15L4
i SCANIA 1521114 FIRESTONE W010950422
" SCANIA 1475107 GOODYEAR 1R11833
SCANIA 475146 GOODYEAR 1R11755
GOODYEAR 566223115
GOODYEAR 566223547

106

@220

SCANIA
SCANIA
SCANIA
SCANIA
SCANIA

SCANIA

488263

1440303
1475106
1521114
1475107

475146

AIRTECH

PHOENIX

FIRESTONE

FIRESTONE

GOODYEAR

GOODYEAR

GOODYEAR
GOODYEAR

331114C
1DF20C1
1T15L4
W010950422
1R11833
1R11755
566223115
566223547



@259

B

¥

442

M20x1.5
M14x1.5

mMi2

D286 D28A
1841
= BARTOLETTI 91619011 AIRTECH 391318K
| EJ ) ‘I‘ BARTOLETTI 91101891 DUNLOP D13B18
“‘”“‘i \ ! BATTAGLINO 2211401 DUNLOP D13B12
o
| 2 W1 M231.5 BATTAGLINO 91101892 FIRESTONE 1T19L11
| i CARDI 58050700 FIRESTONE W01M586361
| DAF 67306 GOODYEAR 1R14706
[
OMAR 11804 PHOENIX 1DK28B7
ROLFO 112060 VIBRACOUSTIC  V1DK28B7
ZORZI 1006553
o WEGHT 490 Ke  BOXDIM.-GIY. reriose-2ecs
180
0286 /? N BARTOLETTI 91619011 AIRTECH 391318K
=
g:[f LN - BARTOLETTI 91101891 DUNLOP D13B18
us . . BATTAGLINO 2211401 DUNLOP D13B12
1318 Py
_ iy W15y 15 BATTAGLINO 91101892 FIRESTONE 1T19L11
& CARDI 58050700 FIRESTONE WO01M586361
e DAF 67306 GOODYEAR 1R14706
] —_—
OMAR 11804 PHOENIX 1DK28B7
ROLFO 112060 VIBRACOUSTIC  V1DK28B7
ZORZI 1006553




435

(32805

=
=ln

X
=

365

140

G300

DEdn
158.8

74

_I__

2xh112

LECITRAILER

AIRTECH

DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
VIBRACOUSTIC

AIRTECH
DUNLOP
FIRESTONE
FIRESTONE
GOODYEAR
PHOENIX
VIBRACOUSTIC

381308

D13B29

1TL19L11

WO01M587502

1R14709

1D28B4
V1D28B4

381308K
D13B29
1T19L11
W01M587502
1R14709
1D28B4
V1D28B4




CONVOLUTED AIR SPRINGS




Q2

USuor ! %
BMC 57RS306423  AIRKRAFT 22060
0220 89
- MB ACTROS GART T291B
%qﬁ, A GART 2911170
GI/4* Mo
US vtz -
|
= =
i
" weewt 2k moxDmM-aTY. mtsm:7aecs
oo | OEMPARTNUMBER CROSSREFERENCES

D2

IS urzan

17

It
A

o0

x
G1/4" M0

1al

BMC 57RS306423 AIRKRAFT 22060
GART T291B
GART 2911170




316l

BD2X SPECIAL PRD. UCK
o
H:j::!é:f M14x1.5 o1
LIS vtz
3
BMC 10070318-1 SPECIAL PRD. BMC
@220
8x2 TGR KALDIRMA
%Fﬂ__w KORUGU
'Ir M16x1,5 M10x1.5
1S vrzm
=
i
xh%\%?\ f @161
oo @
IS 2B 150, B 2y
S G413 10

M0



2181

al)

1/4" 1B NPT 2%
3/8"-24 UNF

()

3/8"16 UNC

216l

GIGANT 196028 CONTITECH FD1201734M8

2x
GaM4-14 LSk

83

2x
5

2161

ISUZU SPECIAL PRD.




SPECIAL PRD.

MI12x1.5 2x
M10

M0

E - E SPECIAL PRD. YIS

185

) 2%
G1/4 V10
%
2

=
=

;‘ f ; SPECIAL PRD.

M1dx15 @10

2161




2181

GIGANT 196208 AIRKRAFT 2B180
AIRKRAFT 113052
DUNLOP PNP305510111
G1/4"19 :;‘-B GOODYEAR 2B850
PHOENIX SP2B07R

2181

AIRKRAFT 2B180
i AIRKRAFT 113057
2x

G1/4"19 rAT0

145

£t
=]

@161

MAC 238027 CONTITECH FD12020736

)

yr-1a
NPTE 3/8"-16 UNC
@161

3/8"-16 UNC




@161

1! n_ .: zné

18 MPT M10

@151

M10

" SPECIALPRD.  URD
@180
2x
M12:15 M8
2161
@
" wEew 25 ks BoXDW-aTY. o meos
o | OEMPARTNUMBER CROSSREFERENCES
180 ; “g SPECIALPRD.  URD
IS 21 180 2x
L] M12x15 M10
|
o161

&




@161

GIGANT 196028 CONTITECH

AIRTECH

AIRKRAFT

¥

G1/4

AIRKRAFT

FIRESTONE

2161
GOODYEAR

WEFORMA

FD1201761361

A2185K03

2B180

113054

026B0950275

2B8850
WBZ300E2

=
o

FRUEHAUF F48054 CONTITECH
FRUEHAUF M80A04 AIRKRAFT
GRANNING 15803 AIRKRAFT
LOHR A06030604 FIRESTONE
SAMRO H2500188 FIRESTONE
184
8155 GOODYEAR

GOODYEAR
DUNLOP

DUNLOP

AIRKRAFT

AIRKRAFT

FD1381812M10
2B 200

113060

8x2
WO01R584055
2B82150
5789232150
8x2

SP1490

2B200
13062



(215

PEGASO

PEGASO
PEGASO
VOLVO
VOLVO

VOLVO

5231
5236
5266
0365431
0365461

6882797

CONTITECH
CONTITECH
CF GOMMA
CF GOMMA
FIRESTONE
FIRESTONE
PHOENIX

VIBRACOUSTIC

FD20019S
895N

T20L

86399

20
W01095009
2B12R3

V2B12R

216l
; i) é
x

M12x1.5 MG

@

[ IE

PHOENIX

SP2B12RA4

G1/4” M10

BMC

DAF

FLOOR
GRANNING
GRANNING
HENDRICKSON
PEGASO

ROR / MER.
ROR / MER.

57RS306423
0654464Metric
13586

15603

1371

NA1827
5289195266
21221395
21222663

CONTITECH
AIRTECH
CF GOMMA
CF GOMMA
DUNLOP
DUNLOP
DUNLOP
FIRESTONE
FIRESTONE

FD2001914M10
2B220

T20

206797
9509201
509201
01128AAP

20
W01M586887




GRANNING A0603064

GRANNING 15599
KOGEL 6501706
SAF 1600
SAF 4229100400
SAF 4229100400

- SCANIA 1319761
SCANIA 1387289

% SCANIA 1319761

W10

CONTITECH
AIRKRAFT
AIRKRAFT
DUNLOP
FIRESTONE
FIRESTONE
GART

GART
GOODYEAR

FD20019P04
2B2203
113002
S09201

20F
WO01M587894
T2912
2912203
2B9700

G1/4” M10

M0

AIRKRAFT

AIRKRAFT

2B220
113021

]@

1ial
' HENDRICKSON  H5507907/P

Ry 2
oy

215

M12:1.5
[T
=

(51

AIRKRAFT

PHOENIX

2B215
SP2B12R12




2181

SPECIAL PRD.

W10

0215
MB A9423270601  CONTITECH FD20019P02
- _ ﬁ ; MB A9423205821 CF GOMMA T20L
e =y
(IRETET ' HENDRICKSON  SH505613 CF GOMMA 207065
AANRAN
T

o :ﬁ::; HENDRICKSON  HS508264 FIRESTONE 20F
% HENDRICKSON  HS507487 FIRESTONE WO01M587756
& ol HENDRICKSON ~ HS506118
@ HENDRICKSON  HS508345

M0

@16l

” CONTITECH FD20019Cl

=
.
o

x
G1/4" hldx].25




2181

m GOODYEAR 2B9278
il &%)
3
101wl
2K

G344 47 q3uNC

1 g @
25

3/8"-16UNC

261

=
=
@
=

SPECIAL PRD. CCT

S

2x
1/4"18 MPTF 3/8 " 16UNC

215

2
3/8"16UNC

SPECIAL PRD. CCT

2x
1/4718 NPTF 3,8~ 15UNC

215

59.5

2K
3/8"16UNC




2181

14" 1BNPTE 1/2"-13UNC

&

1/2"-13UNC

SCANIA 1863244 CONTITECH

AIRKRAFT

AIRKRAFT

GOODYEAR
GOODYEAR

0215 SPECIAL PRD.
. - 5 | |
£ .:. %
I‘IL. TR 220 3f4-'16UNF
W,

NCK

FD20019M14M10
2B220

113018

2B9729
578923211

=
=
@
=

GIGANT 190130 CONTITECH
@215
= KRONE 550011095 PHOENIX
BOSCH
2x
G/4m14 M8 FESTO
NORGREN

@ WEFORMA
2

FD2001934M8
SP2B12R1
822419043
EB250185
PM31092

WBZ400E1




AIRKRAFT

AIRKRAFT

2
G3/4"14 M10

2161

2B200

113005

=
=

2181

DAYTON A812719 CONTITECH

)

GRANNING 1371 FIRESTONE

GRANNING 2726 GOODYEAR

1/4~18 NPT 3/8"-16 UNC  HENDRICKSON  S8768 TAURUS

HENDRICKSON 458433 DINA

161
PREVOST 630174

SAF HOLLAND 57006910

SUSPENSION 630174

)

FD20019320
W013586910
2B9200
KF2186910
A812719

2x NAVISTAR 554783C1
@215 ARVIN MERITOR 200042 CONTITECH FD20019310
- DAYTON 3546902 FIRESTONE W013586902
GRANNING 4848 GOODYEAR 2B9239
1/418 NPT 3/8"-16 UNC  HENDRICKSON  S2630 GOODYEAR 578923211
RIDEWELL 1003586902C TRIANGLE AS4310
B161
SAF HOLLAND 57006902 AUTOMANN SP2B12R6902
NAVISTAR 554784C1
25

3/8"-16 UNC




41

)

215

2181

14718 NPTF 1/27-13 UNC

2161

&)

2x
3/8"-16 UNC

DAYTON
GRANNING
HENDRICKSON
RIDEWELL

SAF HOLLAND
VOLVO
WATSON&CHA.

NAVISTAR

3546905
6389

§5270
1003586905C
57006905
85101146
AS0020

1685175C1

CONTITECH

AIRKRAFT
AIRKRAFT
FIRESTONE
GOODYEAR
GOODYEAR
TRIANGLE

AUTOMANN

FD20019315
2B220
113028
W013586905
2B9206
578923202
AS4315

SP2B12R6905

2181

)

2x
G NPT M12

2161

$5)

=
-

JOST
STARA

ADO00076J00

79114138

CONTITECH
AIRKRAFT
AIRKRAFT
FIRESTONE
GOODYEAR

FD20019823BR
2B220

113474
W010950313
556228521

38

215

EE1

R

M18x2.5
M12x1.5

2161

e

GUERRA

RANDON

VOLVO
IBERO MOP

5036002015006

212100278

212100278
59000003

CONTITECH
AIRKRAFT
AIRKRAFT
FIRESTONE
GOODYEAR
GOODYEAR
PHOENIX

FD20019810BR
2B220

113475
W010950353
556228520
578238325
SP2B12R




2215

36

215

SAF 45980054192 AIRKRAFT 2B220

AIRKRAFT 113003

DUNLOP S09203

HENDRICKSON  HS507907P AIRKRAFT 2B220
AIRKRAFT 113015
PHOENIX SP2B12R12

M10

GIBRALTAR G2B12RA

M12x1.5

@161

2%
3/8"-16 UNC



2161

ol

M20x1.5
M12¢1.5

@16l
25 E

3/8"-16 LUNC

215

SPECIAL PRD.

GSA

FORD EC465580AB

S

=

20
—+_E

25
1/2"-13 UNC  pg8y1.25

@161

S%]

M10:1.5

i
E
=

2161

NAVISTAR 2B9490 AIRKRAFT
S BRAKE&WHELL  M3528 CONTITECH
RIDEWELL 1003586897C CONTITECH
. ]3"};:::12 S:;F WATSON&CHA.  AS0058 FIRESTONE
b WATSON&CHA.  AS00581F FIRESTONE
Hﬂl o REYCO 70178401 GOODYEAR
GOODYEAR

TAURUS

AUTOMANN

1/2-13 UNC

113026
FD20019505
FD20022706
W013586886
W013586897
2B9229
578923211
6325
SP2B12R6897




215

@161

1/4"-18 NPTF

1/2"-13 UNC

@1E1

2%
3/8"-16 UNC

SAF HOLLAND 90557228
d —tm !
2

AIRKRAFT
AIRKRAFT
CONTITECH
FIRESTONE
GOODYEAR
GOODYEAR
TAURUS
AUTOMANN
TRIANGLE

2B220

113501
FD20019539
W013586890
2B9606
578923211
6325
SP2B12R6890
AS4539

@215 WATSON&CHA.  AS01561G CONTITECH FD20019319
DNA AZ812719 FIRESTONE W013586900
SUSPENSION 630173 GOODYEAR 2B9216
3/4"-14 NPTF 3/8"-16 UNC RIDEWELL 1003586900C TRIANGLE AS4319
PREVOST 630173 TRP AS69000
AUTOMANN SP2B12R6900

2161
2%

3/8"-16 UNC

25
3/8"-16 UNC

HENDRICKSON 3317 CONTITECH FD20019713
< HENDRICKSON 002878 CONTITECH FD20023A709
HENDRICKSON  B14486 CONTITECH FD20022524
3/4"-16 UMF
1/4"-18 MPTF WATSON&CHA.  AS01461G FIRESTONE WO013587795
[Fal
B FIRESTONE W014557898
2161
H FIRESTONE W013587897
M GOODYEAR 2B9495
' ' GOODYEAR 2B10226
FLEETPRIDE AST7795




)

SPECIAL PRD. YB
@215
25
G3/4"14 M8
5]
—
™ @151
2K
T weem  amke soxow-arv. mewwse s
SAF HOLLAND 57006941 CONTITECH FD20019448
@215 o
GRANNING 7631 FIRESTONE W013586941
HISTEER 10302 GOODYEAR 2B9280
/4" 16UMF
lﬂ"—l&NPTF 1/2"-20UNF LINK 11030002 GOODYEAR 2B9265
SUSPENSIONS 200118 GOODYEAR 578923211
@161
GOODYEAR 578923206
AUTOMANN SP2B12R6941
Taurus 6325
TRIANGLE AS4448
2x

215

@161

@161
= | OEMPARTNUMBER ~  CROSSREFERENCES
[Fa]
BI15 » RANDON 212100278 CONTITECH FD20019902BR
® ! FIRESTONE W010950355
P GOODYEAR 578238325
M16x1,5 M8x1.25
GOODYEAR 578228405




1/4"-18 NPTF
3/4"-18 UNF

@161

1/2-13 UNC

WATSON&CHA.

AS0088

CONTITECH
FIRESTONE
FLEETTPRIDE
GOODYEAR
GOODYEAR
TAURUS
TRIANGLE
TRP
AUTOMANN

FD20019510
W013587788
AS7788
2B9245
578923202
6325

AS4510
AS77880
SP2B12R7788

@222

MERCEDES

6883207021

CONTITECH
AIRKRAFT
AIRKRAFT

FIRESTONE
GOODYEAR

FD20025SBR
2B225
114004
W010950234
578238332

2161

SCANIA
SCANIA

1319761
1387283

AIRKRAFT

AIRKRAFT
FIRESTONE

2B225
113038
WO01M586891




EE1

' ' SAF HOLLAND 57006927 CONTITECH FD22025453
x REYCO 1290601 FIRESTONE W013586927
REYCO 1290602 GOODYEAR 2B9218
1/4"-18 MPTF
3/4°-16 UNF NAVISTAR 1685176C1 GOODYEAR 578923206
LOADGUARD SC2072 FLEETPRIDE AS6927
@161
TAURUS 6332
TRIANGLE AS4453
‘. AUTOMANN SP2B12RA6927
2%
| D222
SILPA 2210200227 CONTITECH FD20025855BR
';—1 FIRESTONE W010950287
GOODYEAR 578228655
i
1/4"-18 ME GOODYEAR 578238332
MPTF
2161
2%
e WEGHT 31 K6 BOXDM-QTY. B s

| @222

CONTITECH FD22525856BR

FIRESTONE W010950462




25
Gl M1a

@161

$5)

2%
MI10

WEWELER
WEWELER
WEWELER
DAIMLER TAS
VALX
GRANNING
SCHMITZ

ROR

US07394F
US07394C
US07394
9463282101
81005002
15670
16808

21221356

CONTITECH
AIRKRAFT
AIRKRAFT
FIRESTONE
FIRESTONE
FIRESTONE
GOODYEAR
GOODYEAR
PHOENIX

FD2002514M10
2B225

113010

20C2
WO01M587679
W019686771
2B9269
578923206
SP2B12RA10

2161
| @222

5

Gl

3

@161

3]

DAIMLER
JOST

JOST
JOST

9463282401

3010702401

JAE 3010702401
JAS 3010702401

CONTITECH

FIRESTONE

FD2002514M8
20C2

EE1

R

M24x1.5
M16x1.5

2161

&5

RENAULT
RENAULT

VOLVO

20541504

7420541504

20541504

GOODYEAR

2B9703




| @222

2161

1/4"18 NPT 3/8"-16 UNC

@161

§5)

2%
1/2"-13 UNC

)

LOADGUARD
RIDEWELL

WATSON&CHA.

SC2123
1003586948C

AS4429

CONTITECH

FIRESTONE
FIRESTONE
GOODYEAR
TAURUS
TRIANGLE
AUTOMANN

FD20025429
W013586948
202

2B9251

6332

AS969480
SP2B12RA6948

EE1

M12x1.5 M0

2161

fe5l

el

SAF HOLLAND
SAF HOLLAND

SAF HOLLAND

4229100500
4229100501

1608

CONTITECH
AIRKRAFT
AIRKRAFT
VIBRACOUSTIC
GOODYEAR
GOODYEAR
PHOENIX
SPRINGRIDE
SPRINGRIDE

FD20025P02
2B225
113476
VSP2B12RA3
2B9701
578923206
SP2B12RA3
2B9701
578923206

M10x1.5
) (S rr)
3 SAF HOLLAND 90557237 CONTITECH FD20025426
m | gl WATSON&CHA.  AS0041 FIRESTONE W013586943
I LOADGUARD  SC2122 FIRESTONE 202
L s ifz"-ls unc  SPRINGVALLEY AS4426 GOODYEAR 2B9250
& SUSPENSIONS 200835
@161
GRANNING 6352
89

25
3/8"-16 UNC




| @222

D161
_|_ l__
25

3/8"-16 UNC 1 418 NPT

@161
89
2x
3/8%-16 UNC

AIRTECH 2B225
AIRKRAFT 113488
AIRTECH A222030K11
FIRESTONE WO013586951
GOODYEAR 2B9257

I @222

2161
@
2%
34714 NPTF 42713 UNC

@161

378 16 UNC

WATSON&CHA.  AS0111G

CONTITECH FD20025721
FIRESTONE W013586817
GOODYEAR 2B9270
GOODYEAR 57892306

| @222

0161
@
2%

M10 Gla4"

@161

89

2x
M1d

SPECIAL PRD. YB




@161

) @222
/;E\ GRANNING 15710 AIRTECH 2B225

T —|— r ﬂ' AIRKRAFT 113011

FIRESTONE W01S057182

2%
WAL Gl/4"

@161

=
=

D222

FORD JC464K273AB

FORD JC464K273ABN

FORD T379310

i3]
|
|

M12x15 M10

2161

RUBBER FIRESTONE 267C15

BELLOW ONLY AIRKRAFT 2B 267




2
=
—
=3

my
D

=
=]

GOLDSCHMITT  DLB6781

G1/4"19

160

5]

=
=
4% ]

S5

M10x1.5

2
=
—
=3

GOLDSCHMITT  DLB6784

1

M0 -19

o
ey
5

@112

S5

E GOLDSCHMITT  DLP6397
@128 G1/8™-28
2 M16x1.5
B112




12
=
—
rt

._. | S
s
22

CHEV. CR (4X2) 1020303500 FIRESTONE FLEX267C15

DODGE RAM 1500 FIRESTONE W217606781

DODGE RAM 2500

G1/4-18 NPT 3/8°-16 UNC DODGE RAM 3500
FORD BRONCO  FULL SIZE

160

@112

F100 F150
' ' F250 F350
' PICKUPS OVER 8500
GVWR (4x2) (4x4)

3/87-16 UNC

2112

FIRESTONE 267C

FIRESTONE W217606784

)

3/8"-16 UNC  G1/47-18 NPT

@112

&5

3816 UNC

@112

Pt TOYOTA TUND. (4x2 ONLY) FIRESTONE 267C15
TRD FIRESTONE W217606397
LINC. MARK LT 4x2-4x4 AIRKRAFT 2B267

@128 1/8"-27 NPT FORD 4x2-4x4 ~ F-150 AIRKRAFT 11120209
g 5/8"-18 UNF
= CHEV. SILVER.  CK1500
@112

CHEV. SIERRA  4x2-4x4

HE 16 UNC




2112

FIRESTONE FLEX267C15
AIRKRAFT 2B 267
AIRKRAFT 11120217

@23

@112

)

@37.6

SPECIAL PRD. PRP

it

1/4°78 NPT 3/8"-16 UNC

@112

=z
£ ]
B

@112

SPECIAL PRD. YIS

3

@225

@nz

)




@112

2150 SPECIAL PRD.

G1/4"19

@1z

YIS

FRUEHAUF UJB0985 CONTITECH
GRANNING 15814 AIRKRAFT
X LOHR A06030601 AIRKRAFT
SMB MO063796 FIRESTONE
ﬁ GOODYEAR
GOODYEAR
DUNLOP

GIGANT 881202 CONTITECH
GIGANT 700881202 FIRESTONE
kS WEWELER USN510011KD GOODYEAR
GRANNING 15813 GOODYEAR

DUNLOP

FD41218P01
2B300
113301
WO01R584073
2B122457
5789232452
FS12202

FD4121812M10
WO01R584061
2B122452
5789232452
12x2SP1541NB



(237
157.5

—!— :

12 ME0x1.5
MIZxl.5

i D315

=

[

LT T " ’ 157.5

=
=
=
bz
-1

/‘,_I_h\ TIRSAN LIFTAXLE

Mz MZ2x1.5

=
]

(237
157.5

SPECIAL PRD. GNM

2
5

(BN

[ M14x2

[
157.5




@227
157.5
/f!‘—-\\ BPW 0220021900 CONTITECH FD33022M12
|
[ Hj_ FIRESTONE WO01M586851
-
2x
M8 M12x15
2227
157.5

157.5
@315 / , HENDRICKSON ~ $10170 CONTITECH FD33022331
= + HENDRICKSON ~ AUXNA1816 AIRKRAFT 2B301
. SAF HOLLAND 57007180 AIRKRAFT 113334
1213 3416 UNF
) 2 UNC 1/4"-18 NPTF LELAND SC2076 FIRESTONE W013587410
. LOAD GUARD  SC2075 GOODYEAR 2B12406
} @227
NAVISTAR 1685179C1 GOODYEAR 578923309
NEWAY 57007180 VIBRACOUSTIC ~ VSP2B22R7410
PEERLESS 055000001 AUTOMANN SP2B22R7410
' RIDEWELL 1003587180C  ROAD CHOICE ~ AS7410

3/8-16

=
=
[

157.5
T HENDRICKSON  S13035 CONTITECH
A315 : \ FD33030323
SAF HOLLAND 57007443 AIRKRAFT 2B320
2 1418 GRANNING 1218 AIRKRAFT 113493
2 3/8-16UNC  npTF GRANNING 1589 FIRESTONE W013587443
Rat]
e RIDEWELL S2683C GOODYEAR 2B12305
@227
;{Fi LOADGUARD SC2026 GOODYEAR 578923310
/ . \ NAVISTAR 554786C1 AUTOMANN SP2B22RAT7443
_!_ RIDEWELL 1003587443C TAURUS 6328
2 WATSON&CHA.  AS0027 TRIANGLE AS4323
3/8-16 UNC




@227

o315 - KASSBOHRER 4731045300 PHOENIX SP2B22R1
o — KASSBOHRER 4731045100 AIRKRAFT 113556
2 CF GOMMA T22B
LA i 3l M20:2 5 M16x15
. CF GOMMA ST200860C
(]
B 2227
9
t
M30x1.5
wsas  WEGHT ke oom-am.
1575
/’Tﬂ\\ HENDRICKSON ~ NA1816 AIRKRAFT 2B301
|
. 2315 B GRANNING 15646 AIRKRAFT 113312
2 SAF 3229100100 FIRESTONE WO01M586381
2 DUNLOP $12201
~a
@227
157.5
2%
M10

:

157.5 SPECIAL PRD.




SPECIAL PRD. PRP

2
/4" 18 NPTF 38, 16 Unc

230

@227
157.5

AT

2%
3/8"-18 UML

(237

157.5
o315 /J—I—-\\ HENDRICKSON  HS507906/P AIRKRAFT 2B315

/ _i_ PHOENIX SP2B22RA2

I
Mﬂxl.ﬁ

MIZxl.5

[
157.5

A TD

_|_

KT

(237
157.5

/_.-—I—-\ TIRSAN LIFTAXLE
I
A\
[

Mz MZ2x1.5

(BN

[
157.5

.-"—T“"x
/J'r\




(237

157.5

n

Mz

M2

M22x1.5

[

D227
157.5

26

230

£l

RN \k'l.'l'l_l

230

M12

M22x1.5

@227

v

ISUZU

ISUZU

SPECIAL PRD.

SPECIAL PRD.

SPECIAL PRD.

YSD

PRP

YB




2227
a5 | BBT
|~
FORD TRUCKS  JC465580AA
: et H476
2 /& FORD TRUCKS  T306813
M12x1,75 M12x1.5 H476
@227
1575

=
=t
e
P
n

2227

/ SPECIAL PRD. MNS

M1z M20x1.5
M12x1.5

@227
157.5

=
=

b
ol
il ]
i =l

/ ﬂﬂTﬂ\\ SPECIALPRD.  MNS

M12 M20x1.5
M12x1.5




N SCANIA 670199 CONTITECH FD33022313
‘!‘ o SAF HOLLAND 90557016 FIRESTONE W013587400
: SAF HOLLAND 90557018 VIBRACOUSTIC  VSP2B22R7400
A 18 NPTF 38 15 uNC voOLVO 3130488 GOODYEAR 2812309
- CHEVROLET 693230 GOODYEAR 578923309
1575 HENDRICKSON ~ S1013 TAURUS 6316
/| fﬁ\ GMC 693230 TRIANGLE AS4313
_!_ FAB TEK 040080 FLEETPRIDE  AS7400
2 DAYTON 3547400 TRP AST74000
3/8"16 UNC
WEGHT ke soxom-ar.
e | OEMPARTNUMBER ~  CROSSREFERENCES
1397

315 /1 ’FIH\\ HENDRICKSON ~ §1345 CONTITECH FD33030371
+% HENDRICKSON 5468 CONTITECH FD33022346
: HENDRICKSON 365145 FIRESTONE W013587472
\2hs 3416 UNF
UNC  VA4"-18NPTF  HENDRICKSON  $12514005 FIRESTONE W013587404
o227 HENDRICKSON ~ B12335 GOODYEAR  2B12410
-’- SAF HOLLAND 57007404 GOODYEAR 578923309
SAF HOLLAND 57007472 GOODYEAR  2B12434
LOADGUARD  §C2022 GOODYEAR 578923310
LOADGUARD  SC2128 AUTOMANN SP2B22R7404
2x3/8-16
& war e
@227
1397
0315 fTH\ RAYDAN 21100005 CONTITECH FD330302549
_!_ ' AUTOMANN SP2B22RAC549
TAURUS 6328
a3 3416 UNF
UNC 174718 NFTF TRIANGLE AS4549
@227

H




@ils

157.5

o\

/4" 16UNF

1/2"13UNC
/ 1/4"19PT

JERN

3/8"16UNC

1/4
NPFT

3/8"-16 UNC

AUTOMANN
FLEETPRIDE
HISTEER
TRIANGLE

WATSON&CHA.

LOHR
GT BENALU

SP2B22RB7550

AS7550
10315
4541

AS0087

A06030622

MO078246

CONTITECH

AIRTECH

AIRTECH
FIRESTONE
FIRESTONE

GOODYEAR

AIRKRAFT
AIRKRAFT
FIRESTONE
DUNLOP

FD33126541
2B320
113343
22815
W013587550

2B12346

2B 350
113332
WO01R584038
SP2782NB

CONTITECH

FIRESTONE

AIRKRAFT

AIRKRAFT

GOODYEAR

GOODYEAR

FLEETPRIDE
TAURUS

TRIANGLE

FD53030518
W013586800
2B352
113499
2B14362
566923356
AS6800
6336
AS4518




~ m

G @ @ mm

= | 2 S
29 303 g 3 &

~ | () ~
B1822 | = | (L
N|=| @ =] g N| &| @

S]
%
- AM.HU -
FFMMO LTI T <
mmmom & x Z
|l 2| g © 2| 5 ©
r xx 1 y @ r x I
Gef 5 ©Of > <G8 IE<E [ aE
= | ©
e | @
3
L
mmm
= =
CON NGO
o

SRS
xr o
m | ]
02 | @
=l ==
Q| ©| —
w | @ =
o o Jd
@ @ &
S| 8| =

G 34714

[e X
@346
@346




@355 AUTOMANN SP2B34RB6805 CONTITECH FD53030532

RIDEWELL 1003586805C AIRTECH 2B352
TAURUS 6336 AIRTECH 113479
3/8"TBUNC  3/47-14PT TRIANGLE 4532 FIRESTONE 212
FIRESTONE W013586805
GOODYEAR 2B14462

DAF 1698435 CONTITECH FD53030P03

DAF 1794430 CONTITECH FD53030P04




M12¢15  MI10

2161

M1

SPECIAL PRD. URD

| o302 CONTITECH FT41232
AIRKRAFT 3B300HYD
[l
=] M0 M16x1.5
]
1
O
BARTOLETTI 91621322 CONTITECH FT41232S
" @302
l I IVECO 240/3642107595  AIRKRAFT 3B300HYD
i
VIBERTI 128118103 AIRKRAFT 115005
ZORZI 1006506 DUNLOP SP2597RE12x3




1 1T 11
LA R A AAY

265

M20x1.5
G

M10

BENALU
GRANNING

GT FRUEHAUF
LOHR

SAMRO

SMB

GIGANT
GRANNING

M002297
15897
M002297
A06030606
H2500011

M002297

881204

15816

CONTITECH FT41232

AIRKRAFT 3B300
AIRKRAFT 115004
DUNLOP 123SP2666NB

CONTITECH FT4123212M10
AIRKRAFT 3B300
AIRKRAFT 115003

CF GOMMA T28B90559
DUNLOP 123RESP1542NB
FIRESTONE WO01R584062
GOODYEAR 3B122452
SPRINGRIDE 3B122452

AIRKRAFT 3B310HYD




BMC 57RS306424A AIRKRAFT 3B310HYD

<}
th

9
157.5
@302 ﬁ SPECIAL PRD. GM
" 2% |
M10 12x1.5
D
L'l

@259
157.5

SPECIAL PRD. GM

265




36

265

SPECIAL PRD. URD

1575
fo‘\ SPECIALPRD.  NTMC
T
M12 o
M12x15
0259
1575
8B
T
2
o2 | OEMPARTNUMBER ~  CROSSREFERENCES
158
GRANNING 17017 AIRKRAFT 3B310HYD
/}_i_\ i SAF 3228100201 GART T2718
L BMC PRO 57RS3066424  GART 2713296
M12x1.5 M12 MERCEDES

CEKICi




" GRANNING 1704D AIRKRAFT 3B310HYD
= ‘ ROLFO 112273 AIRKRAFT 115009
' = TOUGHLINE 17040 DUNLOP $12350
M12 M16x1.5 CARDI 58053200 PIRELLI 322BB93410
)
™ GART T271S
@227
,ﬁrix GART 27132981
g i N
24
157.5
/’FIH\\ A GUERRA 5002004062000 CONTITECH FT33029832BR
@300 I
| "I-"I AIRKRAFT 3B310
EN;:E e AIRKRAFT 115023
FIRESTONE W010950274
b GOODYEAR 578328401
o @227
157.5 GOODYEAR 578338334

@300

Y

S
&

157.5
] GOLDSCHMITT
I —|_ \ TOUGHLINE

X DENNIS EAGLE

M20x1.5 M2
M12x1.5

DLB6781

AIRKRAFT
AIRKRAFT
FIRESTONE

DUNLOP

3B310HYD

115010

W013588017

$12302



@227
157.5

/"ﬂr‘“\ SPECIALPRD.  MGP
&)

M0 G1/4%-19

=
=

, @300 SAF HOLLAND 57008008 CONTITECH FT33029431
GRANNING 6392 AIRKRAFT 3B310
TUTHILL 6392 AIRKRAFT 115034
IE-TEUNC 1/4"-1B MPTF | OADGUARD SC2130 FIRESTONE W013588008
3/4"-16 UNF
DAYTON 3548008 GOODYEAR 3B12300
@227
ﬁ EZ RIDE 8030155 GOODYEAR 578933100
/ . \ HENDRICKSON  S11637 TAURUS 6334
_!_ RIDEWELL 1003588008C TRIANGLE AS4431
2 FLEETPRIDE AS8008
3/87-16 UNC

WATSON&CHA.  AS00481F CONTITECH FT33029547

= FIRESTONE W013587995

GOODYEAR 3B12315
2/B"-16 UNC  1/4"-18 MPTF GOODYEAR 578933100
0 3/4"-16 UNF
m FLEETPRIDE AS7995
@227
TAURUS 6334
TRIANGLE AS4547
TRP AS79950
. AUTOMANN SP3B22R7995




""T\"\ MAN 81436016010 CONTITECH FT3302911M8
1
I
8

. @300 /
FIRESTONE WO01M587992
-- FIRESTONE WO01M586128
Ma N
CF GOMMA 87987
[*y]
Rl
)
@227
157.5

Z¥

D227

I 9300

\'| BMC 100704161 AIRKRAFT 3B310
P

8x2 TGR4 DINGIL AIRKRAFT 11140089

=
ra

SPECIAL PRD.
| @300 MNS




AIRSPRING CROSS LIST




us-

AR SPRING o SRR PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0001{110 Roll 1001-216 1 318285
0002{110 K KOMPLE 5388-216 1 ISUZU CITIBUS
0003(115 Roll 1003-221 1 RZ 450-25 3450-25 1E23 EVO BUS, IVECO
0004 (121 Roll 1004-221 2 RZ 415-25 3415-25 1R5P 345 290 2G20 VOLVO
0005(122 Roll 1005-221 2 RZ 415-28 3415-28 1R5P 410 290 2G20A VOLVO
0006{123 Roll 1006-247 2 TEMSA, SAFIR
0007(124 Roll 1007-220 3 TEMSA, SAFIR
0008(126 Roll 1008-190 3 30792
0009(127 Roll 1009-210 3 30789 IE21B
0010{2413 Roll 1010-240 4
0011{2414 Roll 1011-175 4 K1T15MWPSL 1G12 ISUZU
0012{2414 K KOMPLE 5103-160 4 1G12B-04 [ISUZU
0013(2414 K01 KOMPLE 5193-160 5 SPECIAL PRD.
0014{2414 K02 KOMPLE 5353-160 5 K1T15MWPOL 1G12 1SUZU
0015(2415-28 Roll 1074-225 5 3415-28 2G20A VOLVO
0016{2518 Roll 1079-216 6 IVECO
0017{2596 Roll 1075-216 6 IVECO
0018(2644 Roll 1012-210 6 644 N 3644 W01 095 0118 1E21 BMC, VOLVO ..
0019(2644 K01 KOMPLE 5234-280 7 3644-01 TEMSA AVENUE
0020{2644 KO3 KOMPLE 5172-210 7 BMC BUS
0021{2661 Roll 1013-240 7 661 N 3661 W01 095 0021 1E25 VOLVO,IVECO..
0022{2661 K KOMPLE 5013-240 8 SPECIAL PRD.
0023[2661 KO1 KOMPLE 5111-240 8 661 N PO1
0024(2661 K02 KOMPLE 5112-240 8 661 N P02
0025(2661 K04 KOMPLE 5150-240 9 BMC
0026{2661 KOS5 KOMPLE 5113-240 9 661 N PO5
0027(2661 KO7 KOMPLE 5167-240 9 OTOKAR
0028(2661 KO8 KOMPLE 5273-240 10 OTOKAR KENT
0029(2661 K10 KOMPLE 5266-240 10 OTOKAR
0030{2661 K11 KOMPLE 5334-240 10 SPECIAL PRD.-YB
0031(2661 K12 KOMPLE 5342-240 11 SPECIAL PRD.-BMC
0032(2661 K13 KOMPLE 5355-240 11 BMC
0033(2662 Roll 1014-300 11 662 N 3662 W01 095 0207 1E32 BPW,DAF,MAN..
0034(2673 Roll 1015-240 12 673 N 3673 W01 095 0198 1F21A DAF,VOLVO...
0035(2701 Roll 1016-260 12 701N 3701 W01 095 0205 1E26-1 BOVA, IKARUS.
0036{2701 K KOMPLE 5301-260 12 1E26-1 BOVA, DEN OUDSTEN
0037(2702 Roll 1065-260 13 702 N 1E26A BOVA, IKARUS.
0038(2702 KD KOMPLE 5376-260 13 702 N 1E26A BOVA, IKARUS.
0039(2702 K01 KOMPLE 5270-260 13
0040{2702 K02 KOMPLE 5384-260 14
0041(2706 Roll 1017-240 14 706 N1 3706




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0042(2713 Roll 1018-240 14 713N 3713 1F21D VOLVO
0043(2715 Roll 1019-260 15 715N 3715 W01 095 0087 1F25 IVECO
0044(2715 K01 KOMPLE 5244-260 15 SPECIAL PRD.-MRK
0045(2716 Roll 1020-265 15 716 N 3716 W01 095 0145 1F 26 B-1
0046(2719 Roll 1054-300 16 719N 3719 W01 095 0192 1F32B BPW,DAF,MAN..
0047(2720 Roll 1021-240 16 720N 3720 W01 095 0195 1F21 BPW,MAN,VOLVO..
0048(2727 Roll 1022-300 16 727N 3727 1R2D 460 360 1F32A DAF,MAN,VOLVO..
0049(2728 Roll 1023-300 17 728 N 3728 1R2D 470 360 1F32A SCHMITZ
0050{2737 Roll 1024-260 17 737N 3737 W01 095 0211 1F26 CHEREAU,CHRYSLER
0051{2746 Roll 1080-265 17 746 N 3746 MERCEDES
0052(2757 Roll 1025-265 18 757N 3757 W01 095 0212 1F26C CHRYSLER
0053(2762 Roll 1026-300 18 762 N 3762 W01 095 0190 1F32 BPW,DAF,MAN..
0054(2762 K KOMPLE 5207-300 18 OTOKAR
0055(2763 Roll 1072-300 19 KARSAN
0056{2763 K KOMPLE 5309-300 19 KARSAN
0057{2768 Roll 1063-260 19 768 N 3768 W01 095 0213 1E27 RENAULT, VOLVO
0058{2769 Roll 1027-190 20 769 N 3769 W01 095 0204 1E18 MENARINI,RVI..
0059(2782 Roll 1028-210 20 782N 3782 W01 095 0197 IVECO,MERC.
0060{2782 K KOMPLE 5268-210 20 782 MB3 1E21-23 IRIS BUS, TEMSA
0061{2809 NT Roll 1050-254 21 809 NT W01 M58 0031 MAN
0062{2809 T Roll 1045-254 21 809 NTB 3809 T W01 M58 0687 1D23C-1 |MAN
0063(2817 Roll 1052-220 21 817N 3817 RENAULT V.|
0064(2817 K Roll 5205-240 22 817 MB OTOKAR, IRIS BUS
0065(2817 KO1 Roll 5209-240 22 OTOKAR, IRIS BUS
0066{2819 Roll 1029-160 22 819N 3819 W01 095 0543 CHRYSLER
0067{2819 K KOMPLE 5242-194 23 819 MB MB VARIO, TEMSA OPALIN
0068(2819 KO1 KOMPLE 5243-194 23 819 N PO1 MERCEDES VARIO
0069(2838 Roll 1061-265 23 838 N 3838 1F26D MERCEDES
0070{2876 Roll 1030-240 24 876 N 3876 IVECO,RVI
0071{2882 Roll 1031-210 24 882 N1 3882 W01 095 0435 1F16 CHRYSLER,MAN.
0072{2883 Roll 1032-230 24 883 N1 3883 1R4R 465 260 1F21C-2 |MAN, VOLVO
0073(2884 Roll 1033-230 25 884 N 3884 1R1B 415 270 1F 20A CHRY., IVECO, MAN...
0074{2884 K KOMPLE 5253-230 25 884 N P04 RENAULT PREMIUM
0075{2896 Roll 1034-190 25 896 N 3896 W01 095 0173 2E 18A DENNIS,SCANIA
0076{2897 Roll 1035-220 26 897 N 3897 W01 095 0174 2E 23 DENNIS,SCANIA
0077{2916 Roll 1036-240 26 916 N1 3916 W01 095 0555 1F21C-5 |MAN, TEMSA
0078{2916 K KOMPLE 5415-240 26 916 N1 3916 W01 095 0555 1F21C-5 |MAN, TEMSA
0079{2921 Roll 1037-190 27 921N 3921 W01 095 0226 1E 18 EVO BUS, IVECO
0080{2921 KO3 KOMPLE 5183-190 27 BMC BUS
0081{2921 K04 KOMPLE 5171-190 27 BMC BUS
0082(2927 Roll 1038-185 28 927 N 3927 W01 095 0244 2E18B DENNIS,LEYLAND,VOLVO




us-

AR SPRING o SRR PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0083(2928 Roll 1039-220 28 928 N 3928 W01 095 0228 2E 23A IVECO,LEYLAND
0084(2936 Roll 1058-225 28 936 N 3936 IRIS BUS
0085(2936 K Roll 5233-290 29 936 MB 3936 K TEMSA, IRIS BUS
0086(2943 Roll 1040-216 29 943 N 3943 W01 095 0189 INBUS,IVECO
0087(2944 Roll 1041-216 29 944 N 3944 W01 095 0121 DAF,INBUS,VOLVO
0088(2945 Roll 1042-216 30 945N 3945 W01 095 0063 1E 21C IVECO,SCANIA
0089(2946 Roll 1068-230 30 946 N 3946 EVO BUS, MERCEDES
0090{20031 Roll 1086-300 30 30031 W01 095 0031 MERCEDES BUS
0091{21010 Roll 1085-215 31
0092(21416 Roll 1078-240 31 1416 N 1E 25A IVECO BUS
0093(21421 Roll 1060-255 31 1421 N 31421 W01 095 0472 VOLVO
0094(21782 Roll 1082-230 32 1782 N1 31782 IVECO, IRIS BUS
0095(21817 K KOMPLE 5297-215 32 SK 175-605 P01 MERCEDES
0096{21817 K01 KOMPLE 5386-215 32 SK 175-604 P01 MERCEDES
0097(21818 K KOMPLE 5298-215 33 MERCEDES
0098{21818 K01 KOMPLE 5313-215 33 SPECIAL PRD.
0099(21819 Roll 1043-160 33 SPECIAL PRD.
0100{21885 Roll 1044-230 34 1885 N1 31885 W01 095 0429 1F20B IVECO, MAN
0101{21885 K KOMPLE 5251-230 34 MAZ
0102(21888 Roll 1049-240 34 1888 N 31888 P
0103({21917 K KOMPLE 5405-215 35 MERCEDES
0104(21924 Roll 1081-230 35 1924 N1 31924 2F18 IVECO
0105(22577 Roll 1084-210 35 IVECO
0106{22577 K KOMPLE 5418-210 36 IVECO
0107(24156 T Roll 1047-254 36 4156 N P05 34156 T 1T15M-6 MAN SL 200
0108{24810 NT Roll 1051-265 36 810 NT
0109(24810 T Roll 1046-265 37 810 NTB 34810 T W01 M58 0749 1DK 28 A-4 [MAN REAR
0110{25484 Roll 1053-245 37 IVECO DORUK ON
0111{25484 K KOMPLE 5168-245 37 IVECO DORUK ON
0112(26621 Roll 1069-190 38 6621 N VOLVO OTOBUS
0113(26621 K KOMPLE 5294-190 38 6621 N PO3 VOLVO
0114{26622 Roll 1067-220 38 6622 N VOLVO OTOBUS
0115(26622 K KOMPLE 5329-220 39 6622 N PO1 VOLVO OTOBUS
0116{26623 Roll 1066-190 39 6623 N W01 095 0672 1E18C [vOLVO OTOBUS
0117{26623 K KOMPLE 5328-190 39 6623 N PO1 VOLVO OTOBUS
0118{27054 Roll 1064-225 40 6611 N 30054 VOLVO OTOBUS
0119{27054 K01 KOMPLE 5278-225 40 6611 N PO1 VOLVO
0120{27054 K02 KOMPLE 5279-225 40 6611 N P02 VOLVO
0121{27054 KO3 KOMPLE 5280-225 41 6611 N PO3 VOLVO
0122{208250 Roll 1076-210 41 KARSAN
0123{208250 K KOMPLE 5382-210 41 KARSAN




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0124(219250 Roll 1056-200 42 319250 IVECO
0125(219270 Roll 1059-220 42 319270 IVECO
0126(220270 Roll 1073-220 42 320270 IVECO, GRANNING
0127(227027 Roll 1077-210 43 IVECO
0128(232260 Roll 1062-218 43 332260 IVECO
0129(236323 Roll 1057-240 43 336323 IVECO
0130{125P P 2001-273 44 BMC BELDE
0131{125K KOMPLE 5001-273 44 BMC BELDE
0132125 P01 P 2081-273 44 BMC PROCITY
0133(125 K01 KOMPLE 5070-273 45 BMC PROCITY
0134(125 P02 P 2107-273 45 BMC
0135(125 K02 KOMPLE 5187-273 45 BMC
0136{2016 P P 2120-286 46 DORSE 16 P SPECIAL PRD.
0137{2016 K KOMPLE 5105-286 46 DORSE 16 P SPECIAL PRD.
0138{2034 K KOMPLE 5303-311 46 OZTREYLER DORSE
0139{2034 K01 KOMPLE 5406-311 47 OZTREYLER DORSE
0140{2034 K02 KOMPLE 5407-311 47 725 N P03 3725-01 K 1T66F-10.8 GIGANT
0141{2035 P P 2106-286 47 OZTREYLER DORSE
0142{2035 KO1 KOMPLE 5094-286 48 OZTREYLER DORSE
0143{2035 P03 P 2250-286 48 OZTREYLER DORSE
0144{2035 KO3 KOMPLE 5232-286 48 OZTREYLER DORSE
0145{2045 P P 2180-227 49 SPECIAL PRD.-YSD
0146{2045 KPP KPP 3052-227 49 SPECIAL PRD.-YSD
0147{2045 PO1 P 2252-227 49 SPECIAL PRD.-YSD
0148{2045 K01 KOMPLE 5262-227 50 SPECIAL PRD.-YSD
0149{2061 K180 KOMPLE 5383-311 50 AKM
0150{2069 P P 2119-150 50 BMC
0151{2069 K KOMPLE 5101-150 51 BMC
0152(2415 P P 2002-227 51 1SUZU
0153{2415 K KOMPLE 5002-259 51 ISUZU TURKUAZ
0154{2415 KPP KPP 3145-227 52 ISUZU TURKUAZ
0155(2416 P P 2074-259 52 31070 P 1DF 25 A-1 |SOLARIS, ISUZU
0156{2416 K KOMPLE 5065-259 52 31070K 1DF25A-1 [SOLARIS,BOGDAN
0157{2435 P P 2079-286 53 1D24-35L  [PANAV
0158{2435 K KOMPLE 5069-286 53 1D24--35L |PANAV
0159(2465 P P 2103-259 53
0160{2465 K KOMPLE 5087-259 54
0161{2724 P P 2283-259 54 724 N PO1 3724 P GIGANT
0162(2724 K KOMPLE 5285-259 54 3724 K GIGANT
0163(2724-01 P P 2167-259 55 724 N P02 GIGANT
0164(2724-01 K P 5158-259 55 724 N P02 GIGANT




us-

AR SPRING e SRR PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0165(2725 P P 2003-311 55 725 NPO1 3725 P W01 M58 8969 1DF 32 GIGANT
0166(2725 K KOMPLE 5003-311 56 725 N P02 3725K W01 M58 8969 1DF32 GIGANT
0167(2725 K01 KOMPLE 5004-311 56 725 N P03 3725-01 K 1T66F-10.8 GIGANT
0168(2752 P P 2354-311 56 752 N P01 GIGANT
0169(2752 K KOMPLE 5360-311 57 752 N P01 GIGANT
0170{2792 P P 2300-227 57 792 N PO1 38678 P W01 M58 8678 DAF
0171)2792 K K 5425-227 57 792 N P01 38678 KPP W01 M58 8678 DAF
0172]2792 KPP KPP 3112-227 58 792 N PO1 38678 KPP W01 M58 8678 DAF
0173{2792 PO1 P 2326-227 58 792 N P02 DAF
0174|2792 KPPO1 KPP 3126-227 58 792 N P02 DAF
0175{2836 PO1 P 2005-273 59 836 M 3836 P W01 D08 0776 1DF25-1 NP |DAF
0176{2836 K KOMPLE 5005-273 59 836 M K01 3836 K W01 M58 8722 1DF 25-11 |DAF
0177{2836 P02 P 2006-273 59 836 M2 3836-02 P W01 D08 0777 | 1DF 25-3 NP [DAF
0178{2836 K02 KOMPLE 5006-273 60 836 M2 K01 3836-02 K W01 M58 8721 1DF 25-13 |DAF
0179(2836 P04 P 2295-273 60 836 MB K4 3836-04 K W01 M58 8705 1DF 25-14 |VDL BUS
0180{2836 K04 KOMPLE 5196-273 60 836 MB K4 W01 M58 8705 1DF 25-14 |VDL BUS
0181{2836 KO5 KOMPLE 5320-273 61 836 N P05 W01 M58 9710 VDL BUS
0182(2836 K06 KOMPLE 5007-273 61 836 MB K6 3836-06 K W01 M58 8701 1DF 25-15 |DAF
0183(2836 KO7 KOMPLE 5292-273 61 836 M 47 W01 M58 8715 1DF 25-12 [DAF
0184{2836 P09 P 2242-273 62 836 N P09 3836-09 P DAF
0185(2836 KOS KOMPLE 5254-273 62 836 N P09 3836-09 C DAF
0186(2836 P10 P 2185-273 62 836 N P10 DAF
0187{2836 K10 KOMPLE 5182-273 63 836 N P10 DAF
0188(2836 K12 KOMPLE 5347-273 63 836 N P12 DAF
0189(2836 P14 P 2243-273 63 836 N P14 VDL BUS
0190{2836 K14 KOMPLE 5255-273 64 836 N P14 VDL BUS
0191(2887 P P 2150-227 64 887 M 3887 P W01 M58 0780 1DF18-3 |DAF
0192(2887 K KOMPLE 5135-227 64 887 M 3887 K
0193(2887 KO1 KOMPLE 5141-227 65 887 M K1 38683 K W01 M58 8683 DAF
0194(2887 K02 KOMPLE 5220-227 65 887 M K2 3887-22 C DAF
0195(2887 KO3 KOMPLE 5142-227 65 887 M K3 3887-33 K W01 M58 8682 DAF
0196(2887 K04 KOMPLE 5143-227 66 887 M K4 W01 M58 8681 DAF
0197(2887 P05 P 2299-227 66 887 N P03 3887-03 C W01 M58 5785 SCAINA
0198(2887 KOS5 KOMPLE 5307-227 66 887 N P03 3887-03 C W01 M58 5785 SCAINA
0199(2887 P06 P 2292-227 67 887 N P06 W01 M58 8549 DAF
0200{2887 K06 KOMPLE 5299-227 67 887 N P06 W01 M58 8549 DAF
0201{2889 P P 2128-227 67 889 M 3889 P W01 M58 8679 DAF, FORD CARGO
0202{2889 K KOMPLE 5115-227 68 889 M K2 3889 K W01 M58 8679 DAF, FORD CARGO
0203{2902 P P 2143-311 68 902 MB 3902 P W01 M58 9910 RENAULT V.1
0204{2902 K KOMPLE 5127-311 68 902 MB 3902 K W01 M58 9910 RENAULT V.
0205(2912 PO1 P 2247-286 69 912 N P01 32926 P W01 M58 8502 | 1D 28D-10 [SAF HOLLAND




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0206(2912 K01 KOMPLE 5259-286 69 912 N PO1 32926 K W01 M58 8502 | 1D 28D-10 [SAF HOLLAND
0207(2912 P02 P 2248-286 69 3912 P W01 M58 8766 1D 28 D-2 |SAF,ROR,HENDRICKSON
0208(2912 K02 KOMPLE 5260-286 70 3912 K W01 M58 7385 1D 28 D-2 |SAF,ROR,HENDRICKSON
0209(2940 P P 2008-259 70 940MB 3940 P W01 M58 8613 1DK21 K [BPW, GRANNING
0210{2940 K KOMPLE 5008-259 70 940 MB 3940 K W01 M58 8609 10K21K-1 |BPW
0211)2940 KPP KPP 3001-259 71 940 MB 3940 KPP W01 M58 8585 1DK21K-2 [BPW,GRANNING
0212{2940 PO1 P 2296-259 71 940 MB P01 W01 M58 8073 1DK21K-4 [BPW
0213{2940 KPPO1 KPP 3110-259 71 940 MB P01 W01 M58 8073 1DK21K-4 [BPW
0214|2940 KPP0O2 KPP 3154-259 72 3940-01 CPP BPW
0215{2941 P P 2009-259 72 941 MB 3941 P W01 M58 8620 1DK 21 BPW
0216{2941 K KOMPLE 5009-259 72 941 MB 3941 K W01 M58 8619 1DK21 BPW
0217]2941 KPP KPP 3002-259 73 3941-01 KPP W01 M58 8668 1DK21-2  |BPW,WEWELER
0218{2941 PO1 P 2320-259 73 941 MB 3941 P W01 M58 8620 1DK 21 BPW
0219|2941 KPPO1 KPP 3132-259 73 BPW
0220]2942 P P 2062-311 74 942 MB 3942 P W01 M58 8611 1DK32L BPW
0221]2942 K KOMPLE 5062-311 74 942 MB P01 3942 K W01 M58 8584 1DK32L-1 |[BPW
0222{2942 KPP KPP 3111-311 74 3942 CPP W01 M58 8611 1DK 32L BPW, WABCO, MAN
0223{2951 P P 2377-259 75 951 MB 3951 C W01 M58 8621 BPW
0224{2951 K KOMPLE 5396-259 75 951 MB 3951 C W01 M58 8621 BPW
0225(20010 P P 2271-259 75 6620 N PO1 30010 P 1 DF 25 C-1 NP|VOLVO
0226{20081 P P 2145-259 76 30081 P W01 M58 8747 1DK 25-1 |MB, HENDRICKSON, SAMRO
0227{20081 K KOMPLE 5129-259 76 30081 K WO01 M58 8747 1 DK 25-1 |MB, HENDRICKSON, SAMRO
0228(20283 P P 2191-286 76 30283 P W01 M58 6223 1 DK 28F-3 |MB, CARGOBULL, RENAULT
0229(20283 K KOMPLE 5189-286 77 30283 K W01 M58 6223 1 DK 28F-3 |MB, CARGOBULL, RENAULT
0230{20285 P P 2146-286 77 30285 P W01 M58 8107 1D28F5 SCHMITZ, WEWELER, SCAINA
0231{20285 K KOMPLE 5130-286 77 30285 K W01 M58 8107 1D28F5 SCHMITZ, WEWELER, SCAINA
0232{20285 P01 P 2202-286 78 30285 P W01 M58 8107 1D28F5 SCHMITZ, WEWELER, SCAINA
0233{20285 K01 KOMPLE 5206-286 78 30285 K W01 M58 8107 1D28F5 SCHMITZ, WEWELER
0234{20285 P02 P 2338-286 78 SPECIAL PRD. URD
0235(20722 P P 2104-259 79 30722 P FORD CARGO
0236(20722 K KOMPLE 5088-259 79 30722 K FORD CARGO
0237(20810 P P 2010-286 79 810 MB 3810 P W01 M58 7237 | 1D 28 A-5 NP
0238(20810 K KOMPLE 5010-286 80 810 MB 3810 K W01 M58 6345 1D28 A-2  |DAF, VOLVO..
0239{20810 KPP KPP 3003-286 80 810 MB W01 M58 6345 1D28A-2  |IVECO,SAF,VOLVO
0240{20810 K02 KOMPLE 5118-286 80 3810-01 K DORSE
0241{20810 KO3 KOMPLE 5339-286 81 W01 M58 6225 1D28A-12 |WEWELER
0242{20810 P04 P 2365-286 81
0243{20810 K04 KOMPLE 5385-286 81 SPECIAL PRD.
0244{20810 P05 P 2388-286 82 W01 M58 6226 WEWELER
0245{20810 K05 KOMPLE 5404-286 82 W01 M58 6226 WEWELER
0246{20810-01 P P 2351-286 82 SPECIAL PRD.




us-

AR SPRING e SRR PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0247{20810-01 K KOMPLE 5359-286 83 SPECIAL PRD.
0248(20811 P01 P 2011-286 83 811 MB 3811 P 1T19L-11 DAF
0249(20811 K01 KOMPLE 5011-286 83 3811-01 K 1T19L-11
0250{20811 P02 P 2012-286 84 3811-02 P W01 M58 7370
0251{20811 K02 KOMPLE 5012-286 84 3811-02 K 1T19L-11 ROR
0252{20811 P03 P 2013-286 84 811 M16 3811-03 P W01 M58 6334
0253{20811 K03 KOMPLE 5014-286 85 811 MB 3811 K W01 M58 6359 1D28B-7 |DAF,RVI,SAF..
0254{20811 P04 P 2014-286 85 3811-04 P 1T19L-11
0255{20811 K04 KOMPLE 5015-286 85 SPECIAL PRD.
0256{20811 KO5 KOMPLE 5397-286 86 W01 M58 6363 VIBERTI DORSE
0257(20813 P P 2015-286 86 813 MB/0 3813 P W01 M58 7238 | 1D 28 B-5 NP
0258(20813 K KOMPLE 5016-286 86 813 MB 3813 K W01 M58 6339 1D28B-2  [DAF,SAF,RVI..
0259{20813 KPP KPP 3004-286 87 813 MB 3813 KPP W01 M58 6364 1D28B-2  |DAF,RVI,SAF..
0260{20813 P01 P 2016-286 87 3813-01P 1T19L-11
0261{20813 K01 KOMPLE 5017-286 87 SPECIAL PRD.
0262{20813-10 P P 2273-286 88 3813-10C W01 095 0320 IBERO MOP, RANDON, SILPA
0263{20813-10 K KOMPLE 5288-286 88 3813-10C W01 095 0320 IBERO MOP, RANDON, SILPA
0264(20813-11 P P 2274-286 88 3813-11C W01 095 0524 IBERO MOP, RANDON, SILPA
0265({20813-11 K KOMPLE 5289-286 89 3813-11C W01 095 0524 IBERO MOP, RANDON, SILPA
0266(20847 P P 2096-259 89 SPECIAL PRD.-URD
0267(20847 K KOMPLE 5081-259 89 SPECIAL PRD.-URD
0268(20881 P P 2017-311 90 881 MB 3881 P W01 M58 8978 1DK32 BPW
0269(20881 K KOMPLE 5018-311 90 881 MB 3881-01 K W01 M58 8966 1DK 32-1 [BPW
0270{20881 K180 KOMPLE 5104-311 90 SPECIAL PRD.-SC
0271{20881 KPP KPP 3005-311 91 881 MB 3881-01 KPP W01 M58 8667 1DK32-2  |BPW
0272{21053 P P 2328-259 91 SAF HOLLAND
0273{21053 K KOMPLE 5333-259 91 SAF HOLLAND
0274{21191 KPP KPP 3167-227 92 9 10S-18 P 1067 (BK) W01 358 1191 NAVISTAR, FLEETRIT
0275(21324 P P 2196-311 92 31324 P W01 M58 8988 1DK32E-4 |KASSBOHRER
0276{21850 P P 2127-273 92 1850 N PO1 FORD CARGO FRONT
0277{21850 K KOMPLE 5125-273 93 1850 N PO1 FORD CARGO FRONT
0278(21857 P P 2264-227 93 6630 N PO1 VOLVO
0279(21857 K KOMPLE 5271-227 93 6630 N PO1 VOLVO
0280{21857 P01 P 2340-227 94 6630 N P02 VOLVO
0281{21857 K01 KOMPLE 5345-227 94 6630 N P02 VOLVO
0282(21889 P P 2136-227 94 1889 N P02 FORD CARGO REAR
0283(21889 K KOMPLE 5126-227 95 1889 N P02 FORD CARGO REAR
0284(22244 P P 2246-259 95 W01 R58 2244 MERITOR
0285(22244 KPP KPP 3084-259 95 WO01 R58 2244 MERITOR
0286(22303 P P 2125-227 96 9 10S-16 A 382 32303 P W01 358 9780 FREIGHTLINER
0287(22303 K KOMPLE 5114-227 96 9 10S-16 A 382 32303 K W01 358 9780 FREIGHTLINER




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0288(22303 KPP KPP 3092-227 96 9 10S-16 A 382 32303 KPP W01 358 9780 FREIGHTLINER
0289(22478 P P 2397-161 97 IVECO, OTOKAR
0290(22478 K KOMPLE 5416-161 97 IVECO, OTOKAR
0291(22478 K01 KOMPLE 5417-161 97 OTOKAR
0292(22588 P P 2998-227 98 IVECO
0293(22588 K KOMPLE 5419-227 98 IVECO
0294{22588 P01 P 2402-227 98 IVECO
0295{22588 K01 KOMPLE 5422-227 99 IVECO
0296(22592 P P 2359-227 99 IVECO
0297(22592 K KOMPLE 5367-227 99 IVECO
0298(22618 P P 2091-259 100 4022 N P03 W01 M58 6367 1DK22E-9 |SAF
0299(22618 K KOMPLE 5076-259 100 SAF
0300{22618 KPP KPP 3023-259 100 4022 N P03 32618 KPP W01 M58 6367 1DK22E-9 |SAF
0301{22619 P P 2092-259 101 4022 N P02 32619 P W01 M58 0756 |1 DK 22 E-9 NP[SAF
0302(22619 K KOMPLE 5077-259 101 SAF
0303{22619 KPP KPP 3024-259 101 4022 N P05 32619 KPP W01 M58 8612 | 1DK22E-11 [SAF
0304{22619 P01 P 2223-259 102 32619-01 P SAF
0305{22619 KPPO1 KPP 3075-259 102 32619 01KPP SAF
0306(22621 P P 2230-259 102 32621P SAF HOLLAND
0307{22621 KPP KPP 3077-259 103 32621 KPP SAF HOLLAND
0308(22626 P P 2231-259 103 32626 P SAF HOLLAND
0309{22626 KPP KPP 3078-259 103 32626 KPP SAF HOLLAND
0310{22725 P P 2018-311 104 32725 P
0311{22725 K01 KOMPLE 5020-311 104 8 HOLES
0312(22813 P P 2266-286 104 W01 M58 6222 | 1D 28 A-13 [DAIMLER
0313(22813 K KOMPLE 5272-286 105 WO01 M58 6222 | 1D 28 A-13 [DAIMLER
0314(22851 P P 2344-259 105 32851 P
0315{22851 KPP KPP 3138-259 105 32851 KPP
0316(22919 P P 2226-286 106 32919 P SAF HOLLAND
0317{22919 KPP KPP 3076-286 106 32919 KPP SAF HOLLAND
0318(22924 P P 2209-286 106 32924 P 1D 28 B-11 |SAF, SCANIA
0319{22924 KPP KPP 3067-286 107 32924 KPP 1D 28 B-11 |SAF, SCANIA
0320(22927 P P 2237-286 107 32927 P SAF HOLLAND
0321{22927 KPP KPP 3082-286 107 32927 KPP SAF HOLLAND
0322(23138 P P 2352-311 108 31838 N PO1 SAF HOLLAND
0323{23608 P01 P 2164-286 108 6700 N P02 34608 P W01 M58 8535 FOR NEW PISTON
0324{23608 K01 KOMPLE 5169-286 108 6700 N P02 34608 K W01 M58 8535 SCANIA NEW PISTON
0325{23608 P02 P 2212-286 109 6700 N PO1 SCANIA R NEW
0326{23608 K02 KOMPLE 5221-286 109 6700 N PO1 SCANIA R NEW PISTON
0327(23708 P P 2403-259 109 33708 C W01 M58 8643 HENDRICKSON
0328(23708 K KOMPLE 5424-259 110 33708 C W01 M58 8643 HENDRICKSON




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0329(23833 P P 2287-259 110 6620 N P02 33833 K VOLVO
0330{23833 KD KOMPLE 5378-259 110 6620 N P02 33833 K VOLVO
0331(24004 P P 2020-259 111 34004 P SAF HOLLAND
0332(24004 M16P P 2208-259 111 4004 N P02 34004-05 P W01 M58 0919 |1 DK 22 E-5 NP[SAF HOLLAND
0333(24004 K KOMPLE 5021-259 111 4004 N PO3 34004 K W01 M58 6366 1DK 22 E-5 [SAF
0334{24004 KPP0O3 KPP 3006-259 112 4004 N P03 34004 KPP W01 M58 6366 1 DK 22 E-8 |[SAF. SCANIA
0335{24004 KPP04 KPP 3030-259 112 SPECIAL PRD.-AFG
0336(24007 P P 2181-259 112 4007 N PO1 34007 P 1DF21A |GIGANT
0337{24007 K KOMPLE 5179-259 113 4007 N PO1 34007 K 1DF21A |GIGANT
0338{24007 P01 P 2189-259 113 GIGANT
0339{24007 K01 KOMPLE 5188-259 113 GIGANT
0340{24008 P P 2341-286 114 4008 N PO1 391303 P W01 M58 8765 1D 28 C-12 |WEVELER, SAF
0341{24008 K KOMPLE 5348-286 114 4008 N PO1 391303 K W01 M58 8765 1D 28 C-12 |WEVELER, SAF
0342)24019 P P 2135-227 114 OTOKAR MAGIRUS FRONT
0343{24019 KPP KPP 3050-227 115 OTOKAR MAGIRUS FRONT
034424022 M12P P 2022-259 115 34022 P SAF
0345(24022 M16P P 2021-259 115 4022 N P02 34022 P W01 M58 0756 |1 DK 22 E-9 NP[SAF
0346(24022 K KOMPLE 5022-259 116 34022 K SAF
0347{24022 K02 KOMPLE 5023-259 116 SPECIAL PRD.
0348{24022 KPP03 KPP 3007-259 116 4022 N P03 34022 KPP W01 M58 6367 1DK 22 E-9 [SAF
0349{24022 K05 KOMPLE 5408-259 117 4022 N P05 32619 KPP W01 M58 8612 | 1DK22E-11 [SAF
0350{24022 KPPO5 KPP 3008-259 117 4022 N P05 32619 KPP W01 M58 8612 | 1DK22E-11 [SAF
0351{24022 KPPO6 KPP 3029-259 117 SPECIAL PRD.-AFG
0352{24022 KPPO7 KPP 3038-259 118 SPECIAL PRD.-AFG
0353(24022 K16 KOMPLE 5210-259 118 SPECIAL PRD.-AKB
0354(24023 P P 2023-286 118 4023 N P06 34023 P 1T 19F-11 1D28B-10NP [SAF
0355(24023 K KOMPLE 5024-286 119 4023 N PO3 34023 K W01 M58 6348 1D28A-10 |[SAF
0356(24023 KPP KPP 3044-286 119 4023 N P03 34023 K W01 M58 6348 1D28A-10 |[SAF
0357{24023 KPPO1 KPP 3083-286 119 SAF
0358(24028 P02 P 2099-286 120 4028 N P02 34028 P W01 M58 8106 1D 28F-1 [WEVELER, SCH.
0359(24028 K02 KOMPLE 5084-286 120 4028 N P02 34028 K W01 M58 8106 1D 28F-1 |[WEVELER, SCH.
0360{24028 P05 P 2082-286 120 4028 N P05 ROR
0361{24028 KO5 KOMPLE 5071-286 121 4028 N P05 3813-D3K W01 M58 7370 | 1D 28B-12
0362(24119 P01 P 2137-227 121 36687 P 1 DF 20 G-2 [IVECO STRALIS (F,R)
0363(24119 K01 KOMPLE 5173-227 121 36687 C 1 DF 20 G-2 |[IVECO STRALIS (F,R)
0364(24119 KPPO1 KPP 3056-227 122 36687 C 1 DF 20 G-2 [IVECO STRALIS (F,R)
0365(24119 P02 P 2138-227 122 36686 P 1 DF 20 G-1 [IVECO STRALIS (F,L)
0366(24119 K02 KOMPLE 5174-227 122 36686 C 1 DF 20 G-1 |[IVECO STRALIS (F,L)
0367(24119 KPP02 KPP 3057-227 123 36686 C 1 DF 20 G-1 [IVECO STRALIS (F,L)
0368(24119 P03 P 2139-227 123 36685 P 1 DF 20 G-3 [IVECO STRALIS (R,L)
0369(24119 K03 KOMPLE 5175-227 123 36685 C 1 DF 20 G-3 [IVECO STRALIS (R,L)




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0370{24119 KPP0O3 KPP 3058-227 124 36685 C 1 DF 20 G-3 [IVECO STRALIS (R,L)
0371(24119 P04 P 2140-227 124 36684 P 1 DF 20 G-4 |[IVECO STRALIS (R,R)
0372(24119 K04 KOMPLE 5176-227 124 36684 C 1 DF 20 G-4 |[IVECO STRALIS (R,R)
0373(24119 KPP04 KPP 3059-227 125 36684 P 1 DF 20 G-4 |[IVECO STRALIS (R,R)
0374(24150 P P 2198-227 125 34150 P ROR, MERITOR
0375({24150 K KOMPLE 5201-227 125 34150 K ROR, MERITOR
0376{24150 KPP KPP 3061-227 126 34150 KPP ROR, MERITOR
0377{24150 K01 KOMPLE 5327-227 126 34150 K ROR, MERITOR
0378(24154 P P 2063-227 126 4154 N P05 34154 P W01 352 8172 1DK23F-1 |RVI
0379{24154 KPP KPP 3009-227 127 4154 N PO5 34154 KPP W01 352 8172 1DK23F-1 |RVI
038024154 P01 P 2111-227 127 SPECIAL PRD.-AKA
0381{24154 K01 KOMPLE 5095-227 127 SPECIAL PRD.-AKA
0382{24154 P03 P 2286-227 128 34154-06 C W01 M58 7283 RENAULT, SCAINA
0383{24154 K03 KOMPLE 5293-227 128 34154-06 C W01 M58 7283 RENAULT, SCAINA
038424154 P04 P 2241-227 128 910-12 A 327 34154-04 P W01 358 9053 HENDRICKSON,SAF,DAYTON
0385{24154 K04 KOMPLE 5248-227 129 910-12 A 327 34154-04 K W01 358 9053 HENDRICKSON,SAF,DAYTON
0386{24154 P05 P 2251-227 129 4154 N P05 W01 358 8172 1DK23F-1 |RENAULT
0387{24154 K05 KOMPLE 5256-227 129 4154 N PO5 W01 358 8172 1DK 23 F-1 |RENAULT
0388{24154 KPP06 KPP 3096-227 130 4154 N P06 34154-16 KPP RENAULT, VOLVO
0389(24156 P P 2024-227 130 4156 N P05 34156 P 1T 15M-6 1DK 21 A-2 |NEWAY
0390{24156 K KOMPLE 5025-227 130 4156 N P06 34156 K SAF
0391{24156 KPP02 KPP 3055-227 131 SPECIAL PRD.-DST
0392{24156 KPPO3 KPP 3018-227 131 34156-06 KPP 1T15M-6
0393{24156 KPP04 KPP 3025-227 131 34156-07 KPP W01 455 6288
0394{24156 KPPO5 KPP 3134-227 132 9 10-16 A 987 Brazil 34156-14 C W01 095 0332 VOLVO, FACCHINI, RANDON
0395{24156 KPP14 KPP 3064-227 132 4156 N P14 34156-05 KPP W01 358 9082 |1 DK 23 K-9082|FRUEHAUF, GRANNING
0396{24156 KPP15 KPP 3010-227 132 4156 N P15 34156 KPP W01 M589361 [ 1 DK23K-1 [ROR,WEWELER
0397{24156 K01 KOMPLE 5026-227 133 4156 N PO7 34156-01 K W01 B58 9361 | 1DK 23 K-28 |SAF
0398{24156 KSO1 KOMPLE 5291-227 133 4156 N PO7 34156-01 K W01 B58 9361 [ 1DK23K-28 |SAF
0399(24156 KSBO1 KOMPLE 5283-227 133 4156 N PO7 34156-01 K W01 B58 9361 | 1DK 23 K-28 |SAF
0400{24156 P02 P 2084-227 134 SPECIAL PRD.-URD
0401{24156 K02 KOMPLE 5073-227 134 SPECIAL PRD.-URD
0402{24156 P03 P 2075-227 134 SPECIAL PRD.-IRK
0403{24156 KO3 KOMPLE 5066-227 135 SPECIAL PRD.-IRK
0404{24156 P05 P 2268-227 135 9 10-16 A 987 Brazil 34156-14 W01 095 0332 VOLVO, FACCHINI, RANDON
0405{24156 KO5 KOMPLE 5275-227 135 9 10-16 A 987 Brazil 34156-14 C W01 095 0332 VOLVO, FACCHINI, RANDON
0406{24156 P06 P 2269-227 136 9 10-16 P 849 34156-15 W01 095 0420 RANDON, SUSPENSYS, MAN
0407{24156 K06 KOMPLE 5276-227 136 9 10-16 P 849 34156-15 C W01 095 0420 RANDON, SUSPENSYS, MAN
0408{24156 KO8 KOMPLE 5096-227 136 SPECIAL PRD.-YSD
0409{24156 K09 KOMPLE 5354-227 137 4156 N P09 34156-03 C W01 M58 9089 | 1 DK 23 K-54 [FRUEHAUF
0410{24156 K11 KOMPLE 5099-227 137 SPECIAL PRD.-CNM




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0411(24156 K16 KOMPLE 5134-227 137 SPECIAL PRD.-CCT
0412(24156 K17 KOMPLE 5249-227 138 34156-17 K W01 095 0292
0413(24156 K18 KOMPLE 5139-227 138 SPECIAL PRD.-URD
0414(24157 P03 P 2064-259 138 4157 N P03 34157-03 P SMB,NEWAY..
0415(24157 KO3 KOMPLE 5308-259 139 4157 N P03 W01 M58 6317 FRUEHAUF
0416{24157 KPP03 KPP 3011-259 139 4157 N P03 W01 M58 6317 FRUEHAUF
0417{24157 P04 P 2065-259 139 4157 N P04 34157-04 P WEWELER,ROR..
0418{24157 K04 KOMPLE 5216-259 140 4157 N P14 34157-04 K W01 M58 6297 1DK21A-4 |WEWELER,ROR..
0419]24157 KPP04 KPP 3012-259 140 4157 N P04 34157 KPP W01 M58 6297 1DK21A-4 |MERCEDES,ROR..
0420{24157 P05 P 2066-259 140 4157 N PO5 34157-05 P
0421{24157 KO5 KOMPLE 5063-259 141 SPECIAL PRD.-IRK
0422{24157 KPPO5 KPP 3013-259 141 4157 N P05 39002-A3-A1 KPP | W01 M58 7074 1DK21A-3 |WEWELER
0423(24157 P06 P 2067-259 141 4157 N P06 38186 P WEWELER
0424124157 KPP06 KPP 3014-259 142 4157 N P06 38186 KPP W01 968 8186 1DK20A1
0425{24157 KPPO8 KPP 3032-259 142 4157 N P08 39002-A3-08KPP | W01 M58 6317 1DK20C-2
042624157 KPP09 KPP 3034-259 142 4157 N P09
0427{24157 KPP10 KPP 3033-259 143 4157 N P10 34157-10KPP W01 M58 6315 1DK20A-51
0428(24157 P14 P 2294-259 143 4157 N P14 34157-04 CPP W01 M58 6297 DAIMLER, JOST
0429(24157 KPP14 KPP 3109-259 143 4157 N P14 34157-04 CPP W01 M58 6297 DAIMLER, JOST
0430{24158 P02 P 2068-259 144 4158 N P02 34158 P W01 M58 6257 1DK20B-1 |WEWELER
0431(24158 K KOMPLE 5219-259 144 4158 N PO3 34158 KPP W01 M58 8185 1DK20B-1 |SCHMITZ, WEWELER
0432{24158 KPP03 KPP 3015-259 144 4158 N P03 34158 KPP W01 M58 8185 1DK20B-1 |SCHMITZ, WEWELER
0433{24158 KPP03-3 KPP 3063-227 145 SPECIAL PRD.-URD
0434(24159 P P 2026-227 145 4159 N P05 34159 P W01 M58 0736 | 10K21B-5NP
0435(24159 K KOMPLE 5027-227 145 34159-02 K 1T15M-9 1DK21B-2
0436{24159 K01 KOMPLE 5028-227 146 4159 N P06 34159-03 K W01 358 9130 1DK21B-2
0437{24159 KS01 KOMPLE 5290-227 146 4159 N P06 34159-03 K W01 358 9130 1DK21B-2 |MERITOR, SAMRO
0438(24159 KSBO1 KOMPLE 5284-227 146 4159 N P06 34159-03 K W01 358 9130 1DK21B-2 |MERITOR, SAMRO
0439{24159 K02 KOMPLE 5029-227 147 SPECIAL PRD.
0440{24159 P03 P 2133-227 147 34159-04 P SPECIAL PRD.
0441{24159 K03 KOMPLE 5030-227 147 SPECIAL PRD.
0442{24159 K04 KOMPLE 5079-227 148 SPECIAL PRD.-AKA
0443{24159 KPPO5 KPP 3026-227 148 SPECIAL PRD.-AFG
0444{24159 P06 P 2270-227 148 910-19 A952 34159-16 P W01 095 0314 FACCHINI, HBZ, RANDON
0445{24159 K06 KOMPLE 5411-227 149 910-19 A 952 34159-16 KPP W01 095 0314 FACCHINI, HBZ, RANDON
0446{24159 KPP06 KPP 3095-227 149 910-19 A952 34159-16 KPP W01 095 0314 FACCHINI, HBZ, RANDON
0447{24159 K07 KOMPLE 5263-227 149 34159-05 K W01 M58 8859 | 1DK23L-25 [FRUEHAUF
0448{24159 P08 P 2333-227 150 910-19 P 326 34159 CPP0O8 W01 358 9192 HENDRICSON
0449{24159 K08 KOMPLE 5366-227 150 9 10-19 P 326 34159 CPP0O8 W01 358 9192 HENDRICSON
0450{24159 KPP08 KPP 3133-227 150 910-19 P 326 34159 CPP0O8 W01 358 9192 HENDRICSON
0451{24159 K10 KOMPLE 5423-227 151 SPECIAL PRD. KLS




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0452(24159 KPP09 KPP 3022-227 151 4159 N P09 34159-02 KPP W01 M58 9131 | 1DK23L-9131 [FRUE.,SMB,SAMRO
0453(24159 P11 P 2113-227 151 W01 M58 7348 | 10K23L-7308 [SCANIA
0454(24159 K11 KOMPLE 5097-227 152 34159-11 K W01 M58 7348 | 10K23L-7308 [SCANIA
0455(24159 KPP11 KPP 3036-227 152 34159-51KAW W01 M58 7308
0456(24159 P12 P 2329-227 152 910-19 P315 W01 358 9101 SAF HOLLAND, VOLVO, DAYTON, REYCO
0457{24159 K12 KOMPLE 5365-227 153 9 10-19 P315 W01 358 9101 SAF HOLLAND, VOLVO, DAYTON, REYCO
045824159 KPP12 KPP 3127-227 153 910-19 P315 W01 358 9101 SAF HOLLAND, VOLVO, DAYTON, REYCO
0459{24159 K13 KOMPLE 5102-227 153 SPECIAL PRD.-PRL
046024159 KPP14 KPP 3017-227 154 4159 N P14 34159-10 KPP W01 M58 7548 10K21B-4 |NEWAY
046124159 K15 KOMPLE 5100-227 154 4159 N P03 34159-03 K W01 M58 7548 1DK23L-27
046224159 P17 P 2142-227 154 910-19 P 1138 W01 358 9243 SAF,WATSON
046324159 KPP17 KPP 3039-227 155 91019P 1138 WO01 358 9243 SAF, WATSON
046424159 K18 KOMPLE 5140-227 155 SPECIAL PRD.-URD
0465|24159 K19 ALU| KOMPLE 5306-227 155 910-19 A 991 BRAZIL 34159-17 K ALU W01 095 0440
046624159 P25 P 2272-227 156 910-19 A 953BRAZIL 34159-25 KPP W01 095 0528 FACCHINI, RANDON
0467]24159 K25 KOMPLE 5351-227 156 910-19 A 953BRAZIL 34159-25 KPP W01 095 0528 FACCHINI, RANDON
0468(24159 KPP25 KPP 3135-227 156 910-19 A 953BRAZIL 34159-25 KPP W01 095 0528 FACCHINI, RANDON
0469(24159 P26 P 2349-227 157 910-19 A 018 BRAZIL 34159-26 KPP W01 095 0533 GUERRA, HBZ
047024159 KPP26 KPP 3141-227 157 910-19 A 018 BRAZIL 34159-26 KPP W01 095 0533 GUERRA, HBZ
0471{24159 KPP09-3 KPP 3062-227 157 SPECIAL PRD.-URD
0472(24162 P P 2353-259 158 4162 N PO1 DAIMLER, JOST
0473({24162 KPP KPP 3142-259 158 4162 N PO1 DAIMLER, JOST
0474(24170 P P 2356-286 158 1110.5-22 A 752 W01 358 5514 WATSON&CHALIN
0475(24170 K KOMPLE 5362-286 159 1110.5-22 A 752 W01 358 5514 WATSON&CHALIN
0476(24182 P KPP 2100-150 159 4182 N MB
0477(24182 K KOMPLE 5085-150 159 4182 N MB
0478(24183 PS P 2069-183 160 4183 N2 34183-23 P MB
0479(24183 KS KOMPLE 5033-183 160 4183 N P25 34183-23 K MB
0480{24183 P01 P 2101-183 160 4183 N1 34183-24 P MB
0481{24183 K01 KOMPLE 5086-183 161 4183 N P26 34183-24 K MB
0482(24184 P P 2203-150 161 SPECIAL PRD.-GGA
0483(24185 P P 2123-183 161 4185 N MERCEDES
0484(24185 K KOMPLE 5109-183 162 4185 P01 34185-01 K MERCEDES
0485(24185 P21 P 2211-183 162 4185 N MERCEDES
0486(24185 K21 KOMPLE 5110-183 162 4185 P01 34185-01 K MERCEDES
0487{24186 P03 P 2157-183 163 4186 N3 MB
0488(24186 K23 KOMPLE 5146-183 163 4186 N P23 MB
0489(24186 P04 P 2158-183 163 4186 N4 MB
0490{24186 K24 KOMPLE 5147-183 164 4186 N P24 34186-24 K MB
0491(24187 P P 2161-183 164 4187 N3 34187-21P MB
0492(24187 K KOMPLE 5151-183 164 4187 N P23 34187-21K MB




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0493(24187 P04 P 2186-183 165 4187 N4 MB
0494(24187 K24 KOMPLE 5184-183 165 4187 N P24 MB
0495(24335 P P 2304-259 165 38174 KPP W01 968 8174 WEWELER
0496(24335 KPP KPP 3113-259 166 38174 KPP W01 968 8174 WEWELER
0497(24390 N1P P 2030-150 166 4390 N1 34390-01 P DC, EVO BUS
0498{24390 K01 KOMPLE 5031-150 166 4390 N P21 34390-21 K W01 M58 8514 1KF21-1 DC
0499(24390 N2P P 2031-150 167 4390 N2 34390-02 P DC
0500{24390 K02 KOMPLE 5032-150 167 4390 N P22 34390-02 K W01 M58 8513 1KF21-2 DC
0501{24390 K03 KOMPLE 5212-150 167 4390 N P23 MB
0502{24390 K04 KOMPLE 5198-150 168 4390 N P24 34390-24 K MB ACTROS
0503{24391 N1P P 2134-150 168 4391 N1 34391-01 P MB
0504{24391 K21 KOMPLE 5152-150 168 4391 N P21 34391-21 K MB
0505(24391 N2P P 2162-150 169 4391 N2 34391-02 P MB
0506{24391 K22 KOMPLE 5153-150 169 4391 N P22 34391-22 K MB
0507(24420 P P 2108-259 169 4420 N PO1 FRUEHAUF
0508(24420 K KOMPLE 5092-259 170 4420 N PO1 36075 K W01 M58 9707 FRUEHAUF
0509(24506 P P 2376-227 170 334506 C 1 DF 20 A-4 [SCANIA-S BUSSAR
0510{24506 K KOMPLE 5395-227 170
0511{24560 P P 2213-227 171 4560 N P02 VOLVO
0512(24560 K KOMPLE 5222-227 171 4560 N P02 VOLVO
0513(24561 P P 2214-227 171 4561 N P02 VOLVO
051424561 K KOMPLE 5223-227 172 4561 N P02 VOLVO
0515(24562 P P 2382-227 172 4562 N P03 W01 M58 6092 VOLVO
0516(24562 K KOMPLE 5398-227 172 4562 N P03 W01 M58 6092 VOLVO
0517(24570 P P 2225-227 173 4570 N P02 34570 C W01 M58 8545 1DF 17 B-4 |VOLVO
0518{24570 K KOMPLE 5236-227 173 4570 N P02 34570 C W01 M58 8545 1DF 17 B-4 |VOLVO
0519{24570 P01 P 2393-227 173 4570 N PO1 VOLVO
0520{24570 K01 KOMPLE 5412-227 174 4570 N PO1 VOLVO
0521(24571 P P 2228-227 174 4571 N PO2 34571 C W01 M58 8546 | 1DF17A-2 |VOLVO
0522(24571 K KOMPLE 5238-227 174 4571 N P02 34571 C W01 M58 8546 | 1DF17A-2 |VOLVO
0523(24580 P P 2301-259 175 4580 N PO1 VOLVO
0524(24580 K01 KOMPLE 5311-259 175 4580 N P01 VOLVO
0525(24580 K02 KOMPLE 5310-259 175 4580 N P02 VOLVO
0526(24582 P P 2327-259 176 4582 N P01 VOLVO, RENAULT
0527(24582 K01 KOMPLE 5332-259 176 4582 N PO1 VOLVO, RENAULT
0528(24640 P P 2229-259 176 1 DF 25 A-12 [SOLARIS
0529(24640 K KOMPLE 5231-259 177 1 DF 25 A-12 [SOLARIS
0530(24644 P P 2112-150 177 4644 N 34644 P DC, TRAVEGO
0531(24644 K KOMPLE 5224-150 177 4644 N P22 34644 K EVO BUS
0532(24647 P P 2222-259 178 1 DF 25 A-20 [SOLARIS
0533(24647 K KOMPLE 5213-259 178 1 DF 25 A-20 [SOLARIS
0534(24705 P P 2088-273 178 4705 N1 P1 34705 P MAN




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0535(24705 K01 KOMPLE 5075-273 179 4705 N1 P03 34705 K MAN TGA
0536(24705 K02 KOMPLE 5078-273 179 4705 N1 P04 W01 M58 8367 MAN TGA
0537(24713 P P 2055-259 179 4713 N PO4 34713 P VOLVO
0538(24713 K KOMPLE 5056-259 180 4713 N P02 34713 K W01 M58 9706 10F22C-1 [VOLVO
0539(24718 P P 2129-259 180 4718 N PO1 34718 P VOLVO
0540({24718 K KOMPLE 5116-259 180 4718 N PO1 34718 K W01 M58 6338 1D28A-10 [VOLVO
0541)|24725 P P 2204-311 181 4725 N PO1 34725 P GIGANT
0542)24725 K KOMPLE 5252-311 181 4725 N PO1 34725 K GIGANT
0543(24737 P P 2121-150 181 4737 N
0544{24737 KO1 KOMPLE 5106-150 182 4737 N PO1
0545{24737 K02 KOMPLE 5107-150 182 4737 N P02
0546(24737 KOS KOMPLE 5108-150 182 4737 N PO5
0547(24757 N1P P 2033-150 183 4757 N1 34757-01 P W01 M58 0909 DC
0548(24757 KO1 KOMPLE 5034-150 183 4757 N PO1 34757-01 K DC
0549(24757 N2P P 2035-150 183 4757 N2 34757-02 P W01 M58 0910 DC
0550{24757 K09 KOMPLE 5036-150 184 4757 N P09 34757-09 K DC
0551{24757 K21 KOMPLE 5035-150 184 4757 N P21 34757-21 K W01 M58 8521 DC
0552(24757 K29 KOMPLE 5037-150 184 4757 N P29 34757-29 K W01 M58 8522 DC
0553(24758 P P 2155-150 185 4758 N 34758-21 P MB
0554(24758 K KOMPLE 5144-150 185 4758 N P21 34758-21 K MB
0555{24758 K23 KOMPLE 5218-150 185 4758 N P23 34758-23 K MB
0556(24759 P P 2126-150 186 4759 N 34759 P MB
0557{24759 K21 KOMPLE 5120-150 186 4759 N P21 34759-21 K MB
0558(24786 P P 2190-150 186 4786 N P21 34786 P MB
0559(24786 K KOMPLE 5191-150 187 4786 N P21 34786 K MB
0560{24810 P05 P 2085-286 187 4810 N PO5 32918 P 1D28A-12 P'SUZSAF
0561{24810 K05 KOMPLE 5074-286 187 4810 N PO5 32918 K W01 M58 6338 1D28A-10 |[SAF
0562(24810-07 P P 2323-286 188 W01 M58 8773 MERITOR
0563(24810-07 K KOMPLE 5324-286 188 W01 M58 8773 MERITOR
0564(24813 P P 2037-286 188 4813 N PO7 34813 K W01 M58 7358 1D28B-9
0565(24813 K KOMPLE 5038-286 189 4813 N PO7 34813 K W01 M58 7358 1D28B-9  [SAF,SCANIA
0566(24838 P P 2038-150 189 4838 N 34838 P MB
0567{24838 KO1 KOMPLE 5039-150 189 4838 N PO1 34838-01 K DC
0568(24838 K02 KOMPLE 5041-150 190 4838 N P02 34838-02 K DC
0569(24838 K03 KOMPLE 5043-150 190 4838 N P03 34838-03 K DC
0570{24838 K21 KOMPLE 5040-150 190 4838 N P21 34838-21 K DC
0571{24838 K22 KOMPLE 5042-150 191 4838 N P22 34838-22 K DC
0572{24838 K23 KOMPLE 5044-150 191 4838 N P23 34838-23 K DC
0573(24862 P P 2336-259 191 4862 N PO1 34862 C W01 M58 8352 MAN TG1/TGL
0574(24862 K KOMPLE 5341-259 192 4862 N P02 34862 C W01 M58 8352
0575(24880 P P 2360-259 192 4880 N1 P02 MAN




us-

AR SPRING e SRR PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0576(24880 K KOMPLE 5377-259 192 4880 N1 P01 MAN
0577(24881 P P 2044-311 193 4881 N P02 34881 P W01 M58 8601 1DK32K BPW
0578(24881 K KOMPLE 5045-311 193 34881-01 K W01 M58 8602 1DK32K-1 |BPW
0579(24881 K180 KOMPLE 5381-311 193 AKM
0580(24881 KPP KPP 3016-311 194 4881 N P02 34881 KPP W01 M58 8666 1DK32K-2 |BPW
0581(24882 P P 2045-259 194 4882 N1 P01 34882 P W01 M58 9879 MAN
0582(24882 K KOMPLE 5046-259 194 4882 N1 P05 34882 K W01 M58 9879 MAN
0583(24883 P P 2046-259 195 4883 N1 P01 34883 P MAN
0584(24883 K KOMPLE 5047-259 195 4883 N1 P06 34883 K MAN
0585(24884 P P 2047-259 195 4884 N1 P01 34884 P W01 M58 9880 MAN
0586(24884 K KOMPLE 5048-259 196 4884 N1 P06 34884 K W01 M58 9880 MAN
0587{24884 P07 P 2239-259 196 4884 N1 P07 34884-07 P W01 M58 8359 MAN TGA
0588(24884 K07 KOMPLE 5246-259 196 4884 N1 P07 34884-07 K W01 M58 8359 MAN TGA
0589(24884 P09 P 2240-259 197 4884 N1 P09 34884-09 P MAN TGM
0590{24884 K09 KOMPLE 5247-259 197 4884 N1 P09 34884-09 K MAN TGM
0591(24885 P P 2200-259 197 4885 N1 P01 34885 P MAN
0592(24885 K KOMPLE 5203-259 198 4885 N1 P01 34885 K MAN
0593{24885-01 K KOMPLE 5312-259 198 34885-01 K BMC
0594(24886 P P 2383-259 198 4886 N PO1 MAN
0595(24886 K KOMPLE 5399-259 199 4886 N PO1 MAN
0596(24911 P P 2048-286 199 4911 N P03 34911 P RVI
0597(24911 K KOMPLE 5049-286 199 4911 N PO3 34911 K RVI
0598{24911 P01 P 2141-286 200 1110.5-21 A 965
0599{24911 K01 KOMPLE 5335-286 200 11 10.5-21 A 965
0600{24911 KPPO1 KPP 3040-286 200 1110.5-21 A 965
0601{24911 K02 KOMPLE 5340-286 201 SPECIAL PRD.-TRH
0602{24911 UAP P 2049-286 201
0603{24911 KA KOMPLE 5050-286 201 34911-01 K
0604{24911 P06 P 2325-286 202 4911 N P06 W01 M58 8113 VOLVO, RENAULT
0605{24911 K06 KOMPLE 5326-286 202 4911 N P06 W01 M58 8113 VOLVO, RENAULT
0606(24912 P P 2051-286 202 4912 N P08 34912 P
0607(24912 K KOMPLE 5052-286 203 4912 N PO7 34912 K W01 M58 8786 10K28F-4 |RVI
0608{24912 P10 P 2077-286 203 4912 N P10 34912-10 P RVI
0609{24912 K10 KOMPLE 5067-286 203 4912 N P10 34912-10K RVI
0610{24912 P13 P 2263-286 204 4912 N P13 34912-13 P W01 M58 5520 1DK28F-6 [VOLVO, RENAULT
0611{24912 K13 KOMPLE 5268-286 204 4912 N P13 34912-13 K W01 M58 5520 1DK28F-6 [VOLVO, RENAULT
0612{24913 P01 P 2080-286 204 SCANIA
0613{24913 K01 KOMPLE 5123-286 205 4913 N P02 W01 M58 9881 1 D28 H-16 |SCANIA
0614{24913 P03 P 2105-286 205 0195 N PO1 SCANIA
0615{24913 K03 KOMPLE 5089-286 205 0195 N PO1 SCANIA
0616{24913 P04 P 2117-286 206 6700 N P02 SCANIA




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0617(24913 K04 KOMPLE 5090-286 206 6700 N P02 SCANIA
0618(24913 P05 P 2153-286 206 SPECIAL PRD.-YSD
0619(24913 K05 KOMPLE 5138-286 207 SPECIAL PRD.-YSD
0620{24915 P01 P 2151-227 207 4915 N P03 34915-01 P 1DK19-1  [RENAULT
0621(24915 K01 KOMPLE 5136-227 207 4915 N P06 34915-01 K 1DK19-1 [RENAULT
0622(24916 P P 2227-273 208 4916 N1 P01 34916-07 P W01 M58 8357 MAN TGA
0623(24916 K KOMPLE 5237-273 208 4916 N1 P07 34916-07 K W01 M58 8356 MAN TGA
0624(24919 P P 2188-259 208 4919 N PO1 34919 P RENAULT, VOLVO
0625(24919 K KOMPLE 5186-259 209 4919 N PO1 34919 K RENAULT, VOLVO
0626(24922 P P 2184-259 209 4922 MB 34922 P RENAULT, VOLVO
0627]24922 K KOMPLE 5211-259 209 4922 MB 34922 K RENAULT, VOLVO
0628(24922 KPP KPP 3053-259 210 4922 MB 34922 KPP RENAULT, VOLVO
0629(24925 P P 2147-259 210 6609 N PO1 34925 P VOLVO
0630{24925 K KOMPLE 5131-259 210 6609 N PO1 34925 K VOLVO
0631(24927 P P 2316-259 211 4927 N PO1 RENAULT, VOLVO
063224927 KPP KPP 3122-259 211 4927 N PO1 RENAULT, VOLVO
0633(24929 P P 2193-259 211 4929 N PO1 34929 P RENAULT
0634(24929 K KOMPLE 5194-259 212 4929 N PO1 34929 K RENAULT
0635(24930 P P 2154-227 212 34930 P W01 M58 8653 SCANIA
0636(24930 K KOMPLE 5170-227 212 34930 KPP W01 M58 8653 SCANIA
0637{24930 KPP KPP 3041-227 213 34930 KPP W01 M58 8653 SCANIA
0638(24933 P P 2179-259 213 34933 P W01 M58 8633 SCANIA
0639(24933 K KOMPLE 5178-259 213 34933 K W01 M58 8633 SCANIA
0640{24933 K01 KOMPLE 5197-259 214 34933 K W01 M58 8633 SCANIA
0641(24940 P P 2070-259 214 4940 N P02 34940 P BPW
0642(24940 K KOMPLE 5124-259 214 BPW
0643{24940 KPP KPP 3028-259 215 4940 N P02 SPECIAL PRD.-ALM
0644(24941 P P 2071-259 215 4941 N P02 34941 P BPW
0645(24941 K KOMPLE 5064-259 215 BPW
0646{24941 KPP KPP 3068-259 216 4941 N P02 34941 KPP BPW
0647(24942 P P 2355-311 216 4942 N P02 BPW
0648(24942 K KOMPLE 5361-311 216 4942 N P02 BPW
0649(24960 P P 2118-259 217 4960 N P02 BPW
0650{24960 K KOMPLE 5304-259 217 4960 N P02 BPW
0651{24960 KPP KPP 3031-259 217 4960 N P02 34960 KPP 1DK21K-3 |BPW
0652(24961 P P 2072-259 218 4961 N P02 34961 P BPW
0653(24961 K KOMPLE 5122-259 218 4961 N P02 BPW
0654{24961 KPP KPP 3073-259 218 34961 KPP BPW
0655(24962 P P 2073-259 219 4962 N P02 BPW
0656(24962 K KOMPLE 5154-259 219 4962 N P02 BPW
0657{24962 KPP KPP 3074-259 219 BPW




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0658(24963 P P 2187-259 220 4963 N PO1 BPW
0659(24963 K KOMPLE 5185-259 220 4963 N PO1 BPW
0660{24963 KPP KPP 3054-259 220 4963 N PO1 BPW
0661(25832 P P 2407-259 221 FORD
0662(25832 KPP KPP 3168-259 221 FORD
0663(25590 P P 2339-227 221 FORD
0664(25590 K KOMPLE 5343-227 222 FORD
0665{25590 KPP KPP 3144-227 222 FORD
0666(26108 P P 2224-227 222 6604 N PO1 36108 P W01 M58 8470 1DF17-1 |VOLVO
0667{26108 KD KOMPLE 5374-227 223 6604 N PO1 36108 K W01 M58 8470 1DF17-1 [VOLVO
0668({26108 KO1D KOMPLE 5389-227 223 6604 N P03 VOLVO
0669(26120 P48 P 2335-259 223 6120 N P48 MERCEDES ACTROS MP4
0670{26120 KPP48 KPP 3130-259 224 6120 N P48 MERCEDES ACTROS MP4
0671{26120 P49 P 2380-259 224 6120 N P49 MERCEDES ACTROS MP4
0672{26120 KPP49 KPP 3158-259 224 6120 N P49 MERCEDES ACTROS MP4
0673]|26121 P44 P 2321-227 225 6121 N P44 MERCEDES ACTROS MP4
0674{26121 KPP44 KPP 3124-227 225 6121 N P44 MERCEDES ACTROS MP4
0675(26122 P46 P 2195-259 225 6122 N P46 36122 CPP 1 DF 16 A-1 |[MERCEDES ACTROS MP4
0676{26122 K46 KOMPLE 5215-259 226 6122 N P46 36122 CPP 1DF 16 A-1 [MERCEDES ACTROS MP4
0677{26122 KPP46 KPP 3060-259 226 6122 N P46 36122 CPP 1 DF 16 A-1 |[MERCEDES ACTROS MP4
0678(26122 P47 P 2236-259 226 6122 N P47 1 DF 16 A-2 |[MERCEDES
0679(26122 K47 KOMPLE 5302-259 227 6122 N P47 1 DF 16 A-2 |[MERCEDES
0680{26122 KPP47 KPP 3081-259 227 6122 N P47 1 DF 16 A-2 |[MERCEDES
0681{26122 P50 P 2330-259 227 6122 N P50 MERCEDES ACTROS MP4
0682{26122 KPP50 KPP 3128-259 228 6122 N P50 MERCEDES ACTROS MP4
0683(26123 P40 P 2206-227 228 6123 N P40 W01 M58 8453 MERCEDES ACTROS MP4
0684(26123 K40 KOMPLE 5214-227 228 6123 N P40 W01 M58 8453 MERCEDES ACTROS MP4
0685(26126 P40 P 2395-259 229 6126 N P40 MERCEDES ACTROS MP4
0686(26126 K40 KOMPLE 5414-259 229 6126 N P40 MERCEDES ACTROS MP4
0687(26131 P40 P 2210-259 229 6131 N P40 W01 M58 6095 MERCEDES ACTROS MP4
0688(26131 K40 KOMPLE 5245-259 230 6131 N P40 W01 M58 6095 MERCEDES ACTROS MP4
0689(26173 P40 P 2363-259 230 6173 N P40 MERCEDES ACTROS MP4
0690{26173 KPP40 KPP 3146-259 230 6173 N P40 MERCEDES ACTROS MP4
0691{26173 P41 P 2364-259 231 6173 N P41 MERCEDES ACTROS MP4
0692(26173 KPP41 KPP 3147-259 231 6173 N P41 MERCEDES ACTROS MP4
0693(26173 KPP42 KPP 3160-259 231 6173 N P42 MERCEDES ACTROS MP4
0694(26173 KPP43 KPP 3155-259 232 6173 N P43 MERCEDES ACTROS MP4
0695(26198 P P 2192-227 232 6703 N PO1 36198 P 1DF23B-3 |SCANIA
0696(26198 K KOMPLE 5192-227 232 6703 N PO1 36198 K 1DF23B-3 |SCANIA
0697(26199 P P 2194-227 233 6704 N PO1 36199 P 1DF23C-1 |SCANIA
0698{26199 KD KOMPLE 5373-227 233 6704 N PO1 36199 K 1DF23C-1 |SCANIA




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0699(26200 P P 2097-227 233 6701 N PO1 36200 P 10F23D-1 |SCANIA
0700{26200 KD KOMPLE 5372-227 234 6701 N PO1 36200 K 10F23D-1 |SCANIA
0701(26311 P P 2218-259 234 6603 N P02 36311 P VOLVO
0702{26311 KD KOMPLE 5358-259 234 6603 N P02 36311 K VOLVO
0703(26312 P P 2219-259 235 6603 N PO1 36312 P VOLVO
070426312 K KOMPLE 5226-259 235 6603 N PO1 36312 K VOLVO
0705(26318 P P 2124-227 235 36318 P W01 M58 6318 1DK23L-1 |SCHMITZ
0706(26318 K KOMPLE 5217-227 236 36318 K W01 M58 6318 1DK23L-1 |SCHMITZ
0707)26318 KPP KPP 3037-227 236 36318 KPP W01 M58 6318 1DK23L-1 |SCHMITZ
0708{26318 KPPO1 KPP 3125-227 236 W01 M58 8131 1DK23L-27 |[SCHMITZ, WEWELER
0709(26416 P P 2053-227 237 6608 N PO1 36416 P VOLVO
0710]26416 K KOMPLE 5054-227 237 6608 N PO1 36416 K WO01 M58 8474 1DF17B-1 [VOLVO
071126418 P P 2054-227 237 36418 P VOLVO
071226418 K KOMPLE 5055-227 238 6607 N PO1 36418 K W01 M58 8473 10F17A-1 |VOLVO
0713(26420 P P 2095-227 238 6600 N P02 VOLVO
071426420 K KOMPLE 5080-227 238 6600 N P02 36420 K VOLVO
0715{26420 P01 P 2322-227 239 6600 N PO1 VOLVO
0716{26420 KO1D KOMPLE 5375-227 239 6600 N PO1 VOLVO
0717(26431 P P 2318-227 239 6431 N PO1 DAF
0718(26431 K KOMPLE 5321-227 240 6431 N PO1 DAF
0719{26431 KPP11 KOMPLE 3162-227 240 6431 N P11 DAF
0720{26457 P P 2361-227 240 MERCEDES
072126457 K KOMPLE 5379-227 241 MERCEDES
0722)26602 P P 2244-259 241 6602 N PO1 36113 P VOLVO
0723(26602 K KOMPLE 5257-259 241 6602 N PO1 36113 K VOLVO
0724(26617 P P 2394-227 242 6617 N PO1 VOLVO
0725(26617 K KOMPLE 5413-227 242 6617 N PO1 VOLVO
0726(26618 P P 2332-227 242 6618 N PO1 VOLVO
0727(26618 KPP KPP 3129-227 243 6618 N PO1 VOLVO
0728(26631 P P 2220-227 243 6631 N PO1 1DF20E-2 [VOLVO
0729(26631 K KOMPLE 5227-227 243 6631 N PO1 1DF20E-2 [VOLVO
0730(26632 P P 2307-227 244 6632 N PO1 RENAULT
0731(26632 K KOMPLE 5315-227 244 6632 N PO1 RENAULT
0732(26657 P P 2362-227 244 MERCEDES
0733[26657 K KOMPLE 5380-227 245 MERCEDES
0734(26702 P P 2384-227 245 6702 N PO1 SCANIA
0735(26702 K KOMPLE 5400-227 245 6702 N PO1 SCANIA
0736(26753 P P 2130-227 246 36753 P VOLVO
0737(26753 K KOMPLE 5117-227 246 36753 K VOLVO
0738(26754 P P 2319-273 246 6754 N P02 DAF
0739(26754 K KOMPLE 5322-273 247 6754 N P02 DAF




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0740(26760 P P 2152-227 247 6612 N PO1 36760 P VOLVO
0741(26760 K KOMPLE 5137-227 247 6612 N PO1 36760 K VOLVO
0742(26762 P P 2175-227 248 6613 N PO1 26762 P VOLVO
0743(26762 K KOMPLE 5165-227 248 6613 N PO1 36762 K VOLVO
0744(26768 P P 2083-259 248 54768 M 36768 P VOLVO
0745(26768 K KOMPLE 5181-259 249 54768 M 36768 K VOLVO
0746(26770 P P 2182-259 249 54770 M 36770 P VOLVO
0747(26770 K KOMPLE 5180-259 249 54770 M 36770K VOLVO
0748(27003 P P 2399-227 250 W01 M58 1621 | 1DK20C-5 [GIGANT,KRONE DORSE
0749{27003 KPP KPP 3164-227 250 W01 M58 1621 | 1DK20C-5 [GIGANT,KRONE DORSE
0750{27007 P P 2233-227 250 37007 KARSAN ATAK ON
0751{27007 K KOMPLE 5239-227 251 37007 K KARSAN ATAK ON
0752(27008 P P 2234-227 251 37008 KARSAN ATAK ARKA
0753(27008 K KOMPLE 5240-227 251 37008 K KARSAN ATAK ARKA
0754(27313 P P 2090-227 252 W01 M58 7313 IVECO,NEWAY
0755{27313 KPP KPP 3035-227 252 37313 KPP W01 M58 7313 IVECO,NEWAY
0756(27315 K K 5420-227 252 OTOKAR
0757(27783 P P 2109-259 253 17783 BT 36772 P VOLVO
0758(27783 K KOMPLE 5093-259 253 36772 K VOLVO
0759(27803 P P 2056-227 253 6605 N PO1 37803 P VOLVO
0760{27803 P01 P 2197-227 254 6605 N PO1 37803 P VOLVO
0761(27803 K KOMPLE 5057-227 254 6605 N PO1 37803 K W01 M58 8472 1DF20D-1 [VOLVO
0762{27803 KO1 KOMPLE 5199-227 254 6605 N PO1 37803 K W01 M58 8472 1DF20D-1 [VOLVO
0763(27804 P P 2057-227 255 6606 N PO1 37804 P VOLVO
0764(27804 K KOMPLE 5058-227 255 6606 N PO1 37804 K W01 M58 8477 10F20E-1 |VOLVO
0765(27805 P P 2160-227 255 7805 N 27805 P VOLVO
0766(27805 K KOMPLE 5149-227 256 7805N 37805 K VOLVO
0767(27943 P P 2058-227 256 6614 N PO1 37947 P VOLVO
0768(27943 K KOMPLE 5059-227 256 6614 N PO1 37947 K VOLVO
0769(27943 P01 P 2390-227 257 4563 N P02 VOLVO
0770{27943 K01 KOMPLE 5410-227 257 4563 N P02 VOLVO
0771{28050 P P 2257-286 257 11 10.5E-16 A 320 W01 358 8050 NAVISTAR, HENDRICKSON
0772{28050 PO1 P 2303-286 258 11 10.5E-16 A 320 W01 358 8050 NAVISTAR, HENDRICKSON
0773(28050 K KOMPLE 5164-286 258 11 10.5E-16 A 320 W01 358 8050 NAVISTAR, HENDRICKSON
0774{28050 KALU KOMPLE 5267-286 258 11 10.5E-16 A 320 W01 358 8050 NAVISTAR, HENDRICKSON
0775{28050 KO1 KOMPLE 5390-286 259 11 10.5E-16 A 320 W01 358 8050 NAVISTAR, HENDRICKSON
0776{28050 KO1ALU KOMPLE 5314-286 259 11 10.5E-16 A 320 W01 358 8050 NAVISTAR, HENDRICKSON
0777{28050 K02 KOMPLE 5391-286 259 11 10.5E-16 A 320 W01 358 8050 NAVISTAR, HENDRICKSON
0778(28091 P P 2255-286 260 11 10.5-16 P 523 38091 P W01 358 8091 NAVISTAR, HENDRICKSON
0779{28091 KPP KPP 3087-286 260 11 10.5-16 P 523 38091 KPP W01 358 8091 NAVISTAR, HENDRICKSON
0780(28185 P P 2076-227 260 38185-01 P W01 M58 6257




us-

AR SPRING o SRR PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0781(28185 KPP KPP 3027-227 261 4158 N P03 38185 KPP W01 M58 6285 1DK20B-1
0782(28188 P P 2366-227 261 IVECO
0783(28188 K KOMPLE 5287-227 261 IVECO
0784(28188 P01 P 2367-227 262 IVECO
0785(28188 K01 KOMPLE 5392-227 262 IVECO
0786(28204 P P 2289-227 262 910-12 P 484 WO01 358 8204 SAF HOLLAND
0787{28204 KPP KPP 3104-227 263 910-12 P 484 WO01 358 8204 SAF HOLLAND
0788(28263 P P 2279-227 263 W01 682 8263
0789(28263 KPP KPP 3099-227 263 W01 682 8263
0790(28385 P P 2131-227 264 1D23G-4 |IVECO TECTOR
0791(28385 K KOMPLE 5250-227 264 IVECO, HENDRICKSON
0792(28468 P P 2345-227 264 910S-17 P 1206 38468CPP W01 M58 8468 VOLVO, MACK
0793(28468 KPP KPP 3139-227 265 910S-17 P 1206 38468CPP W01 M58 8468 VOLVO, MACK
0794(28540 P P 2342-259 265 W01 M58 8540
0795{28540 P01 P 2343-259 265 W01 M58 8175
0796{28540 KPP KPP 3136-259 266 W01 M58 8540
0797{28540 KPPO1 KPP 3137-259 266 W01 M58 8175
0798(28608 P P 2177-259 266 38608 P W01 M58 8608 ROR MERITOR
0799{28608 KPP KPP 3051-259 267 38608 KPP W01 M58 8608 ROR MERITOR
0800({28637 P P 2385-259 267 10 10-16 S 724 WO01 358 8637 WATSON&CHALIN
0801(28637 K KOMPLE 5402-259 267 10 10-16 S 724 W01 358 8637 WATSON&CHALIN
0802{28683-01 K KOMPLE 5338-227 268 38683-01 K BMC NEOCITY
0803(28708 P P 2260-259 268 10 10-16 P 526 W01 358 8708 HENDRICKSON, NAVISTAR
0804{28708 KPP KPP 3091-259 268 10 10-16 P 526 W01 358 8708 HENDRICKSON, NAVISTAR
0805(28709 P P 2265-259 269 10 10-5 P 460 W01 358 8709 HENDRICKSON
0806{28709 KPP KPP 3094-259 269 10 10-5 P 460 W01 358 8709 HENDRICKSON
0807(28713 P P 2262-259 269 10 10-16 P 533 W01 358 8713 HENDRICKSON
0808{28713 KPP KPP 3093-259 270 10 10-16 P 533 W01 358 8713 HENDRICKSON
0809(28729 P P 2396-259 270 10 10A-12 P 1330 38729 CPP W01 358 8729 ROR MERITOR
0810{28729 KPP KPP 3163-259 270 10 10A-12 P 1330 38729 CPP W01 358 8729 ROR MERITOR
0811(28753 P P 2311-259 271 10 10-155713 W01 3558 8753 RIDEWELL, WATSON&CHALIN
0812(28753 K KOMPLE 5316-259 271 10 10-155713 W01 3558 8753 RIDEWELL, WATSON&CHALIN
0813(28755 P P 2254-227 271 10 10-15 P 522 38755 P W01 358 8755 HENDRICKSON
0814{28755 KPP KPP 3086-227 272 10 10-15 P 522 3755 KPP W01 358 8755 HENDRICKSON
0815(28757 P P 2392-227 272 MERCEDES
0816(28749 P P 2371-259 272 10 10-21 P 486 38749 CPP W01 358 8749 SAF HOLLAND
0817{28749 KPP KPP 3151-259 273 10 10-21 P 486 38749 CPP WO01 358 8749 SAF HOLLAND
0818(28762 P P 2374-286 273 30073 C W01 M58 8762 | 1DK28D-3 [FRUEHAUF
0819(28762 K KOMPLE 5393-286 273 30073 C W01 M58 8762 | 1DK28 D-3 [FRUEHAUF
0820(28829 P P 2291-227 274 9 10S-17 P 1154 (BK) 38829 KPP W01 358 8829 VOLVO, MACK, NAVISTAR
0821{28829 KPP KPP 3106-227 274 9 10S-17 P 1154 (BK) 38829 KPP W01 358 8829 VOLVO, MACK, NAVISTAR




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0822(28813 P P 2379-227 274 910-14 P 577 38813 CPP W01 358 8813 PETERBILT, MERITOR
0823(28813 KPP KPP 3157-227 275 910-14 P 577 38813 CPP W01 358 8813 PETERBILT, MERITOR
0824(29002 A3P P 2215-259 275 39002 A3P SMB FRUEHAUF, WABCO
0825(29002 A3P0O1 P 2217-259 275 39002 A3-01P SMB FRUEHAUF, WABCO
0826(29002 A3KPP KPP 3069-259 276 39002 A3KPP SMB FRUEHAUF, WABCO
0827{29002 A3KPPQ]] KPP 3071-259 276 39002 A3-01KPP [ WO01 M58 6315 SMB FRUEHAUF, WABCO
0828{29002 A3KPP9( KPP 3072-259 276 4157 N P09 39002 A3 KPP9O | W01 M58 7074 | 1 DK 21 A-31 |[ROR, WEWELER
0829{29002 A8P P 2216-259 277 4157 N P14 39002 A8P W01 M58 6297 | 1DK21A-4 [DAIMLER, WEWELER
0830{29002 A8KPP KPP 3070-259 277 4157 N P14 39002 A8KPP W01 M58 9720 | 1DK21A-4 [DAIMLER, WEWELER
0831(29018 P P 2278-227 277 W01 653 9018 MCI
0832{29018 KPP KPP 3098-227 278 W01 653 9018 MCI
0833(29026 P P 2378-227 278 9 10-16 P393 39026 CPP W01 398 9026 PETERBILT, MERITOR
0834{29026 KPP KPP 3156-227 278
0835(29039 P P 2207-227 279 910-10P 311 39039 P W01 358 9039 ROR,VOLVO,SAF...
0836(29039 K KOMPLE 5229-227 279 910-10P 311 39039 K W01 358 9039 ROR,VOLVO,SAF...
0837{29039 K01 KOMPLE 5363-227 279 910-10P 311 39039 K W01 358 9039 ROR,VOLVO,SAF...
0838{29039 KPP KPP 3066-227 280 910-10P 311 39039 KPP W01 358 9039 ROR,VOLVO,SAF...
0839(29069 P P 2168-227 280 910-14 P 312 39069 CPP W01 358 9069 SAF HOLLAND, HENDRICKSON, DAYTON
0840{29069 KPP KPP 3045-227 280 910-14 P 312 39069 CPP W01 358 9069 SAF HOLLAND, HENDRICKSON, DAYTON
0841(29121 P P 2308-286 281 1110.5-17 A 317 39121 K W01 358 9121 SAF HOLLAND, HENDRICKSON, DAYTON
0842(29121 K KOMPLE 5409-286 281 1110.5-17 A 317 39121K W01 358 9121 SAF HOLLAND, HENDRICKSON, DAYTON
0843({29121 KPP KPP 3117-286 281 1110.5-17 A 317 39121 K W01 358 9121 SAF HOLLAND, HENDRICKSON, DAYTON
0844(29122 P P 2232-286 282 1110.5-21 A 313 381305 P W01 358 9122 HENDRICKSON, NEWAY, VOLVO
0845(29122 K KOMPLE 5319-286 282 1110.5-21 A 313 381305 K W01 358 9122 HENDRICKSON, NEWAY, VOLVO
0846{29122 KPP KPP 3079-286 282 1110.5-21 A 313 381305 KPP W01 358 9122 HENDRICKSON, NEWAY, VOLVO
0847(29141 P P 2293-286 283 W01 358 9141 SAF HOLLAND
0848(29141 KPP KPP 3108-286 283 W01 358 9141 SAF HOLLAND
0849(29141 K KOMPLE 5300-286 283 W01 358 9141 SAF HOLLAND
0850(29144 P P 2350-286 284 11 10.5-17 A 377 39144 C W01 358 9144 SAF
0851(29144 K KOMPLE 5352-260 284 11 10.5-17 A 377 39144 C WO01 358 9144 SAF
0852(29158 P P 2373-286 284 1110.5-21 A 318 W01 358 9158 SAF HOLLAND, HENDRICKSON
0853{29158 KPP KPP 3153-286 285 1110.5-21 A 318 W01 358 9158 SAF HOLLAND, HENDRICKSON
0854(29200 P P 2284-286 285 11 10.5-15 A 415 W01 358 9200 SAF HOLLAND, HENDRICKSON, DAYTON
0855(29200 K KOMPLE 5286-286 285 11 10.5-15 A 415 W01 358 9200 SAF HOLLAND, HENDRICKSON, DAYTON
0856(29213 P P 2149-227 286 9 10-16 P 441 39213 P W01 358 9213 DAYTON, NEWAY,NAVISTAR
0857(29213 K KOMPLE 5133-227 286 9 10-16 P 441 39213 K W01 358 9213 DAYTON, NEWAY,NAVISTAR
0858{29213 KPP KPP 3048-227 286 HENDRICKSON, SAF HOLLAND
0859(29219 P P 2290-227 287 9 10-16 P 408 W01 358 9219 VOLVO, SAF HOLLAND, NAVISTAR
0860{29219 KPP KPP 3105-227 287 9 10-16 P 408 W01 358 9219 VOLVO, SAF HOLLAND, NAVISTAR
0861(29264 P P 2386-286 287 1110.5-24S5 712 WO01 358 9264 HENDRICKSON, RIDEWELL
0862(29264 K KOMPLE 5403-286 288 1110.5-245712 WO01 358 9264 HENDRICKSON, RIDEWELL




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0863(29265 P P 2347-227 288 9 10-19 P 435 39265 P WO01 358 9265 HENDRICKSON
0864(29265 K KOMPLE 5349-227 288 910-19 P 435 39265 P W01 358 9265 HENDRICKSON
0865(29270 P P 2148-227 289 910-13.55433 39270 P WO01 358 9270 VOLVO,HENDRICKSON
0866(29270 K KOMPLE 5132-227 289 910-13.55433 39270 P W01 358 9270 VOLVO,HENDRICKSON
0867(29280 P P 2282-286 289 W01 358 9280 NEOPLAN
0868(29280 KPP KPP 3102-286 290 W01 358 9280 NEOPLAN
0869(29287 P P 2310-227 290 9 10-18.5 P 406 39287 K W01 358 9287 HENDRICKSON, FORD, GMC
0870{29287 KPP KPP 3119-227 290 9 10-18.5 P 406 39287 K W01 358 9287 HENDRICKSON, FORD, GMC
0871(29293 P P 2312-227 291 9 9K-15 P 424 39293 KPP W01 358 9293 SAF HOLLAND, TRIANGLE
0872{29293 KPP KPP 3120-227 291 9 9K-15 P 424 39293 KPP W01 358 9293 SAF HOLLAND, TRIANGLE
0873(29295 P P 2305-227 291 99K-15P 417 W01 358 9295 SAF HOLLAND
0874{29295 KPP KPP 3115-227 292 9 9K-15P 417 W01 358 9295 SAF HOLLAND
0875(29303 P P 2281-227 292 W01 358 9303 NEOPLAN
0876{29303 KPP KPP 3101-227 292 W01 358 9303 NEOPLAN
0877(29321 P P 2277-227 293 910-21 P 361 W01 358 9321 RIDEWELL, HENDRICKSON
0878{29321 KPP KPP 3097-227 293 910-21P 361 W01 358 9321 RIDEWELL, HENDRICKSON
0879(29366 P P 2253-227 293 910-12 A 488 39366 P W01 358 9366 SAF HOLLAND
0880{29366 KPP KPP 3085-227 294 910-12 A 488 39366 KPP W01 358 9366 SAF HOLLAND
0881(29367 P P 2306-227 294 9 10-21 P 505 W01 358 9367 HENDRICKSON, WATSON&CHALIN
0882(29367 K KOMPLE 5346-227 294 9 10-21 P 505 WO01 358 9367 HENDRICKSON, WATSON&CHALIN
0883(29367 KPP KPP 3116-227 295 9 10-21 P 505 W01 358 9367 HENDRICKSON, WATSON&CHALIN
0884(29370 P P 2315-227 295 9 10-21 P 448 39370 P W01 358 9370 WATSON&CHALIN, RIDEWELL
0885{29370 KPP KPP 3121-227 295 9 10-21 P 448 39370 KPP W01 358 9370
0886(29371 P P 2370-227 296 9 10-18.5 P 521 (BK) 39371K W01 358 9371 NAVISTAR
0887{29371 KPP KPP 3150-227 296 910-18.5 P 521 (BK) 39371K W01 358 9371 NAVISTAR
0888(29373 P P 2132-227 296 9 10-18.5 P 440 39373 P W01 358 9373 HENDRICKSON
0889(29373 K KOMPLE 5121-227 297 9 10-18.5 P 440 39373 K W01 358 9373 HENDRICKSON
0890{29373 K01 KOMPLE 5401-227 297 9 10-18.5 A 988 BRAZIL 39373-01 K W01 095 0356 INTERNATIONAL
0891{29373 P02 P 2267-227 297 39373-02 W01 095 0490
0892{29373 K02 KOMPLE 5274-227 298 39373-02 K W01 095 0490
0893(29373 KPP KPP 3043-227 298 910-18.5P 519 WO01 358 9373 HENDRICKSON
0894(29375 P P 2369-227 298 910-1-75 P 451 39375 CPP W01 358 9375 HENDRICKSON
0895{29375 KPP KPP 3194-227 299 910-1-75 P 451 39375 CPP W01 358 9375 HENDRICKSON
0896(29394 P P 2309-227 299 910-19 A 358 W01 358 9394 FRUEHAUF, HENDRICKSON
0897{29394 KPP KPP 3118-227 299 910-19 A 358 W01 358 9394 FRUEHAUF, HENDRICKSON
0898(29422 P P 2256-227 300 99-12P 314 W01 358 9422 HENDRICKSON, VOLVO
0899(29422 KPP KPP 3088-227 300 99-12P 314 WO01 358 9422 HENDRICKSON, VOLVO
0900{29466 P P 2368-227 300 9 10-16 P410 39466 C W01 358 9466 HENDRICKSON, VOLVO, MACK
0901{29466 KPP KPP 3148-227 301 9 10-16 P410 39466 C W01 358 9466 HENDRICKSON, VOLVO, MACK
0902(29469 P P 2280-227 301 910-14 A 103 W01 358 9469
0903{29469 KPP KPP 3100-227 301 910-14 A 103 W01 358 9469




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0904(29471 P P 2358-227 302 910-17.5 P 502 39471 CPP W01 358 9471 SAF HOLLAND, DAYTON
0905(29471 KPP KPP 3143-227 302 9 10-17.5 P 502 39471 CPP W01 358 9471 SAF HOLLAND, DAYTON
0906(29472 P P 2387-227 302 9 10-17.5 P 467 (BK) W01 358 9472 SAF HOLLAND
0907(29472 KPP KPP 3161-227 303 9 10-17.5 P 467 (BK) W01 358 9472 SAF HOLLAND
0908(29534 P P 2317-227 303 910-10P 717 W01 358 9534 SAF HOLLAND, ORION
0909{29534 KPP KPP 3123-227 303 910-10P 717 W01 358 9534 SAF HOLLAND, ORION
0910{29541 P P 2205-227 304 99-10 P 861 39541 P W01 358 9541 KENWORTH
0911{29541 KPP KPP 3065-227 304 99-10 P 861 39541 KPP W01 358 9541 KENWORTH
0912{29580 P P 2348-286 304 10 10-21 5434 W01 358 9580 HENDRICKSON
0913(29580 K KOMPLE 5350-286 305 10 10-21 5434 W01 358 9580 HENDRICKSON
0914(29616 P P 2372-227 305 99-12 P 515 W01 358 9616 KENWORTH
0915{29616 KPP KPP 3152-227 305 99-12 P 515 W01 358 9616 KENWORTH
0916(29622 P P 2259-227 306 99-9 P 537 (BK) W01 358 9622 KENWORTH
0917{29622 KPP KPP 3090-227 306 99-9 P 537 (BK) W01 358 9622 KENWORTH
0918(29648 P P 2165-227 306 910-175 P 456 39648 P W01 358 9648 NAVISTAR
0919{29648 KPP KPP 3042-227 307 910-175 P 456 39648 KPP WO01 358 9648 NAVISTAR
0920{29652 P P 2285-227 307 99M-13 P 1182 W01 358 9652 HENDRICKSON, MACK, SCAINA
0921{29652 KPP KOMPLE 3103-227 307 99M-13 P 1182 W01 358 9652 HENDRICKSON, MACK, SCAINA
0922(29675 P P 2258-227 308 99-10 P 576 39675 P W01 358 9675 KENWORTH, AUTOMANN
0923{29675 KPP KPP 3089-227 308 99-10 P 576 39675 KPP W01 358 9675 KENWORTH, AUTOMANN
0924{29722 P01 P 2404-227 308 IVECO
0925{29722 KPPO1 KPP 3165-227 309 IVECO
0926{29722 P02 P 2405-227 309 IVECO
0927{29722 KPP02 KPP 3166-227 309 IVECO
0928(29780 P P 2199-227 310 9 10S-16 A 382 W01 358 9782 VOLVO, FREIGHTLINER
0929(29780 K KOMPLE 5202-227 310 9 10S-16 A 382 W01 358 9782 VOLVO, FREIGHTLINER
0930{29780 KPP KPP 3080-227 310 9 10S-16 A 382 W01 358 9780 VOLVO, FREIGHTLINER
0931(29781 P P 2221-227 311 9 10S-16 A 382 39781 P W01 358 9781 VOLVO, FREIGHTLINER
0932{29781 KALU KOMPLE 5228-227 311 9 10S-16 A 382 39781 CALU W01 358 9781 VOLVO, FREIGHTLINER
0933(29781 KPP KPP 3114-227 311 9 10S-16 P 382 W01 358 9781 VOLVO, FREIGHTLINER
0934(29807 P P 2381-227 312 910-13.5P 874 39807 CPP W01 358 9807 SAF HOLLAND
0935{29807 KPP KPP 3159-227 312 910-13.5P 874 39807 CPP W01 358 9807 SAF HOLLAND
0936(29978 P P 2346-227 312 9 10-14 P 959 W01 358 9978 HENDRICKSON
0937{29978 KPP KPP 3140-227 313 9 10-14 P 959 W01 358 9978 HENDRICKSON
0938(204019 P P 2235-286 313 4019 N1 PO1 MB, HENDRICKSON
0939(204019 K KOMPLE 5241-286 313 4019 N1 PO1 MB, HENDRICKSON
0940{204157 P P 2078-227 314 SPECIAL PRD.-IRK
0941{204157 K KOMPLE 5068-227 314 SPECIAL PRD.-IRK
0942{204157 KPPA KPP 3019-227 314 SPECIAL PRD.-IRK
0943{204157 KPPB KPP 3020-227 315 SPECIAL PRD.-IRK
0944(206251 P P 2061-227 315 36251 P W01 M58 6251 SCANIA




us-

AR SPRING o SRR PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
0945(206251 K KOMPLE 5119-227 315 36251 K W01 M58 6251 SCANIA
0946(206251 KPP KPP 3021-227 316 36251 KPP W01 M58 6251 SCANIA
0947(206251-01 P P 2337-227 316 36251 P W01 M58 6251 SCANIA
0948(206251-01 KPP KPP 3131-227 316 36251 KPP W01 M58 6251 SCANIA
0949(230301 P P 2059-259 317 330301 P W01 S15 8192 SCANIA
0950{230301 KD KOMPLE 5344-259 317 330301 K W01 095 0389 SCANIA
0951{230301 PO1 P 2114-259 317 SPECIAL PRD.-MTMR
0952{230301 KO1D KOMPLE 5368-259 318 330301-02 K SPECIAL PRD.-MTMR
0953(230302 P P 2178-259 318 330302 P 1DF23A-1 [SCANIA
0954(230302 KD KOMPLE 5356-259 318 330302 K 1DF23A-1 [SCANIA
0955{230302 PO1 P 2324-259 319 6708 N P02 1 DF 23 A-2 [SCANIA
0956{230302 KO1D KOMPLE 5357-259 319 6708 N P02 1 DF 23 A-2 [SCANIA
0957(230304 P P 2060-227 319 330304 P SCANIA
0958(230304 KD KOMPLE 5330-227 320 330304 K 10F20A-1  [SCANIA
0959(230304 PO1 P 2245-227 320 6710 N PO3 331240 K 1DF 20 A-5 |SCANIA
0960{230304 KO1D KOMPLE 5331-227 320 6710 N P03 331240 K 1DF 20 A-5 |SCANIA
0961{230305 P P 2098-227 321 6710 N P02 330305 P SCANIA
0962(230305 KD KOMPLE 5370-227 321 6710 N P02 330305 K W01 095 0481 1DF20A-2  |[SCANIA
0963(230305 PO1 P 2261-227 321 SPECIAL PRD.-MSR
0964(230305 K01 KOMPLE 5265-227 322 SPECIAL PRD.-MSR
0965{230305 K02D KOMPLE 5370-227 322 331241 K 1 DF 20 A-6 |SCANIA BUSSAR
0966(230306 P P 2249-227 322 30306 P 1DF 20 A-1 |SCANIA
0967(230306 KD KOMPLE 5369-227 323 30306 K 1DF 20 A-1 |SCANIA
0968(230307 P P 2275-227 323 330307 P W01 095 0405 1DF 23 B-2 [SCANIA
0969(230307 K KOMPLE 5281-227 323 330307 K W01 095 0405 1DF 23 B-2 [SCANIA
0970{230307 PO1 P 2276-227 324 6611 N P02 331246 K 1DF 23 B-5 [SCANIA
0971{230307 K01 KOMPLE 5282-227 324 6611 N P02 331246 K 1DF 23 B-5 [SCANIA
0972(231239 P P 2314-227 324 6716 N P02 331239 K 1DF 20 C-4 [SCANIA
0973(231239 K KOMPLE 5318-227 325 6716 N P02 331239 K 1DF 20 C-4 [SCANIA
0974(231242 P P 2313-227 325 6714 N P02 331242 K 1DF 20 A-9 |SCANIA
0975(231242 K KOMPLE 5317-227 325 6714 N P02 331242 K 1 DF 20 A-9 |SCANIA
0976(231243 P P 2331-227 326 331243 K 1 DF 20 A-10 [SCANIA
0977(231243 K KOMPLE 5336-227 326 331243 K 1 DF 20 A-10 [SCANIA
0978(232340 P P 2159-227 326 291210 P VIBERTI
0979(232340 K KOMPLE 5148-227 327 291210 K VIBERTI
0980{240303 P P 2375-227 327
0981{240303 K KOMPLE 5394-227 327
0982(287386 P P 2238-259 328 SPECIAL PRD.-GGA
0983(291318 P P 2144-286 328 391318 P W01 M58 6361 1DK28B-7 |BARTOLETTI, CARDI
0984(291318 K KOMPLE 5128-286 328 391318 K W01 M58 6361 1DK28B-7 |BARTOLETTI, CARDI
0985(291320 PA P 2050-286 329 3813-08 P W01 M58 7502 1028B-4 |ROR,VOLVO,SAF...




us-

AR SPRING . TOED PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX |VEHICLES
0986291320 KA KOMPLE 5051-286 329 3813-08 K W01 M58 7502 1D28B-4 |ROR,VOLVO,SAF...
0988|UT 220-01 B 4001-220 330 WITHOUT METAL
0989|UT 220-02 B 4002-161 330
0990|UT 220-03 B 4017-161 330 220-60 BMC
0991|UT 220-04 B 4023-161 331 SPECIAL PRD.-UCK
0992|UT 220-18 B 4147-161 331 SPECIAL PRD. BMC
0993|2B 180-01 B 4057-161 331
0994|2B 180-02 B 4058-161 332
0995|2B 180-03 B 4059-161 332 FD 120-17 3/4 M8
0996|2B 180-04 B 4060-161 332 ISUZU
0997|2B 180-05 B 4061-161 333 SPECIAL PRD.
0998|2B 180-06 B 4064-161 333 SPECIAL PRD.-YIS
0999|2B 180-07 B 4056-161 333 SPECIAL PRD.
1000(2B 180-08 B 4087-161 334 2B 180 113052 SP 2B 07R [SPECIAL PRD.-PRP
1001{2B 180-09 B 4088-161 334 2B 180 113057
1002|2B 180-10 B 4089-161 334 FD 120-20 736 MAC
1003|2B 180-11 B 4111-161 335
1004|2B 180-12 B 4125-161 335
1005(2B 180-13 B 4145-161 335 SPECIAL PRD.-URD
1006(2B 180-16 B 4163-161 336 FD 120-17 61361 2B 180 113054 W01 M58 6353 GIGANT
1007(2B 200-01 B 4043-138 336 FD 138-18 1/2M10 2B 200 W01 R58 4055 FRUEHAUF, GRANNING
1008(2B 200-02 B 4090-138 336 2B 100 13062
1009(2B 220-01 B 4003-215 337 FD 200-19S W01 095 009 2B12R WITHOUT METAL
1010(2B 220-02 B 4004-161 337
1011|2B 220-03 B 4005-161 337 FD 200-19-1/4-M10 2B-220 W01 M58 6887 SP2B12R  [ROR,VOLVO,DAF..
1012|2B 220-04 B 4006-161 338 FD 200-19 P04 2B 220-03 W01 M58 7894 2B 12R-5 |SAF,GRANNING
1013|2B 220-05 B 4007-161 338
1014(2B 220-06 B 4008-161 338 SP2B12R-12
1015(2B 220-07 B 4009-161 339 SPECIAL PRD.
1016(2B 220-08 B 4010-161 339 FD 200-19 P02 W01 M58 7756 SPECIAL PRD.-URD
1017(2B 220-09 B 4022-161 339 FD 200-19 CI
1018(2B 220-10 B 4025-161 340 SPECIAL PRD.-CCT
1019(2B 220-11 B 4027-161 340 SPECIAL PRD.-CCT
1020(2B 220-12 B 4029-161 340 SPECIAL PRD.-CCT
1021(2B 220-16 B 4045-161 341 SPECIAL PRD.-NCK
1022(2B 220-17 B 4062-161 341 SPECIAL PRD.-SNP
1023(2B 220-19 B 4077-161 341 FD 200-19 3/4 M8 SP 2B 12 R-1 |GIGANT, KRONE
1024(2B 220-20 B 4078-161 342 2B 220 113005
1025(2B 220-21 B 4079-161 342 FD 200-19 320 W01 358 6910 DAYTON, GRANNING
1026(2B 220-22 B 4080-161 342 W01 358 6902 DAYTON, GRANNING
1027(2B 220-23 B 4081-161 343 FD 200-19 315 2B 220113028 W01 358 6905 SAF, VOLVO, GRANNING




us-

AR SPRING . TOED PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX |VEHICLES
1028|2B 220-24 B 4082-161 343 2B 220113474 20-T3 095.0313 JOST, SUSPENTECH
1029|2B 220-25 B 4083-161 343 FD 200-19 810 Brazil 2B 220 113475 W01 095 0353 SP2B 12 R |GUERRA, RANDON, SUSP.
1030(2B 220-26 B 4084-161 344 2B 220 113003 SAF
1031|2B 220-27 B 4085-161 344 2B 220113015 SP 2B 12 R-12 |HENDRICKSON
1032|2B 220-28 B 4086-161 344 GIBRALTAR
1033|2B 220-29 B 4107-161 345
1034|2B 220-30 B 4112-161 345 FORD
1035(2B 220-31 B 4113-161 345 FD 200-19 505 2B 220113026 W01 358 6897 NAVISTAR, RIDEWELL, WATSON&CHALIN
1036(2B 220-32 B 4141-161 346 FD 200-19 539 2B 220 113501 W01 358 6890 SAF HOLLAND
1037|2B 220-33 B 4117-161 346 FD 200-19 319 W01 358 6900 RIDEWELL, WATSON&CHALIN
1038|2B 220-34 B 4118-161 346 FD 200-19 713 W01 358 7795 HENDRICKSON
1039(2B 220-35 B 4126-161 347 SPECIAL PRD.-YB
1040(2B 220-36 B 4131-161 347 FD 200-19 448 W01 358 6941 SAF HOLLAND, GRANNING
1041|2B 220-37 B 4144-161 347 FD 200-19 902 W01 095 0355 RANDON
1042|2B 220-38 B 4166-161 348 FD 200-19 510 W01 358 7788 WATSON&CHALIN DORSE
1043|2B 225-01 B 4101-161 348 FD 200-25 S Brazil 2B 225 114004 W01 095 0234 MERCEDES
1044|2B 225-02 B 4109-161 348 2B 225 113038 W01 M58 6891 SCANIA
1045|2B 225-03 B 4105-161 349 FD 220-25 453 W01 358 6927 SAF HOLLAND, REYCO, NAVISTAR
1046|2B 225-04 B 4104-161 349 FD 200-25 855 Brazil W01 095 0287 SILPA
1047]2B 225-05 B 4103-161 349 FD 225-25 856 Brazil W01 095 0462
1048(2B 225-06 B 4100-161 350 FD 200-25 1/4 M10 2B 225 113010 W01 M58 7679 WEWELER, DAIMLER
1049|2B 225-07 B 4099-161 350 FD 200-25 1/4 M8 DAIMLER, JOST
1050(2B 225-08 B 4096-161 350 RENAULT, VOLVO
1051(2B 225-09 B 4098-161 351 FD 200-25 429 W01 358 6948 LOADGUARD, RIDEWELL, WATSON&CHALIN
1052|2B 225-10 B 4102-161 351 FD 200-25 P02 2B 225 113476 SAF HOLLAND
1053|2B 225-11 B 4119-161 351 FD 200-25 426 W01 358 6943 SAF HOLLAND, LOADGUARD, WATSON&CHALIN
1054|2B 225-12 B 4120-161 352 2B 225 113488 W01 358 6951
1055(2B 225-13 B 4123-161 352 FD 200-25 721 W01 358 6817
1056(2B 225-14 B 4129-161 352 SPECIAL PRD.-YB
1057(2B 225-15 B 4139-161 353 2B 225113011 W01 S05 7182
1058(2B 225-16 B 4158-161 353 FORD TRUCK
1059(2B 267-01 B 4066-112 353 2B 267 RUBBER BELLOW ONLY
1060(2B 267-02 B 4067-112 354 GOLDSCHMITT
1061(2B 267-03 B 4068-112 354 GOLDSCHMITT
1062 (2B 267-04 B 4069-112 354 GOLDSCHMITT
1063(2B 267-05 B 4070-112 355 DODGE, FORD, CHEVR.
1064 (2B 267-06 B 4071-112 355
1065(2B 267-07 B 4072-112 355 TOYOTA, FORD, CHEVR.
1066(2B 267-08 B 4073-112 356
1067(2B 267-09 B 4094-112 356 SPECIAL PRD.-PRP
1068(2B 267-11 B 4177--112 356 SPECIAL PRD.-YIS




us-

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX [VEHICLES
1069|2B 267-12 B 4178--112 357 SPECIAL PRD.-YIS
1070|2B 300-01 B 4115-260 357 FD 412-18 PO1 2B-300 113301 W01 R58 4073 GRANNING, FRUEHAUF DORSE
1071|2B 300-02 B 4116-260 357 FD 412-18 1/2 M10 W01 R58 4061 WEWELER DORSE
1072|2B 301-01 B 4014-227 358 2C-301 FORD CARGO, KIRKAYAK
1073|2B 301-02 B 4020-227 358 2C-301-330 TIRSAN
1074]28B 301-03 B 4031-227 358 SPECIAL PRD.-GNM
1075|2B 301-05 B 4152-227 359 FD 330-22 M12x1.5 M8 W01 M58 6851 BPW DORSE
1076]2B 301-06 B 4153-227 359 FD 330-22 331 2B 301-113334 WO01 358 7410 SAF HOLLAND, HENDRICKSON
1077]28B 301-07 B 4154-227 359 FD 330-30 323 2B 320-113493 WO01 358 7443 SAF HOLLAND, HENDRICKSON
1078]2B 301-09 B 4162-227 360 2B 301-113556 KASSBOHRER
1079|28B 301-10 B 4164-227 360 2B 301-1133123 | W01 M58 6381 SAF, HENDRICKSON
1080|28B 301-33 B 4108-227 360
1081]2B 301-34 B 4124-227 361 SPECIAL PRD.-PRP
1082]2B 315-01 B 4015-227 361 SP 2B 22 Ra-2
1083|2B 315-02 B 4021-227 361 2C-301-330 TIRSAN
1084]2B 315-03 B 4039-227 362 SPECIAL PRD.-YSD
1085|2B 315-04 B 4095-227 362 SPECIAL PRD.-PRP
1086|2B 315-05 B 4138-227 362 SPECIAL PRD.-YB
1087]2B 315-07 B 4149-227 363 SPECIAL PRD.-YB
1088|2B 315-08 B 4160-227 363 SPECIAL PRD.-MNS
1089|2B 315-09 B 4161-227 363 SPECIAL PRD.-MNS
1090|2B 315-10 B 4165-227 364 FD 330-22 313 W01 358 7400 SAF HOLLAND, HENDRICKSON
1091]2B 315-11 B 4167-227 364 FD 330-22 346 WO01 358 7442 SAF HOLLAND, HENDRICKSON
1092|128 315-12 B 4168-227 364 FD 330-30 549 RAYDAN
1093|2B 346-01 B 4024-227 365 FD 331-26 541 2B-320 113343 W01 358 7550 HISTER, WATSON
1094|128 350-01 B 4169-260 365 2B-350 113332 W01 R58 4038 LOHR DORSE
1095|2B 352-01 B 4106-286 365 FD 530-30 518 2B 352 113499 W01 358 6800
1096|2B 360-01 B 4036-286 366 2B-360 11120162 2B34RB KASSBOHRER, MIDILLI
1097]2B 360-02 B 4065-286 366 2B-360 113451 SP 2B 34 RB
1098|2B 360-03 B 4076-286 366 SPECIAL PRD.-URD
1099|2B 462-01 B 4026-286 367 FD 530-30 532 2B-352 113479 W01 358 6805 RIDEWELL
1100|2B 462-05 B 4130-286 367 FD 530-30 PO3 DAF
1101]2B 462-06 B 4143-286 367 FD 530-30 P04 DAF
1102|UB 2220-02 B 4110-161 368 SPECIAL PRD.-URD
1103|UB 2300-01 B 4030-260 368 3B-300 Hyd
1104]UB 2300-02 B 4041-260 368 SPECIAL PRD.-IRN
1105|UB 2300-03 B 4091-260 369 FT 412-32 3B 300 115004 BENALU,GRAN.,LOHR,SAMRO
1106|UB 2300-04 B 4093-260 369 FT 412-32 1/2 M10 3B 300 115003 W01 R58 4062 GIGANT, GRANNING
1107|UB 2305-02 B 4013-259 369 SPECIAL PRD.-URD
1108|UB 2305-03 B 4016-259 370 MERCEDES AXOR
1109|UB 2305-04 B 4018-259 370 SPECIAL PRD.-GM




Us

AR SPRING e AT PAGE NO CONTITECH AIRTECH FIRESTONE PHOENIX |VEHICLES
1110{UB 2305-05 B 4019-259 370 SPECIAL PRD.-GM
1111|UB 2305-06 B 4044-259 371 SPECIAL PRD.-URD
1112|UB 2305-07 B 4176-259 371 SPECIAL PRD.-NTMC
1113|UB 2310-01 B 4012-227 371 ROR
1114|UB 2310-02 B 4028-227 372 GRANNING
1115{UB 2310-03 B 4127-227 372 FT 330-29 832 BRAZIL 3B 310 115023 A GUERRA
1116{UB 2310-04 B 4074-227 372 A3 300/K04 HYD. | WO01 358 8017 DENNIS EAGLE, TOUGHLINE
1117{UB 2310-05 B 4092-227 373 SPECIAL PRD.-MGP
1118|UB 2310-06 B 4097-227 373 FT 330-29 431 3B 310 115034 W01 358 8008 SAF HOLLAND, DAYTON
1119{UB 2310-08 B 4121-227 373 FT 330-29 547 W01 358 7995 WATSON&CHALIN
1120{UB 2310-09 B 4128-227 374 FT 330-29 1/1 M8 W01 M58 6128 MAN
1121{UB 2310-10 B 4146-227 374 3B 310 11140089 BMC TUGRA
1122|UB 2310-11 B 4159-227 374 SPECIAL PRD.-MNS




CABIN AIR SPRING




ACTROS (SLEEVE)
1831, 1860
1831, 1835
1840, 1843
1848, 1853

9428902919
9428900119
A9428902919
A9428900119

SACHS
GOODYEAR
AIRKRAFT
FIRESTONE
MONROE

105392
1SAAS014
205001K
W02M588014
CB0089

15
EabLIR

ACTROS

1831, 1860
1831, 1835
1840, 1843
1848, 1853

ACTROS
1831, 1860
1831, 1860
2031, 2053
2531, 2557
2631, 2658
3231, 3335
3340, 3357
4140, 4148

9428902919
9428900119
A9428902919
A9428900119

9428900219
9428906019
A9438900219
A9438903919

SACHS
GOODYEAR
AIRKRAFT
FIRESTONE
MONROE
MAYSAN 1
MAYSAN 2

SACHS
SACHS
SACHS
GOODYEAR
AIRKRAFT
FIRESTONE
MONROE
MAYSAN 1
MAYSAN 2

105392
1SAAS014
205001K
W02M588014
CB0089
7371101
7391101

105409
290997
311189
1SAAS015
206001K
W02M588015
CB0090
7371102
7391102




ACTROS 9428905319 SACHS 105414
! 1831, 1860 9428905919 SACHS 290998
e [ 1831, 1860 9438903819 SACHS 311663
- 2031, 2053 A9428905319 AIRKRAFT  208001K
\ _ 2531, 2557 A9428905919 FIRESTONE ~ W02M588018
| 2631, 2658 A9438903819 MAYSAN 1 7371105
ol 3231, 3335 MASYAN2 7391005
l 3340, 3357
Eﬁ 4140, 4148
]
| US-201301K  MERCEDES ~  FRONT  ORDERNO: 6004-74
| MODELNUMBER  OEMPARTNUMBER  CROSSREFERENCES
ACTROS 9428905219 SACHS 105408
| 1831, 1860 9428903819 GOODYEAR  1SAAS021
(b 1831, 1835 A9428905219 AIRKRAFT  207001K
: 1840, 1843 A9428903819 FIRESTONE ~ W02M588018
1848, 1853 MAYSAN 1 7371103

MAYSAN 2 7391103

ACTROS 9428906919 SACHS 731700002549
1831, 4148 731700002549 AIRKRAFT 206919K

BIMI b




ACTROS AXOR (SLEEVE)

1831, 1840, 1860
1831, 1860
2031, 2053
2531, 2557
2631, 2658
3231, 3335
3340, 3357
4140, 4150

9428906119
A9428906119

SACHS
SACHS
SACHS
SACHS
AIRKRAFT

731700001830
731700000920
731700000691
311664
206119K

ACTROS AXOR
1831, 1840, 1860
1831, 1860
2031, 2053
2531, 2557
2631, 2658
3231, 3335
3340, 3357
4140, 4150

9428906119
A9428906119

SACHS
SACHS
SACHS
SACHS
AIRKRAFT
MAYSAN 1
MAYSAN 2

731700001830
731700000920
731700000691
311664
206119K
7371106
7391106

e
ELLIN

ACTROS
1831, 3353

9428907019

A9428907019

SACHS
AIRKRAFT

731700002547
207019K




AROCS 9603109555 SACHS 315147
ACTROS 9603106155 AIRKRAFT 206147K
MP4

ANTOS

AXOR 9408904919 SACHS 105409
1840, 1846 A9428904919 AIRKRAFT 209001K
1848, 1850 MAYSAN 1 7271101
1851, 1854 MAYSAN 2 7291101
1858, 2032

2036, 2041

2044, 2051

2532, 2536

2541, 2544

2546, 2636, 2646

=01 o




FH-2000 81417226048 SACHS 105855

18403, 19293 81417226051 GOODYEAR  1SAAS017

19343, 19344 AIRKRAFT 203001K
FIRESTONE  W02M588020

FH-2000 81417226048 SACHS 105855
: 18403, 19293 81417226051 GOODYEAR  1SAAS017
i 19343, 19344 AIRKRAFT 203001K

I FIRESTONE  WO02M588020
' MAYSAN 1 7372001
MAYSAN 2 7392001

FH-2000 STEYR 81417226049 SACHS 105856
| 18403, 19293 81417226052 GOODYEAR  1SAAS016
. ' | ; 19343, 19344 81417226028 AIRKRAFT 204001K
- ! 19273, 19323 FIRESTONE  W02M588021
| 35314, 35364 MAYSAN 1 7372002
| 19829,19S 34 MAYSAN 2 7392002

LN 35S 36, 35 S 41
[ 41S36,41S 40

m 41 S 41,41 S 46




TGA STEYR
18310, 18360
26310, 26530
28310, 33360
33510, 41480
28530, 33510
18 S 31-S 36
18 S 41-S 46-S 51
26 S 31-S 36

TGA DX RIGHT STEYR

18280, 18530
26310, 26530
28310, 28530
33350, 33531
41480

STEYR: TG-A(Front)
18 S 31-S 36

18 S 41-S 46-S 51

26 S 31-S 36

TGA STEYR FH-200
16280, 18510
26310, 26530
33360, 33410

18 S 31-S 36

18 S 41-S 46-S 51
26 S 31-S 36

85417226008
85417226014
85417226022
85417226077

81417226057
81417226075
81417226055
81417226006
81417226012

85417226009
85417226015
85417226023
85417226078

SACHS
SACHS

AIRKRAFT
MAYSAN 1
MAYSAN 2

SACHS
SACHS
SACHS
SACHS
SACHS
SACHS
AIRKRAFT
MAYSAN 1
MAYSAN 2

SACHS
SACHS
SACHS
AIRKRAFT
MAYSAN 1
MAYSAN 2

135194
313181
206014K
7372002
7392002

135198
135176
313198
30001
313078
300015
206057K
7372004
7392004

135195
135197
313182
206015K
7372003
7392003




L=
FL R

Paimmich
T

TGA DX RIGHT STEYR

18280, 18530
26310, 26530
28310, 28530
33350, 33530
18 S 31-S 36
18 S 41-S 46-S 51
26 S 31-S 36
7150, 7180, 10180
8180, 8240, 10240

81427226058

85417226007
85417226013
85417226024
81417226058

SACHS
SACHS
SACHS
AIRKRAFT

135199
135200
313184
206058K

SERIE 3 & CR
93, 113, 143
T113, T143H
CR: 13,19

1348121
1314278

SACHS
GOODYEAR
AIRKRAFT
FIRESTONE
MONROE 1
MONROE 2
MONROE 3
PHOENIX

481002
1AS004
121101
W02M588000
1764029
P2A7C006
CB0166
1C39A245

SERIE 3 & CR
93, 113, 143
T113, T143H
CR: 13,19

370227, 393257

550365, 1116535
1117320, 1117334
11177326, 1331620
1331621, 1331626
1331634, 1331635
1348117, 1348118
1348119, 1348120
1348211, 1348121

1314278 (SLEEVE)

SACHS
SACHS
SACHS
SACHS
GOODYEAR
AIRKRAFT
FIRESTONE
MAYSAN 1
MAYSAN 2

112320
105831
105845
105876
1SA036
101169K
W02M588001
7378302
7398302




_ 1908097 AIRKRAFT 128184
Tl ' E% 1908098 MONROE CB0184
B
L

s e 1926779
l
.
.
| MODELNUMBER  OEMPARTNUMBER  GROSS REFERENCES
SERIE R 400 (SLEEVE) 1908097 AIRKRAFT 128184
1908098 MONROE  CBO184
us 1926779

SERIE R 400 1873668 AIRKRAFT 128194

1907301 MONROE CB0194
1910106 DIESEL TEC. 1.23460




SERIE R 400 (SLEEVE) 1907301 AIRKRAFT 121194
MONROE CB0183
s
ssisann MONROE CB0194
(BELLOWS)

SERIE 4
94, 114, 124

144, 164
NEW: 420, 480 hp
NEW: 500, 530 hp

SERIE 4

94, 114, 124
144164

NEW: 420, 480 hp
NEW: 500, 530 hp
12x25

1476415
1381919

1381904
1397400
1435859
1476415(SLEEVE)
1381919(SLEEVE)

MONROE
MONROE
GOODYEAR
AIRKRAFT
FIRESTONE

MONROE
MONROE
MONROE
MONROE
GOODYEAR
AIRKRAFT
FIRESTONE
MAYSAN 1
MAYSAN 2

CB0030
717262725
1AS-001
121202
W02M588002

290203
CB0010
CB0030
717262725
1SA006
202186K
W02M588003
6278301
6298301




SERIE 4 (SLEEVE)
94, 114, 124

144, 164

NEW: 420, 480 hp
NEW: 500, 530 hp

16x25

SERIE 4

94, 114, 124

144, 164
NEW: 420, 480 hp
NEW: 500, 530 hp
16x25

SERIE 4
94, 114, 124
144, 164

1435856
1382826
1397398
1381906

1435856
1382826
1397398
1381906

1502468
1502471

MONROE
MONROE
MONROE
GOODYEAR
AIRKRAFT

FIRESTONE

MONROE
MONROE
MONROE
GOODYEAR
AIRKRAFT
FIRESTONE
MAYSAN 1
MAYSAN 2

MONROE
GOODYEAR
AIRKRAFT
FIRESTONE

CB0009
CB0030
717262725
1SA005
202187K

W02M588004

CB0009
CB0030
717262725
1SA005
202187K
W02M588004
6278302
6298302

CB0074
1AS006
121208
W02M588010




i | MODELNUMBER
T
T SERIE 4

EE : E 94, 114, 124

N 144, 164

1502474 MONROE
1870893 MONROE
1502468(SLEEVE) GOODYEAR
1502471(SLEEVE) AIRKRAFT
MAYSAN 1
MAYSAN 2

CB0074
717262778
1SA-040
128002K
6278304

6298304

SERIE 4 & CR-CP

94, 114, 123

144, 164

CP: 14, 19, 28, 31
CR: 14,19

SERIE 4 & CR-CP
94, 114, 123

144, 164

CP: 14, 19, 28, 31
CR: 14, 16, 19
12x25

1349840 SACHS
AIRKRAFT

FIRESTONE

1363122 SACHS
1424228 SACHS
1381904 SACHS
1397396 GOODYEAR
1349840(SLEEVE) AIRKRAFT
FIRESTONE
MAYSAN 1

MAYSAN 2

557001
121201
W02M588005

290988
557001
105872
1SA031
201180K
W02M588006
7378303
7398303




SERIE 4 & CR-CP
(SLEEVE)

94, 114, 123

144, 164

CP: 14, 19, 28, 31
CR: 14, 16, 19
16x25

SERIE 4 & CR-CP
94, 114, 123

144, 164

CP: 14, 19, 28, 31
CR: 14, 16, 19
16x25

1382827
1424229
1349844
1349840(SLEEVE)

1382827
1424229
1349844
1349840(SLEEVE)

SACHS
SACHS
SACHS
GOODYEAR
AIRKRAFT

FIRESTONE

SACHS
SACHS
SACHS
GOODYEAR
AIRKRAFT
FIRESTONE
MAYSAN 1
MAYSAN 2

557001
105873
290987
1SA032
201181K

W02M588007

557001
105873
290987
1SA032
201181K
W02M588007
7378304
7398304

SERIE 4 & CR-CP
94, 114, 124

144, 164
CR: 14, 16, 19
CP: 14, 19, 28, 31

1424231

SACHS
GOODYEAR
AIRKRAFT
FIRESTONE
MONROE

310619
1AS005
121207
W02M588008
CB0067




SERIE 4 94-08 2086673

SERIE 4 & CR-CP 1505563 SACHS 310619
: 94, 114, 124 1502470 SACHS 319620
e 144, 164 1502471 AIRKRAFT  128001K
CR: 14, 16, 19 1502472 FIRESTONE ~ WO02M588009
. CP: 14, 19, 28, 31 1502474
" 1595642
| 1495642
1424231(SLEEVE)

1802567




SERIE R & CR-CP 1444016(SLEEVE) SACHS 312465
CP: 14,19 AIRKRAFT 121209
CR: 14, 16, 19

CP: 28, 31

SERIE R & CR-CP 1424227 SACHS 290987
CP: 14, 19 1363120 SACHS 312465
o[ CR: 14, 16, 19 1397396 SACHS 290987
1397390 SACHS 105871
| 1397392 AIRKRAFT  128003K
| 1444016(SLEEVE)
|

4
H

T SERIE R & CR-CP 1495642 SACHS 310620

' CP: 14, 19 1505563 SACHS 312465
B CR: 14,16, 19 1502470 AIRKRAFT  128004K
1502471

i 1502472
1502474
1595642

E; 1444016(SLEEVE)




SERIE 5 (2006 - ) 1923645 AIRKRAFT 128645
1870615 MONROE CB0196
E1105301

2086673 SACHS NEW 1770001595

2086674

SACHS NEW 1770001798




STRALIS (SLEEVE) 500357351 SACHS 310820
190S31-40-43AT SACHS 310821
190S40-43-48AS SACHS 737100000892
260S35-S40-43AT AIRKRAFT 128012K
440S40-43AT FIRESTONE  W02M588022
MONROE CB0137

STRALIS 500357351 SACHS 310820
190S31-40-43AT SACHS 310821
190S40-43-48AS SACHS 737100000892
260S35-S40-43AT AIRKRAFT 128012K
440S40-43AT FIRESTONE  W02M588022

MONROE CB0137
MAYSAN 1 7370703
MAYSAN 2 7390703

STRALIS 500357352 MONROE CB0136
190S40-43-48AS 97383886 SACHS 731700135079
260S40-43-48-54AS AIRKRAFT 128016K
440S40-43-48-54AS FIRESTONE  W02M588023

MAYSAN 1 7370700

MASYAN 2 7390700




STRALIS 500340705 MERITOR 908322985

AIRKRAFT 128013K
FIRESTONE = W02M588025

190S31-40-43AT
260S35-S40-43AT
440S40-43AT
190S40-43-48AS

500340705 AIRKRAFT 128013K
FIRESTONE  W02M588025

STRALIS
190S31-40-43AT(M14)

STRALIS 500340706 MERITOR 908322986

500357353 AIRKRAFT 128014K
FIRESTONE  W02M588026

190S40-43-48AS
260S40-44-48-54AS
440S40-43-48-54AS




STRALIS 500340706 AIRKRAFT 128014K
FIRESTONE  W02M588026

190S40-43-48AS(M14) 500357353

504060233 MERITOR 928323140
AIRKRAFT 128015K
FIRESTONE  WO02M588027

STRALIS
190S31-40-43AT
260S35-S40-43AT
440S40-43AT

STRALIS 504060233 AIRKRAFT 128015K

190S31-40-43AT (M14) FIRESTONE  W02M588027




EUROTECH
EUROSTAR-L

EUROTECH
EUROSTAR-2
LD19038P
MP180E38
MP180E42
MP260E34H
MP260E34W
MP260E37W

EUROTECH
EUROSTAR

500379698
500307338

5003352808

98472734
99438514

99455937

41028763
41028764
500377878
500348793

41015530
41019150
8169050
500042604

SACHS
SACHS
GOODYEAR
AIRKRAFT
FIRESTONE
MAYSAN 1
MAYSAN 2

115731
115902
1SAAS018
128011K
W02M588029
9470714
9490714

SACHS
GOODYEAR
AIRKRAFT

FIRESTONE
MAYSAN 1
MAYSAN 2

PIRELLI
MONROE
GOODYEAR
AIRKRAFT

115743
1SAAS019
128010K
W02M588028
9470712
9490712

1GC13030
CB0077
1AS009
121055




STRALIS 504080540 MONROE CB0219
MODEL YIL 2002 2997842 SACHS 313055(SA)
TRAAKKER 504084382 VIBRACOUSTICV076355
MODEL YIL 2004

STRALIS (SLEEVE) 504060241 SACHS 311884
190S31-40-43AT 2997845 SACHS 731700000277
440S40-43T 97383888 SACHS 731700002845
440S40-43AT AIRKRAFT 128017K

FIRESTONE  WO02M588024

STRALIS 504060241 SACHS 311884
190S31-40-43AT 2997845 SACHS 731700000277
440S40-43T 97383888 SACHS 731700002845
440S40-43AT AIRKRAFT 128017K

FIRESTONE  W02M588024




VI.PREMIUM 420
KERAX 97/06

PREMIUM RVI. 440

5010130797G

5010629414

MONROE
CONTITECH
PHOENIX
GOODYEAR
AIRKRAFT

FIRESTONE

MONROE
CONTITECH
AIRKRAFT

FIRESTONE

CB0075
S7509
C075185
1AS007
121051

W02M588035

CB0257
S7509 P02
121414

W02M588035

VI.PREMIUM 400, 420
(SLEEVE)

5010228908
5010228908A
5010228908B
5010228908C
5010316783A
5040269674
5010316783
5010316783A

SACHS
SACHS
CONTITECH
GOODYEAR
AIRKRAFT
FIRESTONE
MONROE

131041
310957
S73610
1SAAS013
228908K
W02M588034
CB0088




VI.PREMIUM 400, 420

5010228908
5010228908A
50102289088
5010228908C
5010316783A
5040269674

5010316783

5010316783A

SACHS
SACHS
CONTITECH
GOODYEAR
AIRKRAFT
FIRESTONE
MONROE
MAYSAN 1
MAYSAN 2

131041
310957
S73610
1SAAS013
228908K
W02M588034
CB0088
7270302
7290302

G.SERIES RVI.G340 Ti

5010092916E

MONROE
CONTITECH
GOODYEAR
AIRKRAFT

FIRESTONE

CB0082
SZ508
1AS010
121053
W02M588031

5010133079D

CONTITECH
AIRKRAFT
FIRESTONE

SZ506
121079
W02M588032




G.SERIES RVI.G340 Ti 5010266845A MONROE CB0083
5010313619A CONTITECH  SZ5010
GOODYEAR  1AS011
AIRKRAFT 121054
FIRESTONE  W02M588030

KERAX 5010629398

7482087441 MONROE CB0088
CONTITECH  SZ3610
SACHS 131041
SACHS 310957




PREMIUM 440,450,460 5010615879

MAGNUM E-TECH 5010228849

MAGNUM DXI

20591650
20898055
82052893
5010552241
7420898055
7482052893

SACHS
SACHS
SACHS
SACHS
SACHS
AIRKRAFT
MONROE

MONROE
MONROE
AIRKRAFT

MONROE
AIRKRAFT

25376537
781700002201
181700001622
313072
78170004038
228879K
CB0171

CB0070
69849
228849K

CB0118
228893K




MAGNUM RVI.
AE 96/04

FH 12, FH 16 (SLEEVE)
A291152, A544695
B216585, B311773
A257343, B162550
B162550, C754615
D100895, A257343
B162550, D110198
A257344, A291151
B162551, B216854
D110208, A291152

FH 12, FH 16

A291152, A544695
B216585, B311773
A257343, B162550
B162550, C754615
D100895, A257343
B162550, D110198
A257344, A291151
B162551, B216854

D110208, A291152

5010320096A
5000791271
5000791272

3172984
1629719
1629724

3172984
1629719
1629724

MONROE
CONTITECH
PHOENIX
GOODYEAR
AIRKRAFT

FIRESTONE

MONROE
MONROE
GOODYEAR
AIRKRAFT
FIRESTONE

MONROE
MONROE
GOODYEAR
AIRKRAFT
FIRESTONE
MAYSAN 1
MAYSAN 2

CB0076
816Z
091340
1AS008
121052

W02M588033

CB0003
717269833
1SAAS003
128020K
W02M588036

CB0003
717269833
1SAAS003
128020K
W02M588036
7379701
7399701




FH 12, FH 16 (SLEEVE)
A291152, A544695
B216585, B311773

21144200

FH 12, FH 16

A291152, A544695
B216585, B311773

21144200

20427897
20721169
20775212
20889134
21651231
1076855

20721167
20736464
3172985

3198850

20427897
20721169
20775212
20889134
21651231
1076855

20721167
20736464
3172985

3198850

20462622
21165207
8074629

MONROE
MONROE
GOODYEAR
AIRKRAFT
FIRESTONE

MONROE
MONROE
GOODYEAR
AIRKRAFT
FIRESTONE
MAYSAN 1
MAYSAN 2

AIRKRAFT

CONTITECH
GOODYEAR
GOODYEAR

CB0006
717269647
1SAAS004
128021K
W02M588037

CB0006
717269647
1SAAS004
128021K
W02M588037
9279704
9299704

125171
SC31BG10
185171

5791001710003
5




FH 12 20453256 MONROE CB0055
A544696, B311774 AIRKRAFT 121059

FH 12 20453256(SLEEVE) MONROE CB0039
A544696, B311774 20889132-1 MONROE CB0055
exL1EH1 20453258 AIRKRAFT 128023K

FH 12 20453256(SLEEVE) MONROE CB0055
A544696, B311774 211119321 AIRKRAFT 128024K




FH 12, FH 16 (SLEEVE) 1075076 MONROE CB0002
C754615, D100895 1075077 MONROE 717269602

FH 12, FH 16
C754615, D100895
2806854, A257343
B162550, D110198

1075076
1075077

MONROE
MONROE
GOODYEAR
AIRKRAFT
FIRESTONE
MAYSAN 1
MAYSAN 2

Hkdea 2806854, A257343 GOODYEAR  1SAAS002
B162550, D110198 AIRKRAFT 128022K
FIRESTONE  WO02M588038

CB0002
717269602
1SAAS002
128022K
W02M588038
7379702
7399702

FH 12, FH 16
D100895, 2806854
A257343

1076855
3172985
3198850
20721167
20889138
21032337
21651229
22144209

MONROE

CB0001




FH Il (2012/05-) 21170611 MONROE CB0207
22040662
7421430899

|| 21338451 GOODYEAR 155156
2441772 DYEAR  #HH#HHHHHHHH
)73 8 600

i | 20530777

LIFT AXEL

20494458 AIRKRAFT 126001
20455245 CONTITECH  SK9526

1081785




LIFT AXEL SHORT 20534645 AIRKRAFT 126045
CONTITECH  SZ13025 P04

LIFT AXEL LONG 20534646 AIRKRAFT 126046
CONTITECH  SZ13025 P05

% FM 21430900 AIRKRAFT 128210

%E_E\E 7421170696 MONROE CB0210
1

s 7423577668

I_I_I 23577668




. % FM 12 20453258 MONROE CB0212
m“ﬁ 20889136
|

. 21111942

[ 1] 3198837

21171976 AIRKRAFT 128128K
22040666 MONROE CB0213
7421821027

21171976 AIRKRAFT 128128K
22040666 MONROE CB0213
7421821027




1353450
1353453
1371065
1444147

- 1622211
375224

CF-XF-95 1265281 MONROE
1285393 GOODYEAR
1321590 AIRKRAFT

CB0033

1SAAS009
128033K

1353451
1353454
1371066
1623477
299862

PRO 1144 ACX 4x2 52RS029110 MAYSAN
Euro 5 52RS028601

CF-XF-95 1265282 MONROE
1285394 GOODYEAR
1321591 AIRKRAFT

CB0034
1SAAS010
128034K

N370501




5246P45102

PRO 1144 ACX 4x2
PRO 624, 822, 827,935,
832 Euro 4, 1142

TUGRA
Euro 5

I&q-'lf'




5246P45202

PRO 624, 822, 827,935,
832 Euro 4, 1142

3028, 3238, 3230, 3232,
1838T E5 04,12




3028, 3238, 3230, 3232,
1838T E5 04,12

GC465C063AA MAYSAN N7370601

GC465C063BA

MAYSAN N7370602




H476 DC465C063MA MAYSAN N7370610

H566 EC465C063AA MAYSAN N7370611

H566 GC465K407KA MAYSAN N7370606
DC465C063GA




H566 DC465C063HA MAYSAN N7370605
DC465C063GB
DC465C063GBN
DC465C063HAN
T329765

T213930

BELT TENSIONER 5010455628B CONTITECH SZ115
486985 AIRKRAFT 127115

BELT TENSIONER




BELT TENSIONER 5006153851 CONTITECH  SZ5011
AGORA EURO3, PR 180 10635845 AIRKRAFT 127202

KENWORTH T816001 AUTOMANN  ABSZ706001
PETERBILT 567579 PACCAR T816001
LINK 11040016

LINK 11040007

MACK 227QS5312AM GOODYEAR  1S6641
MACK 227QS46M
I NAVISTAR 2591909C1




VOLVO 2123403

LINK R811001

LINK 11020023

LINK 11020020
KENWORTH T811001
MACK 227QS33
FLXIBLE 97999901867
FORD 2123403

FREIGHTLINER 2123403

GMC 2123403

AIRKRAFT

CONTITECH
FIRESTONE
FIRESTONE
FIRESTONE

127001
SC290001
W023587001
W023587002
W023587031

fi-%.uj

IITIeE

|

KENWORTH KWCSA

LINK 11020083
LINK 1102K083

LINK T811001

LINK 11020075
MILSCO 07067A

AIRKRAFT
CONTITECH
FIRESTONE
TRIANGLE
AUTOMANN

AIRKRAFT
CONTITECH
FIRESTONE
FIRESTONE
GOODYEAR
AUTOMANN
TRIANGLE
TRP

127092
SC29B092
W023587092
AS-5092
ABSZ707092

127108
SC29B108
W023587108
7.75" YELLOW
185057
ABSZ70-7108
AS5108
AS71080




KENWORTH T811000 AIRKRAFT 127109

LINK 1104K002 CONTITECH  SC29Y109

LINK 11020077 FIRESTONE = W023587109
FIRESTONE  7.87" YELLOW
ROAD CHOICE RCSL297109F

KENWORTH T2000 AIRKRAFT 127110

(@ES\ LINK 11020082 CONTITECH  SC29B110
s LINK 1102K082 FIRESTONE ~ W023587110
LINK R811002 FIRESTONE  11.75" BLUE

GOODYEAR  1S5152
AUTOMANN  ABSZ707110
TRP AS71100

MERCEDES A6393280101 AIRKRAFT 126013
VIANO (W639) CDI 2.2 6393280101
VITO BUS (W639)

VITO KASTEN




1144 ACX TRUCK RR
1144 ACX

RVIC, K, T SERIES 2013 -

RENAULT MAGNUM DXI
12

52RS028490

7421821030
7421171977

5010491301

MAYSAN
MANDO

N7370502
7370502

AIRKRAFT 128240
VIBRACOUSTICVI0058024
MONROE CB0240

CONTITECH
AIRKRAFT
MONROE
PHOENIX

SK8610
121086

CB0135
2C9110




AIRKRAFT 11261020
! AIRKRAFT 2014B003
AIRKRAFT 708170009

(]
21260020

KASSBOHRER C.0.B.O 2014118 CONTITECH SZ515
AIRKRAFT 125121

KASSBOHRER C.0.B.O CONTITECH SZ5110
AIRKRAFT 125125




KLEPP CONTITECH SZ514

FREIGHTLINER CONTITECH  SZ31W206
1829919000
FIRESTONE  W023587206
FIRESTONE  W023587202
GOODYEAR  1S5176
AIRKRAFT 127206

FREIGHTLINER GOODYEAR  1S5040

GYR1S5040 FIRESTONE  W023587087
AIRKRAFT 127087
AUTOMANN  ABSZ707087
TRP AS70870

TRIANGLE AS5087




KNOEDLER 9212 FIRESTONE  W023587040
GOODYEAR  1S4056
AIRKRAFT 127040

KASSBOHRER, PILOT CONTITECH  SZ517
AIRKRAFT 125101




ISRINGHAUSEN 38570, DAF 1331728 CONTITECH  SZ597

36879 IVECO 425383268 AIRKRAFT 125112
MAN 81623856003 MONROE SD0009
MB 8000536

RVI 5001836461

SCANIA 1377520
SCANIA 1440529

SCANIA 1448573
VOLVO 3090128
VOLVO 3090585

ISRINGHAUSEN 31396 CONTITECH  SZ606/864Z
3, 1396 AIRKRAFT 125102

ISRINGHAUSEN CONTITECH  SZ627
3, 3207 AIRKRAFT 125103




ISRINGHAUSEN CONTITECH  865Z (937N)
3, 1390 AIRKRAFT 125104

FIRESTONE  W023584001

GRAMMER 140214 CONTITECH SZ516
AIRKRAFT 125106




CONTITECH 880z
AIRKRAFT 125111

ISRINGHAUSEN 5001857902 CONTITECH  SZ828LS
MERCEDES 42538426 AIRKRAFT 125122
RENAULT 816238560048 MONROE SD0008
C.0.B.O. 8001236
IVECO RENAULT
MAN 5001857902
274031 SCANIA

1498864

VOLVO

20443545

CONTITECH  SZ538
AIRKRAFT 125120




FREIGHTLINER TRUCKS CONTITECH SC29YG2
GYR155045 AIRKRAFT 125045
GOODYEAR  1S5045

1/BNFTF
3/ -16LNF

B

H

M —

V2T PETERBILT TRUCKS CONTITECH  SC29B093
2906016 FIRESTONE  W023587093

s AIRKRAFT 127093




660033406

FREIGHTLINER TRUCKS

1840977000
1852651000
1866715000

GRAMMER

CONTITECH
FIRESTONE
AIRKRAFT
AUTOMANN
TRP

TRIANGLE

CONTITECH
FIRESTONE
FIRESTONE
AIRKRAFT

GOODYEAR

CONTITECH
AIRKRAFT

FREIGHTLINER TRUCKS

SC31Y205
W023587205
127205
ABSZ707205
AS72050

AS5205

SC31Y215
W023587207
W023587215
127207
185175

81872
125908




SPECIAL AIR SPRINGS

* MACHINE AIR SPRINGS

* CAR AIR SPRINGS

* AXLE AIR SPRINGS




OZEL URETIM

o1 OZEL URETIM

OZEL URETIM




OZEL URETIM CONTITECH  FS707CI
FIRESTONE  WO01M5866155

OZEL URETIM

100

OZEL URETIM

B150

(i G4 M

2112

M101.5




OZEL URETIM

OZEL URETIM

2112 OZEL URETIM 5101013 GART 2791195




—
Py ™
)
rr f, f" \J‘h_ ;
.7%&‘ 7 0 : Gl M1

LIS uraan
&
—




[vFi ]

117

ate

CONTITECH FS20010
CONTITECH 2681045000
AIRKRAFT 1B 220
AIRKRAFT 111004
FIRESTONE  WO01M586374

VIBRACOUSTICVSP1B121
DUNLOP S09101
BOSCH 822419004

FESTO EB25085




TN
T

W
154" 18 MPT 3B-16 UMC

™
L __))"I
?fﬁ-lﬁmc

o
)
f{"' 1

14" 18 MPT 3816 UMNC

FIRESTONE  W013587325







e
Gl M0










§

M

24, e
I UMC

A

MLHLS WD







ki

265

g8
lllllm'-.
ETEEAERLY h

2




e / Mz G 3}4.4 n

R

] B
R
s .
N .
— [

EEE]

CAR BELLOW
BINEK ARAC




CAR BELLOW
BINEK ARAG

EEE

CAR BELLOW
BINEK ARAC

CAR BELLOW
BINEK ARAC




il

CAR BELLOW
BINEK ARAG







us

NO | TYPE ORDER PAGENO |  AIRKRAFT CONTITECH FIRESTONE GOODYEAR MONROE SACHS VEHICLE
AIR SPRING
0001 [201101 FRONT 6085 - 74 c1 205001K W02 M58 8014 1SA-AS014 105392 MERCEDES
0002 [201101 K FRONT 6001 - 74 c1 205001K W02 M58 8014 1SA-AS014 105392 MERCEDES
0003 [201103 K REAR 6002 - 74 c1 206001K W02 M58 8015 1SA-AS015 105409, 290997, 311189 MERCEDES
0004 [201201 K FRONT 6003 - 74 c2 208001K W02 M58 8018 105414, 290998, 311663 MERCEDES
0005 [201301 K FRONT 6004 - 74 c2 207001K W02 M58 8018 1SA-AS021 105408 MERCEDES
0006 201401 K FRONT 6006 - 74 c2 206919K 731700002549 MERCEDES
0007 |201403 REAR 6086 - 74 c3 206119K 731700001830, 311664 MERCEDES
0008 201403 K REAR 6005 - 74 c3 206119K 731700001830, 311664 MERCEDES
0009 |201501 K FRONT 6007 - 74 c3 207019K 731700002547 MERCEDES
0010 |201555 K REAR RIGHT 6120 - 92 ca 206147K
0011 |201601 K FRONT 6008 - 53 ca 209001K 105409 MERCEDES
0012 201701 6075 - 74 ca
0013 [202101 FRONT 6074 - 74 cs 203001K W02M588020 1SA-AS017 105855 MAN (SLEEVE)
0014 202101 K FRONT 6009 - 74 cs 203001K W02M588020 1SA-AS017 105855 MAN
0015 |202103 K REAR 6010 - 74 cs 204001K W02M588021 1SA-AS016 105856 MAN
0016 |202501 K FRONT 6011 - 92 Cé6 206014K 135194, 135196, 313181 MAN
0017 |202503 K REAR & FRONT 6013 - 92 cé6 206057K 135198, 313198, 300015 MAN
0018 |202601 K FRONT 6012 - 92 Cé6 206015K 135195, 135197, 313182 MAN
0019 |202603 K REAR & RIGHT 6014 - 92 c7 206058K 135199, 135200, 313184 MAN
0020 203100 REAR & FRONT 6019 - 74 c7 121101 W02 M58 8000 1AS-004 481002 SCANIA
0021 |203102 K REAR & FRONT 6020 - 74 c7 101169K W02 M58 8001 1SA036 112320, 105831, 481002 SCANIA
0022 |203184 K FRONT 6102-92 cs 128184K CBO184 SCANIA
0023 |203184 KB FRONT 6096-92 cs 128184 CBO184 SCANIA
0024 |203194 K REAR & FRONT 6085 - 92 cs 128194 CB0194 SCANIA
0025 |203194 KB REAR & FRONT 6086 - 92 co 121194 CB0183 SCANIA
0026 |203200 REAR & FRONT 6024 - 74 co 121202 W02 M58 8002 1AS-001 CB0030, 717262725 SCANIA
0027 |203201 K FRONT 6025 - 74 co 202186K W02 M58 8003 1SA006 290203, CB0010-30 SCANIA
0028 |203203 REAR 6077 - 74 c10 202187K W02 M58 8004 1SA-005 CB0009, CB0030 SCANIA
0029 |203203 K REAR 6026 - 74 c10 202187K W02 M58 8004 1SA-005 CB0009, CB0030 SCANIA
0030 203300 REAR 6017 - 74 c10 121208 W02 M58 8010 1AS-006 CB0074 SCANIA
0031 203303 K REAR 6018 - 74 c11 128195K 1SA-040 CB0074, 717262778 SCANIA
0032 |203400 REAR & FRONT 6021 - 74 c11 121201 W02 M58 8005 557001 SCANIA
0033 |203401 K FRONT 6022 - 74 c11 201180K W02 M58 8006 1SA-031 290988, 557001, 105871 SCANIA
0034 |203403 REAR 6076 - 74 c12 201181K W02 M58 8007 1SA-032 557001, 105873, 290989 SCANIA (SLEEVE)
0035 |203403 K REAR 6023 - 74 c12 201181K W02 M58 8007 1SA-032 557001, 105873, 290989 SCANIA




us

NO |t TYPE ORDER PAGE NO AIRKRAFT CONTITECH FIRESTONE GOODYEAR MONROE SACHS VEHICLE
AIR SPRING

0036 |203500 REAR & FRONT 6015 - 74 c12 121207 W02 M58 8008 1AS-005 310619 SCANIA
0037 [203500-01 6087 - 74 c13 SCANIA
0038 [203502 K REAR & FRONT 6016 - 74 c13 128001K W02 M58 8009 310619, 310620 SCANIA
0039 |[203567 KB 6090 - 74 c13 SCANIA
0040 |203600 6029 - 92 c14 121209 312465 SCANIA
0041 [203601 K FRONT 6027 - 92 c14 128003K 290987, 312465, 105871 SCANIA
0042 |203603 K REAR 6028 - 92 c14 128004K 310620, 312465 SCANIA
0043 203645 K FRONT 6095 - 74 c15 128645K SCANIA
0044 203673 KB REAR & FRONT 6088 - 74 c15 1770001595 SCANIA
0045 [203674 KB REAR & FRONT 6089 - 92 c15 1770001798 SCANIA
0046 |204101 FRONT 6078 - 74 c16 128012K W02M58 8022 310820, 737100000892 IVECO
0047 |204101 K FRONT 6030 - 74 c16 128012K W02 M58 8022 310820, 737100000892 IVECO
0048 |204103 K REAR 6031-74 c16 128016K W02 M58 8023 310821, 731700135079 IVECO
0049 |[204201 K FRONT 6032 - 74 c17 128013K W02 M58 8025 IVECO
0050 |204201 KB FRONT 6033 - 74 c17 128013K W02 M58 8025 IVECO
0051 |204203 K REAR 6034 - 74 c17 128014K W02 M58 8026 IVECO
0052 |204203 KB REAR 6035 - 74 c18 128014K W02 M58 8026 IVECO
0053 |204303 K REAR 6036 - 74 c18 128015K W02 M58 8027 IVECO
0054 |204303 KB REAR 6037 - 74 c18 128015K W02 M58 8027 IVECO
0055 |204403 K REAR 6038 - 74 c19 128011K W02 M58 8029 1SA-AS018 115731, 115902 IVECO
0056 |204503 K REAR 6039 - 74 c19 128010K W02 M58 8028 1SA-AS019 115743 IVECO
0057 |204600 FRONT 6041 - KO c19 121055 1AS-009 CB0077 IVECO
0058 |204603 K FRONT 6112-74 C20 CB0219 313055 IVECO
0059 |[204703 REAR 6079 - 74 c20 128017K W02 M58 8024 311884, 731700000277 IVECO
0060 |204703 K REAR 6040 - 74 c20 128017K W02 M58 8024 311884, 731700000277 IVECO
0061 |205101 FRONT 6042 - 74 c21 121051 SZ50-9 W02 M58 8035 1AS-007 CB0075 RENAULT
0062 |205101 P FRONT 6043 - 74 c21 121414 SZ50-9 P02 W02 M58 8035 RENAULT
0063 |205103 REAR 6080 - 53 c21 228908K SZ36-10 W02 M58 8034 1SA-AS013 131041, 310957 RENAULT
0064 |205103 K REAR 6044 - 53 Cc22 228908K S736-10 W02 M58 8034 1SA-AS013 131041, 310957 RENAULT
0065 |205202 REAR 6047 - 74 Cc22 121053 SZ50-8 W02 M58 8031 1AS-010 CB0082 RENAULT
0066 |205204 FRONT 6052 - 74 Cc22 121079 SZ50-6 W02 M58 8032 RENAULT
0067 |205302 FRONT 6048 - 74 c23 121054 SZ50-10 W02 M58 8030 1AS-011 CB0083 RENAULT
0068 |205303 K 6045 - 53 Cc23 RENAULT
0069 |[205305 K 6046 - 53 c23 RENAULT
0070 |205403 K REAR 6049 - 74 c24 228879K 25376537, 313072 RENAULT




us

NO |t TYPE ORDER PAGE NO AIRKRAFT CONTITECH FIRESTONE GOODYEAR MONROE SACHS VEHICLE
AIR SPRING

0071 |205503 K REAR 6050 - 74 c24 228849K CB0070, 69849 RENAULT
0072 |205603 K REAR 6051 - 74 c24 228893K 20889055 RENAULT, VOLVO
0073 [205702 REAR & FRONT 6053 - 92 Cc25 121052 816-Z W02 M58 8033 1AS-008 CB0076 RENAULT
0074 |206101 FRONT 6082 - 74 Cc25 128020K W02 M58 8036 1SA-AS003 CB0003, 717269833 VOLVO
0075 [206101 K FRONT 6054 - 74 Cc25 128020K W02 M58 8036 1SA-AS003 CB0003, 717269833 VOLVO
0076 |206103 REAR 6083 - 74 C26 128021K W02 M58 8037 1SA-AS004 CB0006, 717269647 VOLVO
0077 |206103 K REAR 6055 - 74 C26 128021K W02 M58 8037 1SA-AS004 CB0006, 717269647 VOLVO
0078 [206171 6111-74 C26 125171 SC31-BG10 VOLVO
0079 |206200 FRONT 6060 - 74 c27 121059 CB0055 VOLVO
0080 |206201 K FRONT 6058 - 74 c27 128023K CB0039, CBO055 VOLVO
0081 |206201 K1 FRONT 6059 - 74 c27 128024K CB0055 VOLVO
0082 |206203 REAR 6084 - 74 c28 128022K W02 M58 8038 1SA-AS002 CB0002, 717269602 VOLVO
0083 [206203 K REAR 6056 - 74 c28 128022K W02 M58 8038 1SA-AS002 CB0002, 717269602 VOLVO
0084 206303 K REAR 6072 - 74 c28 CB0006, 717269647 VOLVO
0085 |206207 K FRONT 6109-74 Cc29 CB0207 VOLVO
0086 |206451 6110-74 Cc29 15S5-156 VOLVO
0087 |206500 6061 - KO Cc29 126001 VOLVO
0088 [206701 S 6062 - 92 Cc30 126045 VOLVO
0089 |206703 L 6063 - 92 Cc30 126046 VOLVO
0090 |206900 K FRONT 6091-70 C30 CB0210 VOLVO
0091 |206901 K REAR 6119-70 C31 CB0212 VOLVO
0092 |206903 KB REAR 6103-74 c31 128128 K CB0213 VOLVO
0093 |206903 K REAR 6104-74 C31 128128 K CB0213 VOLVO
0094 |207101 K FRONT 6064 - KO Cc32 128033K 1SA-AS009 CB0033 DAF
0095 [207103 K REAR 6065 - KO Cc32 128034K 1SA-AS010 CB0034 DAF
0096 |208101 K FRONT 6066 - 00 Cc32 BMC
0097 |208102 K FRONT 6118-74 c33 BMC
0098 |208103 K REAR 6067 - 00 Cc33 BMC
0099 |[208201 K FRONT 6068 - 00 c33 BMC
0100 |208202 K REAR 6117-74 c34 BMC
0101 |208203 K REAR 6069 - 74 Cc34 BMC
0102 |209101 K 6070 - 00 Cc34 FORD CARGO
0103 |209103 K 6071 - 00 Cc35 FORD CARGO
0104 |209061 K FRONT 6098-74 Cc35 FORD CARGO
0105 |209062 K REAR 6097-74 Cc35 FORD CARGO




us

NO |t TYPE ORDER PAGE NO AIRKRAFT CONTITECH FIRESTONE GOODYEAR MONROE SACHS VEHICLE
AIR SPRING

0106 |209063 K REAR 6092-74 C36 FORD CARGO
0107 |209064 K FRONT 6093-74 C36 FORD CARGO
0108 [209065 K REAR & FRONT 6094-74 C36 FORD CARGO
0109 |209066 K FRONT 6099-74 Cc37 FORD CARGO
0110 |210115 7023-42 c37 127115 SZ11-5 IRISBUS, SCAINA
0111 |210116 7024-74 Cc37
0112 215011 7025-53 Cc38 127202 SZ50-11 IRISBUS, VAN HOOL
0113 |226001 6113-74 C38 KENWORTH, PETERBILT
0114 226641 6108-74 C38 1S6-641 MACK, NAVISTAR
0115 |227001 7027-74 C39 127001 SC29-0001 W02 358 7001 VOLVO, FORD, GMC
0116 |[227092 6106-74 Cc39 127092 SC29-B092 KENWORTH
0117 |[227108 6115-74 C39 127108 SC29-B108 W02 358 7108 1S5-057 LINK
0118 227109 6116-74 C40 127109 SC29-Y109 W02 358 7109 KENWORTH, LINK
0119 |[227110 6114-74 Cc40 127110 SC29-B110 W02 358 7110 1S5-152 KENWORTH, LINK
0120 2280101 REAR 6073 - 101 C40 126013 MERCEDES VITO, VIANO
0121 |228490 K REAR 6065 - 74 c41 BMC
0122 258024 K REAR 6081 -74 c41 VOLVO, RENAULT
0123 |291301 REAR 6067-KO c41 121086 SK 86-10 CB 0135 RENAULT
0124 21261020 6072-101 c42 11261020
0125 [200100 FRONT 7001 - 74 c42 125121 SZ51-5 SEAT
0126 |[200200 FRONT 7002 - 74 c42 S751-10 SEAT
0127 |200300 FRONT 7003 - 74 Cc43 SZ51-4 SEAT
0128 |200400 FRONT 7004 - 74 c43 SZ31-W206 W02 358 7206 SEAT
0129 |200401 FRONT 7005 - 00 Cc43 W02 358 7087 15S5-040 SEAT
0130 |200402 FRONT 7006 - 00 c44 W02 358 7040 SEAT
0131 |200403 FRONT 7026-70 c44 SEAT
0132 200800 FRONT 7007 -74 C44 125101 SZ51-7 SEAT
0133 |200900 FRONT 7008 - 00 c45 125112 SZ59-7 SD0009 SEAT
0134 |200901 FRONT 7009 - 00 Cc45 125102 SZ60-6/864Z SEAT
0135 |200902 FRONT 7010 - 00 c45 125103 S762-7 SEAT
0136 |200903 FRONT 7011 -00 Cc46 125104 865Z (937N) SEAT
0137 [200904 FRONT 7012 - 00 C46 125105 W02 358 4001 SEAT
0138 |200905 FRONT 7013 -74 Cc46 125106 S751-6 SEAT
0139 |200906 FRONT 7014 - 00 c4a7 125111 880z SEAT
0140 |200907 FRONT 7015 - 80 c47 125122 S782-8 SEAT
0141 |200908 FRONT 7016 - 00 c47 125120 SZ53-8 SEAT
0142 |200909 7021-74 Cc48
0143 225045 FRONT 7017-74 Cc48 125045 SC29-YG02 155-045 FREIGHTLINER




us

O e TYPE ORDER PAGE NO AIRKRAFT CONTITECH FIRESTONE GOODYEAR MONROE SACHS VEHICLE
AIR SPRING
0144 227093 7019-70 Cc48 127093 SC29-B093 W02 358 7093 PETERBILT
0145 227205 7018-70 Cc49 127205 SC31-Y205 W02 358 7205 FREIGHTLINER
0146 227207 7020-70 Cc49 127205 SC31-Y215 W02 358 7207 1S5-175 FREIGHTLINER
0147 232908 7022-60 Cc49 125908 8187 SEAT
0148 |UT 150-60-01 M M-4132-106 C50
0149 |UT 150-60-02 M M-4133-112 C50
0150 |UT 150-60-03 M M-4134-112 C50
0151 |UT 150-60-04 M M-4141-112 Cs51
0152 |UT 150-100-01 M M-4135-106 Cs51
0153 |UT 150-100-02 M M-4136-112 Cs51
0154 |UT 150-100-03 M M-4137-112 C52
0155 |UT 150-100-04 M M-4142-112 C52
0156 |UT 150-150-01 M M-1470-112 C52
0157 |UT 220-02 M M-4002-161 C53
0158 |UT 180-01 M M-4171-161 C53
0159 |UT 180-02 M M-4172-161 C53
0160 |UT 180-03 M M-4173-161 C54
0161 |[1B220-01 M M-4180-161 C54
0162 |2B 180-06 M M-4064-161 C54
0163 |2B 180-14 M M-4150-161 C55
0164 |2B 180-15M M-4151-161 C55
0165 |[2B 200-01 M M-4043-138 C55
0166 |[2B 200-02 M M-4090-138 C56
0167 |2B 267-03 M M-4068-112 C56
0168 |2B 267-04 M M-4069-112 C56
0169 |2B 267-10 M M-4140-112 C57
0170 |2B 220-03 M M-4005-161 C57
0171 |2B 220-04 M M-4006-161 C57
0172 |2B 220-35 M M-4126-161 C58
0173 |2B 225-14 M M-4129-161 C58
0174 |2B 300-01 M M-4115-260 C58
0175 |2B 300-02 M M-4116-260 C59
0176 |2B315-01 M M-4015-227 C59
0177 |2B 315-06 M M-4148-227 C59
0178 |UT 315-01 M M-4157-227 c60
0179 |UB 2220-02 M-4110-161 Cc60
0180 (UB 2300-01 M M-4030-260 c60
0181 |UB 2300-02 M M-4041-260 cel




us

O e TYPE ORDER PAGE NO AIRKRAFT CONTITECH FIRESTONE GOODYEAR MONROE SACHS VEHICLE
AIR SPRING
0182 |UB 2300-03 M M-4091-260 cel
0183 |UB 2300-04 M M-4093-260 c6l
0184 |UB 2305-05 M M-4019-259 c62
0185 |UB 2305-08 M M-4179-259 c62
0186 |2809 NT M M-1050-254 c62
0187 |2B 360-02 M M-4065-286 ce63
0188 [200403 M M-7026-70 c63
0189 211071 8B B-8001-74 c63 CAR BELLOW
0190 211923 B B-8002-74 ce4 CAR BELLOW
0191 |2B 267-04 B B-4069-112 ce64 CAR BELLOW
0192 |2B 267-08 B B-4073-112 ce4 CAR BELLOW
0193 |203303 K B B-6018 - 74 Cc65 CAR BELLOW
0194 |2B 180-07 D D-4056-161 Cc65
0195 |2B 220-07 D D-4009-161 C65
0196 |UT 220-04 D D-4023-161 C66




/ /20




USMER OTOMOTIV SISTEMLERINVEENDUSTRIYEL URUNLER SANVE Ti

Gazi Mustafaik€mal Mahallesi Tastepe Caddesi No: 30 Karakuyu
~ Torbali }i;zmir/ Tiirkiye ;

TEL . +90._g3“2"866 20 70 - +90 232 866 20 71
FAX  :+90.232 866 22 33
WEB : Www.usairspring.com / www.usmerkaucuk.com




	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_cabin_v190211.pdf
	Bookmarks from us_product_catalog son son backup.pdf
	Bookmarks from us_catalogue_v190114son.pdf
	Bookmarks from us_product_catalog190114.pdf
	Bookmarks from us_catalogue_v190114.pdf


	Bookmarks from us_catalogue_v190402.pdf
	Bookmarks from US_PRODUCT_CATALOG_V190211.pdf
	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_cabin_v190211.pdf
	Bookmarks from us_product_catalog son son backup.pdf
	Bookmarks from us_catalogue_v190114son.pdf
	Bookmarks from us_product_catalog190114.pdf
	Bookmarks from us_catalogue_v190114.pdf



	Bookmarks from us_catalogue_v200910.pdf
	Bookmarks from us_cabin_v200910.pdf
	Bookmarks from 24911.pdf
	Bookmarks from 2310.pdf
	US_PRODUCT_CATALOG KATLI.pdf
	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_cabin_v190211.pdf
	Bookmarks from us_product_catalog son son backup.pdf
	Bookmarks from us_catalogue_v190114son.pdf
	Bookmarks from us_product_catalog190114.pdf
	Bookmarks from us_catalogue_v190114.pdf


	Bookmarks from us_catalogue_v190402.pdf
	Bookmarks from US_PRODUCT_CATALOG_V190211.pdf
	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_cabin_v190211.pdf
	Bookmarks from us_product_catalog son son backup.pdf
	Bookmarks from us_catalogue_v190114son.pdf
	Bookmarks from us_product_catalog190114.pdf
	Bookmarks from us_catalogue_v190114.pdf



	Bookmarks from us_catalogue_v200910.pdf
	Bookmarks from us_cabin_v200910.pdf
	Bookmarks from 24911.pdf
	Bookmarks from 2310.pdf

	
	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_cabin_v190211.pdf
	Bookmarks from us_product_catalog son son backup.pdf
	Bookmarks from us_catalogue_v190114son.pdf
	Bookmarks from us_product_catalog190114.pdf
	Bookmarks from us_catalogue_v190114.pdf


	Bookmarks from us_catalogue_v190402.pdf
	Bookmarks from US_PRODUCT_CATALOG_V190211.pdf
	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_cabin_v190211.pdf
	Bookmarks from us_product_catalog son son backup.pdf
	Bookmarks from us_catalogue_v190114son.pdf
	Bookmarks from us_product_catalog190114.pdf
	Bookmarks from us_catalogue_v190114.pdf



	Bookmarks from us_catalogue_v200910.pdf
	Bookmarks from us_cabin_v200910.pdf
	Bookmarks from 24911.pdf
	Bookmarks from 2310.pdf

	katalog motlar ve arka safa.pdf
	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_cabin_v190211.pdf
	Bookmarks from us_product_catalog son son backup.pdf
	Bookmarks from us_catalogue_v190114son.pdf
	Bookmarks from us_product_catalog190114.pdf
	Bookmarks from us_catalogue_v190114.pdf


	Bookmarks from us_catalogue_v190402.pdf
	Bookmarks from US_PRODUCT_CATALOG_V190211.pdf
	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_catalogue_v190211son.pdf
	Bookmarks from us_cabin_v190211.pdf
	Bookmarks from us_product_catalog son son backup.pdf
	Bookmarks from us_catalogue_v190114son.pdf
	Bookmarks from us_product_catalog190114.pdf
	Bookmarks from us_catalogue_v190114.pdf



	Bookmarks from us_catalogue_v200910.pdf
	Bookmarks from us_cabin_v200910.pdf
	Bookmarks from 24911.pdf
	Bookmarks from 2310.pdf




